DRIVER’S BEST FRIEND MEY/LE

Axial rod 316 030 0000 MARO0201
Notes
Front Axle Left ».,:
Front Axle Right -
Length [mm] 174
Required quantity 2
Thread Size 1 M18x1,5
Thread Size 2 M16x1,0

replacement in pairs recommended

References

BMW 1091 767 BMW 1091 768

BMW 1091 769 BMW 1 093 769

BMW 1093 770 BMW 1094 673

BMW 1094 674 BMW 32 111091 767
BMW 32111091 768 BMW 32 111091 769
BMW 32 11 1 093 769 BMW 32111093770
BMW 32 111094 673 BMW 32 111094 674

Application info
BMW 5 (E39) (09/95-06/04)

Axial rod 316 030 3042 MARO0202

Notes

wErLe
ORIGINAL
Gttt

Front Axle Left
Front Axle Right

Length [mm] 228
Required quantity 2
Thread Size 1 M18x1,5
Thread Size 2 M16x1,5

replacement in pairs recommended

References

BMW 32 106 774 360 BMW 32 106 777 268
BMW 32 21 6 756 368 BMW 6 756 368

BMW 6 774 360 BMW 6 777 268

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


Steven Arhin
@u.boztepe@sio-automotive.com Permission


DRIVER’S BEST FRIEND

MEYLE

Application info
BMW 7 (E65, E66) (07/01-12/09)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

BMW 3412 798

BMW 3 444 999

BMW 32 10 3 444 999
BMW 32 10 6 793 496
BMW 32216 773 740
BMW 32 30 3 418 204
BMW 6 773 740

BMW 6 780 985

Application info
BMW X3 (E83) (01/03-12/11)
BMW X5 (E70) (02/06-07/13)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 1 139 315
BMW 32111139 315

316 030 3044 MARO0203

e

Front Axle Left o
Front Axle Right -
219

2 h—
M18x1,5 I

M14x1,5

BMW 3418 204
BMW 3210 3412 798
BMW 32 10 6 780 985
BMW 32216 751 277
BMW 32216773741
BMW 6 751 277
BMW 6 773 741
BMW 6 793 496

BMW X5 (E53) (01/00-12/06)
BMW X6 (E71) (06/07-07/14)

316 030 4342 MARO0206

WErLe

Front Axle Left onn
Front Axle Right -
205

2

M18x1,5

M14x1,5

BMW 1 139 316
BMW 32111139 316

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info
BMW 3 (E36) (09/90-08/00)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

BMW 1 096 897

BMW 32 106 774 222

BMW 32 106 777 503

BMW 32111 096 897

BMW 6 774 222

BMW 6 777 503

BMW (Brilliance) 1 096 897

BMW (Brilliance) 32 106 774 222
BMW (Brilliance) 32 10 6 777 503
BMW (Brilliance) 32 11 1 096 897
BMW (Brilliance) 6 774 222

BMW (Brilliance) 6 777 503

Application info
BMW 3 (E46) (12/97-12/07)
BMW Z4 (E86) (03/06-01/09)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

Front Axle Left
Front Axle Right
207

2

M18x1,5
M14x1,5

Front Axle Left
Front Axle Right
184

2

M16x1,5
M14x1,5

BMW Z3 (E36/7, E36/8) (10/95-06/03)

316 030 4600 MARO0207

e
ORIGINAL
Gttt

BMW 1 096 898

BMW 32106 774 223

BMW 32 106 777 504

BMW 3221 1 096 898

BMW 6 774 223

BMW 6 777 504

BMW (Brilliance) 1 096 898

BMW (Brilliance) 3210 6 774 223
BMW (Brilliance) 32 10 6 777 504
BMW (Brilliance) 32 21 1 096 898
BMW (Brilliance) 6 774 223

BMW (Brilliance) 6 777 504

BMW Z4 (E85) (09/02-12/09)

316 031 0000 MARO0208

v
DRIGINAL
Suaud

W e -

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References

Mini 32 11 6 754 563
Mini 32 11 6 780 785
Mini 6 754 563

Mini 6 780 785

Application info
Mini Mini | (06/01-07/08)

Axial rod
Notes
Front Axle Left
Front Axle Right
Length [mm] 239
Required quantity 2
Thread Size 1 M18x1,5
Thread Size 2 M16x1,5

replacement in pairs recommended

References

BMW 32106 774 347

BMW 32216 762 403

BMW 32216 777 451

BMW 6 767 861

BMW 6 777 451

BMW (Brilliance) 32 10 6 774 347
BMW (Brilliance) 32 21 6 762 403
BMW (Brilliance) 32216 777 451
BMW (Brilliance) 6 767 861

BMW (Brilliance) 6 777 451

Application info
BMW 5 (E60, E61) (12/01-12/10)

Mini 32 11 6 754 564
Mini 32 11 6 780 786
Mini 6 754 564
Mini 6 780 786

316 031 0003 MARO0209

e’
DRIGINAL
Poaured

BMW 32106 777 479

BMW 32216 767 861

BMW 6 762 403

BMW 6 774 347

BMW 6 777 479

BMW (Brilliance) 32 10 6 777 479
BMW (Brilliance) 32 21 6 767 861
BMW (Brilliance) 6 762 403

BMW (Brilliance) 6 774 347

BMW (Brilliance) 6 777 479

BMW 6 (E63, E64) (09/03-12/10)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes

Length [mm]

Manufacturer Restriction

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

BMW 32216 762 243

BMW 6 762 243

BMW (Brilliance) 32 21 6 762 243
BMW (Brilliance) 6 762 243

Application info

Front Axle Left
Front Axle Right
246

TRW

2

M18x1,5
M14x1,5

BMW 1 (E81, E82, E87, E88) (02/03-12/13)

BMW X1 (E84) (03/09-06/15)

Axial rod

Notes

Length [mm]

Manufacturer Restriction

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

BMW 32 10 6 765 235

BMW 6 765 235

BMW (Brilliance) 32 10 6 765 235
BMW (Brilliance) 6 765 235

Front Axle Left
Front Axle Right

316 031 0004 MARO0210

weree
DRIGINAL
Guaud

B S

BMW 32216 762 244

BMW 6 762 244

BMW (Brilliance) 32 21 6 762 244
BMW (Brilliance) 6 762 244

BMW 3 (E90, E91, E92, E93) (02/04-12/13)

316 031 0005 MARO0211

et
ORIGINAL
uay

for vehicles with power steering

256

ZF

2
M18x1,5
M14x1,5

BMW 3210 6 765 236

BMW 6 765 236

BMW (Brilliance) 32 10 6 765 236
BMW (Brilliance) 6 765 236

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info

BMW 1 (E81, E82, E87, E88) (02/03-12/13)

BMW 3 (F30, F31) (11/11-06/19)
BMW Z4 (E89) (02/09-08/16)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

Mini 32 10 6 778 547
Mini 32 10 9 803 321
Mini 32 10 9 808 837
Mini 6 778 547

Mini 9 803 321

Mini 9 808 837

Application info
Mini Countryman | (08/10-10/16)
Mini Paceman (03/12-10/16)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

Front Axle Left
Front Axle Right
196

2

M14x1,5
M14x1,5

Front Axle Left
Front Axle Right
260

2

M18x1,5
M14x1,5

BMW 3 (E90, E91, E92, E93) (02/04-12/13)
BMW X1 (E84) (03/09-06/15)

Mini
Mini
Mini
Mini
Mini
Mini

Mini

316 031 0006 MARO0212

WErLe
ORIGINAL
Cuad

32106 778 548
32109 803 322
32109 808 838
6 778 548
9 803 322
9 808 838

Mini Il (11/05-12/15)

316 031 0008 MARO0213

WErLe
ORIGINAL
Cuad

M

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References

BMW 32 10 6 768 879

BMW 32 106 793 621

BMW 6 768 879

BMW 6 793 621

BMW (Brilliance) 32 10 6 768 879
BMW (Brilliance) 6 768 879

Application info

BMW 3 (E90, E91, E92, E93) (02/04-12/13)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 32106 774 318
BMW 6 774 318

Application info
BMW 3 (E46) (12/97-12/07)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

Front Axle Left
Front Axle Right
198

2

M18x1,5
M14x1,5

Front Axle Left
Front Axle Right
245

2

M18x1,5
M14x1,5

BMW 3210 6 768 880

BMW 32106 793 622

BMW 6 768 880

BMW 6 793 622

BMW (Brilliance) 32 10 6 768 880
BMW (Brilliance) 6 768 880

BMW X1 (E84) (03/09-06/15)

316 031 0010 MARO0214

e
ORIGINAL
Guaucd

BMW 32106 774 319
BMW 6 774 319

316 031 0011 MARO0215

WErLe
ORIGINAL
Cuad

u e

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

BMW 32106 784 716 BMW 32106 784 719

BMW 32106 784 792 BMW 6 784 716

BMW 6 784 719 BMW 6 784 792

BMW (Brilliance) 32 10 6 784 716 BMW (Brilliance) 32 10 6 784 719
BMW (Brilliance) 6 784 716 BMW (Brilliance) 6 784 719

Application info

BMW 5 (FO7) (01/09-02/17) BMW 5 (F10, F11) (01/09-02/17)
BMW 6 (F12, F13) (12/10-10/18) BMW 7 (FO1, FO2, FO3, FO4) (02/08-12/15)
Axial rod 316 031 0012 MARO0216
Notes
Front Axle Left "'ﬁ“
Front Axle Right -
Length [mm] 253
Required quantity 2
Thread Size 1 M16x1,5
Thread Size 2 M14x1,5

replacement in pairs recommended

References

BMW 32 10 6 799 960 BMW 32 10 6 799 965

BMW 6 799 960 BMW 6 799 965

BMW (Brilliance) 32 10 6 799 960 BMW (Brilliance) 32 10 6 799 965
BMW (Brilliance) 6 799 960 BMW (Brilliance) 6 799 965

Application info

BMW 1 (F20, F21) (07/11--) BMW 2 (F22,F23) (10/12--)
BMW 3 (F30, F31) (11/11-06/19) BMW 3 (F34) (07/12--)
BMW 4 (F32, F33, F36) (07/13--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes

Length [mm]
Required quantity
Thread Size 1
Thread Size 2

replacement in pairs recommended

References

BMW 32 10 6 792 029

BMW 6 792 029

BMW (Brilliance) 32 10 6 792 029
BMW (Brilliance) 6 792 029

Application info

BMW 1 (F20, F21) (07/11--)
BMW 3 (F30, F31) (11/11-06/19)
BMW 4 (F32, F33, F36) (07/13--)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 32 106 787 472

Application info
BMW X3 (F25) (09/10-08/17)

Front Axle Left
Front Axle Right
247

2

M16x1,5
M14x1,5

Front Axle Left
Front Axle Right
229

2

M16X1.5
M16x1.5

316 031 0013 MARO0217

weree
DRIGINAL
Guaud

BMW 32106 792 030

BMW 6 792 030

BMW (Brilliance) 32 10 6 792 030
BMW (Brilliance) 6 792 030

BMW 2 (F22,F23) (10/12--)
BMW 3 (F34) (07/12--)

316 031 0014 MARO0390

v
DRIGINAL
Guautd

o e ==

BMW 6 787 472

BMW X4 (F26) (05/13-03/18)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

BMW 32106 774 347

BMW 3221 6 762 403

BMW 32216 777 451

BMW 6 767 861

BMW 6 777 451

BMW (Brilliance) 32 10 6 774 347
BMW (Brilliance) 3221 6 762 403
BMW (Brilliance) 32 21 6 777 451
BMW (Brilliance) 6 767 861

BMW (Brilliance) 6 777 451

Application info
BMW 5 (E60, E61) (12/01-12/10)

Axial rod

Notes

Length [mm]

Manufacturer Restriction

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

Carbon Neutral
Front Axle Left
Front Axle Right
239

2

M18x1,5
M16x1,5

Carbon Neutral
Front Axle Left
Front Axle Right
246

TRW

2

M18x1,5
M14x1,5

316 031 0017/HD MARO0518HD

BMW 32106 777 479
BMW 32216 767 861

BMW 6 762 403
BMW 6 774 347
BMW 6 777 479
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)

32106 777 479
32216767 861
6 762 403
6 774 347
6777 479

BMW 6 (E63, E64) (09/03-12/10)

316 031 0018/HD MARO0519HD

&m;m

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References

BMW 32 216 762 243

BMW 6 762 243

BMW (Brilliance) 32 21 6 762 243
BMW (Brilliance) 6 762 243

Application info

BMW 1 (E81, E82, E87, E88) (02/03-12/13)

BMW X1 (E84) (03/09-06/15)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

BMW 32 10 6 867 404
BMW 32 10 6 899 815
BMW 6 867 404

BMW 6 899 815

BMW (Brilliance) 32 10 6 867 404
BMW (Brilliance) 6 867 404
Mini 32 10 6 867 404

Mini 32 10 6 899 815

Mini 6 867 404

Mini 6 899 815

Application info

BMW 1 (F40), 2 Gran Coupe (F44) (07/19--)

BMW 2 (F45, F46) (11/13--)
BMW X2 (F39) (11/17--)
Mini Mini Il (09/13--)

BMW 32216 762 244

BMW 6 762 244

BMW (Brilliance) 32 21 6 762 244
BMW (Brilliance) 6 762 244

BMW 3 (E90, E91, E92, E93) (02/04-12/13)

316 031 0019/HD MARO0545HD

Carbon Neutral HD
Front Axle Left
Front Axle Right
221

2

M14x1,5
M14X1,5

BMW 32 10 6 867 405

BMW 3210 6 899 816

BMW 6 867 405

BMW 6 899 816

BMW (Brilliance) 32 10 6 867 405
BMW (Brilliance) 6 867 405

Mini 32 10 6 867 405

Mini 32 10 6 899 816

Mini 6 867 405

Mini 6 899 816

BMW 1 (F52) (01/17--)
BMW X1 (F48) (11/14--)
Mini Countryman Il (10/16--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

Mini 32 10 6 854 733
Mini 32 10 6 899 813
Mini 6 854 733

Mini 6 899 813

Application info
Mini Mini Il (09/13--)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 32 10 6 858 735
BMW 6 858 735

Application info
BMW X5 (F15) (08/13-07/18)

Carbon Neutral
Front Axle Left
Front Axle Right
190

2

M14x1,5
M14X1,5

Front Axle Left
Front Axle Right

316 031 0020/HD MARO0546HD

Mini 32 10 6 854 736
Mini 32 10 6 899 814
Mini 6 854 736
Mini 6 899 814

316 031 0021 MARO0548

were
ORIGINAL
Gttt

for vehicles without active steering

224

2
16x1,5
14x1,5

cm

BMW 32 10 6 858 737
BMW 6 858 737

BMW X6 (F16) (08/14-07/19)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes

Length [mm]
Required quantity
Thread Size 1
Thread Size 2

replacement in pairs recommended

References
BMW 32 10 6 863 857
BMW 6 863 857

Application info
BMW X5 (F15) (08/13-07/18)

Axial rod

Notes

Length [mm]
Required quantity
Thread Size 1
Thread Size 2
reinforced version

replacement in pairs recommended

References

BMW 32 10 6 868 688
BMW 32 10 6 869 535
BMW 32 10 6 881 536
BMW 32 10 6 885 165
BMW 6 868 688

BMW 6 869 535

BMW 6 881 536

BMW 6 885 165

Front Axle Left

Front Axle Right

for vehicles with active steering
223

2

18x1,5

14x1,5

BMW
BMW

316 031 0022 MARO0549

weree
DRIGINAL
Guaud

32 10 6 863 859
6 863 859

BMW X6 (F16) (08/14-07/19)

Carbon Neutral
Front Axle Left
Front Axle Right
208

2

M16x1,5
M14x1,5

BMW
BMW
BMW
BMW
BMW
BMW
BMW
BMW

316 031 0023/HD MARO0575HD

-

32 10 6 868 689
32 10 6 869 537
3210 6 881 537
3210 6 885 166
6 868 689
6 869 537
6 881 537
6 885 166

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info

BMW 5 (G30, G31) (09/16--)

BMW 7 (G11, G12) (07/15--)

BMW 8 Gran Coupe (G16) (07/19--)

Axial rod
Notes
Front Axle Left
Front Axle Right
Length [mm] 327
Required quantity 2
Thread Size 1 M14x1,5
Thread Size 2 M14x1,5

replacement in pairs recommended

References
BMW 32 21 6 851 409
BMW 6 851 409

Application info
BMW i3 (08/13--)

Axial rod
Notes
Front Axle Left
Front Axle Right
Length [mm] 251
Required quantity 2
Thread Size 1 M16x1,5
Thread Size 2 M14x1,5

replacement in pairs recommended

References

BMW 32 10 6 871 884
BMW 32 10 6 880 695
BMW 6 871 884

BMW 6 880 695

BMW 6 (G32) (06/17--)
BMW 8 (G15) (07/18-)

316 031 0024 MARO0601

WErLe
ORIGINAL
Cuad

=

BMW 32 21 6 851 410
BMW 6 851 410

316 031 0025 MARO636

e’
DRIGINAL
Poaured

M

BMW 32106 871 892
BMW 32 10 6 880 697
BMW 6 871 892
BMW 6 880 697

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info

BMW 2 (G42) (08/21--)

BMW 4 (G22, G23, G26) (07/20--)
BMW X4 (G02) (04/18--)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
BMW 32 10 6 884 809
BMW 6 884 809

Application info
BMW X5 (G05) (08/18--)
BMW X7 (GO7) (03/19--)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

Carbon Neutral
Front Axle Left
Front Axle Right
250

2

M16x1,5
M16x1,5

Front Axle Left
Front Axle Right
255

2

M16x1,5
M16x1,5

BMW 3 (G20, G21) (11/18--)
BMW X3 (G01) (07/17--)
BMW 4 (G26) (11/21--)

316 031 0026/HD MARO0639HD

BMW 3210 6 884 810
BMW 6 884 810

BMW X6 (GO6) (08/19--)

316 031 0027 MARO0643

e
ORIGINAL
uay

e

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References

BMW 1 543 909

BMW 32 10 1 543 909
BMW 32 10 6 886 678
BMW 6 886 678
Toyota 45460-WAAO02
Toyota 45470-WAAO02

Application info
BMW Z4 Roadster (G29) (11/18--)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Mitsubishi 4422A057
Mitsubishi MR403100

Application info
Mitsubishi Outlander | (03/01-07/08)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

Front Axle Left
Front Axle Right
322

2

M16x1,5
M14x1,5

Carbon Neutral
Front Axle Left
Front Axle Right
198

2

M16x1,5
M16x1,5

BMW 1 543910
BMW 32101543910
BMW 32 10 6 886 679
BMW 6 886 679
Toyota 45460-WAAO03
Toyota 45470-WAAO03

Toyota SupraV (_A9_) (03/19--)

32-16 030 0007 MARO0219

e
ORIGINAL
Guaucd

Mitsubishi 4422A079

Mitsubishi Space Runner Il / Wagon Il (07/98-12/04)

32-16 031 0019/HD MARO0223HD

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References
Fiat 6000609635 Mitsubishi 4410A173
Mitsubishi 4410A173T

Application info

Fiat Fullback Pick Up (01/16--) Mitsubishi L200 IV (01/04-12/16)
Mitsubishi L200V (11/14--) Mitsubishi Pajero Sport Il (KHO) (01/08--)
Mitsubishi Pajero Sport Ill (KS) (08/15--)

Axial rod 33-16 030 0005 MARO0226
Notes

Front Axle Left ».,:
Length [mm] 334 -
Paired article number 33-16 030 0006 | MAR0227
Required quantity 1 q_‘-
Thread Size 1 M16x1
Thread Size 2 M14x1,5

replacement in pairs recommended

References
Fiat 71750067 Suzuki 48830-79J10
Suzuki 48830-79J10-000

Application info

Fiat Sedici (06/06-10/14) Suzuki SX4 (06/06--)
Axial rod 33-16 030 0006 MARO0227
Notes

Front Axle Right ».,:
Length [mm] 334
Paired article number 33-16 030 0005 | MAR0226
Required quantity 1 q_‘-
Thread Size 1 M16x1
Thread Size 2 M14x1,5

replacement in pairs recommended

References
Suzuki 48830-79J00 Suzuki 48830-79J00-000

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info
Fiat Sedici (06/06-10/14)

Axial rod

Notes
Carbon Neutral
Front Axle Left
Front Axle Right

Length [mm] 294

Required quantity 2

Thread Size 1 M16X1,0

Thread Size 2 M14X1,5

reinforced version
replacement in pairs recommended

References
Suzuki 48830-62R00

Application info
Suzuki Ignis Il (MF) (10/16--)

Axial rod

Notes
Carbon Neutral
Front Axle Left
Front Axle Right

Length [mm] 3215

Required quantity 2

Thread Size 1 M18X1,5

Thread Size 2 M14X1,5

reinforced version
replacement in pairs recommended

References
Suzuki 48830-52R00

Application info
Suzuki Swift V (01/17--)

Suzuki SX4 (06/06--)

33-16 031 0011/HD MARO0640HD

= ==

33-16 031 0012/HD MARO0635HD

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes
Carbon Neutral
Front Axle Left
Front Axle Right

Length [mm] 324

Required quantity 2

Thread Size 1 14x1,5

Thread Size 2 14x1,5

reinforced version
replacement in pairs recommended

References
Suzuki 48830M68P00

Application info
Suzuki Baleno Il (02/16--)

Axial rod
Notes
Front Axle Left
Front Axle Right
Length [mm] 320
Required quantity 2
Thread Size 1 M18x1,5
Thread Size 2 M14x1,5

replacement in pairs recommended

References
Suzuki 48830-61M00

Application info
Suzuki SX4 S-Cross (08/13--)

33-16 031 0013/HD MARO0609HD

Suzuki 48830M68P00-000

33-16 031 0014 MARO0583

weree
DRIGINAL
Guaud

I@_,‘—

Suzuki Vitara Il (LY) (02/15--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Subaru 34160XA010

Application info

Subaru Forester Ill (SH) (12/07--)
Subaru Impreza lll (GR) (01/07--)
Subaru Levorg (03/15--)

Subaru Tribeca (B9) (01/05--)
Subaru XV (09/11--)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
Subaru 34160SC020

Application info

Subaru Forester Ill (SH) (12/07--)
Subaru Forester V (SK) (04/18--)
Subaru XV 1 (09/11--)

Carbon Neutral
325

2

M16X1,5
M14X1,5

Carbon Neutral
Front Axle Left
Front Axle Right
325

2

M16X1,5
M14X1,5

34-16 031 0009/HD MARO0627HD

Subaru Forester IV (SJ) (11/12--)
Subaru Legacy VI (BN, BS) (01/15--)
Subaru Outback V (10/14--)

Subaru WRX (GP,GJ) (07/11-12/12)

34-16 031 0010/HD MARO0623HD

Subaru Forester IV (SJ) (11/12--)
Subaru Impreza V (GT) (10/16--)
Subaru XV Il (04/17--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Axial rod 34-16 031 0011/HD MARO0616HD

Notes
Carbon Neutral HD
Front Axle Left
Front Axle Right

Length [mm] 226 @;’"—Waﬁm

Required quantity 2
Thread Size 1 M16X1,5
Thread Size 2 M14X1,5

reinforced version
replacement in pairs recommended

References
Subaru 34160CA000 Toyota SU003-00832

Application info

Subaru BRZ (06/12--) Toyota GT 86 Coupe (03/12--)
Axial rod 35-16 031 0008 MARO0243
Notes
Front Axle Left ni;:zn
Front Axle Right
Length [mm] 307
Required quantity 2 _‘
Thread Size 1 M18x1,5
Thread Size 2 M14x1,5

replacement in pairs recommended

References
Mazda GE4T-32-240 Mazda GE4T-32-240A

Application info
Mazda 626 (GF, GW) (05/97-12/02)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes
Carbon Neutral
Front Axle Left
Front Axle Right

Length [mm] 304

Required quantity 2

Thread Size 1 M14X1,5

Thread Size 2 M14x1,5

reinforced version
replacement in pairs recommended

References
Mazda KD31-32-240

Application info
Mazda CX-51(KE) (11/11-02/17)

Axial rod

Notes
Carbon Neutral
Front Axle Left
Front Axle Right

Length [mm] 2345

Required quantity 2

Thread Size 1 16x1

Thread Size 2 14x1,5

reinforced version
replacement in pairs recommended

References
Mazda NE51-32 240

Application info
Mazda MX-5 (NC) (03/05-12/14)

35-16 031 0014/HD MARO0473HD

Mazda KD31-32-240A

35-16 031 0029/HD MARO0520HD

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Mazda D10E-32-240

Application info
Mazda CX-3 (DK) (01/15--)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
ABARTH 6000612382
Mazda N243-32-240

Application info
ABARTH 124 Spider (348_) (03/16--)
Mazda MX-5 (ND) (04/15--)

Front Axle Left
Front Axle Right
263

2

M16x1,5
M14x1,5

Front Axle Left
Front Axle Right
212

2

18x1,5

14x1,5

35-16 031 0030 MARO0567

weree
DRIGINAL
Guaud

A e memm

35-16 031 0031 MARO0598

e
ORIGINAL
Gttt

Fiat 6000612382

Fiat 124 Spider (348) (03/16--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes
Front Axle Left
Front Axle Right

Length [mm] 254

Required quantity 2

Thread Size 1 14x1,5

Thread Size 2 14x1,5

replacement in pairs recommended

References
Mazda K123-32-240

Application info
Mazda CX-5 Il (KF) (11/16--)

Axial rod

Notes
Carbon Neutral
Front Axle Left
Front Axle Right

Length [mm] 218

Required quantity 2

Thread Size 1 14x1,5

Thread Size 2 14x1,5

reinforced version
replacement in pairs recommended

References
Mazda BJS8-32-240
Mazda GHT2-32-240A

Application info
Mazda 3 (BM) (07/13--)

35-16 031 0032 MARO0596

weree
DRIGINAL
Guaud

35-16 031 0033/HD MARO0593HD

e

Mazda GHT2-32-240

Mazda 6 (GJ) (08/12--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Mazda DO09H-32-240

Application info
Mazda 2 (DJ) (08/14--)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Mazda GS1D-32-240

Application info
Mazda 6 (GH) (08/07-12/13)

Front Axle Left
Front Axle Right
226

2

16x1,5

14x1,5

Front Axle Left
Front Axle Right
164

2

M18X1,5
M14x1,5

35-16 031 0034 MARO0657

weree
DRIGINAL
Guaud

&) i =

35-16 031 0035 MARO0658

e
ORIGINAL
Gttt

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Axial rod 36-16 030 0022/HD MARO0250HD

Notes
Carbon Neutral I;IIEI
Front Axle Left
Front Axle Right

Length [mm] 203 M

Required quantity 2

Thread Size 1 M20x1

Thread Size 2 M16x1,5

reinforced version

replacement in pairs recommended

References
Nissan 48521-EA000

Application info

Nissan Navara (D40) (10/04--) Nissan Pathfinder (R51) (01/05--)

Axial rod 36-16 031 0005 MARO0254

Notes
Front Axle Left ni;:zn
Front Axle Right

Length [mm] 287

Required quantity 2

Thread Size 1 M16x1

Thread Size 2 M14x1,5

replacement in pairs recommended

References

Nissan 48521-4M500 Nissan 48521-4M527
Nissan 48521-4M528 Nissan 48521-4M587
Nissan 48521-4M588 Nissan 48521-8H300
Nissan 48521-8H325 Nissan 48521-8H328
Nissan 48521-8H385 Nissan 48521-8H386

Application info
Nissan Almera Il (01/00--) Nissan X-Trail (T30) (01/01-12/13)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes
Front Axle Left
Front Axle Right

Length [mm] 305

Required quantity 2

Thread Size 1 M16x1

Thread Size 2 M14x1,5

replacement in pairs recommended

References
Nissan 48521-4U110
Nissan 48521-4U186

Application info
Nissan Almera Tino (12/98-02/06)

Axial rod
Notes
Front Axle Left
Front Axle Right
Length [mm] 280
Required quantity 2
Thread Size 1 M18x1,5
Thread Size 2 M12x1,25

replacement in pairs recommended

References
Nissan 49001-AV610

Application info
Nissan Primera (P12, WP12) (01/02--)

36-16 031 0008 MARO0255

weree
DRIGINAL
Guaud

Nissan 48521-4U185

36-16 031 0009 MARO0256

WErLe
ORIGINAL
Gttt

Nissan 49001-BA210

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes

Length [mm]
Required quantity
Thread Size 1
Thread Size 2

replacement in pairs recommended

References

Nissan 48001-JD900
Nissan D8521-JGO0OA
Renault D8521JG00A

Application info
Nissan Qashqgai | (J10_) (12/06-04/14)
Renault Koleos | (09/08--)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

Nissan 48001-1KAOA
Nissan 48001-1KAOD
Nissan 48001-3NFOA
Nissan 48001-3NF3A
Nissan 48001-3YNOB
Nissan 48001-5SA3A

Application info
Nissan Juke (F15) (06/10--)
Nissan Leaf Il (ZE1) (08/17--)

36-16 031 0010 MARO0257

weree
DRIGINAL
Guaud

Front Axle Left
Front Axle Right
233

2

M22x1,5
M14x1,5

Nissan D8521-JD00B
Renault 485219204R

Nissan X-Trail (T31) (03/07-12/18)

36-16 031 0017 MARO379

e
ORIGINAL
unry

Front Axle Left
Front Axle Right
2175

2

M16x1
M12x1,25

Nissan 48001-1KAOB
Nissan 48001-1KAOE
Nissan 48001-3NF1A
Nissan 48001-3YNOA
Nissan 48001-5SAl1A
Nissan 48521-3SG1A

Nissan Leaf | (ZEO) (11/10--)
Nissan Sentra VII (B17) (08/12--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
Nissan 48510-4A00C
Suzuki 48830-84M00-000

Application info
Nissan Pixo (03/09--)
Suzuki Celerio (02/14--)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

Nissan 48001-JD900
Nissan D8521-JGO0OA
Renault D8521JG00A

Application info
Nissan Qashqai | (J10_) (12/06-04/14)
Renault Koleos | (09/08--)

Carbon Neutral
Front Axle Left
Front Axle Right
272

2

14x1,5

12x1,25

Carbon Neutral
Front Axle Left
Front Axle Right
233

2

M22x1,5
M14x1,5

36-16 031 0019/HD MARO0462HD

e’

Guaucd

Suzuki 48830-84M00
Suzuki 48830-M68K00

Suzuki Alto VII (01/09--)

36-16 031 0020/HD MARO0521HD

G

Nissan D8521-JD00B
Renault 485219204R

Nissan X-Trail (T31) (03/07-12/18)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Nissan D85214BA0A

Application info
Nissan X-Trail (T32) (10/13--)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Nissan 48001-9U100

Application info

Nissan Cube (Z12) (09/07--)
Nissan NV200 (02/10--)
Nissan Tiida (05/04-12/13)

Carbon Neutral
Front Axle Left
Front Axle Right
224.1

2

M16X1,5
M14X1,5

Front Axle Left
Front Axle Right
200

2

M14x1,5
M12x1,25

36-16 031 0021/HD MARO0649HD

Nissan D8E214BA0A

36-16 031 0064 MARO0259

e
ORIGINAL
Gttt

Nissan 48521-3U025

Nissan Micra (K13) (05/10--)
Nissan Note | (01/05-08/13)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod
Notes
Front Axle Left
Front Axle Right
Length [mm] 226
Required quantity 2
Thread Size 1 M14x1,5
Thread Size 2 M12x1,25

replacement in pairs recommended

References
Nissan D8521-1HAOA

Application info
Nissan Micra (K13) (05/10--)

Axial rod

Notes
Front Axle Left
Front Axle Right

Length [mm] 282

Required quantity 2

Thread Size 1 M16x1

Thread Size 2 M14x1,5

replacement in pairs recommended

References
Nissan 48521-CB025
Nissan 48521-CB027

Application info
Nissan Murano (Z50) (04/02-12/09)

36-16 031 0068 MARO0356

weree
DRIGINAL
Guaud

L

Nissan D8521-1HJOA

36-16 031 0069 MARO0362

e
ORIGINAL
Gttt

Nissan 48521-CB026
Nissan D85211AA0A

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes

Length [mm]
Required quantity
Thread Size 1
Thread Size 2

replacement in pairs recommended

References
Hyundai 57724-2B000

Application info
Hyundai Santa Fé Il (10/05-03/15)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Hyundai 57724-2E000

Application info
Hyundai Tucson | (06/04--)

Front Axle Left
Front Axle Right
167

2

M16x1,5
M16x1,5

Front Axle Left
Front Axle Right
242

2

M16x1,5
M16x1,5

37-16 030 0003 MARO0262

weree
DRIGINAL
Guaud

i

37-16 031 0001 MARO0264

e
ORIGINAL
Gttt

Kia 57724 2E000

Kia Sportage Il (09/04--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Hyundai 57755-1C000

Application info
Hyundai Getz (06/01-01/11)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Hyundai 57724-3A000
Hyundai 57755-17800

Application info
Hyundai Highway (03/00-03/04)
Hyundai Trajet (09/99-07/08)

Front Axle Left
Front Axle Right
318

2

M16x1,5
M14x1,5

Front Axle Left
Front Axle Right
325

2

M16x1,5
M14x1,5

37-16 031 0006 MARO0268

weree
DRIGINAL
Guaud

Hyundai 57775-1C000

37-16 031 0009 MARO0271

e
ORIGINAL
Gttt

Hyundai 57755-17000

Hyundai Matrix (06/01-08/10)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes

Length [mm]
Required quantity
Thread Size 1
Thread Size 2

replacement in pairs recommended

References
Hyundai 57716-34000

Application info
Hyundai Santa Fé | (11/00-03/06)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Hyundai 57724-13000

Application info
Hyundai 201 (08/08--)

Front Axle Left
Front Axle Right
327

2

M16x1,5
M14x1,5

Front Axle Left
Front Axle Right
223

2

M16x1,5
M16x1,5

37-16 031 0014 MARO0274

weree
DRIGINAL
Guaud

Hyundai 57785-26200

Hyundai Sonata Il (07/92-12/98)

37-16 031 0018 MARO0277

e
ORIGINAL
Gttt

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes
Carbon Neutral
Front Axle Left
Front Axle Right

Length [mm] 173

Required quantity 2

Thread Size 1 M16x1,5

Thread Size 2 M16x1,5

reinforced version
replacement in pairs recommended

References
Hyundai 57724-2S000
Kia 57724 25000

Application info
Hyundai Tucson| (06/04--)
Kia Sportage Il (09/09--)

Axial rod

Notes
Carbon Neutral
Front Axle Left
Front Axle Right

Length [mm] 300

Required quantity 2

Thread Size 1 M16x1,5

Thread Size 2
reinforced version

M12x1,25

replacement in pairs recommended

References
Hyundai 57724-0X000

Application info
Hyundai i101 (10/07--)

37-16 031 0020/HD MARO0522HD

'L =%

Hyundai 57724-2S010
Kia 57724 2S010

Hyundai ix35 (08/09--)

37-16 031 0021/HD MARO0523HD

@&ZE S ————— ]

Hyundai 57724-0X010

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes

Length [mm]
Required quantity
Thread Size 1
Thread Size 2

replacement in pairs recommended

References
Hyundai 56540-C8000

Application info
Hyundai i20 1l (11/14--)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
Hyundai 56540-F2000
Kia 56540 F2000

Application info

Hyundai Elantra VI (09/15--)
Hyundai Konal (06/17--)
Kia Ceed IV (03/18--)

Front Axle Left
Front Axle Right
341

2

M16x1,5
M14x1,5

Carbon Neutral
Front Axle Left
Front Axle Right
300

2

M16X1,5
M16X1,5

37-16 031 0023 MARO0577

weree
DRIGINAL
Guaud

37-16 031 0024/HD MARO0612HD

< ==

Hyundai 56540-F2300
Kia 56540 F2300

Hyundai loniq (AE) (03/16--)
Hyundai i30 Il (11/16--)
Kia Niro | (DE) (09/16--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Axial rod 37-16 031 0025/HD MARO0568HD

Notes
Carbon Neutral HD
Front Axle Left
Front Axle Right

Length [mm] 226 iuﬂf-

Required quantity 2
Thread Size 1 M16x1,5
Thread Size 2 M16X1,5

reinforced version
replacement in pairs recommended

References
Hyundai 56540-D7000 Kia 56540 D7000

Application info

Hyundai Tucson Il (05/15--) Kia Sportage IV (09/15--)
Axial rod 37-16 031 0026/HD MARO0613HD
Notes

Carbon Neutral HD

Front Axle Left
Front Axle Right

Length [m 231 o

Required quantity 2
Thread Size 1 M16x1,5
Thread Size 2 M16x1,5

reinforced version
replacement in pairs recommended

References
Hyundai 57724-D3000 Kia 57724 D3000

Application info
Hyundai Tucson Il (05/15--) Kia Sportage IV (09/15--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Axial rod 37-16 031 0027/HD MARO0578HD

Notes
Carbon Neutral HD
Front Axle Left
Front Axle Right

Length [mm] 238 @;____;m
Required quantity 2

Thread Size 1 M16x1,5

Thread Size 2 M16x1,5

reinforced version
replacement in pairs recommended

References
Hyundai 56540-D7100 Kia 56540 D7100

Application info

Hyundai Tucson Il (05/15--) Kia Sportage IV (09/15--)
Axial rod 37-16 031 0028/HD MARO0651HD
Notes

Carbon Neutral HD

Front Axle Left
Front Axle Right

Length [mm] 242.4 L

Required quantity 2
Thread Size 1 M16X1,5
Thread Size 2 M16X1,5

reinforced version
replacement in pairs recommended

References
Hyundai 57724-D3100 Kia 57724 D3100

Application info
Hyundai NEXO (03/18--) Hyundai Tucson Il (05/15--)
Kia Sportage IV (09/15--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes

Length [mm]
Required quantity
Thread Size 1
Thread Size 2

replacement in pairs recommended

References
Hyundai 56540-B4000

Application info
Hyundai i10 1l (08/13--)

Axial rod

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
Hyundai 56540-A6000

Application info
Hyundai i30 11 (06/11--)
Kia Cee'd Ill (03/12--)

Front Axle Left
Front Axle Right
307

2

M16x1,5
M14x1,5

Carbon Neutral
Front Axle Left
Front Axle Right
214

2

M16x1,5
M16x1,5

37-16 031 0029 MARO0579

weree
DRIGINAL
Guaud

o =

Hyundai i10 Il (09/19--)

37-16 031 0030/HD MARO0585HD

Kia 56540 A6000

Kia Cee'd Il (05/12--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Axial rod

Notes
Front Axle Left
Front Axle Right

Length [mm] 227

Required quantity 2

Thread Size 1 16x1,5

Thread Size 2 16x1,5

replacement in pairs recommended

References
Hyundai 56540-3X000

Application info
Hyundai ElantraV (09/10--)

Axial rod

Notes
Carbon Neutral
Front Axle Left
Front Axle Right

Length [mm] 193

Required quantity 2

Thread Size 1 M16x1,5

Thread Size 2 M16X1,5

reinforced version
replacement in pairs recommended

References
Hyundai 57724-2W000
Kia 57724 2wW000

Application info
Hyundai Santa Fé Il (09/12--)
Kia Sorento Il (06/09--)

37-16 031 0031 MARO0608

weree
DRIGINAL
Guaud

EL e =

D

Hyundai Veloster | (03/11-12/17)

37-16 031 0034/HD MARO0602HD

Kia 57724 2T500
Kia 57724 3Q000

Kia Optima (01/10--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Drag link

Notes

Length [mm]
Required quantity
Thread Size 1
Thread Size 2

References

BMW 1 124 232

BMW 1 127 136

BMW 1129 014

BMW 32211 124 232
BMW 32211127136
BMW 32211129014

Application info
BMW 5 (E28) (05/81-12/87)

Drag link

Notes

Length [mm]
Required quantity
Thread Size 1
Thread Size 2

References

BMW 1 130 661

BMW 1 136 685

BMW 1 138 864

BMW 32211133615
BMW 32 21 1 138 854

Application info
BMW 5 (E34) (02/87-07/96)

316 040 4226 MDLO071

e’

Front Axle middle o
Guide Rod .
for left-hand drive vehicles

480

1

M10x1

M10x1

BMW 1 124 906
BMW 1127 272
BMW 1129 015
BMW 32 211 124 906
BMW 32211 127 272
BMW 32211129015

BMW 6 (E24) (10/75-04/89)

316 040 4331 MDLO0073

e’

Front Axle middle o
Guide Rod ' -
for left-hand drive vehicles

534

1

M10x1

M10x1

BMW 1 133615
BMW 1 138 854
BMW 32211 130661
BMW 32211 136 685
BMW 32211 138 864

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Drag link

Notes

Length [mm]
Required quantity
Thread Size 1
Thread Size 2

References

BMW 1091913

BMW 1093 433

BMW 1 096 057

BMW 32211091917
BMW 32 211 093 435

Application info

BMW 7 (E38) (03/94-11/01)

Drag link

Notes

Length [mm]
Required quantity
Thread Size 1
Thread Size 2

References

BMW 1091914

BMW 1093 434

BMW 1 096 058

BMW 32211091918
BMW 32 21 1093 436

Application info

BMW 7 (E38) (03/94-11/01)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

316 040 4349 MDLOO75

Front Axle middle

Guide Rod

for left-hand drive vehicles
889

1

M12x1,5

M12x1,5

BMW 1091917
BMW 1093 435
BMW 32211091913
BMW 32211093433
BMW 32 21 1 096 057

weree
DRIGINAL
Guaud

316 040 4353 MDLO0076

Front Axle middle

Guide Rod

for right-hand drive vehicles
889

1

M12x1,5

M12x1,5

BMW 1091918
BMW 1 093 436
BMW 32211091914
BMW 32211093 434
BMW 32 21 1 096 058

et
ORIGINAL
uay

MEYLE AG - www.meyle.com



DRIVER’S BEST FRIEND

MEYLE

Tie rod assembly

Notes
Front Axle Left
Front Axle Right

Required quantity 2
Thread Size 1 M14x1,5
Thread Size 2 M16x1,5

replacement in pairs recommended

References

BMW 32 106 774 360
BMW 32 21 6 756 368
BMW 6 774 360

Application info
BMW 7 (E65, E66) (07/01-12/09)

Tie rod assembly

Notes
Front Axle Left

Paired article number 316 030 0005 | MTA0149

Required quantity 1
Thread Size 1 M12x1,5
Thread Size 2 M18x1,5

replacement in pairs recommended

References

BMW 1 095 955

BMW 32106 774 222

BMW 3221 1 095 955

BMW 6 774 222

BMW (Brilliance) 1 095 955

BMW (Brilliance) 32 10 6 774 222
BMW (Brilliance) 32 21 1 095 955
BMW (Brilliance) 6 774 222

316 030 0001 MTAO147

weree
DRIGINAL
Guaud

BMW 32106 777 268
BMW 6 756 368
BMW 6 777 268

316 030 0004 MTAO0148

i
ORIGINAL
Punet

BMW 1 096 897

BMW 32106 777 503

BMW 3221 1096 897

BMW 6 777 503

BMW (Brilliance) 1 096 897

BMW (Brilliance) 32 106 777 503
BMW (Brilliance) 32 21 1 096 897
BMW (Brilliance) 6 777 503

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Application info
BMW 3 (E46) (12/97-12/07) BMW Z4 (E85) (09/02-12/09)
BMW Z4 (E86) (03/06-01/09)

Tie rod assembly 316 030 0005 MTAO0149
Notes

Front Axle Right ...i:in
Paired article number 316 030 0004 | MTA0148 -
Required gquantity 1
Thread Size 1 M12x1,5
Thread Size 2 M18x1,5

replacement in pairs recommended

References

BMW 1 095 956 BMW 1 096 898

BMW 32 106 774 223 BMW 32 106 777 504

BMW 3221 1 095 956 BMW 3221 1096 898

BMW 6 774 223 BMW 6 777 504

BMW (Brilliance) 1 095 956 BMW (Brilliance) 1 096 898

BMW (Brilliance) 32 10 6 774 223 BMW (Brilliance) 32 10 6 777 504
BMW (Brilliance) 3221 1 095 956 BMW (Brilliance) 3221 1 096 898
BMW (Brilliance) 6 774 223 BMW (Brilliance) 6 777 504

Application info
BMW 3 (E46) (12/97-12/07) BMW Z4 (E85) (09/02-12/09)
BMW Z4 (E86) (03/06-01/09)

Tie rod assembly 316 030 0006 MTAO0150
Notes

Front Axle Left ni;En
Paired article number 316 030 0024 | MTA0168 y
Required quantity 1
Thread Size 1 M12x1,5
Thread Size 2 M18x1,5

replacement in pairs recommended

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References
BMW 32106 774 318
BMW 6 751 039

Application info
BMW 3 (E46) (12/97-12/07)

Tie rod assembly

Notes

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

BMW 3412 798

BMW 3 444 999

BMW 32 10 3 444 999

Application info
BMW X3 (E83) (01/03-12/11)

Tie rod assembly

Notes

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

BMW 32 106 774 336
BMW 32216 760 470
BMW 6 760 470

Front Axle Left
Front Axle Right
2

M14x1,5
M18x1,5

Carbon Neutral
Front Axle Left
Front Axle Right
2

M14x1,5
M14x1,5

BMW 32 21 6 751 039
BMW 6 774 318

316 030 0009 MTAO0153

e
DRIGINAL
Cuad

BMW 3418 204
BMW 32103412 798
BMW 32 30 3 418 204

316 030 0010/HD MTAO0154HD

o ©

BMW 32216 751 277
BMW 6 751 277
BMW 6 774 336

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Application info
BMW X5 (E53) (01/00-12/06)

Tie rod assembly 316 030 0011 MTAO0155
Notes
Front Axle Left ».,:
Front Axle Right -
Required quantity 2
Thread Size 1 M14x1,5
Thread Size 2 M18x1,5

replacement in pairs recommended

References

BMW 32106 774 347 BMW 32106 777 479

BMW 32216 762 403 BMW 6 762 403

BMW 6 774 347 BMW 6 777 479

BMW (Brilliance) 32 10 6 774 347 BMW (Brilliance) 32 10 6 777 479
BMW (Brilliance) 32 21 6 762 403 BMW (Brilliance) 6 762 403

BMW (Brilliance) 6 774 347 BMW (Brilliance) 6 777 479

Application info

BMW 5 (E60, E61) (12/01-12/10) BMW 6 (E63, E64) (09/03-12/10)
Tie rod assembly 316 030 0012/HD MTAO0156HD
Notes

Carbon Neutral
Front Axle Left

Manufacturer Restriction TRW

Paired article number 316 030 0013/HD | MTA0157HD
Required quantity 1

Thread Size 1 M14x1,5

Thread Size 2 M18x1,5

reinforced version
replacement in pairs recommended

References
BMW 32216 762 243 BMW 6 762 243
BMW (Brilliance) 32216 762 243 BMW (Brilliance) 6 762 243

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Application info
BMW 1 (E81, E82, E87, E88) (02/03-12/13) BMW 3 (E90, E91, E92, E93) (02/04-12/13)
BMW X1 (E84) (03/09-06/15)

Tie rod assembly 316 030 0013/HD MTAO0157HD

Carbon Neutral

Front Axle Right

Notes

Manufacturer Restriction TRW

Paired article number 316 030 0012/HD | MTA0156HD
Required quantity 1

Thread Size 1 M14x1,5

Thread Size 2 M18x1,5

reinforced version
replacement in pairs recommended

References
BMW 32216 762 244 BMW 6 762 244
BMW (Brilliance) 32 21 6 762 244 BMW (Brilliance) 6 762 244

Application info
BMW 1 (E81, E82, E87, E88) (02/03-12/13) BMW 3 (E90, E91, E92, E93) (02/04-12/13)
BMW X1 (E84) (03/09-06/15)

Tie rod assembly 316 030 0014 MTAO0158
Notes

Front Axle Left ..i;:in
Paired article number 316 030 0015 | MTA0159 -
Required quantity 1 S
Thread Size 1 M14x1,5 w
Thread Size 2 M18x1,5 ’ =

replacement in pairs recommended

References

BMW 32106 768 879 BMW 32106 793 621

BMW 6 768 879 BMW 6 793 621

BMW (Brilliance) 32 10 6 768 879 BMW (Brilliance) 32 10 6 793 621
BMW (Brilliance) 6 768 879 BMW (Brilliance) 6 793 621

Application info
BMW 3 (E90, E91, E92, E93) (02/04-12/13) BMW X1 (E84) (03/09-06/15)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Tie rod assembly

Notes
Front Axle Right
Paired article number

Required quantity 1
Thread Size 1 M14x1,5
Thread Size 2 M18x1,5

replacement in pairs recommended

References

BMW 32 10 6 768 880

BMW 6 768 880

BMW (Brilliance) 32 10 6 768 880
BMW (Brilliance) 6 768 880

Application info
BMW 3 (E90, E91, E92, E93) (02/04-12/13)

Tie rod assembly

Notes
Front Axle Left
Front Axle Right
Required quantity 2
Thread Size 1 M14x1,5
Thread Size 2 M18x1,5

replacement in pairs recommended

References
BMW 32216 767 861
BMW 6 767 861

Application info
BMW 5 (E60, E61) (12/01-12/10)

316 030 0014 | MTA0158

316 030 0015 MTAO0159

weree
DRIGINAL
Guaud

BMW 3210 6 793 622

BMW 6 793 622

BMW (Brilliance) 32 10 6 793 622
BMW (Brilliance) 6 793 622

BMW X1 (E84) (03/09-06/15)

316 030 0016 MTAO0160

e
ORIGINAL
unry

BMW 32216 777 451
BMW 6 777 451

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod assembly 316 030 0017/HD MTAO0161HD

Notes
Carbon Neutral I;IIEI
Front Axle Left

Manufacturer Restriction ZF

Paired article number 316 030 0018/HD | MTA0162HD

Required quantity 1

Thread Size 1 M14x1,5

Thread Size 2 M18x1,5

reinforced version

replacement in pairs recommended

References

BMW 32 10 6 765 235 BMW 6 765 235

BMW (Brilliance) 32 10 6 765 235 BMW (Brilliance) 6 765 235

Application info

BMW 1 (E81, E82, E87, E88) (02/03-12/13) BMW 3 (EQ0, E91, E92, E93) (02/04-12/13)

BMW X1 (E84) (03/09-06/15) BMW Z4 (E89) (02/09-08/16)

Tie rod assembly 316 030 0018/HD MTA0162HD

Notes

Carbon Neutral
Front Axle Right

Manufacturer Restriction ZF

Paired article number 316 030 0017/HD | MTA0161HD
Required quantity 1

Thread Size 1 M14x1,5

Thread Size 2 M18x1,5

reinforced version
replacement in pairs recommended

References
BMW 32 10 6 765 236 BMW 6 765 236
BMW (Brilliance) 32 10 6 765 236 BMW (Brilliance) 6 765 236

Application info
BMW 1 (E81, E82, E87, E88) (02/03-12/13) BMW 3 (E90, E91, E92, E93) (02/04-12/13)
BMW X1 (E84) (03/09-06/15) BMW Z4 (E89) (02/09-08/16)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod assembly 316 030 0019 MTAO0163
Notes

Front Axle Left ni;:zn
Paired article number 316 030 0020 | MTAO0164
Required quantity 1 i
Thread Size 1 M10x1,25 H

- ——

Thread Size 2 M16x1,5

replacement in pairs recommended

References
Mini 32 11 6 761 557 Mini 32116 777 521
Mini 6 761 557 Mini 6 777 521

Application info
Mini Mini | (06/01-07/08)

Tie rod assembly 316 030 0020 MTAO0164
Notes

Front Axle Right ...i:in
Paired article number 316 030 0019 | MTA0163
Required quantity 1

Thread Size 1 M10x1,25 -
Thread Size 2 M16x1,5
replacement in pairs recommended

)

References
Mini 32 106 777 522 Mini 32 11 6 761 558
Mini 6 761 558 Mini 6 777 522

Application info
Mini Mini | (06/01-07/08)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod assembly 316 030 0021 MTAO0165
Notes
Front Axle Left ni;:zn
Front Axle Right -
Required quantity 2 &
Thread Size 1 M14x1,5 M
Thread Size 2 M18x1,5

replacement in pairs recommended

References

BMW 32 10 6 780 985 BMW 32 10 6 793 496
BMW 32216 773741 BMW 6 773 741

BMW 6 780 985 BMW 6 793 496

Application info

BMW X5 (E70) (02/06-07/13) BMW X6 (E71) (06/07-07/14)
Tie rod assembly 316 030 0022 MTAO0166
Notes

i
ORIGINAL
Punet

Front Axle Left

Paired article number 316 030 0023 | MTA0167
Required quantity 1

Thread Size 1 M12x1,5

Thread Size 2 M14x1,5

replacement in pairs recommended

References
Mini 3210 6 778 547 Mini 6 778 547

Application info
Mini- Mini Il (11/05-12/15)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod assembly 316 030 0023 MTAO0167
Notes

Front Axle Right ni;:zn
Paired article number 316 030 0022 | MTA0166 -
Required quantity 1
Thread Size 1 M12x1,5
Thread Size 2 M14x1,5

replacement in pairs recommended

References
Mini 32 10 6 778 548 Mini 6 778 548

Application info
Mini Mini Il (11/05-12/15)

Tie rod assembly 316 030 0024 MTAO0168
Notes

Front Axle Right ».,:
Paired article number 316 030 0006 | MTA0150 -
Required quantity 1
Thread Size 1 M12x1,5
Thread Size 2 M18x1,5

replacement in pairs recommended

References

BMW 32 106 774 319 BMW 32 106 774 919
BMW 32 21 6 751 040 BMW 6 751 040

BMW 6 774 319 BMW 6 774 919

Application info
BMW 3 (E46) (12/97-12/07)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod assembly 316 030 3049 MTAO0170
Notes
Front Axle Left ni;:zn
Front Axle Right -
Required quantity 2
Thread Size 1 M10x1,0
Thread Size 2 M10x1,0

replacement in pairs recommended

References
BMW 1117 212 BMW 1118 619
BMW 32211117 212 BMW 32211118619

Application info
BMW 7 (E23) (05/77-04/88)

Tie rod assembly 316 030 4339 MTAOQ176
Notes

Front Axle Left "'i;i"
Paired article number 316 030 4340 | MTAO0177 -
Required quantity 1
Thread Size 1 M10x1,0 MM?
Thread Size 2 M18x1,5

replacement in pairs recommended

References
BMW 1 139 315 BMW 1 139 317
BMW 32111 139 315 BMW 32111 139 317

Application info
BMW 3 (E36) (09/90-08/00) BMW Z3 (E36/7, E36/8) (10/95-06/03)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Tie rod assembly

Notes

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 1 139 316

Application info
BMW 3 (E36) (09/90-08/00)

Tie rod assembly

Notes

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

BMW 1091 768

BMW 1094 674

BMW 32 111093 770
BMW 32211094 674

Application info
BMW 5 (E39) (09/95-06/04)

316 030 4355 | MTA0179

316 030 4340 MTAO177

e’

Front Axle Right oA

Guaucd

316 030 4339 | MTA0176

1
M10x1,0
M18x1,5

e\ =f=iln

BMW 32111 139 316

BMW Z3 (E36/7, E36/8) (10/95-06/03)

316 030 4354 MTAO0178

e
ORIGINAL
Gttt

Front Axle Right

1
M12x1,5
M18x1,5

BMW 1093 770
BMW 32111091 768
BMW 32111094 674

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Tie rod assembly

Notes

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

BMW 1091 767

BMW 1094 673

BMW 32 11 1 093 769
BMW 32211094 673

Application info
BMW 5 (E39) (09/95-06/04)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Mini 32 21 6 754 566

Application info
Mini Mini | (06/01-07/08)

Front Axle Left

316 030 4354 | MTA0178
1

M12x1,5

M18x1,5

Front Axle Right

230

316 020 0004 | MTE0332
1

M10x1,25

M14x1,5

316 030 4355 MTAO0179
Q
BMW 1 093 769
BMW 32111 091 767
BMW 32111094 673
316 020 0000 MTEO0329

e
ORIGINAL
unry

Mini 6 754 566

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 1094 673

Application info
BMW 5 (E39) (09/95-06/04)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 1094 674

Application info
BMW 5 (E39) (09/95-06/04)

316 020 0002 MTEO0330

e’

Front Axle Left o
227 .
316 020 0003 | MTEO331
1

M12x1,5

M16x1,0

BMW 32111094 673

316 020 0003 MTEO0331

e

Front Axle Right o
227 -
316 020 0002 | MTEO330
1

M12x1,5

M16x1,0

BMW 32111094674

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 316 020 0004 MTEO0332
Notes

Front Axle Left ni;:in
Length [mm] 230 -
Paired article number 316 020 0000 | MTEO329
Required quantity 1
Thread Size 1 M10x1,25
Thread Size 2 M14x1,5

replacement in pairs recommended

References
Mini 32 21 6 754 565 Mini 6 754 565

Application info
Mini Mini | (06/01-07/08)

Tie rod end 316 020 0005/HD MTEO0333HD

Notes
Carbon Neutral
Front Axle Left
Front Axle Right

Length [mm] 190
Required quantity 2
Thread Size 1 M14x1,5
Thread Size 2 M14x1,5

reinforced version
replacement in pairs recommended

References

BMW 1 096 327 BMW 32 106 774 335
BMW 32 21 1 096 327 BMW 32 21 6 760 354
BMW 6 760 354 BMW 6 774 335

Application info
BMW X5 (E53) (01/00-12/06)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 316 020 0006 MTEO0334
Notes
Front Axle Left ni;:zn
Front Axle Right -
Length [mm] 210
Required quantity 2
Thread Size 1 M14x1,5
Thread Size 2 M14x1,5
replacement in pairs recommended
References
BMW 3413 476 BMW 3418 202
BMW 32 30 3 418 202 BMW 32413413 476
Application info
BMW X3 (E83) (01/03-12/11)
Tie rod end 316 020 0007/HD MTEQO335HD
Notes
Carbon Neutral
Front Axle Left
Length [mm] 135
Paired article number 316 020 0008/HD | MTEO336HD
Required quantity 1
Thread Size 1 M14x1,5
Thread Size 2 M14x1,5

reinforced version
replacement in pairs recommended

References

BMW 32 10 6 765 089 BMW 32 106 767 781

BMW 6 765 089 BMW 6 767 781

BMW (Brilliance) 32 10 6 765 089 BMW (Brilliance) 32 10 6 767 781
BMW (Brilliance) 6 765 089 BMW (Brilliance) 6 767 781

Application info

BMW 1 (E81, E82, E87, E88) (02/03-12/13) BMW 3 (E9O0, E91, E92, E93) (02/04-12/13)
BMW 3 (F30, F31) (11/11-06/19) BMW X1 (E84) (03/09-06/15)

BMW Z4 (E89) (02/09-08/16)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Tie rod end
Notes
Carbon Neutral
Front Axle Right
Length [mm] 135
Paired article number
Required quantity 1
Thread Size 1 M14x1,5
Thread Size 2 M14x1,5

reinforced version
replacement in pairs recommended

References

BMW 32 10 6 765 090

BMW 6 765 090

BMW (Brilliance) 32 10 6 765 090
BMW (Brilliance) 6 765 090

Application info

BMW 1 (E81, E82, E87, E88) (02/03-12/13)
BMW 3 (F30, F31) (11/11-06/19)

BMW Z4 (E89) (02/09-08/16)

Tie rod end
Notes
Front Axle Right
Length [mm] 110
Paired article number 316 020 0010 | MTEO338
Required quantity 1
Thread Size 1 M14x1,5
Thread Size 2 M14x1,5

replacement in pairs recommended

References

BMW 32106 769 074

BMW 6 769 074

BMW (Brilliance) 32 10 6 769 074
BMW (Brilliance) 6 769 074

Application info
BMW 3 (E90, E91, E92, E93) (02/04-12/13)

316 020 0007/HD | MTEO335HD

316 020 0008/HD MTEO0336HD

BMW 32106 767 782

BMW 6 767 782

BMW (Brilliance) 32 10 6 767 782
BMW (Brilliance) 6 767 782

BMW 3 (E90, E91, E92, E93) (02/04-12/13)
BMW X1 (E84) (03/09-06/15)

316 020 0009 MTEO0337

e
DRIGINAL

BMW 3210 6 793 624

BMW 6 793 624

BMW (Brilliance) 32 10 6 793 624
BMW (Brilliance) 6 793 624

BMW X1 (E84) (03/09-06/15)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 316 020 0010 MTEO0338

Notes
-

Front Axle Left

Length [mm] 122

Paired article number 316 020 0009 | MTEO337
Required quantity 1

Thread Size 1 M14x1,5

Thread Size 2 M14x1,5

replacement in pairs recommended

References

BMW 32 106 769 073 BMW 32 10 6 793 623

BMW 6 769 073 BMW 6 793 623

BMW (Brilliance) 32 10 6 769 073 BMW (Brilliance) 32 10 6 793 623
BMW (Brilliance) 6 769 073 BMW (Brilliance) 6 793 623

Application info

BMW 3 (E90, E91, E92, E93) (02/04-12/13) BMW X1 (E84) (03/09-06/15)

Tie rod end 316 020 0011 MTEQ339

Notes
Front Axle Left "'5;;."
Front Axle Right

Length [mm] 156

Required quantity 2

Thread Size 1 M14x1,5

Thread Size 2 M16x1,5

replacement in pairs recommended

References

BMW 32216 767 860 BMW 6 767 860

Application info
BMW 5 (E60, E61) (12/01-12/10)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



MEYLE

DRIVER’S BEST FRIEND

Tie rod end 316 020 0014 MTEO0340

Notes
-

Front Axle Left

Length [mm] 192

Paired article number 316 020 0015 | MTEO341
Required quantity 1

Thread Size 1 M12x1,5

Thread Size 2 M14x1,5

replacement in pairs recommended

References
BMW 32106 774 320 BMW 32 216 751 041
BMW 6 751 041 BMW 6 774 320

Application info
BMW 3 (E46) (12/97-12/07)

Tie rod end 316 020 0015 MTEO0341

Notes
@) WEYLe'

ORIGINAL
Gttt

Front Axle Right
Length [mm] 192

Paired article number
Required quantity
Thread Size 1
Thread Size 2

316 020 0014 | MTE0340
1

M12x1,5

M14x1,5

replacement in pairs recommended °

References
BMW 32106 774 321 BMW 32 216 751 042
BMW 6 751 042 BMW 6 774 321

Application info
BMW 3 (E46) (12/97-12/07)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

MEYLE AG - www.meyle.com



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 316 020 0018 MTEO0342
Notes

Front Axle Right ni;:in
Length [mm] 233 -
Paired article number 316 020 0019 | MTEO0343
Required quantity 1
Thread Size 1 M10x1,25
Thread Size 2 M14x1,5

replacement in pairs recommended

References
Mini 32 11 6 761 560 Mini 6 761 560

Application info
Mini Mini | (06/01-07/08)

Tie rod end 316 020 0019 MTEO0343
Notes

Front Axle Left ».,:
Length [mm] 233 -
Paired article number 316 020 0018 | MTEQ342
Required quantity 1
Thread Size 1 M10x1,25
Thread Size 2 M14x1,5

replacement in pairs recommended

References
Mini 32 13 6 761 559 Mini 6 761 559

Application info
Mini Mini | (06/01-07/08)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Tie rod end

Notes

Length [mm]
Required quantity
Thread Size 1
Thread Size 2
reinforced version

replacement in pairs recommended

References

BMW 32 10 6 780 984
BMW 32216 773739
BMW 6 780 984

Application info
BMW X5 (E70) (02/06-07/13)

Tie rod end

Notes

Length [mm]
Required quantity
Thread Size 1
Thread Size 2

replacement in pairs recommended

References

BMW 32 10 6 780 984
BMW 32216 773739
BMW 6 780 984

Application info
BMW X5 (E70) (02/06-07/13)

Carbon Neutral
Front Axle Left
Front Axle Right
185

2

M14x1,5
M14x1,5

Front Axle Left
Front Axle Right
185

2

M14x1,5
M14x1,5

316 020 0020/HD MTEO0344HD

BMW 3210 6 793 497
BMW 6 773 739
BMW 6 793 497

BMW X6 (E71) (06/07-07/14)

316 020 0020 MTEO0344

BMW 3210 6 793 497
BMW 6 773 739
BMW 6 793 497

BMW X6 (E71) (06/07-07/14)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

e
ORIGINAL
Gttt

MEYLE AG - www.meyle.com



DRIVER’S BEST FRIEND

MEYLE

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Mini 32 10 6 778 438

Application info
Mini Mini Il (11/05-12/15)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Mini 32 10 6 778 437

Application info
Mini Mini Il (11/05-12/15)

316 020 0021 MTEO0345

weree
DRIGINAL
Guaud

Front Axle Right

237

316 020 0022 | MTE0346
1

M12x1,5

M14x1,5

Mini 6 778 438

316 020 0022 MTEO0346

L)

e
ORIGINAL
Gttt

Front Axle Left I\
237

316 020 0021 | MTE0345

1

M12x1,5

M14x1,5

()

Mini 6 778 437

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 32 106 784 796
BMW (Brilliance) 32 10 6 784 796

Application info
BMW 5 (FO7) (01/09-02/17)
BMW 6 (F12, F13) (12/10-10/18)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 32 106 784 790
BMW (Brilliance) 32 10 6 784 790

Application info
BMW 5 (FO7) (01/09-02/17)
BMW 6 (F12, F13) (12/10-10/18)

Front Axle Right

160

316 020 0024 | MTE0348
1

M14x1,5

M14x1,5

Front Axle Left

160

316 020 0023 | MTEO0347
1

M14x1,5

M14x1,5

316 020 0023 MTEO0347

weree
DRIGINAL
Guaud

BMW 6 784 796
BMW (Brilliance) 6 784 796

BMW 5 (F10, F11) (01/09-02/17)
BMW 7 (FO1, FO2, FO3, FO4) (02/08-12/15)

316 020 0024 MTEO0348

i
ORIGINAL
Punet

BMW 6 784 790
BMW (Brilliance) 6 784 790

BMW 5 (F10, F11) (01/09-02/17)
BMW 7 (FO1, FO2, FO3, F04) (02/08-12/15)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



MEYLE

DRIVER’S BEST FRIEND

Tie rod end 316 020 0025 MTEO0349
Notes

Front Axle Right ni;:in
Length [mm] 150 -
Paired article number 316 020 0026 | MTE0350
Required quantity 1
Thread Size 1 M14x1,5
Thread Size 2 M14x1,5

replacement in pairs recommended

References

BMW 32 10 6 799 876

BMW 6 799 876

BMW (Brilliance) 32 10 6 799 967

BMW 32 106 799 967
BMW 6 799 967
BMW (Brilliance) 6 799 967

Application info

BMW 1 (F20, F21) (07/11--)
BMW 3 (F30, F31) (11/11-06/19)
BMW 4 (F32, F33, F36) (07/13--)

BMW 2 (F22,F23) (10/12--)
BMW 3 (F34) (07/12--)

Tie rod end 316 020 0026 MTEO0350

Notes
-

Front Axle Left

Length [mm] 150

Paired article number 316 020 0025 | MTEO349
Required quantity 1

Thread Size 1 M14x1,5

Thread Size 2 M14x1,5

replacement in pairs recommended

References

BMW 32 106 799 875

BMW 6 799 875

BMW (Brilliance) 32 10 6 799 966

Application info

BMW 1 (F20, F21) (07/11--)
BMW 3 (F30, F31) (11/11-06/19)
BMW 4 (F32, F33, F36) (07/13--)

BMW 3210 6 799 966
BMW 6 799 966
BMW (Brilliance) 6 799 966

BMW 2 (F22,F23) (10/12--)
BMW 3 (F34) (07/12--)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

MEYLE AG - www.meyle.com



DRIVER’S BEST FRIEND

MEYLE

Tie rod end

Notes

Length [mm]

Paired article number
Required quantity
Thread Size 1
Thread Size 2

replacement in pairs recommended

References
BMW 32 106 797 618
BMW (Brilliance) 32 10 6 797 618

Application info

BMW 1 (F20, F21) (07/11--)
BMW 3 (F30, F31) (11/11-06/19)
BMW 4 (F32, F33, F36) (07/13--)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 32106 797 617

Application info

BMW 1 (F20, F21) (07/11--)
BMW 3 (F30, F31) (11/11-06/19)
BMW 4 (F32, F33, F36) (07/13--)

Front Axle Right

150

316 020 0028 | MTE0352
1

M14x1,5

M14x1,5

Front Axle Left

150

316 020 0027 | MTEO351
1

M14x1,5

M14x1,5

316 020 0027 MTEO351

weree
DRIGINAL
Guaud

\@v"
s ife

>
} ,E;

BMW 6 797 618
BMW (Brilliance) 6 797 618

BMW 2 (F22,F23) (10/12--)
BMW 3 (F34) (07/12--)

316 020 0028 MTEO0352

e
ORIGINAL
unry

L=

=
=1

BMW 6 797 617

BMW 2 (F22,F23) (10/12--)
BMW 3 (F34) (07/12--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 316 020 0030 MTEO0558
Notes

Front Axle Right ni;:in
Length [mm] 269 -
Paired article number 316 020 0031 | MTEO559 &
Required quantity 1 &
Thread Size 1 M12x1,5 w
Thread Size 2 M14x1,5

replacement in pairs recommended

References
Mini 32 10 9 805 552 Mini 32 10 9 808 840
Mini 9 805 552 Mini 9 808 840

Application info

Mini Countryman | (08/10-10/16) Mini Paceman (03/12-10/16)
Tie rod end 316 020 0031 MTEO0559
Notes
Front Axle Left ...i:in
Length [mm] 269
Paired article number 316 020 0030 | MTE0558 K
Required quantity 1
Thread Size 1 M12x1,5 c
Thread Size 2 M14x1,5

replacement in pairs recommended

References
Mini 32 10 9 805 551 Mini 32 10 9 808 839
Mini 9 805 551 Mini 9 808 839

Application info
Mini Countryman | (08/10-10/16) Mini Paceman (03/12-10/16)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 316 020 0034/HD MTEO0744HD

Notes
Carbon Neutral
Front Axle Right
Length [mm] 195
Paired article number 316 020 0035/HD | MTEQ745HD
Required quantity 1
Thread Size 1 14x1,5
Thread Size 2 14x1,5
reinforced version

replacement in pairs recommended

References
BMW 32 10 6 858 738 BMW 32 10 6 863 860
BMW 6 858 738 BMW 6 863 860

Application info
BMW X5 (F15) (08/13-07/18) BMW X6 (F16) (08/14-07/19)

Tie rod end 316 020 0035/HD MTEO0745HD

Notes
Carbon Neutral
Front Axle Left

Length [mm] 195

Paired article number 316 020 0034/HD | MTEO744HD
Required quantity 1

Thread Size 1 14x1,5

Thread Size 2 14x1,5

reinforced version
replacement in pairs recommended

References
BMW 32 10 6 858 736 BMW 32 10 6 863 858
BMW 6 858 736 BMW 6 863 858

Application info
BMW X5 (F15) (08/13-07/18) BMW X6 (F16) (08/14-07/19)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



MEYLE

DRIVER’S BEST FRIEND

Tie rod end 316 020 0036/HD MTEQ754HD

Notes
Carbon Neutral Iﬁ-ﬂllél
Front Axle Right -

Length [mm] 221

Paired article number 316 020 0037/HD | MTEQ755HD

Required quantity 1

Thread Size 1 M14x1.5

Thread Size 2 M14x1,5

reinforced version

replacement in pairs recommended

References

Mini 32 10 5 A01 8C9 Mini 32 10 6 854 737

Mini 5 A01 8C9 Mini 6 854 737

Application info

Mini Mini Il (09/13--)

Tie rod end 316 020 0037/HD MTEQ755HD

Notes
Carbon Neutral
Front Axle Left

Length [mm] 221

Paired article number 316 020 0036/HD | MTEO754HD

Required quantity 1

Thread Size 1 M14x1,5

Thread Size 2 M14x1,5

reinforced version
replacement in pairs recommended

References
Mini 32 10 5 AO1 8B9 Mini 32 10 6 854 734
Mini 5 A01 8B9 Mini 6 854 734

Application info
Mini Mini lll (09/13--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 316 020 0040/HD MTEQ767HD

Notes
Carbon Neutral I;IIEI
Front Axle Right

Length [mm] 235

Paired article number 316 020 0041/HD | MTEO768HD

Required quantity 1

Thread Size 1 14x1,5

Thread Size 2 14x1,5

reinforced version

replacement in pairs recommended

References

BMW 32105 A01 8D4 BMW 32 10 6 869 425

BMW 5 AO1 8D4 BMW 6 869 425

BMW (Brilliance) 32 10 6 869 425 BMW (Brilliance) 6 869 425

Mini 32 10 5 AO1 8D4 Mini 32 10 6 869 425

Mini 5 A01 8D4 Mini 6 869 425

Application info

BMW 1 (F40), 2 Gran Coupe (F44) (07/19--) BMW 1 (F52) (01/17--)

BMW 2 (F45, F46) (11/13--) BMW X1 (F48) (11/14--)

BMW X2 (F39) (11/17--) Mini Countryman Il (10/16--)

Mini- Mini Il (09/13--)

Tierod end 316 020 0041/HD MTEQO768HD

Notes
Carbon Neutral @ I:ﬂllil
Front Axle Left ;

Length [mm] 235

Paired article number 316 020 0040/HD | MTEO767HD

Required quantity 1

Thread Size 1 14x1,5

Thread Size 2 14x1,5

reinforced version
replacement in pairs recommended

References

BMW 32105 A01 8D0 BMW 32 10 6 869 424
BMW 5 AO1 8D0O BMW 6 869 424

BMW (Brilliance) 32 10 6 869 424 BMW (Brilliance) 6 869 424
Mini 32 10 5 A01 8DO Mini 32 10 6 869 424

Mini 5 A01 8DO Mini 6 869 424

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info

BMW 1 (F40), 2 Gran Coupe (F44) (07/19--)

BMW 2 (F45, F46) (11/13-)
BMW X2 (F39) (11/17--)
Mini Mini Il (09/13--)

Tie rod end

Notes

Length [mm]

Paired article number

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

BMW 32 10 6 868 687

BMW 32 10 6 881 535

BMW 6 869 538

BMW (Brilliance) 32 10 6 885 170

Application info

BMW 5 (G30, G31) (09/16--)

BMW 7 (G11, G12) (07/15--)

BMW 8 Gran Coupe (G16) (07/19--)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

BMW 1 (F52) (01/17--)

BMW X1 (F48) (11/14--)
Mini Countryman Il (10/16--)

Carbon Neutral

Front Axle Right

with right-hand thread

199

316 020 0043

316 020 0043/HD | MTE0864HD
1

M14x1,5

M14x1,5

316 020 0042/HD MTEO0863HD

BMW 32 10 6 869 538

BMW 6 868 687
BMW 6 881 535

BMW (Brilliance) 6 885 170

BMW 6 (G32) (06/17--)
BMW 8 (G15) (07/18-)

Carbon Neutral

Front Axle Left

with right-hand thread

199

316 020 0042/HD | MTE0863HD
1

M14x1,5

M14x1,5

316 020 0043/HD MTE0864HD

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

BMW 32 10 6 868 685 BMW 32 10 6 869 536
BMW 3210 6 881 534 BMW 6 868 685

BMW 6 869 536 BMW 6 881 534

BMW (Brilliance) 32 10 6 885 169 BMW (Brilliance) 6 885 169

Application info

BMW 5 (G30, G31) (09/16--) BMW 6 (G32) (06/17--)
BMW 7 (G11, G12) (07/15-) BMW 8 (G15) (07/18--)
BMW 8 Gran Coupe (G16) (07/19--)

Tie rod end 316 020 0044/HD MTEO0876HD
Notes
Carbon Neutral 3
Front Axle Right b 4
outer g
Length [mm] 160 P~
Paired article number 316 020 0045/HD | MTEO0877HD f*‘ﬁ
Required quantity 1 N
Thread Size 1 M14x1,5 &\g
Thread Size 2 M14x1,5

reinforced version
replacement in pairs recommended

References
BMW 32 10 4 A01 9DO0 BMW 32 106 871 893
BMW 4 A01 9DO0 BMW 6 871 893

Application info
BMW 3 (G20, G21) (11/18--) BMW X3 (G01) (07/17--)
BMW X4 (G02) (04/18--) BMW iX3 (09/20--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
BMW 32 10 4 AO1 666
BMW 4 A01 666

Application info
BMW 3 (G20, G21) (11/18--)
BMW X4 (G02) (04/18--)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 32 10 6 851 412

Application info
BMW i3 (08/13--)

316 020 0045/HD MTEO0877HD

Carbon Neutral
Front Axle Left

=
outer
160 e“

316 020 0044/HD | MTEO876HD \\
1 S

O 1
M14x1,5 7
M14x1,5

BMW 32106 871 889
BMW 6 871 889

BMW X3 (G01) (07/17-)
BMW iX3 (09/20--)

316 020 0046 MTE0925

were
ORIGINAL
Gttt

Front Axle Right

169

316 020 0047 | MTE0926
1

M14x1,5

M14x1,5

BMW 6 851 412

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 32 106 851 411

Application info
BMW i3 (08/13--)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
BMW 32 10 6 880 698

Application info
BMW 2 (G42) (08/21--)
BMW 4 (G22, G23, G26) (07/20--)

316 020 0047 MTE0926

weree
DRIGINAL
Guaud

Front Axle Left

169

316 020 0046 | MTE0925
1

M14x1,5 = ,, :
M14x1,5 L g 4

BMW 6 851 411

316 020 0048/HD MTEO0939HD

Carbon Neutral

Front Axle Right

146.6

316 020 0049/HD | MTEQ940HD
1

M14x1,5 v
M14x1,5 Q \

BMW 6 880 698

BMW 3 (G20, G21) (11/18--)
BMW i4 (G26) (11/21--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
BMW 32 10 6 880 696

Application info
BMW 2 (G42) (08/21--)
BMW 4 (G22, G23, G26) (07/20--)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
BMW 32 10 6 887 406

Application info
BMW X5 (G05) (08/18--)
BMW X7 (GO7) (03/19--)

316 020 0049/HD MTEO0940HD

Carbon Neutral
Front Axle Left

146.6

316 020 0048/HD | MTE0939HD

1 ' vy
M14x1,5 g, -

M14x1,5 \ /3

BMW 6 880 696

BMW 3 (G20, G21) (11/18--)
BMW i4 (G26) (11/21--)

316 020 0050/HD MTEO0941HD

Carbon Neutral

Front Axle Right

177

316 020 0051/HD | MTE0942HD
1

M14x1,5

M16x1,5

BMW 6 887 406

BMW X6 (GO06) (08/19--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
BMW 32 10 6 887 405

Application info
BMW X5 (G05) (08/18--)
BMW X7 (G07) (03/19--)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

BMW 32 10 5 A38 DES8
BMW 5 A38 DES8
Toyota 45046-WAAO1

Application info

BMW 2 (G42) (08/21--)

BMW 4 (G22, G23, G26) (07/20--)
BMW i4 (G26) (11/21--)

316 020 0051/HD MTE0942HD

Carbon Neutral

Front Axle Left

177

316 020 0050/HD | MTE0941HD
1

M14x1,5

M16x1,5

BMW 6 887 405

BMW X6 (G06) (08/19--)

316 020 0052 MTE0943

e
ORIGINAL
Guaucd

Front Axle Right

138

316 020 0053 | MTE0944
1

M14x1,5

M16x1,5

BMW 32 10 6 887 402
BMW 6 887 402

BMW 3 (G20, G21) (11/18--)
BMW Z4 Roadster (G29) (11/18--)
Toyota SupraV (_A9_) (03/19--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

BMW 32 10 5A38 DE6
BMW 5 A38 DE6
Toyota 45047-WAAO1

Application info

BMW 2 (G42) (08/21--)

BMW 4 (G22, G23, G26) (07/20--)
BMW 4 (G26) (11/21--)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 1 139 313

Application info
BMW 3 (E36) (09/90-08/00)

Front Axle Left

138

316 020 0052 | MTEQ0943
1

M14x1,5

M16x1,5

Front Axle Left

210

316 020 4344 | MTEO0358
1

M10x1,0

M14x1,5

316 020 0053 MTEQ0944

weree
DRIGINAL
Guaud

BMW 32 10 6 887 400
BMW 6 887 400

BMW 3 (G20, G21) (11/18--)
BMW Z4 Roadster (G29) (11/18--)
Toyota SupraV (_A9_) (03/19--)

316 020 4341 MTEO0357

et
ORIGINAL
uay

@

BMW 32111139313

BMW Z3 (E36/7, E36/8) (10/95-06/03)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Tie rod end
Notes
Front Axle Right
Length [mm] 210
Paired article number 316 020 4341 | MTEO357
Required quantity 1
Thread Size 1 M10x1,0
Thread Size 2 M14x1,5

replacement in pairs recommended

References
BMW 1 139 314

Application info
BMW 3 (E36) (09/90-08/00)

Tie rod end

Notes
Front Axle Left
with left-hand thread

Length [mm] 219

Paired article number 316 020 4351 | MTEO0360
Required quantity 1

Thread Size 1 M12x1,5

Thread Size 2 M16x1,5

replacement in pairs recommended

References
BMW 1 141 345

Application info
BMW 7 (E38) (03/94-11/01)

316 020 4344 MTEO0358

weree
DRIGINAL
Guaud

BMW 32111 139 314

BMW Z3 (E36/7, E36/8) (10/95-06/03)

316 020 4350 MTEO0359

e
ORIGINAL
Gttt

BMW 32211 141 345

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 1 141 346

Application info
BMW 7 (E38) (03/94-11/01)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

BMW 1091 724

BMW 1094 676

BMW 32 111094 676

Application info
BMW 5 (E39) (09/95-06/04)

316 020 4351 MTEO0360

Front Axle Right e "

with right-hand thread
219

316 020 4350 | MTE0359
1

M12x1,5

M16x1,5

BMW 32211 141 346

316 020 4374 MTEO0361

e

Front Axle Right o
230 -
316 020 4375 | MTE0362
1

M12x1,5

M16x1,5

BMW 1091 770
BMW 32111091770
BMW 32211091724

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 1091 723

Application info
BMW 5 (E39) (09/95-06/04)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

BMW 1 095 957

BMW 32 21 1 095 957

BMW (Brilliance) 1 095 957

BMW (Brilliance) 32 21 1 095 957

Application info
BMW 3 (E46) (12/97-12/07)
BMW Z4 (E86) (03/06-01/09)

316 020 4375 MTE0362

e’

Front Axle Left o
220 .
316 020 4374 | MTEO361

1

M12x1,5

M16x1,5

BMW 32211091723

316 020 4603 MTEO0363

Front Axle Left - et

o4 s
316 020 4604 | MTEO364

1

M12x1,5

M14x1,5

BMW 32106 774 220

BMW 6 774 220

BMW (Brilliance) 32 10 6 774 220
BMW (Brilliance) 6 774 220

BMW Z4 (E85) (09/02-12/09)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Tie rod end
Notes
Front Axle Right
Length [mm] 242
Paired article number 316 020 4603 | MTE0363
Required quantity 1
Thread Size 1 M12x1,5
Thread Size 2 M14x1,5

replacement in pairs recommended

References

BMW 1 095 958

BMW 32 21 1 095 958

BMW (Brilliance) 1 095 958

BMW (Brilliance) 32 21 1 095 958

Application info
BMW 3 (E46) (12/97-12/07)
BMW Z4 (E86) (03/06-01/09)

Tie rod end
Notes
Front Axle Left
Front Axle Right
Length [mm] 156
Required quantity 2
Thread Size 1 M14x1,5
Thread Size 2 M16x1,5

replacement in pairs recommended

References

BMW 32 106 774 361

BMW 32 21 6 756 369

BMW 6 774 361

BMW (Brilliance) 32 10 6 774 361
BMW (Brilliance) 32 21 6 756 369
BMW (Brilliance) 6 774 361

316 020 4604 MTEO364

- e’

DRIGINAL
Guaud

BMW 32106 774 221

BMW 6 774 221

BMW (Brilliance) 3210 6 774 221
BMW (Brilliance) 6 774 221

BMW Z4 (E85) (09/02-12/09)

316 030 0002 MTEO0365

et

@ DRIGINAL
- gyt
3

BMW 3210 6 776 946

BMW 6 756 369

BMW 6 776 946

BMW (Brilliance) 32 10 6 776 946
BMW (Brilliance) 6 756 369

BMW (Brilliance) 6 776 946

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info
BMW 5 (E60, E61) (12/01-12/10)
BMW 7 (E65, E66) (07/01-12/09)

Tie rod end
Notes
Front Axle Left
Front Axle Right
Length [mm] 78
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M14x1,5

replacement in pairs recommended

References

Citroén 16 075 024 80
Mitsubishi 4422A018
Peugeot 16 07 502 480

Application info

Citroén C-Crosser (02/07--)
Mitsubishi ASX | (11/09--)
Mitsubishi Outlander Il (11/06-12/12)
Peugeot 4008 (05/12--)

BMW 6 (E63, E64) (09/03-12/10)

32-16 020 0000 MTEO0366

wEvLe'
@ ORIGINAL
7 it

Citroén 3817.74
Mitsubishi 4422A052
Peugeot 3817.74

Citroén C4 AIRCROSS (08/10--)
Mitsubishi Lancer VIII (03/07--)
Peugeot 4007 (02/07-03/13)

Tie rod end 32-16 020 0040/HD MTEQ0972HD
Notes
Front Axle Right
outer
Length [mm] 194
Observe service information
Paired article number 32-16 020 0041/HD | MTE0973HD
Required quantity 1
Thread Size 1 M12x1,25
Thread Size 2 M16x1,5

replacement in pairs recommended

References
Mitsubishi 4422A038

Application info
Mitsubishi Pajero IV (10/06--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 32-16 020 0041/HD MTEQ0973HD
Notes

Front Axle Left I;vllél
Length [mm] 194 -
Paired article number 32-16 020 0040/HD | MTE0972HD
Required quantity 1
Thread Size 1 M12x1,25
Thread Size 2 M16x1,5

reinforced version

replacement in pairs recommended

References
Mitsubishi 4422A037

Application info
Mitsubishi Pajero IV (10/06--)

Tie rod end 32-16 020 0042 MTE0989

Notes

e
ORIGINAL
Gttt

Front Axle Left
Front Axle Right

Length [mm] 78
Required quantity 2
Thread Size 1 12x1,25
Thread Size 2 14x1,5

replacement in pairs recommended

References
Mitsubishi 4422A139

Application info
Mitsubishi Eclipse Cross (10/17--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 33-16 020 0014 MTEO0376
Notes
Front Axle Left ni;:in
Front Axle Right < -
Length [mm] 74
Required quantity 2
Thread Size 1 M12x1,25
Thread Size 2 M12x1,25
replacement in pairs recommended
References
Suzuki 48810-84000 Suzuki 48810-84001
Suzuki 48810-M84030 Suzuki 48810M84010

Application info
Suzuki Alto Il (EC), Ill (EF), IV (FF) (10/93-12/09)

Tie rod end 33-16 020 0026 MTEQ786
Notes
Front Axle Right Q "i;E"
outer -
Length [mm] 189
Paired article number 33-16 020 0027 | MTEQ787
Required quantity 1
Thread Size 1 12x1,25
Thread Size 2 14,15

replacement in pairs recommended

References
Suzuki 48810-68L00

Application info
Suzuki Swift IV (10/10--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 33-16 020 0027 MTEQ787
Notes
Front Axle Left () ni;:in
outer
Length [mm] 189
Paired article number 33-16 020 0026 | MTEO786
Required quantity 1
Thread Size 1 12x1,25
Thread Size 2 14x1,5
replacement in pairs recommended
References
Suzuki 48820-68L00
Application info
Suzuki Swift IV (10/10--)
Tie rod end 33-16 020 0028 MTEO0788
Notes
Front Axle Left &?} onens
Front Axle Right g
outer
Length [mm] 83
Required quantity 2
Thread Size 1 12x1,25
Thread Size 2 14x1,5

replacement in pairs recommended

References
Suzuki 48810M68P00

Application info
Suzuki Baleno Il (02/16--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 33-16 020 0029 MTEQ0905
Notes

Front Axle Left ni;:iu
Length [mm] 71 -
Paired article number 33-16 020 0030 | MTEQ906
Required quantity 1
Thread Size 1 M12x1,25
Thread Size 2 M14x1,5

replacement in pairs recommended

References
Suzuki 48820-62R00 Suzuki 48820-62R01

Application info
Suzuki Ignis Il (MF) (10/16--)

Tie rod end 33-16 020 0030 MTEO0906

Notes
Front Axle Right PN el

Length [mm] 71 ¢ 2 =
Paired article number 33-16 020 0029 | MTE0905 N

Required quantity 1

Thread Size 1 M12x1,25

Thread Size 2 M14x1,5

replacement in pairs recommended

References
Suzuki 48810-62R00 Suzuki 48810-62R01

Application info
Suzuki Ignis lll (MF) (10/16--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 35-16 020 0005 MTEOQ716

Notes
Front Axle Left
Front Axle Right

Length [mm] 165
Required quantity 2

Thread Size 1 M12x1,25
Thread Size 2 M14x1,5

replacement in pairs recommended

References
Mazda NE51-32 280A

Application info
Mazda MX-5 (NC) (03/05-12/14)

weree
DRIGINAL
Guaud

Tie rod end 35-16 020 0020/HD MTEO733HD

Notes
Carbon Neutral
Front Axle Left
Front Axle Right

Length [mm] 100
Required quantity 2

Thread Size 1 M12x1,25
Thread Size 2 M14x1,5

reinforced version
replacement in pairs recommended

References
Mazda KD31-32-280

Application info
Mazda CX-51(KE) (11/11-02/17)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

MEYLE AG - www.meyle.com



DRIVER’S BEST FRIEND

MEYLE

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Mazda BP4L-32-290

Application info
Mazda 3 (BK) (09/99-12/09)
Mazda 5 (CR) (02/05-12/10)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Mazda BP4L-32-280

Application info
Mazda 3 (BK) (09/99-12/09)
Mazda 5 (CR) (02/05-12/10)

35-16 020 0031 | MTE0386

35-16 020 0029 | MTEO385

35-16 020 0029 MTEO0385

weree
DRIGINAL
Guaud

Front Axle Left
107

1
M10x1,25
M17x1,5

Mazda 3 (BL) (12/08-12/14)
Mazda 5 (CW) (06/10--)

35-16 020 0031 MTEO0386

WErLe
ORIGINAL
Gttt

Front Axle Right
107

1
M10x1,25
M17x1,5

Mazda 3 (BL) (12/08-12/14)
Mazda 5 (CW) (06/10--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Mazda D651-32-290
Mazda D654-32-290

Application info
Mazda 2 (DE) (07/07-06/15)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Mazda D651-32-280
Mazda D654-32-280

Application info
Mazda 2 (DE) (07/07-06/15)

35-16 020 0040 | MTE0392

35-16 020 0039 | MTEO0391

35-16 020 0039 MTEO0391

weree
DRIGINAL
Guaud

Front Axle Left
175

1
M12x1,25
M14x1,5

Mazda D653-32-290

35-16 020 0040 MTEO0392

WErLe
ORIGINAL
Gttt

&

~

Front Axle Right
175

1
M12x1,25
M14x1,5

Mazda D653-32-280

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Mazda GS1D-32-280

Application info
Mazda 6 (GH) (08/07-12/13)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Mazda GS1D-32-290

Application info
Mazda 6 (GH) (08/07-12/13)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

Front Axle Right

outer

207

35-16 020 0045 | MTE0847
1

M12x1,25

M14x1,5

Front Axle Left

outer

207

35-16 020 0044 | MTE0846
1

M12x1,25

M14x1,5

35-16 020 0044 MTEO0846

e’
DRIGINAL

SN
g ot

»

35-16 020 0045 MTEO0847

!‘.

e
ORIGINAL
Gttt

MEYLE AG - www.meyle.com



MEYLE

DRIVER’S BEST FRIEND

Tie rod end 35-16 020 0046 MTEOQ797

Notes

weree
DRIGINAL
Guaud

Front Axle Right

outer
Length [mm] 181
Paired article number 35-16 020 0047 | MTEO798
Required quantity 1
Thread Size 1 12x1,25
Thread Size 2 14x1,5
replacement in pairs recommended
References
Mazda BCKA-32-280 Mazda BJS8-32-280
Mazda BJS8-32-280A Mazda GBEF-32-280
Mazda GHT2-32-280 Mazda GHT2-32-280A
Application info
Mazda 3 (BM) (07/13--) Mazda 6 (GJ) (08/12--)
Tie rod end 35-16 020 0047 MTEQ798
Notes
Front Axle Left ni;En
outer -
Length [mm] 181

Paired article number
Required quantity

35-16 020 0046 | MTEO797
1

Thread Size 1 12x1,25

Thread Size 2 14x1,5

replacement in pairs recommended

References

Mazda BCKA-32-290 Mazda BJS7-32-290A
Mazda BJS8-32-290 Mazda BJS8-32-290A
Mazda GBEF-32-290 Mazda GHT2-32-290
Mazda GHT2-32-290A Mazda GJR9-32-290
Application info

Mazda 3 (BM) (07/13--) Mazda 6 (GJ) (08/12--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end

Notes

Length [mm]

Paired article number
Required quantity
Thread Size 1
Thread Size 2

replacement in pairs recommended

References

Mazda DO9H-32-280
Mazda DA8A-32-280
Toyota 45046-WB001

Application info
Mazda 2 (DJ) (08/14--)

Tie rod end

Notes

Length [mm]

Paired article number
Required quantity
Thread Size 1
Thread Size 2

replacement in pairs recommended

References

Mazda DO9H-32-290
Mazda DA8A-32-290
Toyota 45047-WB001

Application info
Mazda 2 (DJ) (08/14--)

35-16 020 0050 MTEO809

e’

Front Axle Right - o
outer .
181

35-16 020 0051 | MTEO810

1

12x1,5

14x1,5

Mazda DA6T-32-280
Mazda DAB8A-32-280A
Toyota 45046-WB002

35-16 020 0051 MTEO0810

= i
4 ORIBINAL
Puautd

Front Axle Left

181

35-16 020 0050 | MTE0809
1

12x1,5

14x1,5

Mazda DA6T-32-290
Mazda DAB8A-32-290A
Toyota 45047-WB002

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Tie rod end

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Mazda D10E-32-280

Application info
Mazda CX-3 (DK) (01/15--)

Tie rod end

Notes

Length [mm]

Observe service information
Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Mazda K123-32-280

Application info
Mazda CX-5 Il (KF) (11/16--)

Front Axle Left
Front Axle Right
outer

147

2

12x1,25

14x1,5

Carbon Neutral
Front Axle Left
Front Axle Right
147

2
M12x1,25
M14x1,5

35-16 020 0052 MTEQ774

weree
DRIGINAL
Guaud

35-16 020 0053/HD MTEO874HD

=
l’v‘

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 35-16 020 0054 MTEQ0917
Notes
Front Axle Left %} ..,:
Front Axle Right = -
Length [mm] 161
Required quantity 2
Thread Size 1 M12x1.5
Thread Size 2 M14x1.5

replacement in pairs recommended

References
ABARTH 6000612383 Fiat 6000612383
Mazda N243-32-280

Application info
ABARTH 124 Spider (348_) (03/16--) Fiat 124 Spider (348) (03/16--)
Mazda MX-5 (ND) (04/15--)

Tie rod end 36-16 020 0008 MTEO0393

Notes
WL’
Y

Front Axle Left
Front Axle Right
with right-hand thread

Length [mm] 134
Required quantity 2

Thread Size 1 M12x1,25
Thread Size 2 M16x1,5

replacement in pairs recommended

References
Ford 1 961 668 Nissan 48520-31G25
Nissan 48520-61G25 Nissan 48520-7F000

Application info
Ford Maverick | (02/93-04/98) Nissan Pick Up (D21) (09/85-12/08)
Nissan Terrano | (07/86-02/96) Nissan Terrano Il (10/92-09/07)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 36-16 020 0009 MTEO0394

Notes
Front Axle Left ni;:zn
Front Axle Right

with left-hand thread

Length [mm] 131
Required quantity 2

Thread Size 1 M12x1,25
Thread Size 2 M16x1,5

replacement in pairs recommended

References
Ford 1961 669 Nissan 48520-7F001
Nissan 48521-31G25 Nissan 48570-31G25

Nissan 48570-61G25

Application info

Ford Maverick | (02/93-04/98) Nissan Pick Up (D21) (09/85-12/08)
Nissan Terrano | (07/86-02/96) Nissan Terrano Il (10/92-09/07)
Tie rod end 36-16 020 0014 MTEQ0395
Notes

Front Axle Left & .,.i;E.L
Length [mm] 192 -
Paired article number 36-16 020 0015 | MTE0396
Required quantity 1
Thread Size 1 M10x1,25
Thread Size 2 M12x1,25

replacement in pairs recommended

References
Nissan D8640-1KA0A Nissan D8640-1KA0B
Nissan D8640-4FJ0A

Application info

Nissan Juke (F15) (06/10--) Nissan Leaf | (ZEO) (11/10--)
Nissan Leaf Il (ZE1) (08/17--) Nissan NV200 (02/10--)
Nissan Pulsar (08/10--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 36-16 020 0015 MTEO0396

Notes

weree
DRIGINAL
Guaud

Front Axle Right

Length [mm] 192

Paired article number 36-16 020 0014 | MTE0395
Required quantity 1

Thread Size 1 M10x1,25

Thread Size 2 M12x1,25

replacement in pairs recommended

References
Nissan D8520-1KA0A Nissan D8520-1KA0B
Nissan D8520-4FJOA

Application info

Nissan Juke (F15) (06/10--) Nissan Leaf | (ZEO) (11/10--)
Nissan Leaf Il (ZE1) (08/17--) Nissan NV200 (02/10--)
Nissan Pulsar (08/10--)

Tie rod end 36-16 020 0017 MTEQO397
Notes

Front Axle Left v .,.i;E.L
Length [mm] 183 -
Paired article number 36-16 020 0018 | MTE0398
Required quantity 1
Thread Size 1 M14x1,5
Thread Size 2 M16x1,5

replacement in pairs recommended

References
Nissan 48520-EA01J

Application info
Nissan Navara (D40) (10/04--) Nissan Pathfinder (R51) (01/05--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Front Axle Right

Tie rod end

Notes

Length [mm] 183
Paired article number

Required quantity 1
Thread Size 1 M14x1,5
Thread Size 2 M16x1,5

replacement in pairs recommended

References
Nissan 48640-EA01J

Application info
Nissan Navara (D40) (10/04--)

36-16 020 0017 | MTEO0397

36-16 020 0018 MTEO398

(@ e
ORIGINAL
Guaed

Nissan Pathfinder (R51) (01/05--)

Tie rod end 36-16 020 0027 MTEO0399
Notes

r"} e
Length [mm] 197 4 —
Paired article number 36-16 020 0028 | MTE0400
Required quantity 1
Thread Size 1 M10x1,25
Thread Size 2 M12x1,25

replacement in pairs recommended

References
Nissan 48640-3U025
Nissan D8640-EWO00A

Application info

Nissan Cube (Z12) (09/07--)
Nissan NV200 (02/10--)
Nissan Tiida (05/04-12/13)

Nissan 48647-1U61A

Nissan Micra (K12) (03/02--)
Nissan Note | (01/05-08/13)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Tie rod end

Notes

Length [mm] 197
Paired article number

Required quantity 1

Thread Size 1 M10x1,25
Thread Size 2 M12x1,25

replacement in pairs recommended

References
Nissan 48520-3U025
Nissan D8520-EWO00A

Application info

Nissan Cube (Z12) (09/07--)
Nissan NV200 (02/10--)
Nissan Tiida (05/04-12/13)

Tie rod end
Notes
Front Axle Left
Length [mm] 178.5
Paired article number
Required quantity 1
Thread Size 1 M10x1,25
Thread Size 2 M12x1,25

replacement in pairs recommended

References
Nissan 48647-3VUOA

Application info
Nissan Micra (K13) (05/10--)

36-16 020 0027 | MTE0399

36-16 020 0036 | MTE0654

36-16 020 0028 MTEO0400

= g
[ - ORIBINAL
Guaucd

Nissan 48527-1U61A

Nissan Micra (K12) (03/02--)
Nissan Note | (01/05-08/13)

36-16 020 0035 MTEO0653

e
ORIGINAL
unry

\')

&

Nissan D8640-1HAOA

Nissan Note Il (09/12--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 36-16 020 0036 MTEO0654

Notes

weree
DRIGINAL
Guaud

Front Axle Right

Length [mm] 178.5

Paired article number 36-16 020 0035 | MTE0653
Required quantity 1

Thread Size 1 M10x1,25

Thread Size 2 M12x1,25

replacement in pairs recommended

References
Nissan 48527-3VUOA Nissan D8520-1HAOA

Application info

Nissan Micra (K13) (05/10--) Nissan Note Il (09/12--)

Tie rod end 36-16 020 0070 MTE0404

Notes
Front Axle Left ».,:
Front Axle Right

Length [mm] 91

Required quantity 2

Thread Size 1 M10x1,25

Thread Size 2 M12x1,25

replacement in pairs recommended

References

Nissan 48520-4F125 Nissan 48520-6F625

Application info
Nissan Micra (K11) (01/92-12/07)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 36-16 020 0077 MTEO0405
Notes
Front Axle Left ‘ ni;:zn
Front Axle Right -
Length [mm] 95
Required quantity 2
Thread Size 1 M12x1,25
Thread Size 2 M12x1,25

replacement in pairs recommended

References
Nissan 48520-73J25 Nissan 48520-76J25
Nissan 48520-9C000 Nissan 48520-9C025

Application info

Nissan Primera (P10, W10) (06/90-03/98) Nissan Primera (P11, WP11) (06/96-07/02)
Nissan Primera (P12, WP12) (01/02--) Nissan Serena (C23M) (06/91-09/01)
Nissan Vanette (C23) (04/94-05/02)

Tie rod end 36-16 020 0081/HD MTEO0407HD

Carbon Neutral £

Front Axle Left

Notes

Length [mm] 200

Paired article number 36-16 020 0090/HD | MTE0411HD
Required quantity 1

Thread Size 1 M10x1,25

Thread Size 2 M14x1,5

reinforced version
replacement in pairs recommended

References
Nissan 48640-AX600

Application info
Nissan Micra (K12) (03/02--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
Nissan 48520-AX600

Application info
Nissan Micra (K12) (03/02--)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

Nissan 48527-JD01A
Nissan D8520-JY00A
Renault 485200604R

Application info
Nissan Qashqgai | (J10_) (12/06-04/14)
Renault Koleos | (09/08--)

36-16 020 0090/HD MTEO411HD

Carbon Neutral

Front Axle Right

200

36-16 020 0081/HD | MTE0407HD
1

M10x1,25

M14x1,5

36-16 020 0091 MTEO412

Front Axle Right

181

36-16 020 0092 | MTE0413
1

M10x1,25

M14x1,5

- e
\i’ DRIGINAL
-

Guaucd

Nissan D8520-JGO0A
Nissan D8E20JGOOA
Renault D8520JY00A

Nissan X-Trail (T31) (03/07-12/18)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 36-16 020 0092 MTE0413
Notes

Front Axle Left @ ni;:zn
Length [mm] 181 ; -
Paired article number 36-16 020 0091 | MTE0412
Required quantity 1
Thread Size 1 M10x1,25
Thread Size 2 M14x1,5

replacement in pairs recommended

References

Nissan 48647-JD01A Nissan D8640-JGO0A
Nissan D8640-JY00A Nissan D8F40JGO0OA
Renault 485207812R Renault D8640JY00A

Application info
Nissan Qashqgai | (J10_) (12/06-04/14) Nissan X-Trail (T31) (03/07-12/18)
Renault Koleos | (09/08--)

Tie rod end 36-16 020 0104/HD MTEO0852HD

Notes

” M

Carbon Neutral
Front Axle Right

outer
Length [mm] 207
Paired article number 36-16 020 0105/HD | MTE0853HD
Required quantity 1
Thread Size 1 M10x1,25
Thread Size 2 M14x1,5
reinforced version
replacement in pairs recommended
References
Nissan D8520-4BA0A Nissan D8540-4BA0OB
Renault 485202260R Renault 485203872R
Application info
Nissan X-Trail (T32) (10/13--) Renault Koleos Il (08/16--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 36-16 020 0105/HD MTEO0853HD

Notes
Carbon Neutral Iﬁ-ﬂllél
Front Axle Left -
outer

Length [mm] 207

Paired article number 36-16 020 0104/HD | MTE0852HD

Required quantity 1

Thread Size 1 M10x1,25

Thread Size 2 M14x1,5

reinforced version

replacement in pairs recommended

References

Nissan D8640-4BA0A Nissan D8640-4BA0B

Renault 485204874R Renault 485205041R

Application info

Nissan X-Trail (T32) (10/13--) Renault Koleos Il (08/16--)

Tie rod end 36-16 020 0106 MTEO0911

Notes
Front Axle Right = ».,:

Length [mm] 194 -

Paired article number 36-16 020 0107 | MTE0912

Paired article number 36-16 020 0140

Required quantity 1

Thread Size 1 M10x1,25

Thread Size 2 M12x1,25

replacement in pairs recommended

References

Nissan D8520-5RB0OA Nissan D8520-5RB1A

Application info
Nissan Micra (K14) (12/16--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Nissan D8640-5RB0OA

Application info
Nissan Micra (K14) (12/16--)

Tie rod end

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

Hyundai 56820-21000
Hyundai 56820-28520
Hyundai 56820-M2000
Mitsubishi MB006358
Mitsubishi MB166426
Mitsubishi MB192430
Mitsubishi MB241172
Mitsubishi MB564991
Mitsubishi MB616286
Mitsubishi MT142181

36-16 020 0107 MTEQ0912

Front Axle Left & o

104 ot
36-16 020 0106 | MTEO0911

1

M10x1,25

M12x1,25

Nissan D8640-5RB1A

37-16 020 0003 MTEO0415

e
ORIGINAL
Gttt

Front Axle Left
Front Axle Right
72

2

M10x1,25
M14x1,5

Hyundai 56820-21100
Hyundai 56820-36000
Kia 56820 M2000

Mitsubishi MB076531
Mitsubishi MB185441
Mitsubishi MB192499
Mitsubishi MB489434
Mitsubishi MB573885
Mitsubishi MB912519

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info

Hyundai Lantra Il (06/95-12/00)
Hyundai S Coupé (02/90-05/96)
Hyundai Sonata Il (09/88-12/93)
Mitsubishi Eclipse | (12/89-12/95)
Mitsubishi Galant Il (10/83-12/90)
Mitsubishi Galant V (11/92-12/98)
Mitsubishi Pajero Pinin (H60) (01/99-06/07)
Mitsubishi Sapporo Il (06/87-08/90)
Mitsubishi Space Runner | (10/91-08/99)
Mitsubishi Space Wagon Il (05/91-11/00)

Front Axle Right

Tie rod end

Notes

Length [mm] 168
Paired article number

Required quantity 1

Thread Size 1 M10x1,25
Thread Size 2 M16x1,5

replacement in pairs recommended

References
Hyundai 56820-2E900

Application info
Hyundai Tucson | (06/04--)

37-16 020 0006 | MTEO417

Hyundai Pony (X-2) (04/89-01/95)

Hyundai Santamo (10/98-12/02)

Kia Joice (02/00--)

Mitsubishi Eclipse Il (04/94-04/99)

Mitsubishi Galant IV (11/87-03/93)

Mitsubishi Galant VI (09/96-10/04)

Mitsubishi Santamo (03/99-12/04)

Mitsubishi Sigma (10/90-10/96)

Mitsubishi Space Runner Il / Wagon Ill (07/98-12/04)

37-16 020 0005 MTEO0416

were
ORIGINAL
Gttt

Kia 56820 2E900

Kia Sportage Il (09/04--)

Tie rod end 37-16 020 0006 MTEO0417
Notes
Front Axle Left m:mzn
Length [mm] 168
Paired article number 37-16 020 0005 | MTEO416
Required quantity 1
Thread Size 1 M10x1,25
Thread Size 2 M16x1,5

replacement in pairs recommended

References
Hyundai 56820-2E000

Kia 56820 2E000

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info
Hyundai Tucson | (06/04--)

Tie rod end
Notes
Front Axle Left
Front Axle Right
Length [mm] 72
Required quantity 2
Thread Size 1 M10x1,25
Thread Size 2 M12x1,25

replacement in pairs recommended

References
Hyundai 56820-0X000
Hyundai 56820-0X900

Application info
Hyundai i101 (10/07--)

Tie rod end
Notes
Front Axle Left
Length [mm] 189
Paired article number
Required quantity 1
Thread Size 1 M10x1,25
Thread Size 2 M16x1,5

replacement in pairs recommended

References
Hyundai 56820-2K000

Application info
Hyundai 201 (08/08--)
Kia Soul | (01/09--)

Kia Sportage Il (09/04--)

37-16 020 0012 MTEO0421

e
ORIGINAL
Gttt

Hyundai 56820-0X010
Kia 56820 0X000

Kia Picanto | (04/04--)

37-16 020 0014 MTEO422

&.Oz e
DORIGINAL
Suautt

37-16 020 0015 | MTE0423

Kia 56820 2K000

Hyundai ix20 (11/10--)
Kia Venga (02/10--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 37-16 020 0015 MTE0423
Notes i

Front Axle Right ® ni;:zn
Length [mm] 189 -
Paired article number 37-16 020 0014 | MTE0422
Required quantity 1
Thread Size 1 M10x1,25
Thread Size 2 M16x1,5

replacement in pairs recommended

References
Hyundai 56820-2K050 Kia 56820 2K050

Application info

Hyundai 201 (08/08--) Hyundai ix20 (11/10--)

Kia Soul | (01/09--) Kia Venga (02/10--)

Tie rod end 37-16 020 0032/HD MTEO0815HD
Notes

&,
Carbon Neutral =,

Front Axle Right

outer
Length [mm] 202
Paired article number 37-16 020 0033/HD | MTE0816HD
Required quantity 1
Thread Size 1 10x1,25
Thread Size 2 14x1,5
reinforced version
replacement in pairs recommended
References
Hyundai 56820-4L090 Kia 56820 4L090

Application info
Kia Rio Ill (09/10--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 37-16 020 0033/HD MTEO0816HD

Notes
Carbon Neutral o) Iﬁ-ﬂllél
Front Axle Left -
outer

Length [mm] 202

Paired article number

Required quantity 1

Thread Size 1 10x1,25

Thread Size 2 14x1,5

reinforced version
replacement in pairs recommended

References
Hyundai 56820-4L000 Kia 56820 4L000

Application info
Kia Rio Ill (09/10--)

Tie rod end 37-16 020 0034 MTEOQ789

Notes

e
ORIGINAL
Guaucd

Front Axle Right

outer
Length [mm] 78
Paired article number 37-16 020 0035 | MTEO790
Required quantity 1
Thread Size 1 10x1,25
Thread Size 2 14x1,5
replacement in pairs recommended
References
Hyundai 56821-B4050
Application info
Hyundai i10 1l (08/13--) Hyundai i10 Il (09/19--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Hyundai 56820-B4000

Application info
Hyundai i10 1l (08/13--)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
Hyundai 56820-C8900

Application info
Hyundai i20 1l (11/14--)

37-16 020 0035 MTEO790

e’

Front Axle Left @ e
\/\V Bt

outer

78

37-16 020 0034 | MTEO789

1

10x1,25

14x1,5

Hyundai i10 Il (09/19--)

37-16 020 0036/HD MTEO0813HD

=
=)

Carbon Neutral

Front Axle Right

outer

78

37-16 020 0037/HD | MTE0814HD
1

10x1,25

14x1,5

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 37-16 020 0037/HD MTEOQ0814HD

Notes
Carbon Neutral \‘?—)’ Iﬁ-ﬂllél
Front Axle Left -
outer

Length [mm] 78

Paired article number 37-16 020 0036/HD | MTEO0813HD

Required quantity 1

Thread Size 1 10x1,25

Thread Size 2 14x1,5

reinforced version

replacement in pairs recommended

References

Hyundai 56820-C8000

Application info

Hyundai i20 11 (11/14--)

Tie rod end 37-16 020 0038/HD MTEO799HD

Notes
Carbon Neutral S
Front Axle Right
outer

Length [mm] 224

Paired article number 37-16 020 0039/HD | MTEO800HD

Required quantity 1

Thread Size 1 10x1,25

Thread Size 2 16x1,5

reinforced version

replacement in pairs recommended

References

Hyundai 56820-2W050 Kia 56820 2W050

Application info

Hyundai Santa Fé lll (09/12--) Kia Sorento Il (06/09--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end 37-16 020 0039/HD MTEO800HD

Notes
Carbon Neutral - Iﬁ-ﬂllél
Front Axle Left -
outer

Length [mm] 224

Paired article number 37-16 020 0038/HD | MTEO799HD

Required quantity 1

Thread Size 1 10x1,25

Thread Size 2 16x1,5

reinforced version

replacement in pairs recommended

References

Hyundai 56820-2W000 Kia 56820 2W000

Application info

Hyundai Santa Fé lll (09/12--) Kia Sorento Il (06/09--)

Tie rod end 37-16 020 0040/HD MTEQ791HD

Notes
Carbon Neutral
Front Axle Right 3
outer

Length [mm] 186

Paired article number 37-16 020 0041/HD | MTEO792HD

Required quantity 1

Thread Size 1 10x1,25

Thread Size 2 16x1,5

reinforced version

replacement in pairs recommended

References

Hyundai 56825-C1090 Hyundai 56825-C1710

Hyundai 56825-D7000 Hyundai 56825-D7500

Kia 56825 C1090 Kia 56825 C1710

Kia 56825 D7000 Kia 56825 D7500

Application info

Hyundai Sonata VII (06/14--) Hyundai Tucson Il (05/15--)

Kia Optima IV (09/15--) Kia Sorento Ill (01/15--)

Kia Sportage IV (09/15--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

Hyundai 56820-C1000
Hyundai 56820-D7000
Kia 56820 C1000

Kia 56820 D7000

Application info

Hyundai Sonata VII (06/14--)
Kia Optima IV (09/15--)

Kia Sportage IV (09/15--)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

Hyundai 56820-3X090
Hyundai 56820-A6090
Kia 56820 A6090

Kia 56820-B2050

37-16 020 0041/HD MTEOQO792HD

Carbon Neutral HD
Front Axle Left J
outer

186

37-16 020 0040/HD | MTEO791HD
1

10x1,25

16x1,5

Hyundai 56820-C1710
Hyundai 56820-D7500
Kia 56820 C1710
Kia 56820 D7500

Hyundai Tucson Il (05/15--)
Kia Sorento Ill (01/15--)

37-16 020 0042/HD MTEO793HD

-
Carbon Neutral =

Front Axle Right

outer

221

37-16 020 0043/HD | MTEO794HD
1

M10x1,25

M16x1,5

Hyundai 56820-A5090
Hyundai 56820-A6590
Kia 56820-A6590

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info

Hyundai ElantraV (09/10--)
Hyundai i30 11 (06/11--)
Kia Cee'd Ill (03/12--)

Tie rod end

Notes
Carbon Neutral
Front Axle Left
outer

Length [mm] 221

Paired article number

Required quantity 1

Thread Size 1 M10x1,25

Thread Size 2 M16x1,5

reinforced version
replacement in pairs recommended

References

Hyundai 56820-3X000
Hyundai 56820-A6000
Kia 56820 A6000

Kia 56820-B2000

Application info

Hyundai ElantraV (09/10--)
Hyundai i30 11 (06/11--)
Kia Cee'd Ill (03/12--)

Tie rod end

Notes
Carbon Neutral

Hyundai Veloster | (03/11-12/17)
Kia Cee'd Il (05/12--)
Kia Soul Il (02/14--)

37-16 020 0043/HD MTEO0794HD

37-16 020 0042/HD | MTEO793HD

Hyundai 56820-A5000
Hyundai 56820-A6500
Kia 56820-A6500

Hyundai Veloster | (03/11-12/17)
Kia Cee'd Il (05/12--)
Kia Soul Il (02/14--)

37-16 020 0044/HD MTEO757HD

2 @

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

Front Axle Right

233

37-16 020 0045/HD | MTEO758HD
1

M10x1,25

M16x1,5

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References

Hyundai 56820-2S050
Hyundai 56820-3S000
Kia 56820 2T500

Application info

Hyundai GrandeurV (01/11--)
Hyundai Tucson| (06/04--)
Kia Carens IV (03/13--)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

Hyundai 56820-2S000
Hyundai 56820-3S500
Kia 56820 3S500

Kia 56825 A4050

Application info

Hyundai GrandeurV (01/11--)
Hyundai Tucson | (06/04--)
Kia Carens IV (03/13--)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

Hyundai 56820-2T500
Kia 56820 25050
Kia 56820 A4050

Hyundai Sonata VI (06/09-12/15)

Hyundai ix35 (08/09--)
Kia Sportage Il (09/09--)

37-16 020 0045/HD MTEO758HD

Carbon Neutral

Front Axle Left

233

37-16 020 0044/HD | MTEO757HD
1

M10x1,25

M16x1,5

Hyundai 56820-2T000
Kia 56820 2T000
Kia 56820-2S000

Hyundai Sonata VI (06/09-12/15)

Hyundai ix35 (08/09--)
Kia Sportage Il (09/09--)

MEYLE AG - www.meyle.com



DRIVER’S BEST FRIEND MEY/LE

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

Hyundai 56820-2T100
Hyundai 56820-3V400
Kia 56820 2T100

Kia 56820 3Vv400

Application info
Hyundai 40 (07/11--)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

Hyundai 56820-2T190
Hyundai 56820-3V490
Kia 56820 2T190

Kia 56820 3Vv490

Application info
Hyundai 40 (07/11--)

37-16 020 0046/HD MTEO0828HD

Carbon Neutral

Front Axle Right

outer

233.5

37-16 020 0047/HD | MTE0829HD
1

10x1,25

16x1,5

Hyundai 56820-3V100
Hyundai 56820-3Z290
Kia 56820 3Q500

Kia Optima (01/10--)

37-16 020 0047/HD MTE0829HD

Carbon Neutral '

Front Axle Left

outer

233.5

37-16 020 0046/HD | MTE0828HD
1

10x1,25

16x1,5

Hyundai 56820-3V190
Hyundai 56820-3Z200
Kia 56820 3Q000

Kia Optima (01/10--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

Hyundai 56825-F2000
Kia 56825 F2000

Kia 56825 Q5000

Application info

Hyundai Elantra VI (09/15--)
Hyundai i30 Il (11/16--)
Kia Soul lll (SK3) (01/19--)

Tie rod end

Notes

Length [mm]

Paired article number

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

Hyundai 56820-F2000
Kia 56820 F2000

Kia 56820 Q5000

37-16 020 0052/HD MTEO880HD

Carbon Neutral

Front Axle Right

120

37-16 020 0053/HD | MTE0881HD
1

10x1,25

16x1,5

Hyundai 56825-J7000
Kia 56825 J7000

Hyundai Konal (06/17--)
Kia Ceed IV (03/18--)

37-16 020 0053/HD MTE0881HD

Carbon Neutral

Front Axle Left

120

37-16 020 0052

37-16 020 0052/HD | MTEO880HD
1

10x1,25

16x1,5

Hyundai 56820-J7000
Kia 56820 J7000

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info

Hyundai Elantra VI (09/15--)
Hyundai i30 Il (11/16--)
Kia Soul lll (SK3) (01/19--)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

Hyundai 56825-G2000
Hyundai 56825-J2000
Hyundai 56825-S0001
Kia 56825 G2500

Kia 56825 K4090

Application info

Hyundai loniq (AE) (03/16--)
Hyundai i30 Il (11/16--)
Kia Soul Ill (SK3) (01/19--)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

Hyundai Konal (06/17--)
Kia Ceed IV (03/18--)

Carbon Neutral

Front Axle Right

120

37-16 020 0055/HD | MTE0887HD
1

12x1,25

16x1,5

37-16 020 0054/HD MTE0886HD

Hyundai 56825-G2500
Hyundai 56825-K4090
Kia 56825 G2000
Kia 56825 J2000
Kia 56825 S0001

Hyundai Konal (06/17--)
Kia Niro | (DE) (09/16--)

Carbon Neutral

Front Axle Left

120

37-16 020 0054/HD | MTEO886HD
1

12x1,25

16x1,5

37-16 020 0055/HD MTEO0887HD

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



MEYLE

DRIVER’S BEST FRIEND

References

Hyundai 56820-G2000
Hyundai 56820-K4000
Kia 56820 G2000

Kia 56820 J2000

Kia 56820 S0001

Hyundai 56820-G2500
Hyundai 56820-S0001
Kia 56820 G2500
Kia 56820 K4000

Application info

Hyundai loniq (AE) (03/16--)
Hyundai i30 Il (11/16--)
Kia Soul Ill (SK3) (01/19--)

Hyundai Konal (06/17--)
Kia Niro | (DE) (09/16--)

37-16 020 0056/HD MTEO872HD

Carbon Neutral 3 )
6

Tie rod end

Notes

Front Axle Right

Length [mm]

Paired article number

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Hyundai 56825-C8100

Application info
Hyundai i20 11 (11/14--)

Tie rod end

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

78

37-16 020 0057

37-16 020 0057/HD | MTEO873HD
1

M10x1,25

M14x1,5

Carbon Neutral

Front Axle Left

78

37-16 020 0056/HD | MTE0872HD
1

M10x1,25

M14x1,5

37-16 020 0057/HD MTEO873HD

w
&
.m )

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References
Hyundai 56820-C8100

Application info
Hyundai i20 1l (11/14--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Axle support bushing 32-14 710 0003/HD MABO0201HD

Notes
Carbon Neutral
Rear Axle Left
Rear Axle Right

Height [mm] 130

Outer Diameter [mm] 58

Replace in pairs only
Required quantity 2
reinforced version

References

Mitsubishi 4120A040 Mitsubishi 4120A041
Mitsubishi 4120A042 Mitsubishi MR594101
Smart 454 350 00 08 Smart 454 350 03 08
Smart A 454 350 00 08 Smart A 454 350 03 08

Application info

Mitsubishi Colt VI (10/02-12/12) Smart Forfour (01/04-06/06)
Axle support bushing 32-14 710 0005 MABO0203
Notes

Front e

et

Lower
Rear Axle Left
Rear Axle Right

Height [mm] 126
Outer Diameter [mm] 70
Required quantity 2

replacement in pairs recommended

References

Citroén 16 118 561 80 Citroén 5131.GO
Citroén 5131.H5 Mitsubishi 4120A125
Mitsubishi 4120A181 Peugeot 16 11 856 180
Peugeot 5131 GO Peugeot 5131.H5

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Application info

Citroén C-Crosser (02/07--) Citroén C4 AIRCROSS (08/10--)

Mitsubishi ASX | (11/09--) Mitsubishi Lancer VII (03/00-12/13)

Mitsubishi Lancer VIII (03/07--) Mitsubishi Outlander Il (11/06-12/12)

Peugeot 4007 (02/07-03/13) Peugeot 4008 (05/12--)

Axle support bushing 34-16 010 0006 MBJ0474
Notes

e
ORIGINAL
unry

Rear Axle Left
Rear Axle Right

Rubber/Metal

Height [mm] 50

Inner Diameter [mm] 12

Outer Diameter [mm] 40

Required quantity 2

replacement in pairs recommended

References

Subaru 20257XA000

Application info

Subaru BRZ (06/12--) Subaru Forester Il (SH) (12/07--)

Subaru Forester IV (SJ) (11/12--) Subaru Forester V (SK) (04/18--)

Subaru Impreza Ill (GR) (01/07--) Subaru Impreza IV (GP, GJ) (07/11--)

Subaru Impreza V (GT) (10/16--) Subaru Legacy V (06/08--)

Subaru Legacy VI (BN, BS) (01/15--) Subaru Levorg (03/15--)

Subaru Outback IV (BM, BR) (06/09--) Subaru Outback V (10/14--)

Subaru Tribeca (B9) (01/05--) Subaru WRX (GP,GJ) (07/11-12/12)

Subaru XV (09/11--) Subaru XV Il (04/17--)

Ball joint 316 010 0002 MBJO0178

Notes
Front Axle Left \;> "'E;E"
Front Axle Right y
with accessories

Required quantity 2

Thread Size M14x1,5

replacement in pairs recommended

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References
BMW 1 096 425 BMW 3112 1096 425
BMW 3112 6 756 491 BMW 6 756 491

Application info
BMW X5 (E53) (01/00-12/06)

Ball joint 316 010 0003/HD MBJO0179HD

Notes
Carbon Neutral ruw::nD
Front Axle Left
Front Axle Right

outer
Height [mm] 76
Outer Diameter [mm] 49
Required quantity 2
Thread Size M12x1,5
reinforced version
replacement in pairs recommended
References
BMW 1 096 685 BMW 1 140 398
BMW 3112 1 096 685 BMW 31121 140 398
BMW 3112 6 758 510 BMW 6 758 510
BMW (Brilliance) 1 096 685 BMW (Brilliance) 1 140 398
BMW (Brilliance) 31 12 1 096 685 BMW (Brilliance) 31 12 1 140 398
BMW (Brilliance) 31 12 6 758 510 BMW (Brilliance) 6 758 510
Application info
BMW 3 (E36) (09/90-08/00) BMW 3 (E46) (12/97-12/07)
BMW Z3 (E36/7, E36/8) (10/95-06/03) BMW Zz4 (E85) (09/02-12/09)

BMW Z4 (E86) (03/06-01/09)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Ball joint 316 010 0007 MBJ0182

Notes
-

Front Axle Left
Front Axle Right
outer
with accessories
Required quantity 2
Thread Size M12x1,5
replacement in pairs recommended

References

Mini 2 167 245 Mini 3112 2 167 245
Mini 31 12 6 756 309 Mini 3112 6 783 443
Mini 6 756 309 Mini 6 783 443

Application info
Mini Mini | (06/01-07/08)

Ball joint 316 010 0008 MBJ0183

Notes

i
ORIGINAL
Punet

Front Axle Left
Front Axle Right
with accessories
Required quantity 2
Thread Size M14x1,5
replacement in pairs recommended

References
BMW 3412 726 BMW 3418 341
BMW 31103412 726 BMW 3110 3418 341

Application info
BMW X3 (E83) (01/03-12/11)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Ball joint

Notes

Front Axle Right

with accessories

316 010 0010 | MBJ0185
1

M12x1,5

Paired article number

Required quantity

Thread Size

replacement in pairs recommended

References

Mini 2 361 220

Mini 31 12 4 048 630
Mini 4 048 630

Application info
Mini Mini Il (11/05-12/15)

Ball joint

Notes

Front Axle Left

with accessories

316 010 0009 | MBJ0O184
1

M12x1,5

Paired article number

Required quantity

Thread Size

replacement in pairs recommended

References

Mini 2 361 219

Mini 31 12 4 048 629
Mini 4 048 629

Application info
Mini Mini Il (11/05-12/15)

316 010 0009 MBJ0184

weree
DRIGINAL
Guaud

Mini 3112 2 361 220
Mini 3112 6 772 304
Mini 6 772 304

316 010 0010 MBJO0185

i
ORIGINAL
Punet

Mini 3112 2 361 219
Mini 3112 6 772 303
Mini 6 772 303

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Ball joint

Notes

Required quantity
Thread Size
replacement in pairs recommended

References
BMW 0 363 476
BMW 31 100 363 476

Application info
BMW X3 (E83) (01/03-12/11)

Ball joint

Notes

Required quantity
Thread Size
replacement in pairs recommended

References
Mini 2 444 416
Mini 3112 2 444 416

Application info
Mini Countryman | (08/10-10/16)

Front Axle Left
Front Axle Right
with accessories
2

M14x1,5

Front Axle Left
Front Axle Right
outer

with accessories
2

M14x1,5

316 010 0011 MBJO0186

weree
DRIGINAL
Guaud

U

T\

co @&

BMW 3438 623
BMW 31 10 3 438 623

316 010 0013 MBJ0392

WErLe
ORIGINAL
Gttt

-

&’

Mini 31 10 9 803 662
Mini 9 803 662

Mini Paceman (03/12-10/16)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Ball joint 316 010 0014 MBJO0187

Notes
-

Front Axle Left
Front Axle Right

Upper

with accessories
Required quantity 2
only in connection with 316 050 0044/HD

replacement in pairs recommended

References

BMW 3112 6 775 967 BMW 31126 779 871
BMW 31126 779 908 BMW 6 775 967

BMW 6 779 871 BMW 6 779 908

BMW (Brilliance) 31 12 6 775 967 BMW (Brilliance) 6 775 967

Application info

BMW 5 (FO7) (01/09-02/17) BMW 5 (F10, F11) (01/09-02/17)

BMW 6 (F12, F13) (12/10-10/18) BMW 7 (FO1, F02, FO3, FO4) (02/08-12/15)
BMW i8 (03/14-06/20)

Ball joint 316 010 0015 M™MBJO0188

Notes
)

Front Axle Left
Front Axle Right
with accessories
Required quantity 2
Thread Size M14x1,5
replacement in pairs recommended

References
BMW 31 12 6 768 988 BMW 6 768 988
BMW (Brilliance) 31 12 6 768 988 BMW (Brilliance) 6 768 988

Application info
BMW 3 (E90, E91, E92, E93) (02/04-12/13) BMW X1 (E84) (03/09-06/15)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Ball joint 316 010 0016 MBJ0307

Notes
-

Front Axle Left
Front Axle Right

Required quantity 2
Thread Size 1 M16x1,5
Thread Size 2 M30x1,5

replacement in pairs recommended

References
BMW 31126 777 753 BMW 6 777 753

Application info

Gttt

BMW 5 (FO7) (01/09-02/17) BMW 5 (F10, F11) (01/09-02/17)
BMW 6 (F12, F13) (12/10-10/18) BMW 7 (FO1, F02, FO3, F04) (02/08-12/15)
Ball joint 316 010 0017 MBJ0320
Notes

Front Axle Left ‘@» et

Front Axle Right
with accessories

Outer Diameter [mm] 41
Required quantity 2
Thread Size M14x1,5

replacement in pairs recommended

References

BMW 31 10 4 038 994 BMW 31 12 6 768 307
BMW 31126 772138 BMW 31126 779 840
BMW 4 038 994 BMW 6 768 307

BMW 6 772 138 BMW 6 779 840

Application info
BMW 5 (E60, E61) (12/01-12/10)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Ball joint 316 010 0018 MBJO0393

Notes
Front Axle Left
Front Axle Right
with accessories
Required quantity 2
Thread Size M14x1,5
replacement in pairs recommended

References
BMW 31 106 787 665 BMW 6 787 665

Application info

weree
DRIGINAL
Guaud

BMW X3 (F25) (09/10-08/17) BMW X4 (F26) (05/13-03/18)
Ball joint 316 010 0019/HD MBJ0438HD
Notes

Carbon Neutral
Front Axle Left
Front Axle Right

Upper

with accessories
Required quantity 2
only in connection with 316 050 0033/HD —
only in connection with 316 050 0034/HD

reinforced version
replacement in pairs recommended

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

MEYLE AG - www.meyle.com



DRIVER’S BEST FRIEND MEY/LE

References

BMW 31126 776 417
BMW 31 12 6 776 995
BMW 31126 776 997
BMW 31 12 6 863 333
BMW 31 12 6 863 335
BMW 31 12 6 863 785
BMW 6 776 417

BMW 6 776 995

BMW 6 776 997

BMW 6 863 333

BMW 6 863 335

BMW 6 863 785

Application info
BMW X5 (E70) (02/06-07/13)
BMW X6 (E71) (06/07-07/14)

Ball joint

Notes

Paired article number
Required quantity
only in connection with
reinforced version

replacement in pairs recommended

References

BMW 2 785 114

BMW 31 12 6 851 204
BMW 31 12 6 879 844
BMW 6 871 302

Mini 2 785 114

Mini 31 12 6 851 204

BMW 31126 776 418
BMW 31126 776 996
BMW 31126 776 998
BMW 3112 6 863 334
BMW 31 12 6 863 336
BMW 31 12 6 863 786
BMW 6 776 418
BMW 6 776 996
BMW 6 776 998
BMW 6 863 334
BMW 6 863 336
BMW 6 863 786

BMW X5 (F15) (08/13-07/18)
BMW X6 (F16) (08/14-07/19)

316 010 0022/HD MBJ0452HD

Carbon Neutral

Front Axle Right

316 010 0023/HD | MBJ0453HD
1

316 050 0128/HD

BMW 31122785114
BMW 31126 871 302
BMW 6 851 204

BMW 6 879 844

Mini 31122785114
Mini 3112 6 871 302

Mini 3112 6 879 844 Mini 6 851 204

Mini 6 871 302 Mini 6 879 844
Application info

BMW 1 (F40), 2 Gran Coupe (F44) (07/19--) BMW 2 (F45, F46) (11/13--)

BMW X1 (F48) (11/14--)
Mini Countryman Il (10/16--)

BMW X2 (F39) (11/17--)
Mini Mini Il (09/13--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Ball joint 316 010 0023/HD MBJ0453HD
Notes
Carbon Neutral I;IIEI
Front Axle Left
Paired article number 316 010 0022/HD | MBJ0452HD
Required quantity 1
only in connection with 316 050 0127/HD
reinforced version
replacement in pairs recommended
References
BMW 2 785113 BMW 31122785113
BMW 3112 6 851 203 BMW 31126 871 301
BMW 31126 879 843 BMW 6 851 203
BMW 6 871 301 BMW 6 879 843
Mini 2 785 113 Mini 31122785 113
Mini 3112 6 851 203 Mini 3112 6 871 301
Mini 3112 6 879 843 Mini 6 851 203
Mini 6 871 301 Mini 6 879 843
Application info
BMW 1 (F40), 2 Gran Coupe (F44) (07/19--) BMW 2 (F45, F46) (11/13--)
BMW X1 (F48) (11/14--) BMW X2 (F39) (11/17--)
Mini Countryman Il (10/16--) Mini Mini [l (09/13--)
Ball joint 316 010 0024 MBJ0480
Notes
Front Axle Left nﬁ’,’ oeanll
Front Axle Right
Lower 1

for control arm

outer
Required quantity 2
Thread Size 1 M16x1,5
Thread Size 2 M30x1,5
replacement in pairs recommended
References
BMW 31 10 6 852 536 BMW 6 852 536

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info

BMW 5 (G30, G31) (09/16--)

BMW 7 (G11, G12) (07/15--)

BMW 8 Gran Coupe (G16) (07/19--)

Ball joint

Notes
Carbon Neutral
Front Axle Left
Front Axle Right
inner

Height [mm] 132

Outer Diameter [mm] 41

Required quantity 2

Thread Size M14x1,5

reinforced version
replacement in pairs recommended

References

The references of this product can be found at www.meyle.com

Application info
BMW 3 (E46) (12/97-12/07)
BMW Z4 (E86) (03/06-01/09)

Ball joint

Notes
Front Axle Left
Front Axle Right
outer

Height [mm] 54

Outer Diameter [mm] 41

Required quantity 2

Thread Size M12x1,5

replacement in pairs recommended

References

BMW 1 126 254
BMW 1127 726
BMW 31121127 725

Application info
BMW 3 (E30) (09/82-10/94)

BMW 6 (G32) (06/17--)
BMW 8 (G15) (07/18-)

316 010 4305/HD MBJ0190HD

BMW Z4 (E85) (09/02-12/09)

316 010 4307 MBJ0192

e
ORIGINAL

-% o

BMW 1127 725
BMW 31121 126 254
BMW 31121127 726

BMW Z1 (06/88-06/91)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Ball joint

Notes
Front Axle Left
Front Axle Right
inner

Height [mm)] 136

Outer Diameter [mm] 41

Required quantity 2

Thread Size M14x1,5

replacement in pairs recommended

References
BMW 31126 758 513
BMW 6 758 513

Application info
BMW 3 (E36) (09/90-08/00)

Ball joint

Notes
Front Axle Left
Front Axle Right
Lower

Outer Diameter [mm] 40

Required quantity 2

replacement in pairs recommended

References
Mitsubishi MR911569
Mitsubishi MR916133

Application info
Mitsubishi Carisma (07/95-06/06)

316 010 4345 MBJO0193

weree
DRIGINAL
Guaud

BMW 31126 758 514
BMW 6 758 514

BMW Z3 (E36/7, E36/8) (10/95-06/03)

32-16 010 0002 MBJ0194

WErLe
ORIGINAL
Gttt

Mitsubishi MR911570
Mitsubishi MR916134

Mitsubishi Space Star (DG_) (06/98-12/04)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Ball joint
Notes
Front Axle Left
Front Axle Right
Lower
with accessories
Outer Diameter [mm] 40
Required quantity 2

replacement in pairs recommended

References

Citroén 16 124 483 80
Citroén 3520.V0
Citroén 3521.R1
Mitsubishi 4013A009
Mitsubishi 4013A281
Peugeot 16 124 483 80
Peugeot 3520 VO
Peugeot 3521 R1

Application info

Citroén C-Crosser (02/07--)
Mitsubishi ASX 1 (11/09--)
Mitsubishi Lancer VIII (03/07--)
Mitsubishi Outlander Il (11/10--)
Peugeot 4008 (05/12--)

Ball joint

Notes
Front Axle Left
Front Axle Right
Lower

Outer Diameter [mm] 43

Required quantity 2

replacement in pairs recommended

32-16 010 0025 MBJ0198

weree
DRIGINAL
Guaud

Citroén 16 124 484 80
Citroén 3520.X9
Citroén 3521.V0
Mitsubishi 4013A010
Mitsubishi 4013A282
Peugeot 16 124 484 80
Peugeot 3520.X9
Peugeot 3521.V0O

Citroén C4 AIRCROSS (08/10--)
Mitsubishi Lancer VII (03/00-12/13)
Mitsubishi Outlander Il (11/06-12/12)
Peugeot 4007 (02/07-03/13)

35-16 010 0001 MBJ0205

e
DRIGINAL
Cuad

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

Ford 3703 255 Ford 3 707 090

Ford USA 3703 255 Ford USA 3707 090
Kia 0G030-34550A Kia 0G030-34550B
Mazda 0G030-34-550A Mazda B25D-34-300B
Mazda B25D-34-350B Mazda C100-34-300A
Mazda C100-34-350A Mazda C145-34-300A
Mazda C145-34-350A Mazda GO030-34-300F
Mazda GO030-34-350F Mazda GO030-99-356
Mazda GAZ2A-34-300 Mazda GAZ2A-34-300A
Mazda GAZ2A-34-350 Mazda GAZ2A-34-350A
Mazda GA2B-34 300 Mazda GA2B-34-300A
Mazda GAZ2B-34-350A Mazda GA6A-34-300A
Mazda GA6A-34-300B Mazda GA6A-34-300D
Mazda GAG6A-34-300E Mazda GA6A-99-356
Mazda GA6B-34 050E Mazda GA6B-34 300A
Mazda GA6B-34 300B Mazda GA6B-34 300C
Mazda GA6B-34 300D Mazda GA6B-34 350A
Mazda GA6B-34 350B Mazda GA6B-34 350C
Mazda GA6B-34 350D Mazda GA6B-34-300E
Mazda GA6B-34-350E Mazda GA6B-99-356
Mazda GA6B-99-356A Mazda GA6B-E3-4300
Mazda GA6B-E3-4350 Mazda GD7A-34-300A
Mazda GD7D-34-350A Mazda GE3T-34-350E
Mazda GE4T-34 300B Mazda GE4T-34 300D
Mazda GEA4T-34 350B Mazda GEA4T-34 350D
Mazda GEA4T-34-300 Mazda GEA4T-34-300C
Mazda GE4T-34-300E Mazda GE4T-34-350
Mazda GE4T-34-350C Mazda GE4T-34-350E
Mazda GF22-34-300A Mazda GF22-34-350A
Mazda GG2A-34 300C Mazda GG2A-34 350C
Mazda GJ22-34-300A Mazda GJ22-34-300B
Mazda GJ22-34-350A Mazda GJ22-34-350B
Mazda GJ83-34 300A Mazda GJ83-34-300B
Mazda GJ83-34-350B Mazda GN98-34-300A
Mazda GN98-34-350A Mazda KA39-34-300A
Mazda KA39-34-350A Mazda LC62-34-550

Mazda M001-99-356A

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Application info

Ford Maverick Il (02/01--) Ford USA Probe Il (09/92-03/98)
Kia Clarus (05/96--) Mazda 323 (BJ) (05/98-05/04)
Mazda 626 (GC) (11/82-01/90) Mazda 626 (GD, GV) (06/87-10/98)
Mazda 626 (GE) (08/91-08/98) Mazda 626 (GF, GW) (05/97-12/02)
Mazda 929 (HB, HC, HV) (12/81-08/91) Mazda MPV Il (LW) (08/99-12/06)
Mazda MX-6 (GE) (07/91-09/97) Mazda Premacy (01/99-06/05)

Mazda Tribute | (EP) (03/00-05/08)

Ball joint 35-16 010 0006 MBJ0206

Notes
Front Axle Left ni;:zn
Front Axle Right T -
Lower

Height [mm] 73.4

Outer Diameter [mm] 43

Required quantity 2 O

replacement in pairs recommended

References

Mazda B32H-34 300 Mazda B32H-34 350

Mazda B32H-34 350E Mazda B32H-34-300A

Mazda B32H-34-300B Mazda B32H-34-300C

Mazda B32H-34-300D Mazda B32H-34-300E

Mazda B32H-34-350A Mazda B32H-34-350B

Mazda B32H-34-350C Mazda B32H-34-350D

Mazda B37F-34-300A Mazda B37F-34-300B

Mazda B37F-34-350A Mazda B37F-34-350B

Mazda BP4K-34 300A Mazda BP4K-34 300B

Mazda BP4K-34 350A Mazda BP4K-34 350B

Mazda BP4K-34-300D Mazda BP4K-34-350C

Mazda BP4K-34-350D Mazda BP4K-34-350E

Mazda C513-34-300 Mazda C513-34-350

Mazda CC30-34 300A Mazda CC30-34 300B

Mazda CC30-34 300C Mazda CC30-34 300D

Mazda CC30-34 300E Mazda CC30-34 350A

Mazda CC30-34 350B Mazda CC30-34 350C

Mazda CC30-34 350D Mazda CC30-34 350E

Mazda CD99-34-300A Mazda CD99-34-350A

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info
Mazda 3 (BK) (09/99-12/09)
Mazda 5 (CW) (06/10--)

Ball joint

Notes
Front Axle Left
Front Axle Right
Upper

Outer Diameter [mm] 39

Required quantity 2

Thread Size M12x1,25

replacement in pairs recommended

References

Mazda GJ6A-34 200B
Mazda GP9A-34-200A
Mazda GP9A-34-250A
Mazda GV2W-34 200

Application info
Mazda 6 (GG, GY) (01/02-12/08)

Ball joint
Notes
Front Axle Left
Front Axle Right
Required quantity 2

replacement in pairs recommended

Mazda

Mazda
Mazda
Mazda
Mazda

Mazda

5 (CR) (02/05-12/10)

35-16 010 0026 MBJ0211

WErLe
ORIGINAL
Gttt

GJ6A-34 250B
GP9A-34-200B
GP9A-34-250B
GV2W-34 250

6 (GH) (08/07-12/13)

35-16 010 0032 MBJ0483

weree
DRIGINAL
Guaud

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

Mazda D10E-34-300 Mazda D10E-34-350

Mazda KD35-34-300D Mazda KD35-34-300E
Mazda KD35-34-300F Mazda KD35-34-300G
Mazda KD35-34-300H Mazda KD35-34-300J
Mazda KD35-34-300L Mazda KD35-34-300M
Mazda KD35-34-300N Mazda KD35-34-300P
Mazda KD35-34-300R Mazda KD35-34-300S
Mazda KD35-34-350D Mazda KD35-34-350E
Mazda KD35-34-350F Mazda KD35-34-350G
Mazda KD35-34-350H Mazda KD35-34-350J
Mazda KD35-34-350L Mazda KD35-34-350M
Mazda KD35-34-350N Mazda KD35-34-350P
Mazda KD35-34-350R Mazda KD35-34-350S

Application info
Mazda 6 (GJ) (08/12--) Mazda CX-3 (DK) (01/15--)
Mazda CX-51(KE) (11/11-02/17)

Ball joint 36-16 010 0000 MBJ0213

Notes
-

Front Axle Left
Front Axle Right
Lower
with accessories
Outer Diameter [mm] 41
Required quantity 2

O

replacement in pairs recommended

References

Nissan 40160-9W200 Nissan 54500-BB00A
Nissan 54500-BR30A Nissan 54500-JD000
Nissan 54501-BBO0A Nissan 54501-BR30A
Nissan 54501-JD000 Nissan 54501-JG000
Nissan 54501-JG0O0B Renault 54501JY00A
Renault 545040445R Renault 545055212R

Application info

Nissan Murano (Z50) (04/02-12/09) Nissan Qashgai | (J10_) (12/06-04/14)
Nissan Qashqai Il (J11_) (11/13--) Nissan X-Trail (T31) (03/07-12/18)
Renault Kadjar (06/15--) Renault Koleos | (09/08--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Ball joint

Notes

Required quantity
Thread Size
replacement in pairs recommended

References

Ford 1954 430
Nissan 40110-01G25
Nissan 40110-0F000
Nissan 40110-T6000
Nissan 40110-V0100

Application info

Ford Maverick | (02/93-04/98)
Nissan Terrano | (07/86-02/96)
Nissan Urvan (E24) (06/86-05/97)

Ball joint

Notes

Height [mm]

Outer Diameter [mm]

Required quantity

Thread Size

replacement in pairs recommended

Front Axle Left
Front Axle Right
Upper

with accessories
2

M14x1,5

Front Axle Left
Front Axle Right
Lower

with accessories
50

38

2

M14x1,5

Nissan
Nissan
Nissan
Nissan

Nissan
Nissan

36-16 010 0001 MBJ0214

weree
DRIGINAL
Guaud

0o
”'("y”'(’y”’\"y"'(’ym) o

40110-01G00
40110-01G26
40110-B9500
40110-T6025

Pick Up (D21) (09/85-12/08)
Terrano Il (10/92-09/07)

36-16 010 0006 MBJ0216

I
So

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

Nissan 40160-50A00 Nissan 40160-50J25
Nissan 40160-60Y60 Nissan 40160-69C00
Nissan 40160-70J00 Nissan 40160-86M00
Nissan 40160-J7500 Nissan 54500-50J00
Nissan 54500-50J10 Nissan 54500-50J25
Nissan 54500-69C00 Nissan 54500-86J00
Nissan 54500-90J00 Nissan 54500-90J10
Nissan 54501-50J00 Nissan 54501-50J10
Nissan 54501-50J25 Nissan 54501-86J00
Nissan 54501-90J00 Nissan 54501-90J10

Application info
Nissan Primera (P10, W10) (06/90-03/98) Nissan Primera (P11, WP11) (06/96-07/02)
Nissan Sunny (B12, N13) (01/86-10/91)

Ball joint 36-16 010 0023 MBJ0221

Notes
il

Front Axle Left
Front Axle Right
Upper

Outer Diameter [mm] 42

Required quantity 2

Thread Size M14x1,5

replacement in pairs recommended

References
Nissan 40110EA000 Nissan 54524-EB30A
Nissan 54525-EB30A

Application info
Nissan Navara (D40) (10/04--) Nissan Pathfinder (R51) (01/05--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Ball joint

Notes
Front Axle Left
Front Axle Right
Lower

Outer Diameter [mm] 45.2

Required quantity 2

replacement in pairs recommended

References

Nissan 40160-EAO00A
Nissan 54500-EB30C
Nissan 54500-EB31C
Nissan 54501-EB30C
Nissan 54501-EB31C

Application info
Nissan Navara (D40) (10/04--)

Ball joint
Notes
Front Axle Left
Front Axle Right
Outer Diameter [mm] 38
Required quantity 2

replacement in pairs recommended

References

Nissan 54500-1FUOB
Nissan 54500-1KA0A
Nissan 54500-EL000
Nissan 54501-1FU0B
Nissan 54501-1KA0A
Nissan 54501-EL000

Nissan
Nissan
Nissan
Nissan

Nissan

Nissan
Nissan
Nissan
Nissan
Nissan
Nissan

36-16 010 0025 MBJ0222

weree
DRIGINAL
Guaud

54500-EB300
54500-EB31A
54501-EB300
54501-EB31A

Pathfinder (R51) (01/05--)

36-16 010 0034 MBJ0302

T

et
ORIGINAL
uay

54500-1JY0A
54500-1KA0B
54500-EW000
54501-1JY0A
54501-1KA0B
54501-EW000

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Application info

Nissan Cube (Z12) (09/07--) Nissan Juke (F15) (06/10--)
Nissan Leaf | (ZEO) (11/10--) Nissan NV200 (02/10--)
Nissan Tiida (05/04-12/13)

Ball joint 36-16 010 0039 MBJ0223

Notes

WErLe
ORIGINAL
Cuad

Front Axle Left
Front Axle Right
Lower

S
&

with accessories

Height [mm] 54

Outer Diameter [mm] 39

Required quantity 2 o
Thread Size M14x1,5

replacement in pairs recommended

References

Mazda 1NO00-99-356 Nissan 40160-0M010
Nissan 40160-0M020 Nissan 40160-50Y00
Nissan 40160-50Y02 Nissan 40160-50YOR
Nissan 40160-50Y10 Nissan 40160-52Y00
Nissan 40160-52Y10 Nissan 40160-52Y20
Nissan 40160-60Y00 Nissan 40160-60Y10
Nissan 40160-60Y20 Nissan 40160-69Y00
Nissan 40160-69Y10 Nissan 40160-F4200
Nissan 40160-Y02G0 Nissan 40161-52Y10
Nissan 54500-0M010 Nissan 54500-0M020
Nissan 54500-0M060 Nissan 54500-52Y10
Nissan 54500-52Y15 Nissan 54500-52Y60
Nissan 54500-52Y70 Nissan 54500-69Y10
Nissan 54501-0M010 Nissan 54501-52Y10
Nissan 54501-52Y15 Nissan 54501-52Y60
Nissan 54501-52Y70 Nissan 54501-69Y10

Application info
Nissan 100 NX (03/90-01/96) Nissan Almera I/Pulsar | (07/95-01/01)
Nissan Sunny (B13, N14, Y10) (05/90-03/00)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Ball joint 36-16 010 0040 MBJ0224

Notes
Front Axle Left % ».,:
Front Axle Right g -
Lower =%
with accessories

Height [mm] 46

Outer Diameter [mm] 35

Required quantity 2 O

Thread Size M12x1,25

replacement in pairs recommended

References

Nissan 40160-4F100 Nissan 54500-44B00

Nissan 54500-4F102 Nissan 54500-4F105

Nissan 54500-4F150 Nissan 54501-44B00

Nissan 54501-4F102 Nissan 54501-4F105

Nissan 54501-4F150

Application info

Nissan Micra (K11) (01/92-12/07)

Ball joint 36-16 010 0043 MBJ0225

Notes

WErLe

Front Axle Left CRIBINAL

Front Axle Right ?

Lower @

with accessories
Outer Diameter [mm] 38 B
Required quantity 2 7 \
Thread Size M14x1,5 \ /)

replacement in pairs recommended

>,

References

Nissan 54500-4M410 Nissan 54500-4M411
Nissan 54500-BM410 Nissan 54500-F4600
Nissan 54501-4M410 Nissan 54501-4M411
Nissan 54501-BM410 Nissan 54501-F4600

Application info
Nissan Almera Il (01/00--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Ball joint

Notes

Outer Diameter [mm]
Required quantity
replacement in pairs recommended

References

Nissan 40160-AX000
Nissan 54501-AX60B
Nissan 54570-AX600

Application info
Nissan Micra (K12) (03/02--)

Ball joint

Notes

Required quantity
Thread Size
replacement in pairs recommended

References

Nissan 40160-2Y000
Nissan 54500-AV600
Nissan 54500-AV60A
Nissan 54501-AV605
Nissan 54501-AV60C

Application info

Front Axle Left
Front Axle Right
Lower

with accessories
38

2

Front Axle Left
Front Axle Right
Lower

with accessories
2

M14x1,5

Nissan
Nissan
Nissan

Nissan

Nissan
Nissan
Nissan
Nissan

36-16 010 0044 MBJ0226

54501-AX600
54501-BC42A
60401-35517

weree
DRIGINAL
Guaud

i

Note | (01/05-08/13)

36-16 010 0045

54401-AV60A
54500-AV605
54501-AV600
54501-AV60A

MBJ0227

i
ORIGINAL
Punet

O

Nissan Almera Tino (12/98-02/06)
Nissan Primera (P12, WP12) (01/02--)

Nissan Maxima (A33) (04/99-11/03)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Ball joint
Notes
Front Axle Left
Front Axle Right
Lower
with accessories
Outer Diameter [mm] 35
Required quantity 2
Thread Size M12x1,25

replacement in pairs recommended

References
Nissan 54500-2U711
Nissan 54501-2U711

Application info
Nissan Micra (K11) (01/92-12/07)

Ball joint
Notes
Front Axle Left
Front Axle Right
Outer Diameter [mm] 35
Required quantity 2

replacement in pairs recommended

References

Nissan 54500-1HAOC
Nissan 54500-1HAGA
Nissan 54501-1HA5A

Application info
Nissan Micra (K13) (05/10--)

36-16 010 0049 MBJ0228

weree
DRIGINAL
Guaud

il

O

Nissan 54500-6F600
Nissan 54501-6F600

36-16 010 0055 MBJ0321

WErLe
ORIGINAL
Gttt

Nissan 54500-1HAS5A
Nissan 54501-1HAOC
Nissan 54501-1HAG6A

Nissan Note Il (09/12--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Ball joint 37-16 010 0002 MBJ0231

Notes
-

Front Axle Left
Front Axle Right
Lower

with accessories

Outer Diameter [mm] 40
Required quantity 2
Thread Size M12x1,25

replacement in pairs recommended

References

Hyundai 54503-22A00 Hyundai 54503-25A00
Hyundai 54503-31600 Hyundai 54503-38A00
Hyundai 54520-31600 Hyundai 54530-0U000
Hyundai 54530-25000 Hyundai 54530-31600
Hyundai 54530-3X000 Kia 54503 22A00

Kia 54503 25A00 Kia 54503 31600

Kia 54530 0U000O Kia 54530 25000

Kia 54530 2F000 Kia 54530 31600
Mitsubishi AW311699 Mitsubishi MB241883
Mitsubishi MB303374 Mitsubishi MB303375
Mitsubishi MB349463 Mitsubishi MB349464
Mitsubishi MB430406 Mitsubishi MB430407
Mitsubishi MB518043 Mitsubishi MB518044
Mitsubishi MB518205 Mitsubishi MB518206
Mitsubishi MB518960 Mitsubishi MB518961
Mitsubishi MB891789 Mitsubishi MB891790

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Application info

Hyundai Accent| (05/94-12/02) Hyundai Accent Il (09/99-11/17)
Hyundai Accent IV (08/10--) Hyundai AccentV (01/18--)
Hyundai Coupé Il (05/96-04/02) Hyundai Coupé Il (01/01-12/12)
Hyundai Cretal (01/16--) Hyundai Creta Il (SU2_) (03/20--)
Hyundai Elantral (03/00-09/06) Hyundai ElantraV (09/10--)
Hyundai Getz (06/01-01/11) Hyundai Lantra Il (06/95-12/00)
Hyundai Matrix (06/01-08/10) Hyundai Solaris (01/17--)
Hyundai Sonata Il (09/88-12/93) Hyundai Veloster | (03/11-12/17)
Hyundai XG (12/98-12/05) Hyundai i20 1 (08/08--)

Hyundai i20 1l (11/14--) Hyundai ix20 (11/10--)

Kia Cerato | (LD) (01/01--) Kia Cerato Il (TD) (01/09--)

Kia Cerato Ill (YD) (09/12--) Kia Rio IV (01/17--)

Kia Venga (02/10--) Mitsubishi Colt Il (10/86-05/92)
Mitsubishi Colt IV (03/92-04/96) Mitsubishi Galant Ill (10/83-12/90)
Mitsubishi Galant IV (11/87-03/93) Mitsubishi Lancer Il (11/83-08/92)
Mitsubishi Lancer IV (04/88-12/97) Mitsubishi Lancer V (07/91-10/03)
Mitsubishi Sapporo Il (06/87-08/90) Mitsubishi Sigma (10/90-10/96)
Ball joint 37-16 010 0009 MBJ0235
Notes

were
DRIGINAL
Suatd

Front Axle Left
Front Axle Right

Lower
Required quantity 2
Thread Size M14x1,5
replacement in pairs recommended
References
Hyundai 51760-38000 Hyundai 51760-38000AT
Hyundai 51761-38A00 Kia 51760 38000
Kia 51760 3F000 Kia 51761 38A00
Application info
Hyundai Sonata IV (03/98-12/05) Hyundai XG (12/98-12/05)
Kia Magentis | (05/01--) Kia Opirus (09/03--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Ball joint 37-16 010 0013 MBJ0237

Notes

weree
DRIGINAL
Guaud

Front Axle Left
Front Axle Right

Lower
Required quantity 2
Thread Size M16x1,5 P \%
replacement in pairs recommended WQ C’\??’ -
e & 0 & @
References
Hyundai 54530-47000 Hyundai 54530-4A000
Hyundai 54530-4AA00 Mitsubishi MR162699
Application info
Hyundai H-11 (10/97-04/08) Hyundai Starex (06/97--)
MG MG 6 (11/10--) Mitsubishi L300 Il (08/86-12/13)
Mitsubishi L400 (06/94-04/07)
Ball joint 37-16 010 0019 MBJ0239
Notes
Front Axle Left % m:mzn
Front Axle Right =
Required quantity 2
Thread Size 1 M12x1,25

replacement in pairs recommended

References

Hyundai 51760-0Q000 Hyundai 51760-2G000
Hyundai 51760-2H000 Kia 51760 2G000

Kia 51760 2H000 Kia 51760-0Q000

Application info

Hyundai Elantra IV (09/05--) Hyundai i30 1 (10/07-06/12)
Kia Cee'd | (12/06-02/13) Kia Magentis | (05/01--)
Kia Magentis Il (10/05--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Ball joint 37-16 010 0020 MBJ0240

Notes
Front Axle Left
Front Axle Right
Lower
with accessories
Required quantity 2
Thread Size 1 M12x1,25
replacement in pairs recommended

References
Hyundai 51760-0P000 Hyundai 51760-1G000
Hyundai 51760-1G001 Kia 51760 1G000

Kia 51760 1G001

Application info
Hyundai Accent lll (11/05-12/12) Kia Rio Il (03/05--)

weree
DRIGINAL
Guaud

Ball joint 37-16 010 0022 MBJ0242

Notes
Front Axle Left
Front Axle Right

Upper
Required quantity 2
Thread Size M14x1,5

replacement in pairs recommended

References
Hyundai 54440-H1000

Application info
Hyundai Teracan (06/01-03/08)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

i
ORIGINAL
Punet

MEYLE AG - www.meyle.com



DRIVER’S BEST FRIEND

MEYLE

Ball joint

Notes

Required quantity

replacement in pairs recommended

References
Hyundai 54530-3S000

Application info
Hyundai Tucson| (06/04--)
Kia Sportage Ill (09/09--)

Ball joint

Notes

Paired article number
Required quantity
Thread Size

replacement in pairs recommended

References
Hyundai 54530-F2000

Application info

Hyundai Elantra VI (09/15--)

37-16 010 0027 MBJO311

e’

Front Axle Left : o
Front Axle Right '
2

Kia 54530 3S000

Hyundai ix35 (08/09--)

37-16 010 0029 MBJ0460

Front Axle Left @ ...i:in
Lower
outer

with accessories
37-16 010 0030 | MBJ0461

. .
M12x1,25 W\Yy (@)

Hyundai Konal (06/17--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Ball joint

Notes

Paired article number

Required quantity

Thread Size

replacement in pairs recommended

References
Hyundai 54530-F2100

Application info
Hyundai Elantra VI (09/15--)

Ball joint
Notes
Paired article number

Required quantity
replacement in pairs recommended

References
Hyundai 54530-G4BA0O

Application info
Hyundai i30 Il (11/16--)

37-16 010 0030 MBJO461

weree
DRIGINAL
Guaud

Front Axle Right

Lower

outer

with accessories

37-16 010 0029 | MBJ0460
1

M12x1,25

Hyundai Konal (06/17--)

37-16 010 0032 MBJ0505

e
ORIGINAL
Gttt

Front Axle Right
37-16 010 0033 | MBJ0506
1

Kia 54530 G4BAO

Kia Ceed IV (03/18--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Ball joint 37-16 010 0033 MBJ0506
Notes

Front Axle Left ni;:in
Paired article number 37-16 010 0032 | MBJ0505
Required quantity 1

replacement in pairs recommended

References
Hyundai 54530-G4AA0 Kia 54530 G4AAO0

Application info

Hyundai i30 Il (11/16--) Kia Ceed IV (03/18--)
Control arm 316 035 0005/HD MCAO0430HD
Notes

Aluminium
Carbon Neutral
Control Arm

Front

Front Axle Left
with rubber mount

Article number of recommended accessori 314 654 0002

Length [mm] 400

Paired article number 316 035 0006/HD | MCA0431HD
Replace in pairs only

Required quantity 1

Thread Size M14x1,5

reinforced version

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

BMW 2 405 861 BMW 2 409 599

BMW 3112 2 405 861 BMW 31 12 2 409 599

BMW 31 12 4 036 269 BMW 31126 763 703

BMW 31126 763 707 BMW 31126 769 797

BMW 3112 6 769 801 BMW 4 036 269

BMW 6 763 703 BMW 6 763 707

BMW 6 769 797 BMW 6 769 801

BMW (Brilliance) 2 405 861 BMW (Brilliance) 2 409 599

BMW (Brilliance) 31 12 2 405 861 BMW (Brilliance) 31 12 2 409 599
BMW (Brilliance) 31 12 4 036 269 BMW (Brilliance) 31 12 6 763 703
BMW (Brilliance) 3112 6 763 707 BMW (Brilliance) 31 12 6 769 797
BMW (Brilliance) 31 12 6 769 801 BMW (Brilliance) 4 036 269

BMW (Brilliance) 6 763 703 BMW (Brilliance) 6 763 707

BMW (Brilliance) 6 769 797 BMW (Brilliance) 6 769 801

Application info

BMW 1 (E81, E82, E87, E88) (02/03-12/13) BMW 3 (E90, E91, E92, E93) (02/04-12/13)
BMW X1 (E84) (03/09-06/15) BMW Z4 (E89) (02/09-08/16)

Control arm 316 035 0006/HD MCAO0431HD
Notes

Aluminium
Carbon Neutral
Control Arm

Front

Front Axle Right
with rubber mount

Article number of recommended accessori 314 654 0002

Length [mm] 400

Paired article number 316 035 0005/HD | MCA0430HD
Replace in pairs only

Required quantity 1

Thread Size M14x1,5

reinforced version

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

BMW 2 405 862 BMW 2 409 598

BMW 31 12 2 405 862 BMW 31 12 2 409 598

BMW 31 12 4 036 270 BMW 31126 763 704

BMW 31126 763 708 BMW 31126 769 798

BMW 3112 6 769 802 BMW 4 036 270

BMW 6 763 704 BMW 6 763 708

BMW 6 769 798 BMW 6 769 802

BMW (Brilliance) 2 405 862 BMW (Brilliance) 2 409 598

BMW (Brilliance) 31 12 2 405 862 BMW (Brilliance) 31 12 2 409 598
BMW (Brilliance) 31 12 4 036 270 BMW (Brilliance) 3112 6 763 704
BMW (Brilliance) 31 12 6 763 708 BMW (Brilliance) 31 12 6 769 798
BMW (Brilliance) 31 12 6 769 802 BMW (Brilliance) 4 036 270

BMW (Brilliance) 6 763 704 BMW (Brilliance) 6 763 708

BMW (Brilliance) 6 769 798 BMW (Brilliance) 6 769 802

Application info

BMW 1 (E81, E82, E87, E88) (02/03-12/13) BMW 3 (E90, E91, E92, E93) (02/04-12/13)
BMW X1 (E84) (03/09-06/15) BMW Z4 (E89) (02/09-08/16)
Control arm 316 035 0007 MCA0432
Notes
Control Arm W:
Rear -
Rear Axle Right
Sheet Steel
Upper
with ball joint

with rubber mount

Length [mm] 306

Paired article number 316 035 0008 | MCA0433
Required quantity 1

Thread Size M14x1,5

replacement in pairs recommended

References

BMW 1 095 412 BMW 33321095412
BMW 33 326 768 274 BMW 33326 770748
BMW 33 326 770 860 BMW 6 768 274
BMW 6 770 748 BMW 6 770 860

Application info
BMW X5 (E53) (01/00-12/06)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes
Control Arm
Rear
Rear Axle Left
Sheet Steel
Upper

with ball joint
with rubber mount

Length [mm] 306

Paired article number 316 035 0007 | MCA0432

Required quantity 1

Thread Size M14x1,5

replacement in pairs recommended

References

BMW 1095411

BMW 33326 768 273

BMW 33326 770 859

BMW 6 770 747

Application info

BMW X5 (E53) (01/00-12/06)

Control arm

Notes
Aluminium
Control Arm
Front

Front Axle Left
with rubber mount

Length [mm] 330

Paired article number 316 050 0002 | MCA0435
Required quantity 1

Thread Size M14x1,5

replacement in pairs recommended

References
BMW 1 141 961

Application info
BMW 5 (E39) (09/95-06/04)

316 035 0008 MCA0433

weree
DRIGINAL
Guaud

BMW 33321095411
BMW 33326 770 747
BMW 6 768 273
BMW 6 770 859

316 050 0001 MCAO0434

e
ORIGINAL
uay

BMW 31121 141961

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Length [mm]

Paired article number

Required quantity

Thread Size

replacement in pairs recommended

References
BMW 1 141 962

Application info
BMW 5 (E39) (09/95-06/04)

Control arm

Notes

Article number of recommended accessori

Paired article number
Replace in pairs only
Required quantity
Thread Size 1
Thread Size 2
reinforced version

316 050 0002 MCAO0435

e’

Aluminium o
Control Arm .
Front

Front Axle Right

with rubber mount

330

316 050 0001 | MCA0434
1

M14x1,5

) '@

BMW 31121 141 962

316 050 0003/HD MCA0436HD

Aluminium
Carbon Neutral

O ‘{

a

Control Arm

Front Axle Left

with ball joint

314 654 0004

316 050 0004/HD | MCA0437HD

1
M12x1,5
M14x1,5

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



MEYLE

DRIVER’S BEST FRIEND

References

BMW 1 094 465 BMW 1 096 985

BMW 1752 717 BMW 2 157 594

BMW 2 158 880 BMW 2 158 894

BMW 2282 121 BMW 2 341 297

BMW 2 343 353 BMW 31 12 1 094 465
BMW 31 12 1 096 985 BMW 31121 752 717
BMW 31 12 2 157 594 BMW 31 12 2 158 880
BMW 31 12 2 158 894 BMW 31122282 121
BMW 31 12 2 341 297 BMW 31 12 2 343 353
BMW 31 12 6 750 223 BMW 3112 6 751 317
BMW 31126 752 717 BMW 31126 758 220
BMW 31 12 6 758 519 BMW 31126 770 247
BMW 31126 774 819 BMW 31126 777 851

BMW 6 750 223
BMW 6 752 717
BMW 6 758 519
BMW 6 774 819

BMW 6 751 317
BMW 6 758 220
BMW 6 770 247
BMW 6 777 851

BMW (Brilliance) 1 094 465 BMW (Brilliance) 1 096 985
BMW (Brilliance) 1 752 717 BMW (Brilliance) 2282 121
BMW (Brilliance) 2 341 297 BMW (Brilliance) 2 343 353

BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)

3112 1 094 465
31121752717
31122 341 297
31126 750 223
31126752 717
31126 770 247

BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)

31121 096 985
31122282121
31122343353
31126 751 317
31126 758 519
31126774 819

BMW (Brilliance) 31 12 6 777 851 BMW (Brilliance) 6 750 223
BMW (Brilliance) 6 751 317 BMW (Brilliance) 6 752 717
BMW (Brilliance) 6 758 519 BMW (Brilliance) 6 770 247
BMW (Brilliance) 6 774 819 BMW (Brilliance) 6 777 851

Application info
BMW 3 (E46) (12/97-12/07)
BMW Z4 (E86) (03/06-01/09)

BMW Z4 (E85) (09/02-12/09)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

MEYLE AG - www.meyle.com



MEYLE

DRIVER’S BEST FRIEND

Control arm 316 050 0004/HD MCA0437HD

Notes
Aluminium % . HD
: o f“\ [
Carbon Neutral )
Control Arm
Front Axle Right
with ball joint
Article number of recommended accessori 314 654 0004

316 050 0003/HD | MCA0436HD

Paired article number
Replace in pairs only

Required quantity 1
Thread Size 1 M12x1,5
Thread Size 2 M14x1,5

reinforced version

References

BMW 1 094 466

BMW 2 157 594

BMW 2 158 894

BMW 2 341 828

BMW 31 12 1 094 466
BMW 3112 2 157 594
BMW 31 12 2 158 894
BMW 31 12 2 341 828
BMW 31 12 6 750 224
BMW 31126 752 718
BMW 31126 770 248
BMW 31126 777 852

BMW 1 096 986
BMW 2 158 880
BMW 2282 122
BMW 2 343 352
BMW 3112 1 096 986
BMW 3112 2 158 880
BMW 31122282 122
BMW 3112 2 343 352
BMW 31126 751 318
BMW 31126 758 520
BMW 31126 774 820
BMW 6 750 224

BMW 6 751 318
BMW 6 758 520
BMW 6 774 820
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)

1 094 466
2282122
2343 352
3112 1 096 986
31122341828
31126 750 224
31126752718
31126770 248
31126777 852
6 751 318
6 758 520
6 774 820

BMW 6 752 718
BMW 6 770 248
BMW 6 777 852
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)

1 096 986
2341 828
3112 1 094 466
31122282122
31122 343 352
31126751318
31126 758 520
31126774820
6 750 224
6752 718
6 770 248
6 777 852

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

MEYLE AG - www.meyle.com



DRIVER’S BEST FRIEND

MEYLE

Application info
BMW 3 (E46) (12/97-12/07)
BMW Z4 (E86) (03/06-01/09)

Control arm

Notes

Article number of recommended accessori
Length [mm]

Paired article number

Replace in pairs only

Required quantity

reinforced version

References
BMW 1 096 169
BMW 31126 769 717

Application info
BMW X5 (E53) (01/00-12/06)

Control arm

Notes

Article number of recommended accessori
Length [mm]

Paired article number

Replace in pairs only

Required quantity

reinforced version

BMW Z4 (E85) (09/02-12/09)

316 050 0007/HD MCAO0440HD

Carbon Neutral

Control Arm

Front

Front Axle Left

Steel

with rubber mount

314 654 0010

600

316 050 0008/HD | MCA0441HD

BMW 31121 096 169
BMW 6 769 717

316 050 0008/HD MCAO0441HD

Carbon Neutral

Control Arm

Front

Front Axle Right

Steel

with rubber mount

314 654 0010

600

316 050 0007/HD | MCA0440HD

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References
BMW 1096 170 BMW 31121096 170
BMW 31126 769 718 BMW 6 769 718

Application info
BMW X5 (E53) (01/00-12/06)

Control arm 316 050 0009 MCAO0442
Notes
Control Arm ...i;E.L
Front Axle Left -
Rear
Steel
with rubber mount
Length [mm] 300
Paired article number 316 050 0010 | MCA0443
Required quantity 1
Thread Size M14x1,5
replacement in pairs recommended
References
BMW 1096 315 BMW 31121 096 315
BMW 31126 760 275 BMW 6 760 275
Application info
BMW X5 (E53) (01/00-12/06)
Control arm 316 050 0010 MCAO0443
Notes
Control Arm %:
Front Axle Right y
Rear
Steel
with rubber mount
Length [mm] 300
Paired article number 316 050 0009 | MCA0442
Required quantity 1
Thread Size M14x1,5
replacement in pairs recommended
References
BMW 1 096 316 BMW 31121 096 316
BMW 31126 760 276 BMW 6 760 276

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info
BMW X5 (E53) (01/00-12/06)

Control arm

Notes

Article number of recommended accessori
Length [mm]

Paired article number

Replace in pairs only

Required quantity

Thread Size

reinforced version

References

BMW 31 12 4 026 453
BMW 3112 6 756 101
BMW 31 12 6 765 993
BMW 4 026 453

BMW 6 756 101

BMW 6 765 993

Application info
BMW 7 (E65, E66) (07/01-12/09)

Aluminium

Carbon Neutral

Control Arm

Front

Front Axle Left

with rubber mount

314 654 0011

424

316 050 0012/HD | MCA0445HD

1
M14x1,5

BMW
BMW
BMW
BMW
BMW
BMW

316 050 0011/HD MCAO0444HD

o

& of - &
- N ./

3112 4 046 441
31126 760 519
31126774831
4 046 441
6 760 519
6774 831

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Article number of recommended accessori
Length [mm]

Paired article number

Replace in pairs only

Required quantity

Thread Size

reinforced version

References

BMW 31 12 4 026 454
BMW 31 12 6 756 102
BMW 31 12 6 765 994
BMW 4 026 454

BMW 6 756 102

BMW 6 765 994

Application info
BMW 7 (E65, E66) (07/01-12/09)

Control arm

Notes

Length [mm]

Paired article number

Required quantity

Thread Size

replacement in pairs recommended

Aluminium

Carbon Neutral

Control Arm

Front

Front Axle Right

with rubber mount

314 654 0011

424

316 050 0011/HD | MCA0444HD

1

M14x1,5
BMW
BMW
BMW
BMW
BMW
BMW

Aluminium

Control Arm

Front Axle Left

Rear

with rubber mount

300

316 050 0014 | MCA0447
1

M14x1,5

316 050 0012/HD MCAO0445HD

3112 4046 442
31126 760 520
31126774832
4 046 442
6 760 520
6 774 832

316 050 0013 MCAO0446

e
ORIGINAL
Guaucd

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

BMW 2 347 983 BMW 2 347 985

BMW 31 12 2 347 983 BMW 31 12 2 347 985
BMW 31126 755 835 BMW 31126 770121
BMW 31126770771 BMW 31126 770 837
BMW 31126 777 937 BMW 31126 777 939
BMW 6 755 835 BMW 6 770 121

BMW 6 770 771 BMW 6 770 837

BMW 6 777 937 BMW 6 777 939

Application info

BMW 6 (E63, E64) (09/03-12/10) BMW 7 (E65, E66) (07/01-12/09)
Control arm 316 050 0014 MCAO0447
Notes
Aluminium ...:min
Control Arm

@
Front Axle Right @
Rear f W/

with rubber mount

Length [mm] 300

Paired article number 316 050 0013 | MCA0446
Required quantity 1

Thread Size M14x1,5

replacement in pairs recommended

References

BMW 2 347 984 BMW 2 347 986

BMW 31 12 2 347 984 BMW 31 12 2 347 986
BMW 31 12 6 755 836 BMW 31126 770 122
BMW 31126 770 772 BMW 31126 770 838
BMW 31126 777 938 BMW 31126 777 940
BMW 6 755 836 BMW 6 770 122

BMW 6 770 772 BMW 6 770 838

BMW 6 777 938 BMW 6 777 940

Application info
BMW 6 (E63, E64) (09/03-12/10) BMW 7 (E65, E66) (07/01-12/09)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Article number of recommended accessori
Length [mm]

Paired article number

Replace in pairs only

Required quantity

Thread Size

reinforced version

References

BMW 0 360 275

BMW 3412 135

BMW 3418 337

BMW 3451 881

BMW 31 10 3415 027
BMW 31 10 3426 433
BMW 31 12 0 360 275

Application info
BMW X3 (E83) (01/03-12/11)

Control arm

Notes

Article number of recommended accessori
Length [mm]

Paired article number

Replace in pairs only

Required quantity

Thread Size

reinforced version

316 050 0015/HD MCAO0448HD

Carbon Neutral
Control Arm
Front Axle Left
Rear

Steel

with rubber mount

314 654 0018

278

316 050 0016/HD | MCA0449HD

1
M14x1,5

BMW
BMW
BMW
BMW
BMW
BMW
BMW

2229521
3 415 027
3426 433
31103412135
3110 3418 337
3110 3451 881
31122229521

316 050 0016/HD MCAO0449HD

Carbon Neutral

Control Arm

Front Axle Right

Rear

Steel

with rubber mount

314 654 0018

278

316 050 0015/HD | MCA0448HD

1
M14x1,5

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

References

BMW 2 229 522

BMW 3415 028

BMW 3426 434

BMW 31103412136
BMW 31 103418 338
BMW 31 10 3 451 882

Application info
BMW X3 (E83) (01/03-12/11)

Control arm

Notes

Length [mm]

Paired article number

Required quantity

Thread Size

replacement in pairs recommended

References

BMW 2 347 951

BMW 3112 2 347 951

BMW 31 12 4 028 607

BMW 31126 768 297

BMW 6 760 181

BMW (Brilliance) 31 12 6 760 181
BMW (Brilliance) 6 760 181

Application info
BMW 5 (E60, E61) (12/01-12/10)

BMW 3412 136
BMW 3418 338
BMW 3451 882
BMW 3110 3415028
BMW 31 10 3 426 434
BMW 3112 2 229 522

316 050 0017

Aluminium

Control Arm

Front Axle Left @

Rear @*‘ —
with rubber mount ——
298

316 050 0018 | MCA0451
1

M14x1,5

BMW 2 347 963

BMW 3112 2 347 963

BMW 31126 760 181

BMW 4 028 607

BMW 6 768 297

BMW (Brilliance) 31 12 6 768 297
BMW (Brilliance) 6 768 297

MEYLE

MCA0450

e
ORIGINAL
Guaucd

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Length [mm]

Paired article number

Required quantity

Thread Size

replacement in pairs recommended

References

BMW 2 347 952

BMW 31 12 2 347 952

BMW 31 12 4 028 608

BMW 3112 6 768 298

BMW 6 760 182

BMW (Brilliance) 31 12 6 760 182
BMW (Brilliance) 6 760 182

Application info
BMW 5 (E60, E61) (12/01-12/10)

Control arm

Notes

Article number of recommended accessori
Length [mm]

Paired article number

Replace in pairs only

Required quantity

Thread Size

reinforced version

316 050 0018 MCAO0451

e’

Aluminium o
Control Arm -
Front Axle Right - &
Rear /('?"T.,* e
with rubber mount S
298
316 050 0017 | MCA0450
1
M14x1,5

BMW 2 347 965

BMW 3112 2 347 965

BMW 31126 760 182

BMW 4 028 608

BMW 6 768 298

BMW (Brilliance) 31 12 6 768 298

BMW (Brilliance) 6 768 298

316 050 0019/HD MCAO0452HD

Aluminium HEI

uared

Carbon Neutral
Control Arm
Front

Front Axle Left

with rubber mount

314 654 0005

421

316 050 0020/HD | MCA0453HD

1
M14x1,5

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

BMW 2 348 047 BMW 31 10 2 348 047

BMW 31 104 026 719 BMW 31 12 4 046 437

BMW 31 12 6 760 183 BMW 31 12 6 765 995

BMW 31126 774 825 BMW 4 026 719

BMW 4 046 437 BMW 6 760 183

BMW 6 765 995 BMW 6 774 825

BMW (Brilliance) 2 348 047 BMW (Brilliance) 31 10 2 348 047
BMW (Brilliance) 31 10 4 026 719 BMW (Brilliance) 31 12 4 046 437
BMW (Brilliance) 31 12 6 760 183 BMW (Brilliance) 31 12 6 765 995
BMW (Brilliance) 31 12 6 774 825 BMW (Brilliance) 4 026 719

BMW (Brilliance) 4 046 437 BMW (Brilliance) 6 760 183

BMW (Brilliance) 6 765 995 BMW (Brilliance) 6 774 825

Application info
BMW 5 (E60, E61) (12/01-12/10)

Control arm 316 050 0020/HD MCAO0453HD

Notes
Aluminium HD
Carbon Neutral
Control Arm
Front
Front Axle Right
with rubber mount

Article number of recommended accessori 314 654 0005

Length [mm] 421

Paired article number 316 050 0019/HD | MCA0452HD
Replace in pairs only

Required quantity 1

Thread Size M14x1,5

reinforced version

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References

BMW 2 348 046

BMW 31 104 026 720

BMW 3112 6 760 184

BMW 31126 774 826

BMW 4 046 438

BMW 6 765 996

BMW (Brilliance) 2 348 046

BMW (Brilliance) 31 10 4 026 720
BMW (Brilliance) 31 12 6 760 184
BMW (Brilliance) 31 12 6 774 826
BMW (Brilliance) 4 046 438

BMW (Brilliance) 6 765 996

Application info
BMW 5 (E60, E61) (12/01-12/10)

Control arm

Notes

Length [mm]

Paired article number

Required quantity

Thread Size

replacement in pairs recommended

References

BMW 2 405 860

BMW 31126 763 700

BMW 31 12 6 786 204

BMW 6 770 850

BMW (Brilliance) 31 12 6 763 700
BMW (Brilliance) 6 763 700

Application info

BMW 1 (E81, E82, E87, E88) (02/03-12/13)

BMW X1 (E84) (03/09-06/15)

BMW 31 10 2 348 046

BMW 3112 4 046 438

BMW 31 12 6 765 996

BMW 4026 720

BMW 6 760 184

BMW 6 774 826

BMW (Brilliance) 31 10 2 348 046
BMW (Brilliance) 31 12 4 046 438
BMW (Brilliance) 31 12 6 765 996
BMW (Brilliance) 4 026 720

BMW (Brilliance) 6 760 184

BMW (Brilliance) 6 774 826

316 050 0021 MCAO0454

e

Aluminium CRIGINAL

uared

Control Arm

@
Front Axle Right _ o =
Rear g — : T%

¥

with rubber mount

284

316 050 0022 | MCA0455
1

M14x1,5

BMW 31 12 2 405 860

BMW 31126 770 850

BMW 6 763 700

BMW 6 786 204

BMW (Brilliance) 31 12 6 770 850
BMW (Brilliance) 6 770 850

BMW 3 (E90, E91, E92, E93) (02/04-12/13)
BMW Z4 (E89) (02/09-08/16)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0022 MCAO0455

Notes
Aluminium "i;E"
Control Arm -
Front Axle Left g p
Rear \ VT"’ m"@
with rubber mount

Length [mm] 284

Paired article number 316 050 0021 | MCA0454

Required quantity 1

Thread Size M14x1,5

replacement in pairs recommended

References

BMW 2 405 859 BMW 31 12 2 405 859

BMW 3112 6 763 699 BMW 31126 770 849

BMW 31 12 6 786 203 BMW 6 763 699

BMW 6 770 849 BMW 6 786 203

BMW (Brilliance) 31 12 6 763 699 BMW (Brilliance) 3112 6 770 849

BMW (Brilliance) 6 763 699 BMW (Brilliance) 6 770 849

Application info

BMW 1 (E81, E82, E87, E88) (02/03-12/13) BMW 3 (E90, E91, E92, E93) (02/04-12/13)

BMW X1 (E84) (03/09-06/15) BMW Z4 (E89) (02/09-08/16)

Control arm 316 050 0027/HD MCA0456HD

Notes
Carbon Neutral I;ﬂllil
Control Arm

Front

Front Axle Left m
Steel

with rubber mount
Article number of recommended accessori 314 654 0012
Length [mm] 444
Paired article number 316 050 0028/HD | MCA0457HD
Replace in pairs only
Required quantity 1
reinforced version

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

BMW 0 363 477 BMW 2 229 523

BMW 3443 127 BMW 31 100 363 477
BMW 3110 2 229 523 BMW 3110 3 443 127

Application info
BMW X3 (E83) (01/03-12/11)

Control arm 316 050 0028/HD MCAO0457HD
Notes
Carbon Neutral
Control Arm
Front

Front Axle Right A
Steel

with rubber mount
Article number of recommended accessori 314 654 0012
Length [mm] 444
Paired article number 316 050 0027/HD | MCA0456HD
Replace in pairs only
Required quantity 1
reinforced version

References

BMW 0 363 478 BMW 2 229 523

BMW 3412 138 BMW 3443 128

BMW 31 100 363478 BMW 31 10 2 229 523
BMW 31 103412 138 BMW 31 10 3 443 128

Application info
BMW X3 (E83) (01/03-12/11)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0029/HD MCAO0458HD

Notes
Aluminium HD
Carbon Neutral

Control Arm ﬂ
e N
Front Axle Left h’«r/ \__,__e

Rear &
with rubber mount
Article number of recommended accessori 314 654 0013

Length [mm] 450

Paired article number 316 050 0030/HD | MCA0459HD
Replace in pairs only

Required quantity 1

Thread Size M14x1,5

reinforced version

References
BMW 1 092 609 BMW 1 092 819
BMW 31121 092 609 BMW 31121092 819

Application info
BMW 5 (E39) (09/95-06/04)

Control arm 316 050 0030/HD MCAO0459HD

Aluminium

Carbon Neutral

Control Arm A
Front Axle Right 9“ / ' \.:d

Rear a

Notes

with rubber mount
Article number of recommended accessori 314 654 0013

Length [mm] 450

Paired article number 316 050 0029/HD | MCA0458HD
Replace in pairs only

Required quantity 1

Thread Size M14x1,5

reinforced version

References
BMW 1092 610 BMW 1 092 820
BMW 31121092610 BMW 31121092 820

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info
BMW 5 (E39) (09/95-06/04)

Control arm

Notes

Camber correction [min.]
Camber correction [min.]
Paired article number
Replace in pairs only
Required quantity
reinforced version

References

BMW 31126 776 418
BMW 31126 776 998
BMW 31 12 6 863 336
BMW 6 776 418

BMW 6 776 998

BMW 6 863 336

Application info
BMW X5 (E70) (02/06-07/13)
BMW X6 (E71) (06/07-07/14)

316 050 0033/HD MCAO0460HD

Aluminium

Carbon Neutral

Control Arm

Front Axle Right

Upper

can be adjusted three times
with ball joint

with fastening material

with rubber mount

-30

30

316 050 0034/HD | MCA0461HD

BMW 31126 776 996
BMW 3112 6 863 334
BMW 31 12 6 863 786
BMW 6 776 996
BMW 6 863 334
BMW 6 863 786

BMW X5 (F15) (08/13-07/18)
BMW X6 (F16) (08/14-07/19)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Camber correction [min.]
Camber correction [min.]
Paired article number
Replace in pairs only
Required quantity
reinforced version

References

BMW 31126 776 417
BMW 31126 776 997
BMW 31 12 6 863 335
BMW 6 776 417

BMW 6 776 997

BMW 6 863 335

Application info
BMW X5 (E70) (02/06-07/13)
BMW X6 (E71) (06/07-07/14)

Control arm

Notes

Length [mm]

Paired article number
Required quantity
Thread Size

replacement in pairs recommended

316 050 0034/HD MCAO0461HD

Aluminium

Carbon Neutral

Control Arm

Front Axle Left

Upper

can be adjusted three times
with ball joint

with fastening material

with rubber mount

-30

30

316 050 0033/HD | MCA0460HD

1

BMW 31126 776 995

BMW 3112 6 863 333

BMW 31126 863 785

BMW 6 776 995

BMW 6 863 333

BMW 6 863 785

BMW X5 (F15) (08/13-07/18)

BMW X6 (F16) (08/14-07/19)

316 050 0035 MCA0462

Control Arm ni;En
Front Axle Right -
Lower
Rear
Steel
with rubber mount
343
316 050 0036 | MCA0463
1
M14x1,5

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References
BMW 31126 771 894 BMW 6 771 894

Application info

BMW X5 (E70) (02/06-07/13) BMW X6 (E71) (06/07-07/14)
Control arm 316 050 0036 MCAO0463
Notes
Control Arm ni;En
Front Axle Left
Lower
Rear
Steel
with rubber mount
Length [mm] 343
Paired article number 316 050 0035 | MCA0462
Required quantity 1
Thread Size M14x1,5
replacement in pairs recommended
References
BMW 31126 771 893 BMW 6 771 893
Application info
BMW X5 (E70) (02/06-07/13) BMW X6 (E71) (06/07-07/14)
Control arm 316 050 0037/HD MCAO0464HD

Notes
Carbon Neutral
Control Arm
Front
Front Axle Right
Lower
Steel
with rubber mount

Article number of recommended accessori 314 654 0006

Length [mm] 414

Paired article number 316 050 0038/HD | MCA0465HD
Replace in pairs only

Required quantity 1

Thread Size M14x1,5

reinforced version

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References
BMW 31126 773 950 BMW 6 773 950

Application info

BMW X5 (E70) (02/06-07/13) BMW X6 (E71) (06/07-07/14)
Control arm 316 050 0038/HD MCAO0465HD
Notes
Carbon Neutral
Control Arm
Front
Front Axle Left
Lower
Steel

with rubber mount
Article number of recommended accessori 314 654 0006

Length [mm] 414

Paired article number 316 050 0037/HD | MCA0464HD
Replace in pairs only

Required quantity 1

Thread Size M14x1,5

reinforced version

References
BMW 31126 773 949 BMW 6 773 949

Application info

BMW X5 (E70) (02/06-07/13) BMW X6 (E71) (06/07-07/14)

Control arm 316 050 0039 MCAO0466

Notes
Aluminium ».,:
Control Arm -
Front
Rear Axle Left @
Upper g
with rubber mount

Length [mm] 212

Paired article number 316 050 0040 | MCA0467

Required quantity 1

Thread Size M12x1,5

replacement in pairs recommended

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

BMW 33 324 046 917 BMW 33326 770963
BMW 33326 779 387 BMW 33 32 6 795 047
BMW 4 046 917 BMW 6 770 963

BMW 6 779 387 BMW 6 795 047

Application info

BMW X5 (E70) (02/06-07/13) BMW X5 (F15) (08/13-07/18)
BMW X6 (E71) (06/07-07/14) BMW X6 (F16) (08/14-07/19)
Control arm 316 050 0040 MCAO0467
Notes
Aluminium "i;E"
Control Arm -
Front
Rear Axle Right ®
Upper - ——
with rubber mount
Length [mm] 212
Paired article number 316 050 0039 | MCA0466
Required quantity 1
Thread Size M12x1,5

replacement in pairs recommended

References

BMW 33324 046 918 BMW 33326 770 964
BMW 33326 779 388 BMW 33 32 6 795 048
BMW 4 046 918 BMW 6 770 964

BMW 6 779 388 BMW 6 795 048

Application info
BMW X5 (E70) (02/06-07/13) BMW X5 (F15) (08/13-07/18)
BMW X6 (E71) (06/07-07/14) BMW X6 (F16) (08/14-07/19)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Length [mm]

Paired article number

Required quantity

Thread Size

replacement in pairs recommended

References
BMW 33326 770 969
BMW 6 770 969

Application info
BMW X5 (E70) (02/06-07/13)
BMW X6 (E71) (06/07-07/14)

Control arm

Notes

Length [mm]

Paired article number
Required quantity
Thread Size

replacement in pairs recommended

References
BMW 33326 770970
BMW 6 770 970

Application info
BMW X5 (E70) (02/06-07/13)
BMW X6 (E71) (06/07-07/14)

316 050 0041 MCAO0468

e’

Aluminium ORIGINAL
Puayied

Control Arm

Rear

Rear Axle Left

Upper

with rubber mount

344

316 050 0042 | MCA0469
1

M14x1,5

BMW 33326 796 001
BMW 6 796 001

BMW X5 (F15) (08/13-07/18)
BMW X6 (F16) (08/14-07/19)

316 050 0042 MCAO0469

WErLe

Aluminium CRIBINAL

Cuad

Control Arm
Rear
Rear Axle Right

Tp— —— ﬂ‘@
Upper e @

with rubber mount

344

316 050 0041 | MCA0468
1

M14x1,5

BMW 33 32 6 796 002
BMW 6 796 002

BMW X5 (F15) (08/13-07/18)
BMW X6 (F16) (08/14-07/19)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm

Notes

Camber correction [min.]
Camber correction [min.]
Replace in pairs only
Required quantity
reinforced version

References

BMW 2 450 817

BMW 31126 775 967

BMW 31126 779 908

BMW 31 12 6 854 614

BMW 6 775 967

BMW 6 779 908

BMW 6 854 614

BMW (Brilliance) 31 12 6 775 967

Application info

BMW 5 (FO7) (01/09-02/17)
BMW 6 (F12, F13) (12/10-10/18)
BMW i8 (03/14-06/20)

Control arm

Notes

Length [mm]
Required quantity
Thread Size

replacement in pairs recommended

316 050 0044/HD MCAO0470HD

Aluminium HD
Carbon Neutral
Control Arm
Front Axle Left
Front Axle Right
Upper

can be adjusted three times

with ball joint
with rubber mount
-30
30
2

BMW 3112 2450 817

BMW 31126779871

BMW 31 12 6 854 613

BMW 3112 6 857 516

BMW 6 779 871

BMW 6 854 613

BMW 6 857 516

BMW (Brilliance) 6 775 967

BMW 5 (F10, F11) (01/09-02/17)

BMW 7 (FO1, FO2, FO3, F04) (02/08-12/15)

316 050 0045 MCA0471

Control Arm ni;:in
Front

Front Axle Left
Front Axle Right
Steel

275

2

M14x1,5

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

BMW 2 405 863 BMW 31 12 2 405 863
BMW 31 12 6 768 989 BMW 6 768 989

BMW (Brilliance) 31 12 6 768 989 BMW (Brilliance) 6 768 989

Application info

BMW 3 (E90, E91, E92, E93) (02/04-12/13) BMW X1 (E84) (03/09-06/15)
Control arm 316 050 0046/HD MCA1149HD
Notes

Carbon Neutral
Control Arm

Front Axle Left

Rear

Steel

with fastening material

with rubber mount
Length [mm] 385
Paired article number 316 050 0047/HD | MCA1150HD
Replace in pairs only
Required quantity 1
reinforced version

References
BMW 3112 6 768 983 BMW 6 768 983
BMW (Brilliance) 31 12 6 768 983 BMW (Brilliance) 6 768 983

Application info
BMW 3 (E90, E91, E92, E93) (02/04-12/13) BMW X1 (E84) (03/09-06/15)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0047/HD MCA1150HD
Notes
Carbon Neutral I;IIEI
Control Arm
Front Axle Right
Rear
Steel

with fastening material
with rubber mount
Length [mm] 385
Paired article number 316 050 0046/HD | MCA1149HD
Replace in pairs only
Required quantity 1
reinforced version

References
BMW 3112 6 768 984 BMW 6 768 984
BMW (Brilliance) 31 12 6 768 984 BMW (Brilliance) 6 768 984

Application info

BMW 3 (E90, E91, E92, E93) (02/04-12/13) BMW X1 (E84) (03/09-06/15)
Control arm 316 050 0048 MCA0472
Notes
Aluminium ni;En
Control Arm
Front Axle Left
Lower
Rear

with rubber mount

Length [mm] 306

Paired article number 316 050 0049 | MCA0473
Required quantity 1

Thread Size M16x1,5

replacement in pairs recommended

References

BMW 2450 813 BMW 3112 2450 813
BMW 3112 6 794 203 BMW 6 794 203

BMW (Brilliance) 31 12 6 794 203 BMW (Brilliance) 6 794 203

Application info
BMW 5 (F10, F11) (01/09-02/17) BMW 6 (F12, F13) (12/10-10/18)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0049 MCAO0473
Notes
Aluminium ni;:zn
Control Arm -
Front Axle Right
Lower
Rear

with rubber mount

Length [mm] 306

Paired article number 316 050 0048 | MCA0472
Required quantity 1

Thread Size M16x1,5

replacement in pairs recommended

References
BMW 2 450 814 BMW 31 12 2 450 814
BMW 3112 6 794 204 BMW 6 794 204

Application info

BMW 5 (F10, F11) (01/09-02/17) BMW 6 (F12, F13) (12/10-10/18)
Control arm 316 050 0050 MCAO0474
Notes
Aluminium "'i;i"
Control Arm
Front
Front Axle Left
Lower

with rubber mount

Length [mm] 398

Paired article number 316 050 0051 | MCA0475
Required quantity 1

Thread Size M16x1,5

replacement in pairs recommended

References

BMW 2 450 815 BMW 31 12 2 450 815
BMW 31126 775971 BMW 6 775971

BMW (Brilliance) 31126 775 971 BMW (Brilliance) 6 775 971

Application info
BMW 5 (F10, F11) (01/09-02/17) BMW 6 (F12, F13) (12/10-10/18)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes
Aluminium
Control Arm
Front
Front Axle Right
Lower

with rubber mount

Length [mm] 398
Paired article number 316 050 0050 | MCA0474
Required quantity 1
Thread Size M16x1,5
replacement in pairs recommended
References
BMW 2 450 818
BMW 31126 775972
BMW (Brilliance) 31 12 6 775972
Application info
BMW 5 (F10, F11) (01/09-02/17)
Control arm
Notes
Control Arm
Front Axle Left
Rear
Steel
with rubber mount
Length [mm] 315
Paired article number 316 050 0053 | MCA1194
Required quantity 1

replacement in pairs recommended

References

BMW 2 450 843

BMW 31126 777 743
BMW 6 777 743

Application info
BMW 5 (FO7) (01/09-02/17)
BMW 6 (F12, F13) (12/10-10/18)

316 050 0051 MCAO0475

weree
DRIGINAL
Guaud

BMW 31 12 2 450 818
BMW 6 775 972
BMW (Brilliance) 6 775972

BMW 6 (F12, F13) (12/10-10/18)

316 050 0052 MCA1193

WErLe
ORIGINAL
Cuad

BMW 31 12 2 450 843
BMW 31 12 6 850 605
BMW 6 850 605

BMW 5 (F10, F11) (01/09-02/17)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0053 MCA1194
Notes
Control Arm ».,:
Front Axle Right -
Rear
Steel
with rubber mount
Length [mm] 315
Paired article number 316 050 0052 | MCA1193
Required quantity 1
replacement in pairs recommended
References
BMW 2 450 844 BMW 31 12 2 450 844
BMW 31126 777 744 BMW 31 12 6 850 606
BMW 6 777 744 BMW 6 850 606

Application info
BMW 5 (FO7) (01/09-02/17) BMW 5 (F10, F11) (01/09-02/17)
BMW 6 (F12, F13) (12/10-10/18)

Control arm 316 050 0054 MCAO0476
Notes
Aluminium ...:min
Control Arm
Rear Axle Left

Upper

with accessories
with rubber mount

Length [mm] 306

Paired article number 316 050 0055 | MCA0477
Required quantity 1

Thread Size M14x1,5

replacement in pairs recommended

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

BMW 1 090 815 BMW 1 094 209

BMW 2 347 991 BMW 2 347 993

BMW 33306 772 241 BMW 33306 773 941
BMW 33321 090 815 BMW 33321094 209
BMW 33 32 2347 991 BMW 33 32 2347 993
BMW 33326 758 141 BMW 33326 759 157
BMW 33326 767 753 BMW 33326 767 759
BMW 33326 767 831 BMW 33326 767 967
BMW 33326 768 789 BMW 33326 769 971
BMW 33326770775 BMW 33326 770 839
BMW 33326 774 793 BMW 33326 774 841
BMW 33326 777 425 BMW 6 758 141

BMW 6 759 157 BMW 6 767 753

BMW 6 767 759 BMW 6 767 831

BMW 6 767 967 BMW 6 768 789

BMW 6 769 971 BMW 6 770 775

BMW 6 770 839 BMW 6 772 241

BMW 6 773 941 BMW 6 774 793

BMW 6 774 841 BMW 6 777 425

BMW (Brilliance) 2 347 991 BMW (Brilliance) 33 32 2 347 991

Application info

BMW 5 (E39) (09/95-06/04) BMW 5 (E60, E61) (12/01-12/10)
BMW 6 (E63, E64) (09/03-12/10) BMW 7 (E65, E66) (07/01-12/09)
Control arm 316 050 0055 MCAO0477
Notes
Aluminium ni;:E.L
Control Arm
Rear Axle Right

Upper

with accessories
with rubber mount

Length [mm] 306

Paired article number 316 050 0054 | MCA0476
Required quantity 1

Thread Size M14x1,5

replacement in pairs recommended

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

BMW 1090 816 BMW 1094 210

BMW 2 347 990 BMW 2 347 992

BMW 33306 772 242 BMW 33306 773 942
BMW 33 321 090 816 BMW 33321094 210
BMW 33 32 2 347 990 BMW 33 32 2 347 992
BMW 33 326 758 142 BMW 33326 759 158
BMW 33326 767 754 BMW 33326 767 760
BMW 33326 767 832 BMW 33326 767 968
BMW 33 326 768 790 BMW 33326 769 972
BMW 33326 770 776 BMW 33326 770 840
BMW 33326 774 794 BMW 33326 774 842
BMW 33326 777 426 BMW 6 758 142

BMW 6 759 158 BMW 6 767 754

BMW 6 767 760 BMW 6 767 832

BMW 6 767 968 BMW 6 768 790

BMW 6 769 972 BMW 6 770 776

BMW 6 770 840 BMW 6 772 242

BMW 6 773 942 BMW 6 774 794

BMW 6 774 842 BMW 6 777 426

BMW (Brilliance) 2 347 990 BMW (Brilliance) 33 32 2 347 990

Application info

BMW 5 (E39) (09/95-06/04) BMW 5 (E60, E61) (12/01-12/10)
BMW 6 (E63, E64) (09/03-12/10) BMW 7 (E65, E66) (07/01-12/09)
Control arm 316 050 0056 MCAO0478
Notes
Aluminium ni;:E.L
Control Arm
Front Axle Left %z

Y T

with rubber mount

Length [mm] 313

Paired article number 316 050 0057 | MCA0479
Required quantity 1

Thread Size M16x1,5

replacement in pairs recommended

References

BMW 31126 775 963 BMW 3112 6 798 107
BMW 31 12 6 850 781 BMW 6 775 963

BMW 6 798 107 BMW 6 850 781

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info
BMW 5 (FO7) (01/09-02/17)

Control arm

Notes

Length [mm]

Paired article number

Required quantity

Thread Size

replacement in pairs recommended

References

BMW 31 12 6 775 964
BMW 31 12 6 850 782
BMW 6 798 108

Application info
BMW 5 (FO7) (01/09-02/17)

Control arm

Notes

Length [mm]

Paired article number

Required quantity

Thread Size

replacement in pairs recommended

References

BMW 2 457 391

BMW 31122457 391
BMW 6 787 669

BMW 7 (FO1, FO2, FO3, FO4) (02/08-12/15)

316 050 0057 MCAO0479

e

Aluminium o
Control Arm
Front Axle Right

Rear

with rubber mount

313
316 050 0056 | MCA0478
1
M16x1,5

BMW 31126 798 108

BMW 6 775 964

BMW 6 850 782

BMW 7 (FO1, FO2, FO3, F04) (02/08-12/15)

316 050 0058 MCAO0790

Cast Steel ...i;E.L
Control Arm
Front Axle Left al
Rear 4

with rubber mount

295

316 050 0059 | MCAO0791
1

M14x1,5

BMW 31 10 6 787 669
BMW 3112 6 787 669

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info
BMW X3 (F25) (09/10-08/17)

BMW X4 (F26) (05/13-03/18)

Control arm 316 050 0059 MCAO0791
Notes
Cast Steel ».,:
Control Arm -
Front Axle Right %)
Rear

with rubber mount

Length [mm] 295

Paired article number 316 050 0058 | MCAQ790

Required quantity 1

Thread Size M14x1,5

replacement in pairs recommended

References

BMW 2 457 392 BMW 3110 6 787 670

BMW 31 12 2 457 392 BMW 31126 787 670

BMW 6 787 670

Application info

BMW X3 (F25) (09/10-08/17) BMW X4 (F26) (05/13-03/18)

Control arm 316 050 0060 MCAO0480

Notes
Cast Steel ...i;E.L
Control Arm =
Front

-

Front Axle Left m
with rubber mount =

Length [mm] 425

Paired article number 316 050 0061 | MCA0481

Required quantity 1

replacement in pairs recommended

References

BMW 31106 787 673 BMW 6 787 673

Application info

BMW X3 (F25) (09/10-08/17) BMW X4 (F26) (05/13-03/18)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Length [mm]

Paired article number

Required quantity

replacement in pairs recommended

References
BMW 31106 787 674

Application info
BMW X3 (F25) (09/10-08/17)

Control arm

Notes

Article number of recommended accessori
Length [mm]

Paired article number

Replace in pairs only

Required quantity

Thread Size

reinforced version

References
BMW 31124083 311
BMW 4 083 311

Application info
BMW 5 (FO7) (01/09-02/17)

316 050 0061 MCAO0481

weree
DRIGINAL
Guaud

Cast Steel
Control Arm

Front

Front Axle Right
with rubber mount

& o

425
316 050 0060 | MCA0480
1
BMW 6 787 674
BMW X4 (F26) (05/13-03/18)
316 050 0062/HD MCA1238HD
Aluminium HEI

Carbon Neutral
Control Arm

Front

Front Axle Left

with rubber mount

314 654 0022

402

316 050 0063/HD | MCA1239HD

1
M16x1,5

BMW 31126 775 959

BMW 6 775 959

BMW 7 (FO1, FO2, FO3, FO4) (02/08-12/15)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Article number of recommended accessori
Length [mm]

Paired article number

Replace in pairs only

Required quantity

Thread Size

reinforced version

References
BMW 31124083 312
BMW 4 083 312

Application info
BMW 5 (FO7) (01/09-02/17)

Control arm

Notes

Article number of recommended accessori
Length [mm]

Paired article number

Replace in pairs only

Required quantity

Thread Size

reinforced version

References

BMW 31 12 6 851 259

BMW 6 851 259

BMW (Brilliance) 31 12 6 855 741

316 050 0063/HD MCA1239HD

Aluminium
Carbon Neutral
Control Arm
Front

with rubber mount

314 654 0021

402

316 050 0062/HD | MCA1238HD

< ‘/4
Q-
Front Axle Right o

316 050 0066/HD MCA1151HD

1
M16x1,5

BMW 31 126 775 960

BMW 6 775 960

BMW 7 (FO1, FO2, FO3, F04) (02/08-12/15)
Aluminium

Carbon Neutral
Control Arm

Front Axle Left

with fastening material

)

with rubber mount

314 654 0003

390

316 050 0067/HD | MCA1152HD

i];.

1
M14x1,5

BMW 31126 855 741
BMW 6 855 741
BMW (Brilliance) 6 855 741

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

®

MEYLE AG - www.meyle.com



DRIVER’S BEST FRIEND MEY/LE

Application info

BMW 1 (F20, F21) (07/11--) BMW 2 (F22,F23) (10/12--)
BMW 3 (F30, F31) (11/11-06/19) BMW 3 (F34) (07/12--)
BMW 4 (F32, F33, F36) (07/13--)

Control arm 316 050 0067/HD MCA1152HD

Notes
Aluminium

Carbon Neutral
Control Arm @

Front Axle Right @ - — . ;w

with fastening material

with rubber mount ,;//
Article number of recommended accessori 314 654 0003
Length [mm] 390
Paired article number 316 050 0066/HD | MCA1151HD
Replace in pairs only
Required quantity 1
Thread Size M14x1,5

reinforced version

References

BMW 31 12 6 851 260 BMW 31 12 6 855 742
BMW 6 851 260 BMW 6 855 742

BMW (Brilliance) 31 12 6 855 742 BMW (Brilliance) 6 855 742

Application info

BMW 1 (F20, F21) (07/11--) BMW 2 (F22,F23) (10/12--)
BMW 3 (F30, F31) (11/11-06/19) BMW 3 (F34) (07/12--)
BMW 4 (F32, F33, F36) (07/13--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Article number of recommended accessori

Length [mm]

Paired article number
Replace in pairs only
Required quantity
Thread Size
reinforced version

References
BMW 3112 6 854 723
BMW (Brilliance) 31 12 6 854 723

Application info

BMW 1 (F20, F21) (07/11--)
BMW 3 (F30, F31) (11/11-06/19)
Control arm

Notes

Article number of recommended accessori

Length [mm]

Paired article number
Replace in pairs only
Required quantity
Thread Size
reinforced version

References
BMW 3112 6 854 724
BMW (Brilliance) 31 12 6 854 724

316 050 0068/HD MCA1211HD

Aluminium HD
Carbon Neutral

Control Arm \%fx'
Front Axle Left Vo S /\o
with rubber mount
314 654 0007 >

L]
385
316 050 0069/HD | MCA1212HD

\\“;

1
M14x1,5

BMW 6 854 723
BMW (Brilliance) 6 854 723

BMW 2 (F22,F23) (10/12--)
BMW 4 (F32, F33, F36) (07/13-)

316 050 0069/HD MCA1212HD

Aluminium

Carbon Neutral
Control Arm
Front Axle Right

with rubber mount

314 654 0007 /
L

385

316 050 0068/HD | MCA1211HD

1
M14x1,5

BMW 6 854 724
BMW (Brilliance) 6 854 724

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info
BMW 1 (F20, F21) (07/11--)
BMW 3 (F30, F31) (11/11-06/19)

Control arm

Notes
Control Arm
Rear
Rear Axle Left
Rear Axle Right
Sheet Steel
Upper

Required quantity 2

replacement in pairs recommended

References

BMW 33 326 786 981

Application info

BMW X3 (F25) (09/10-08/17)

Control arm

Notes
Centre
Control Arm
Lower
Rear Axle Left
Rear Axle Right
Sheet Steel

Required quantity 2

replacement in pairs recommended

References
BMW 33 326 795 812

Application info
BMW X3 (F25) (09/10-08/17)

BMW 2 (F22,F23) (10/12--)
BMW 4 (F32, F33, F36) (07/13-)

316 050 0070 MCA1308

WErLe
ORIGINAL
Gttt

BMW 6 786 981

BMW X4 (F26) (05/13-03/18)

316 050 0071 MCA1305

e
ORIGINAL
unry

BMW 6 795 812

BMW X4 (F26) (05/13-03/18)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0072 MCA1293
Notes
Control Arm ».,:
Front
Lower

Rear Axle Left
Rear Axle Right

Sheet Steel
Required quantity 2
replacement in pairs recommended
References
BMW 33326 786 978 BMW 6 786 978
Application info
BMW X3 (F25) (09/10-08/17) BMW X4 (F26) (05/13-03/18)
Control arm 316 050 0083 MCAO0826
Notes
Aluminium ».,:
Control Arm
Front Axle Left
Rear
with ball joint
with rubber mount
Paired article number 316 050 0084 | MCA0827
Required quantity 1

replacement in pairs recommended

References
BMW 31 12 6 852 991 BMW 6 852 991
BMW (Brilliance) 31 12 6 852 991 BMW (Brilliance) 6 852 991

Application info

BMW 1 (F20, F21) (07/11--) BMW 2 (F22,F23) (10/12--)
BMW 3 (F30, F31) (11/11-06/19) BMW 3 (F34) (07/12--)
BMW 4 (F32, F33, F36) (07/13--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0084 MCA0827
Notes
Aluminium ni;:zn
Control Arm -
Front Axle Right
Rear

with ball joint

with rubber mount
Paired article number 316 050 0083 | MCA0826
Required quantity 1
replacement in pairs recommended

References
BMW 31 12 6 852 992 BMW 6 852 992
BMW (Brilliance) 31 12 6 852 992 BMW (Brilliance) 6 852 992

Application info

BMW 1 (F20, F21) (07/11--) BMW 2 (F22,F23) (10/12--)
BMW 3 (F30, F31) (11/11-06/19) BMW 3 (F34) (07/12--)
BMW 4 (F32, F33, F36) (07/13--)

Control arm 316 050 0085/S MCA1113
Notes
Aluminium "'i;i"
Control Arm -
Rear Axle Left R—
Rear Axle Right @{_“s?\:?\\i\r;j
with fastening material /4,
Required quantity 2 «

replacement in pairs recommended

References
BMW 33 326 775 902 BMW 6 775 902

Application info
BMW 5 (F10, F11) (01/09-02/17) BMW 6 (F12, F13) (12/10-10/18)
BMW 7 (FO1, FO2, F03, F04) (02/08-12/15)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Paired article number
Required quantity
replacement in pairs recommended

References

Mini 2 444 414

Mini 31 12 9 804 432
Mini 9 804 432

Application info
Mini Countryman | (08/10-10/16)

Control arm

Notes

Paired article number
Required quantity
replacement in pairs recommended

References

Mini 2 444 415

Mini 3112 9 804 431
Mini 9 804 431

Application info
Mini Countryman | (08/10-10/16)

316 050 0092 MCA1182

weree
DRIGINAL
Guaud

Cast Steel

Control Arm

Front Axle Right

with ball joint

316 050 0093 | MCA1183

1

Mini 31 12 2 444 414

Mini 31 12 9 806 520

Mini 9 806 520

Mini Paceman (03/12-10/16)

316 050 0093 MCA1183

Cast Steel > ...:E;:E.L
Control Arm
Front Axle Left
with ball joint
316 050 0092 | MCA1182
1

(o}

Mini 3112 2 444 415
Mini 3112 9 806 519
Mini 9 806 519

Mini Paceman (03/12-10/16)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0094 MCA1146
Notes
Aluminium ni;:zn
Control Arm -
Front A ~
Lower @ '

Rear Axle Left 5%
Rear Axle Right
with rubber mount

Required quantity 2

replacement in pairs recommended

References
BMW 33326 775 683 BMW 6 775 683
BMW (Brilliance) 33 32 6 775 683 BMW (Brilliance) 6 775 683

Application info

BMW 5 (F07) (01/09-02/17) BMW 5 (F10, F11) (01/09-02/17)

BMW 6 (F12, F13) (12/10-10/18) BMW 7 (FO1, F02, FO3, FO4) (02/08-12/15)

Control arm 316 050 0095/HD MCA1004HD
Notes

Aluminium

Carbon Neutral

Control Arm [ ¥ @\
Front Axle Left A\ . _— \5, y)
with rubber mount — =

Article number of recommended accessori 314 654 0019

Paired article number 316 050 0096/HD | MCA1005HD

Replace in pairs only

Required quantity 1

reinforced version

References

BMW 31 106 770 685 BMW 6 770 685

Application info

BMW 5 (E60, E61) (12/01-12/10) Toyota Avensis (T27) (11/08-10/18)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Article number of recommended accessori

Paired article number
Replace in pairs only
Required quantity
reinforced version

References
BMW 31106 770 686

Application info

BMW 5 (E60, E61) (12/01-12/10)

Control arm

Notes

Paired article number
Replace in pairs only
Required quantity
reinforced version

References

BMW 2 348 049

BMW 31 12 4 046 439
BMW 31126 774 829
BMW 6 765 997

Application info

BMW 6 (E63, E64) (09/03-12/10)

316 050 0096/HD MCA1005HD

e’

Aluminium HD

Guaucd

Carbon Neutral

Control Arm p ; 3
Front Axle Right (Q) —— ’

with rubber mount ——

314 654 0019
316 050 0095/HD | MCA1004HD

BMW 6 770 686

316 050 0097/HD MCA1157HD

Aluminium

Carbon Neutral

&
Control Arm @ — -
e -
Front Axle Left '{/
Lower 9

with fastening material
with rubber mount
316 050 0098/HD | MCA1158HD

BMW 31 10 2 348 049
BMW 3112 6 765 997
BMW 4 046 439
BMW 6 774 829

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Paired article number
Replace in pairs only
Required quantity
reinforced version

References

BMW 2 348 048

BMW 31 12 4 046 440
BMW 31126 774 830
BMW 6 765 998

Application info
BMW 6 (E63, E64) (09/03-12/10)

Control arm

Notes

Required quantity
replacement in pairs recommended

References

BMW 2 450 891

BMW 33 32 4 069 469
BMW 4 069 469

Application info
BMW 5 (FO7) (01/09-02/17)

316 050 0098/HD MCA1158HD

Aluminium HD
Carbon Neutral

Control Arm = — @
Front o p— \\m/’;‘
Front Axle Right P

Lower

with fastening material

with rubber mount

316 050 0097/HD | MCA1157HD

1

BMW 31 10 2 348 048

BMW 31126 765 998

BMW 4 046 440

BMW 6 774 830

316 050 0099 MCA1031
Aluminium ni;:E.L
Control Arm
Rear Axle Left . _
- ~— S —

Rear Axle Right @\ \/5§}>/ /©
with rubber mount
2

BMW 33 32 2 450 891
BMW 33326 779 851
BMW 6 779 851

BMW 5 (F10, F11) (01/09-02/17)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Paired article number
Required quantity
replacement in pairs recommended

References
BMW 3112 6 864 821

Application info
BMW X5 (F15) (08/13-07/18)

Control arm

Notes

Paired article number
Required quantity
replacement in pairs recommended

References
BMW 31 12 6 864 822

Application info
BMW X5 (F15) (08/13-07/18)

316 050 0113 MCA1309

e’

Control Arm o
Front Axle Left .
Lower

Rear

Steel

316 050 0114 | MCA1310
1

BMW 6 864 821

BMW X6 (F16) (08/14-07/19)

316 050 0114 MCA1310

e

Control Arm o
Front Axle Right -
Lower

Rear

Steel

316 050 0113 | MCA1309
1

BMW 6 864 822

BMW X6 (F16) (08/14-07/19)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

316 050 0115/HD MCA1370HD

Carbon Neutral HD
Control Arm

Front Axle Left
Steel

with rubber mount

Article number of recommended accessori 314 654 0020

Paired article number
Replace in pairs only
Required quantity
reinforced version

References
BMW 3112 6 851 691
BMW 6 851 691

Application info
BMW X5 (E70) (02/06-07/13)
BMW X6 (E71) (06/07-07/14)

Control arm

Notes

316 050 0116/HD | MCA1371HD

BMW 3112 6 863 169
BMW 6 863 169

BMW X5 (F15) (08/13-07/18)
BMW X6 (F16) (08/14-07/19)

316 050 0116/HD MCA1371HD

Carbon Neutral

Control Arm

Front Axle Right
Steel

with rubber mount

Article number of recommended accessori 314 654 0020

Paired article number
Replace in pairs only
Required quantity
reinforced version

References
BMW 31 12 6 851 692
BMW 6 851 692

Application info
BMW X5 (E70) (02/06-07/13)
BMW X6 (E71) (06/07-07/14)

316 050 0115/HD | MCA1370HD

BMW 31126 863 170
BMW 6 863 170

BMW X5 (F15) (08/13-07/18)
BMW X6 (F16) (08/14-07/19)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0119/HD MCA1240HD
Notes

Aluminium tllil

Carbon Neutral T

Control Arm A -~ 2>

Front ]" e \@

Front Axle Left q S

E
Lower
with ball joint

with rubber mount
Article number of recommended accessori 314 654 0023
Paired article number 316 050 0120/HD | MCA1241HD
Replace in pairs only
Required quantity 1
reinforced version

References
BMW 31126 798 253 BMW 6 798 253

Application info

BMW 3 (F34) (07/12--) BMW 4 (F32, F33, F36) (07/13--)
Control arm 316 050 0120/HD MCA1241HD
Notes

Aluminium

Carbon Neutral

//‘"\\
Control Arm < -
Front @/, N~
Front Axle Right Nt Tg
=
Lower
with ball joint

with rubber mount
Article number of recommended accessori 314 654 0023
Paired article number 316 050 0119/HD | MCA1240HD
Replace in pairs only
Required quantity 1
reinforced version

References
BMW 3112 6 798 254 BMW 6 798 254

Application info
BMW 3 (F34) (07/12--) BMW 4 (F32, F33, F36) (07/13--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0123/S MCA1110
Notes
Aluminium "i;E"
Control Arm -
Rear —
Rear Axle Left ﬂa.:_i@\:: N gg
Upper —
with fastening material M
with rubber mount
Paired article number 316 050 0124/S | MCA1111
Required quantity 1
replacement in pairs recommended
References
BMW 33326 779 847 BMW 6 779 847
Application info
BMW 5 (F0O7) (01/09-02/17) BMW 5 (F10, F11) (01/09-02/17)
Control arm 316 050 0124/S MCA1111
Notes
Aluminium "'i;i“
Control Arm -
Rear
Rear Axle Right
Upper
with fastening material M
with rubber mount
Paired article number 316 050 0123/S | MCA1110
Required quantity 1
replacement in pairs recommended
References
BMW 33326 779 848 BMW 6 779 848
Application info
BMW 5 (FO7) (01/09-02/17) BMW 5 (F10, F11) (01/09-02/17)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes
Rear Axle Left
Rear Axle Right
Sheet Steel
Trailing Arm
Upper

Required quantity 2

replacement in pairs recommended

References

BMW 33 32 6 851 563

BMW 33 32 6 884 693

BMW 6 870 773

BMW (Brilliance) 3332 6 870 773
Mini 33 32 6 851 563

Mini 33 32 6 884 693

Mini 6 870 773

Application info

BMW 1 (F40), 2 Gran Coupe (F44) (07/19--)
BMW X1 (F48) (11/14--)

Mini Countryman Il (10/16--)

Control arm
Notes
Lower
Rear Axle Left
Rear Axle Right
Sheet Steel
Trailing Arm
Required quantity 2

replacement in pairs recommended

References

BMW 33 32 6 851 569

BMW (Brilliance) 33 32 6 851 569
Mini 33 32 6 851 569

316 050 0129 MCA1228

weree
DRIGINAL
Guaud

BMW 33326870773
BMW 6 851 563

BMW 6 884 693

BMW (Brilliance) 6 870 773
Mini 33326 870 773

Mini 6 851 563

Mini 6 884 693

BMW 2 (F45, F46) (11/13--)
BMW X2 (F39) (11/17--)
Mini Mini Il (09/13--)

316 050 0130 MCA1302

e
ORIGINAL
Gttt

BMW 6 851 569
BMW (Brilliance) 6 851 569
Mini 6 851 569

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info

BMW 1 (F40), 2 Gran Coupe (F44) (07/19--)

BMW X1 (F48) (11/14--)
Mini Countryman Il (10/16--)

Control arm

Notes

Paired article number
Replace in pairs only
Required quantity
reinforced version

References

BMW 2 450 835

BMW 31 12 4 083 309
BMW 4 083 309

Application info
BMW 5 (F10, F11) (01/09-02/17)

Control arm

Notes

Paired article number
Paired article number
Replace in pairs only
Required quantity
reinforced version

BMW 2 (F45, F46) (11/13--)
BMW X2 (F39) (11/17--)
Mini Mini Il (09/13--)

316 050 0131/HD MCA1161HD

Aluminium

Carbon Neutral
o
Control Arm Il s

@

Front 1_5.;\\
Front Axle Left

Lower \¥///

with ball joint

r

with rubber mount
316 050 0132/HD | MCA1162HD

BMW 31 12 2 450 835
BMW 31126 777 733
BMW 6 777 733

BMW 6 (F12, F13) (12/10-10/18)

316 050 0132/HD MCA1162HD

Aluminium

Carbon Neutral

Control Arm »; T
Front = ' /é 618

Front Axle Right
Lower

with ball joint

with rubber mount

316 050 0131 | MCA1161

316 050 0131/HD | MCA1161HD

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References

BMW 2 450 839

BMW 31 12 4 083 310
BMW 4 083 310

Application info
BMW 5 (F10, F11) (01/09-02/17)

BMW 31 12 2 450 839
BMW 31126777 734
BMW 6 777 734

BMW 6 (F12, F13) (12/10-10/18)

Control arm 316 050 0138 MCA1561
Notes
Centre ».,:
Control Arm =
Rear Axle Right
Sheet Steel M
Upper
Paired article number 316 050 0139 | MCA1562
Required quantity 1

replacement in pairs recommended

References
BMW 33 306 878 018 BMW 6 878 018

Application info
BMW X5 (G05) (08/18--)
BMW X7 (GO7) (03/19--)

BMW X6 (G06) (08/19--)

Control arm 316 050 0139 MCA1562

Notes

Centre CRIGINAL

Guaucd

Control Arm
Rear Axle Left

Sheet Steel M
Upper

Paired article number 136 050 0138
Paired article number 316 050 0138 | MCA1561
Required quantity 1

replacement in pairs recommended

References
BMW 33306 878 017 BMW 6 878 017

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info
BMW X5 (G05) (08/18--)
BMW X7 (GO7) (03/19--)

Control arm

Notes

Paired article number
Required quantity
replacement in pairs recommended

References
BMW 33 32 6 861 126

Application info

BMW 5 (G30, G31) (09/16--)

BMW 7 (G11, G12) (07/15--)

BMW 8 Gran Coupe (G16) (07/19--)

Control arm

Notes

Paired article number
Required quantity
replacement in pairs recommended

References
BMW 33 326 861 125

Application info

BMW 5 (G30, G31) (09/16--)

BMW 7 (G11, G12) (07/15--)

BMW 8 Gran Coupe (G16) (07/19--)

Centre

Control Arm

Rear

Rear Axle Right

Sheet Steel

with rubber mount

316 050 0149 | MSR0156
1

Centre

Control Arm

Rear

Rear Axle Left

Sheet Steel

with rubber mount

316 050 0148 | MSR0155
1

BMW X6 (G0O6) (08/19--)

316 050 0148 MSRO0155

WErLe
ORIGINAL
Gttt

BMW 6 861 126

BMW 6 (G32) (06/17--)
BMW 8 (G15) (07/18--)

316 050 0149 MSRO0156

e
DRIGINAL
Cuad

BMW 6 861 125

BMW 6 (G32) (06/17--)
BMW 8 (G15) (07/18-)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Length [mm]

Required quantity

Width [mm]

replacement in pairs recommended

References
BMW 31 10 6 868 530

Application info
BMW 6 (G32) (06/17--)

Control arm

Notes

Aluminium
Control Arm
Front Axle Left
Front Axle Right
Upper

265.9

2

237

Aluminium
Carbon Neutral
Front Axle Left
Left

Lower

Trailing Arm

Article number of recommended accessori 314 654 0027

Paired article number
Replace in pairs only
Required quantity

References
BMW 31106 861 151

Application info
BMW 6 (G32) (06/17--)

BMW 6 868 530

316 050 0150 MCA1520

weree
DRIGINAL
Guaud

BMW 7 (G11, G12) (07/15--)

BMW 6 861 151

316 050 0151/HD MCA1392HD

¥ LS

B j

BMW 7 (G11, G12) (07/15--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0152/HD MCA1393HD

Notes
Aluminium HD
Carbon Neutral

Front @ L

Front Axle Right Y
Lower ‘\\ L s
e

Trailing Arm
Article number of recommended accessori 314 654 0028
Paired article number
Replace in pairs only
Required quantity 1

References
BMW 31 10 6 861 152 BMW 6 861 152

Application info

BMW 6 (G32) (06/17--) BMW 7 (G11, G12) (07/15--)
Control arm 316 050 0153 MCA1379
Notes
Aluminium "'i;i“
Front Axle Left
Lower
pran )
Rear 6\0) T e ,\@/
Trailing Arm \5 o o
Paired article number 316 050 0154 | MCA1380 =~
Required quantity 1

replacement in pairs recommended

References
BMW 31 106 861 169 BMW 6 861 169

Application info
BMW 6 (G32) (06/17--) BMW 7 (G11, G12) (07/15--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm

Notes

Paired article number
Required quantity
replacement in pairs recommended

References
BMW 31106861170

Application info
BMW 6 (G32) (06/17--)

Control arm

Notes

Paired article number
Required quantity
replacement in pairs recommended

References
BMW 2 781 469
BMW 33 326861119

Application info
BMW 5 (G30, G31) (09/16--)

316 050 0154 MCA1380

e’

Aluminium cRIBmAL
Puayied

Front Axle Right

Lower

Rear @L s~ \ Q /@
Trailing Arm ‘ i o Q/
S

316 050 0153 | MCA1379
1

BMW 6 861 170

BMW 7 (G11, G12) (07/15--)

316 050 0155 MCA1349

e

Aluminium
Gttt
Centre
Rear Axle Left _
B
Trailing Arm my e a4

Upper @ — - "@/ )

316 050 0156 | MCA1350
1

BMW 33 322 781 469
BMW 6 861 119

BMW 6 (G32) (06/17--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0156 MCA1350
Notes
Aluminium "i;E"
Centre
Rear Axle Right o
Trailing Arm ‘\M/{@w\x -\
Upper 8- ' \@
Paired article number 316 050 0155 | MCA1349
Required quantity 1

replacement in pairs recommended

References
BMW 2 781 470 BMW 33 32 2 781 470
BMW 33 32 6 861 120 BMW 6 861 120

Application info

BMW 5 (G30, G31) (09/16--) BMW 6 (G32) (06/17--)
Control arm 316 050 0157/HD MCA1469HD
Notes

Aluminium

Carbon Neutral

Control Arm
P N
Front Axle Left -
Lower
Article number of recommended accessori 314 654 0026

Paired article number 316 050 0158/HD | MCA1470HD
Replace in pairs only

Required quantity 1

References

BMW 31106 870977 BMW 31 10 6 890 903
BMW 31 10 6 890 905 BMW 31 10 8 854 989
BMW 31 10 8 854 993 BMW 6 870 977

BMW 6 890 903 BMW 6 890 905

BMW 8 854 989

Application info
BMW X3 (GO01) (07/17--) BMW X4 (G02) (04/18--)
BMW X3 (09/20--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Article number of recommended accessori
Paired article number

Replace in pairs only

Required quantity

References

BMW 31 106 870978
BMW 31 10 6 890 906
BMW 31 10 8 854 994
BMW 6 890 904

Application info
BMW X3 (G01) (07/17--)
BMW iX3 (09/20--)

Control arm

Notes

Article number of recommended accessori
Paired article number

Replace in pairs only

reinforced version

References
BMW 31106 870971
BMW 6 870 971

316 050 0158/HD MCA1470HD

Aluminium
Carbon Neutral
Control Arm
Front

Front Axle Right
Lower

with rubber mount
314 654 0026
316 050 0157/HD | MCA1469HD

1

BMW 31 10 6 890 904

BMW 31 10 8 854 990

BMW 6 870 978

BMW 6 890 906

BMW X4 (G02) (04/18--)

316 050 0159/HD MCA1644HD

Aluminium
Control Arm
Front Axle Left & _
Lower H
Rear .

with rubber mount
314 654 0029
316 050 0160/HD | MCA1645HD

BMW 3110 6 871 467
BMW 6 871 467

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Application info

BMW X3 (GO1) (07/17--) BMW X4 (G02) (04/18--)
BMW iX3 (09/20--)

Control arm 316 050 0160/HD MCA1645HD
Notes
Aluminium
Control Arm
Front Axle Right o

g~ [
Lower H
Rear .
with rubber mount

Article number of recommended accessori 314 654 0029

Paired article number 316 050 0159/HD | MCA1644HD
Replace in pairs only

References
BMW 31106 870972 BMW 31106 871 468
BMW 6 870 972 BMW 6 871 468

Application info
BMW X3 (G01) (07/17--) BMW X4 (G02) (04/18--)
BMW iX3 (09/20--)

Control arm 316 050 0163 MCA1381

Notes

v’
Aluminium CRIBINAL

Cuad

Control Arm
Front Axle Left

Lower N T O

Rear e
outer

Paired article number 316 050 0164 | MCA1382

Required quantity 1

replacement in pairs recommended

References

BMW 31106861173 BMW 6 861 173

Application info
BMW 5 (G30, G31) (09/16--) BMW 6 (G32) (06/17--)
BMW 7 (G11, G12) (07/15--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Paired article number
Required quantity
replacement in pairs recommended

References
BMW 31106 861174

Application info
BMW 5 (G30, G31) (09/16--)
BMW 7 (G11, G12) (07/15--)

Control arm

Notes

Paired article number
Replace in pairs only
Required quantity

References
BMW 31 10 6 861 157

Application info
BMW 5 (G30, G31) (09/16--)
BMW 7 (G11, G12) (07/15--)

316 050 0164 MCA1382

e’

Aluminium o
Control Arm -
Front Axle Right p
o Y
outer

316 050 0163 | MCA1381

1

BMW 6 861 174

BMW 6 (G32) (06/17-)

316 050 0165/HD MCA1383HD

Aluminium

Carbon Neutral

Control Arm , \6’9
Front 2 -
Front Axle Left C\_; — ’

Lower ——

outer

316 050 0166/HD | MCA1384HD

BMW 6 861 157

BMW 6 (G32) (06/17--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Paired article number
Replace in pairs only
Required quantity
reinforced version

References
BMW 31 10 6 861 158

Application info
BMW 5 (G30, G31) (09/16--)
BMW 7 (G11, G12) (07/15--)

Control arm

Notes

Paired article number
Required quantity

replacement in pairs recommended

References
BMW 31 106 861 181

Application info
BMW 5 (G30, G31) (09/16--)

316 050 0166/HD MCA1384HD

Aluminium HD
Carbon Neutral

Control Arm @
Front N
Front Axle Right ?
Lower s

4D

outer
316 050 0165/HD | MCA1383HD

1
BMW 6 861 158
BMW 6 (G32) (06/17--)
316 050 0167 MCA1385
Aluminium ...:min
Control Arm

Front Axle Left

Lower ) @)

Rear : e S
316 050 0168 | MCA1386
1

BMW 6 861 181

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0168 MCA1386

Notes

Aluminium ORIGINAL

Guaucd

Control Arm
Front Axle Right

Lower @/\L;“%S é/,{v

=

Rear N mm—
Paired article number 316 050 0167 | MCA1385
Required quantity 1

replacement in pairs recommended

References
BMW 31 106 861 182 BMW 6 861 182

Application info
BMW 5 (G30, G31) (09/16--)

Control arm 316 050 0169 MCA1372
Notes
Aluminium ».,:
Control Arm
Front S . ;
| \‘A/
Front Axle Left Y - e
Lower ’\‘f\ — S 4
outer —
Paired article number 316 050 0170 | MCA1373
Required quantity 1
replacement in pairs recommended
References
BMW 31 10 6 861 165 BMW 6 861 165

Application info
BMW 5 (G30, G31) (09/16--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0170 MCA1373
Notes
Aluminium "i;E"
Control Arm -
Front i&
Front Axle Right — a5 N
Lower o P—
outer \\‘——’//
Paired article number 316 050 0169 | MCA1372
Required quantity 1

replacement in pairs recommended

References
BMW 31 10 6 861 166 BMW 6 861 166

Application info
BMW 5 (G30, G31) (09/16--)

Control arm 316 050 0172/HD MCA1471HD

Notes
Aluminium HD
Carbon Neutral
Control Arm ) —

Front - @v et gf;
Front Axle Right )
Lower
with rubber mount
Paired article number
Replace in pairs only
Required quantity 1
reinforced version

References

BMW 31 10 6 879 544 BMW 31 10 6 879 850
BMW 31 10 6 894 662 BMW 31 10 6 894 676
BMW 6 879 544 BMW 6 879 850

BMW 6 894 662 BMW 6 894 676

Application info
BMW 3 (G20, G21) (11/18--) BMW 4 (G22, G23, G26) (07/20--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes
Aluminium
Carbon Neutral
Control Arm
Front
Front Axle Left
Lower
with rubber mount
Paired article number
Replace in pairs only

Required quantity 1

reinforced version

References

BMW 31 106 879 543

BMW 31 10 6 894 675

BMW 6 894 661

Application info

BMW 3 (G20, G21) (11/18--)

Control arm

Notes
Aluminium
Control Arm
Front Axle Right
Lower
Rear

Paired article number 316 050 0177 | MCA1468

Required quantity 1

replacement in pairs recommended

References
BMW 31 106 878 082

Application info
BMW X5 (G05) (08/18--)
BMW X7 (G07) (03/19--)

316 050 0173/HD MCA1472HD

316 050 0172/HD | MCA1471HD

HO
<& i
BMW 31 10 6 894 661
BMW 6 879 543
BMW 6 894 675
BMW 4 (G22, G23, G26) (07/20--)
316 050 0176 MCA1467

WErLe
ORIGINAL
Cuad

BMW 6 878 082

BMW X6 (GO6) (08/19--)

BMW iX (120) (07/21--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0177 MCA1468
Notes
Aluminium ni;:zn
Control Arm
Front Axle Left
®
Lower
Rear
Paired article number 316 050 0176 | MCA1467
Required quantity 1
replacement in pairs recommended
References
BMW 31 106 878 081 BMW 6 878 081
Application info
BMW X5 (G05) (08/18--) BMW X6 (G06) (08/19--)
BMW X7 (GO7) (03/19--) BMW iX (120) (07/21--)
Control arm 316 050 0178/HD MCA1508HD
Notes
Aluminium
Carbon Neutral
Control Arm
Front
Front Axle Right
Lower €
Paired article number 316 050 0179/HD | MCA1509HD
Replace in pairs only
Required quantity 1
reinforced version
References
BMW 31106 878 074 BMW 31 10 6 893 550
BMW 6 878 074 BMW 6 893 550
Application info
BMW X5 (G05) (08/18--) BMW X6 (G06) (08/19--)
BMW X7 (G07) (03/19--) BMW iX (120) (07/21--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Paired article number
Replace in pairs only
Required quantity
reinforced version

References
BMW 31106 878 073
BMW 6 878 073

Application info
BMW X5 (G05) (08/18--)
BMW X7 (GO7) (03/19--)

Control arm

Notes

Required quantity
replacement in pairs recommended

References
BMW 31 10 6 885 802

Application info
BMW 5 (G30, G31) (09/16--)
BMW 8 Gran Coupe (G16) (07/19--)

316 050 0179/HD MCA1509HD

Aluminium HD
Carbon Neutral

Control Arm

Front

Front Axle Left

Lower

316 050 0178/HD | MCA1508HD

1

BMW 31 10 6 893 549

BMW 6 893 549

BMW X6 (G06) (08/19--)

BMW iX (120) (07/21--)

316 050 0182 MCA1646

Aluminium ...:min
Control Arm

Front Axle Left
Front Axle Right
Upper

2

BMW 6 885 802

BMW 8 (G15) (07/18--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Bore Diameter [mm]

Length [mm]

Paired article number

Required quantity

Thread Size

replacement in pairs recommended

References
BMW 31 10 6 888 765

Application info
BMW 5 (G30, G31) (09/16--)

Control arm

Notes

Bore Diameter [mm]

Length [mm]

Paired article number

Required quantity

Thread Size

replacement in pairs recommended

References
BMW 31 10 6 888 766

Application info
BMW 5 (G30, G31) (09/16--)

Aluminium

Control Arm

Front

Front Axle Left

Lower

14.2

397

316 050 0184 | MCA1445
1

M16x1,5

Aluminium

Control Arm

Front

Front Axle Right

Lower

14.2

397

316 050 0183 | MCA1444
1

M16x1,5

316 050 0183 MCA1444

BMW 6 888 765

BMW 6 (G32) (06/17--)

weree
DRIGINAL
Guaud

316 050 0184 MCA1445

BMW 6 888 766

BMW 6 (G32) (06/17--)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

e
ORIGINAL
Gttt

MEYLE AG - www.meyle.com



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Paired article number
Required quantity
replacement in pairs recommended

References
BMW 33 306 871 015

Application info
BMW X3 (G01) (07/17--)

Control arm

Notes

Paired article number
Required quantity
replacement in pairs recommended

References
BMW 33 306 871016

Application info
BMW X3 (G01) (07/17--)

316 050 0185 MCA1631

e’

Control Arm o
Rear .
Rear Axle Left

Sheet Steel

Upper

316 050 0186 | MCA1632
1

M

BMW 6 871 015

BMW X4 (G02) (04/18--)

316 050 0186 MCA1632

e

Control Arm o
Rear -
Rear Axle Right

Sheet Steel

Upper

316 050 0185 | MCA1631
1

D pme—mmmiaes )

BMW 6 871 016

BMW X4 (G02) (04/18--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Paired article number
Required quantity
replacement in pairs recommended

References
BMW 33 30 6 871 005

Application info
BMW X3 (G01) (07/17--)

Control arm

Notes

Paired article number
Required quantity
replacement in pairs recommended

References
BMW 33 30 6 871 006

Application info
BMW X3 (G01) (07/17--)

316 050 0187 MCA1563

e’

Control Arm o
Front .
Rear Axle Left

Sheet Steel M
Upper

316 050 0188 | MCA1564

1

BMW 6 871 005

BMW X4 (G02) (04/18--)

316 050 0188 MCA1564

e

Control Arm

Gttt

Front
Rear Axle Right

Sheet Steel M
Upper

316 050 0187 | MCA1563
1

BMW 6 871 006

BMW X4 (G02) (04/18--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0190 MCA1440
Notes
Aluminium "i;E"
Control Arm -
Rear
Rear Axle Right = Y N, e
Upper 8 @
with rubber mount
Length [mm] 296
Paired article number 316 050 0191 | MCA1441
Required quantity 1

replacement in pairs recommended

References
BMW 33 306 871012 BMW 6871 012

Application info

BMW X3 (G01) (07/17--) BMW X4 (G02) (04/18--)
Control arm 316 050 0191 MCA1441
Notes
Aluminium ni;EM
Centre -
Control Arm
Rear = o
Rear Axle Left ,‘:\" ) 6
Upper
with rubber mount
Length [mm] 296
Paired article number 316 050 0190 | MCA1440
Required quantity 1

replacement in pairs recommended

References
BMW 33 306871011 BMW 6871 011

Application info
BMW X3 (G01) (07/17--) BMW X4 (G02) (04/18--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Paired article number
Required quantity
replacement in pairs recommended

References
BMW 33 32 6 878 632

Application info

BMW 2 (G42) (08/21--)

BMW 4 (G22, G23, G26) (07/20--)
BMW 4 (G26) (11/21--)

Control arm

Notes

Paired article number
Required quantity
replacement in pairs recommended

References
BMW 33 326 878 631
Toyota 48770-WAAO1

Application info

BMW 2 (G42) (08/21--)

BMW 4 (G22, G23, G26) (07/20--)
BMW 4 (G26) (11/21--)

Front

Rear Axle Right
Semi-Trailing Arm

Sheet Steel

Upper

316 050 0195 | MCA1634
1

Control Arm

Front

Rear Axle Left

Sheet Steel

Upper

316 050 0194 | MCA1633
1

316 050 0194 MCA1633

weree
DRIGINAL
Guaud

BMW 6 878 632

BMW 3 (G20, G21) (11/18--)
BMW Z4 Roadster (G29) (11/18--)

316 050 0195 MCA1634

i
ORIGINAL
Punet

BMW 6 878 631

BMW 3 (G20, G21) (11/18--)
BMW Z4 Roadster (G29) (11/18--)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

MEYLE AG - www.meyle.com



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0196 MCA1455
Notes
Aluminium "i;E"
Control Arm -
Rear
Rear Axle Right e —
Upper £ ==
outer
Paired article number 316 050 0197 | MCA1456
Required quantity 1

replacement in pairs recommended

References
BMW 33 306 878 022 BMW 6 878 022

Application info
BMW X5 (G05) (08/18--) BMW X6 (GO6) (08/19--)
BMW X7 (GO7) (03/19--)

Control arm 316 050 0197 MCA1456
Notes
Aluminium "'i;E“
Control Arm -
Rear
Rear Axle Left P -
Upper = f”e‘
outer
Paired article number 316 050 0196 | MCA1455
Required quantity 1

replacement in pairs recommended

References
BMW 33 306 878 021 BMW 6 878 021

Application info
BMW X5 (G05) (08/18--) BMW X6 (G06) (08/19--)
BMW X7 (GO7) (03/19--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0198 MCA1619
Notes
Centre ».,:
Control Arm -
Rear
Rear Axle Right M
Sheet Steel
Paired article number 316 050 0199 | MCA1620
Required quantity 1

replacement in pairs recommended

References
BMW 33 30 6 878 030 BMW 6 878 030

Application info
BMW X5 (G05) (08/18--) BMW X6 (G06) (08/19--)
BMW X7 (GO7) (03/19--)

Control arm 316 050 0199 MCA1620
Notes
Centre "'i;i"
Control Arm -
Rear
Rear Axle Left M
Sheet Steel
Paired article number 316 050 0198 | MCA1619
Required quantity 1

replacement in pairs recommended

References
BMW 33 306 878 029 BMW 6 878 029

Application info
BMW X5 (G05) (08/18--) BMW X6 (G06) (08/19--)
BMW X7 (G0O7) (03/19--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes
Aluminium
Control Arm
Front Axle Right
Lower
Rear

Paired article number

Required quantity 1

replacement in pairs recommended

References

BMW 31 12 6 854 728

BMW (Brilliance) 31 12 6 854 728

Application info

BMW 1 (F20, F21) (07/11--)

BMW 3 (F30, F31) (11/11-06/19)

BMW 4 (F32, F33, F36) (07/13--)

Control arm

Notes
Aluminium
Control Arm
Front Axle Left
Lower
Rear

Paired article number 316 050 0200 | MCA1459

Required quantity 1

replacement in pairs recommended

References
BMW 3112 6 854 727
BMW (Brilliance) 31 12 6 854 727

Application info

BMW 1 (F20, F21) (07/11--)
BMW 3 (F30, F31) (11/11-06/19)
BMW 4 (F32, F33, F36) (07/13--)

316 050 0201 | MCA1460

316 050 0200 MCA1459

weree
DRIGINAL
Guaud

2

-

® Y
BMW 6 854 728
BMW (Brilliance) 6 854 728
BMW 2 (F22,F23) (10/12--)
BMW 3 (F34) (07/12--)
316 050 0201 MCA1460

e
ORIGINAL
unry

O
~
\

)

Cr—

S

BMW 6 854 727
BMW (Brilliance) 6 854 727

BMW 2 (F22,F23) (10/12--)
BMW 3 (F34) (07/12--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes
Control Arm
Rear Axle Left
Rear Axle Right
Sheet Steel

Bore Diameter [mm] 121

Length [mm] 3294

Required quantity 2

replacement in pairs recommended

References

BMW 33 30 6 878 639

Toyota 48711-WAAO1

Application info

BMW 2 (G42) (08/21--)

BMW 4 (G22, G23, G26) (07/20--)

Toyota SupraV (_A9_) (03/19--)

Control arm

Notes
Control Arm
Rear Axle Left
Rear Axle Right
Sheet Steel

Required quantity 2

replacement in pairs recommended

References
BMW 33 306 878 037

Application info
BMW X5 (G05) (08/18--)
BMW X7 (G07) (03/19--)

316 050 0202 MCA1595

weree
DRIGINAL
Guaud

T —

BMW 6 878 639

BMW 3 (G20, G21) (11/18--)
BMW Z4 Roadster (G29) (11/18--)

316 050 0203 MCA1536

e
ORIGINAL
unry

S

BMW 6 878 037

BMW X6 (GO6) (08/19--)
BMW XM (G09) (12/22--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0204 MCA1565

Notes
Control Arm o
Puayied
Rear Axle Left

Rear Axle Right

Sheet Steel
Upper

Required quantity 2

replacement in pairs recommended

References

BMW 33 32 6 881 199 BMW 6 881 199

Toyota 48790 WAAO1

Application info

BMW 2 (G42) (08/21--) BMW 3 (G20, G21) (11/18--)

BMW 4 (G22, G23, G26) (07/20--) BMW Z4 Roadster (G29) (11/18--)

Toyota SupraV (_A9_) (03/19--)

Control arm 316 050 0261 MCA1652

Notes
Aluminium mi;En
Control Arm % -
Front Axle Left ¢ — — °
Lower & k =~
Rear 0 ) /

Paired article number 316 050 0262 | MCA1653 ¥ &

Required quantity 1

replacement in pairs recommended

References

BMW 2 283 577 BMW 31102 283 577

Application info

BMW 1 (E81, E82, E87, E88) (02/03-12/13) BMW 3 (E90, E91, E92, E93) (02/04-12/13)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0262 MCA1653
Notes
Aluminium ni;:zn
Control Arm - .
Front Axle Right “ » — ra— y
Lower & y :
Rear / 4
Paired article number 316 050 0261 | MCA1652 ﬁ e
Required quantity 1

replacement in pairs recommended

References
BMW 2 283578 BMW 31102 283578

Application info

BMW 1 (E81, E82, E87, E88) (02/03-12/13) BMW 3 (E90, E91, E92, E93) (02/04-12/13)
Control arm 316 050 0263 MCA1656
Notes
Aluminium ».,:
Control Arm

Front A S
Front Axle Left \
Lower / ,

Paired article number 316 050 0264 | MCA1657 ¥ ¢
Required quantity 1
replacement in pairs recommended

References
BMW 2 283575 BMW 31102 283575

Application info
BMW 1 (E81, E82, E87, E88) (02/03-12/13) BMW 3 (E90, E91, E92, E93) (02/04-12/13)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0264 MCA1657

Notes

Aluminium ORIGINAL

Guaucd

Control Arm

Front O ———
Front Axle Right /
Lower /

Paired article number 316 050 0263 | MCA1656 o ¢
Required quantity 1
replacement in pairs recommended

References
BMW 2 283576 BMW 31102 283576

Application info

BMW 1 (E81, E82, E87, E88) (02/03-12/13) BMW 3 (EQO0, E91, E92, E93) (02/04-12/13)
Control arm 316 050 0265 MCA1640
Notes
Aluminium ».,:
Control Arm -
Front @"A"’f@
Rear Axle Left D -

Paired article number 316 050 0266 | MCA1641
Required quantity 1
replacement in pairs recommended

References
BMW 2 283 547 BMW 33 32 2 283 547

Application info
BMW 1 (E81, E82, E87, E88) (02/03-12/13) BMW 3 (E90, E91, E92, E93) (02/04-12/13)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 0266 MCA1641

Notes
Aluminium ni;:zn
Control Arm i

y IS— - N
Front { r—f”_\‘@
- o= =

Rear Axle Right = //

Paired article number 316 050 0265 | MCA1640 7

Required quantity 1

replacement in pairs recommended

References

BMW 2 283 548 BMW 33 32 2 283 548

Application info

BMW 1 (E81, E82, E87, E88) (02/03-12/13) BMW 3 (E90, E91, E92, E93) (02/04-12/13)

Control arm 316 050 0267 MCA1642

Notes
Aluminium ».,:
Centre
Control Arm 9 e @
Rear Axle Left N R I
Upper V/ y 4

Paired article number 316 050 0268 | MCA1643 )/ ¢ @

Required quantity 1

replacement in pairs recommended

References

BMW 2 283 545 BMW 33 322283545

Application info

BMW 1 (E81, E82, E87, E88) (02/03-12/13) BMW 3 (E90, E91, E92, E93) (02/04-12/13)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes
Aluminium
Centre
Control Arm

Rear Axle Right

Upper
Paired article number
Required quantity 1
replacement in pairs recommended

References
BMW 2 283 546

Application info
BMW 1 (E81, E82, E87, E88) (02/03-12/13)

Control arm

Notes
Aluminium
Control Arm
Lower
Rear
Rear Axle Left
Rear Axle Right
Required quantity 2
replacement in pairs recommended

References
BMW 2 283 549

Application info
BMW 1 (E81, E82, E87, E88) (02/03-12/13)

316 050 0267 | MCA1642

316 050 0268 MCA1643

weree
DRIGINAL
Guaud

BMW 33 32 2 283 546

BMW 3 (E90, E91, E92, E93) (02/04-12/13)

316 050 0269 MCA1660

e
ORIGINAL
Gttt

BMW 33 32 2 283 549

BMW 3 (E90, E91, E92, E93) (02/04-12/13)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Article number of recommended accessori

Paired article number
Replace in pairs only
Required quantity
Thread Size 1
Thread Size 2
reinforced version

References

BMW 1092 276

BMW 1 140 400

BMW 2 339 996

BMW 31121136530
BMW 31121 140958
BMW 3112 6 758 514
BMW 6 758 514

Application info
BMW 3 (E36) (09/90-08/00)

Control arm

Notes

Article number of recommended accessori

Paired article number
Replace in pairs only
Required quantity
Thread Size 1
Thread Size 2
reinforced version

Carbon Neutral

Control Arm

Front Axle Right

Steel

with ball joint

314 654 0009

316 050 3602/HD | MCA0484HD

1
M12x1,5
M14x1,5

BMW
BMW
BMW
BMW
BMW
BMW
BMW

BMW

Carbon Neutral

Control Arm

Front Axle Left

Steel

with ball joint

314 654 0009

316 050 3601/HD | MCA0483HD

1
M12x1,5
M14x1,5

316 050 3601/HD MCAO0483HD

1136 530
1140 958
31121092 276
31121 140 400
3112 2 339 996
31126 758 516
6 758 516

73 (E36/7, E36/8) (10/95-06/03)

316 050 3602/HD MCAO0484HD

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

BMW 1094 275 BMW 1 136 529

BMW 1 140 399 BMW 1 140 957

BMW 2 339 997 BMW 3112 1094 275
BMW 31121 136 529 BMW 31121 140 399
BMW 31 121 140 957 BMW 31 12 2 339 997
BMW 3112 6 758 513 BMW 31 12 6 758 515
BMW 6 758 513 BMW 6 758 515

Application info

BMW 3 (E36) (09/90-08/00) BMW Z3 (E36/7, E36/8) (10/95-06/03)
Control arm 316 050 3807 MCAO0485
Notes
Control Arm ».,:
Rear Axle Left
Sheet Steel
Upper
with ball joint

with rubber mount

Length [mm] 306

Paired article number 316 050 3808 | MCA0486
Required quantity 1

Thread Size M14x1,5

replacement in pairs recommended

References
BMW 1 090 905 BMW 33 32 1 090 905
BMW 33 326 770 059 BMW 6 770 059

Application info
BMW 7 (E38) (03/94-11/01) BMW Z8 (E52) (01/00-12/03)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Length [mm]

Paired article number

Required quantity

Thread Size

replacement in pairs recommended

References
BMW 1 090 906
BMW 33326 770 060

Application info
BMW 7 (E38) (03/94-11/01)

Control arm

Notes

Length [mm]

Paired article number

Required quantity

Thread Size

replacement in pairs recommended

References

BMW 1 093 449

BMW 2 157 597

BMW 31 12 1093 449
BMW 31 12 2 157 597
BMW 31 12 9 069 568

Application info
BMW 5 (E39) (09/95-06/04)

Control Arm

Rear Axle Right

Sheet Steel

Upper

with ball joint

with rubber mount

306

316 050 3807 | MCA0485
1

M14x1,5

Aluminium

Control Arm

Front Axle Left

Rear

with rubber mount

314

316 050 3902 | MCA0488
1

M14x1,5

316 050 3808 MCAO0486

weree
DRIGINAL
Guaud

BMW 33 32 1 090 906
BMW 6 770 060

BMW Z8 (E52) (01/00-12/03)

316 050 3901 MCAO0487

were
ORIGINAL
Gttt

y
| — 3
il 4

BMW 1094 233
BMW 2 341 219
BMW 31121094 233
BMW 31122 341 219
BMW 9 069 568

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 3902 MCAO0488
Notes
Aluminium ni;:zn
Control Arm .
Front Axle Right >
Rear @\ = >l \(9
with rubber mount » -
Length [mm] 314
Paired article number 316 050 3901 | MCA0487
Required quantity 1
Thread Size M14x1,5

replacement in pairs recommended

References

BMW 1 093 450 BMW 1094 234

BMW 2 157 597 BMW 2 341 296

BMW 31 12 1 093 450 BMW 3112 1094 234
BMW 31 12 2 157 597 BMW 31 12 2 341 296
BMW 31 12 9 069 568 BMW 9 069 568

Application info
BMW 5 (E39) (09/95-06/04)

Control arm 316 050 3903/HD MCAO0489HD

Notes
Aluminium
Carbon Neutral
Control Arm
Front
Front Axle Left
with rubber mount

Length [mm] 428

Paired article number 316 050 3904/HD | MCA0490HD
Replace in pairs only

Required quantity 1

Thread Size M14x1,5

reinforced version

References
BMW 1 092 023 BMW 1 141 717
BMW 3112 1 092 023 BMW 31121 141 717

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Application info

BMW 5 (E39) (09/95-06/04) BMW Z8 (E52) (01/00-12/03)
Control arm 316 050 3904/HD MCAO0490HD
Notes

Aluminium

Carbon Neutral
Control Arm

Front

Front Axle Right
with rubber mount

Length [mm] 428

Paired article number 316 050 3903/HD | MCA0489HD
Replace in pairs only

Required quantity 1

Thread Size M14x1,5

reinforced version

References
BMW 1 092 024 BMW 1 141 718
BMW 31121092 024 BMW 31121 141718

Application info

BMW 5 (E39) (09/95-06/04) BMW Z8 (E52) (01/00-12/03)
Control arm 316 050 4206 MCAO0494
Notes
Control Arm ni;:E.L
Front Axle Left 1 -
Lower
Steel
with rubber mount
Length [mm] 294
Paired article number 316 050 4207 | MCA0495
Required quantity 1
Thread Size M12x1,5
replacement in pairs recommended
References
BMW 1 123 025 BMW 31121123 025

Application info
BMW 3 (E21) (06/75-03/84)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 4207 MCAO0495
Notes
Control Arm ».,:
Front Axle Right -
Lower
Steel
with rubber mount
Length [mm] 294
Paired article number 316 050 4206 | MCA0494
Required quantity 1
Thread Size M12x1,5
replacement in pairs recommended
References
BMW 1 123 026 BMW 1 123 027
BMW 31121 123 026 BMW 31121123027
Application info
BMW 3 (E21) (06/75-03/84)
Control arm 316 050 4217 MCA0496
Notes
Control Arm ».,:
Front -
Front Axle Left
Steel
with rubber mount
Length [mm] 325
Paired article number 316 050 4218 | MCA0497
Required quantity 1
Thread Size M14x1,5

replacement in pairs recommended

References

BMW 1 124 401 BMW 1 131 587

BMW 1 139991 BMW 31121 124 401
BMW 31121 131 587 BMW 31121 139 991

Application info
BMW 5 (E28) (05/81-12/87) BMW 5 (E34) (02/87-07/96)
BMW 6 (E24) (10/75-04/89) BMW 7 (E32) (03/85-10/94)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Length [mm]

Paired article number

Required quantity

Thread Size

replacement in pairs recommended

References

BMW 1 124 402

BMW 1 131 588

BMW 31121 124 402
BMW 31121 131588

Application info
BMW 5 (E28) (05/81-12/87)
BMW 6 (E24) (10/75-04/89)

Control arm

Notes

Article number of recommended accessori
Length [mm]

Paired article number

Replace in pairs only

Required quantity

Thread Size

reinforced version

References

BMW 1 130 089
BMW 1 139 999

BMW 31121 130597

316 050 4218 MCAO0497

weree
DRIGINAL
Guaud

Control Arm

Front

Front Axle Right

Steel

with rubber mount

325

316 050 4217 | MCA0496
1

M14x1,5

BMW
BMW
BMW
BMW

1131582
1139992
31121131582
31121139992

BMW
BMW

5 (E34) (02/87-07/96)
7 (E32) (03/85-10/94)

316 050 4317/HD MCAO05S00HD

Carbon Neutral
Control Arm

Front Axle Left
Rear

Steel

with rubber mount
314 654 0015

414

316 050 4318/HD | MCA0501HD

1
M14x1,5

BMW 1 130 597
BMW 31121 130089
BMW 31121 139999

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info
BMW 7 (E32) (03/85-10/94)

Control arm

Notes

Article number of recommended accessori
Length [mm]

Paired article number

Replace in pairs only

Required quantity

Thread Size

reinforced version

References

BMW 1 130 090

BMW 1 133490

BMW 31121 130090
BMW 31121 133490

Application info
BMW 7 (E32) (03/85-10/94)

Control arm

Notes

Article number of recommended accessori
Length [mm]

Paired article number

Replace in pairs only

Required quantity

Thread Size

reinforced version

BMW 8 (E31) (01/90-12/99)

316 050 4318/HD MCAO0501HD

Carbon Neutral

Control Arm

Front Axle Right

Rear

Steel

with rubber mount

314 654 0015

414

316 050 4317/HD | MCAO500HD

1
M14x1,5

BMW 1 130598
BMW 1 140 000
BMW 31121 130598
BMW 31121 140 000

BMW 8 (E31) (01/90-12/99)

316 050 4332/HD

MCA0502HD

Carbon Neutral
Control Arm
Front Axle Left
Rear

Steel

with rubber mount

314 654 0016

388

316 050 4333/HD | MCA0503HD

1
M14x1,5

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

BMW 1 132 159 BMW 1 133711

BMW 1 141 097 BMW 31121132 159
BMW 31121133711 BMW 31121 141 097

Application info
BMW 5 (E34) (02/87-07/96)

Control arm 316 050 4333/HD MCAO0503HD
Notes
Carbon Neutral
Control Arm
Front Axle Right
Rear
Steel

with rubber mount
Article number of recommended accessori 314 654 0016

Length [mm] 388

Paired article number 316 050 4332/HD | MCA0502HD
Replace in pairs only

Required quantity 1

Thread Size M14x1,5

reinforced version

References

BMW 1 132 160 BMW 1 133712

BMW 1 141 098 BMW 31121132160
BMW 31121133712 BMW 3112 1 141 098

Application info
BMW 5 (E34) (02/87-07/96)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 4360 MCAO0504

Notes

Aluminium ORIGINAL

Puayied
Control Arm ~
Front ; %@

Front Axle Right
with rubber mount

Length [mm] 323

Paired article number 316 050 4361 | MCAO0505
Required quantity 1

Thread Size M14x1,5

replacement in pairs recommended

References
BMW 1 142 088 BMW 31121 142 088

Application info
BMW 7 (E38) (03/94-11/01)

Control arm 316 050 4361 MCAO0505

Notes

Aluminium ORIGINAL

Guaucd

Control Arm

Front //3

Front Axle Left
with rubber mount

Length [mm] 323

Paired article number 316 050 4360 | MCA0504
Required quantity 1

Thread Size M14x1,5

replacement in pairs recommended

References
BMW 1 142 087 BMW 31121 142 087

Application info
BMW 7 (E38) (03/94-11/01)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Article number of recommended accessori
Length [mm]

Paired article number

Replace in pairs only

Required quantity

Thread Size

reinforced version

replacement in pairs recommended

References
BMW 1 141 722
BMW 31121141722

Application info
BMW 7 (E38) (03/94-11/01)

Control arm

Notes

Article number of recommended accessori
Length [mm]

Paired article number

Replace in pairs only

Required quantity

Thread Size

reinforced version

References
BMW 1141721
BMW 31121141721

316 050 4362/HD MCAO0506HD

e’

Carbon Neutral HD
Control Arm
Front Axle Right

Rear

Steel

with rubber mount

314 654 0017

438

316 050 4363/HD | MCAO507HD

1
M14x1,5

BMW 1 141 724
BMW 31121141724

316 050 4363/HD MCAO0507HD

Carbon Neutral

Control Arm

Front Axle Left

Rear

Steel

with rubber mount

314 654 0017

438

316 050 4362/HD | MCAO0506HD

1
M14x1,5

BMW 1 141 723
BMW 31121 141723

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info
BMW 7 (E38) (03/94-11/01)

Control arm

Notes

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 1127 726

Application info
BMW 3 (E30) (09/82-10/94)

Control arm

Notes

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 1127 725

Application info
BMW 3 (E30) (09/82-10/94)

Control Arm

Front Axle Right

Steel

with ball joint

316 050 4367 | MCA0509
1

M14x1,5

M12x1,5

Control Arm

Front Axle Left

Steel

with ball joint

316 050 4366 | MCAO0508
1

M14x1,5

M12x1,5

316 050 4366 MCAO0508

e
ORIGINAL
Gttt

BMW 31121 127 726

BMW Z1 (06/88-06/91)

316 050 4367 MCAO0509

WEVLE'
ORIGINAL
) /4 it

; \\\»

i
e

BMW 31121127 725

BMW Z1 (06/88-06/91)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 316 050 4370 MCAO0510

Notes

Aluminium o
Control Arm .
Front

Front Axle Right

with rubber mount

Length [mm] 325

Paired article number 316 050 4371 | MCAO0511
Required quantity 1

Thread Size M14x1,5

replacement in pairs recommended

References
BMW 1 133 238 BMW 1 139 988
BMW 31121 133238 BMW 31121 139 988

BMW 32211 139 988

Application info

BMW 5 (E34) (02/87-07/96) BMW 7 (E32) (03/85-10/94)
Control arm 316 050 4371 MCAO0511
Notes
Aluminium "'ﬁ"
Control Arm &
Front S
Front Axle Left =

with rubber mount =

Length [mm] 325

Paired article number 316 050 4370 | MCAO0510
Required quantity 1

Thread Size M14x1,5

replacement in pairs recommended

References
BMW 1 133 237 BMW 1 139 987
BMW 31121 133237 BMW 31121 139 987

BMW 32211139987

Application info
BMW 5 (E34) (02/87-07/96) BMW 7 (E32) (03/85-10/94)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes
Control Arm
Lower
Rear Axle Left
Rear Axle Right
Sheet Steel

with rubber mount

Required quantity 2
replacement in pairs recommended

References

BMW 1 090 030

BMW 33 32 1 090 030
BMW 33326 770 749

Application info

BMW 5 (E39) (09/95-06/04)
BMW 6 (E63, E64) (09/03-12/10)
BMW 7 (E65, E66) (07/01-12/09)
BMW Z8 (E52) (01/00-12/03)

Control arm

Notes
Control Arm
Rear Axle Left
Rear Axle Right
Steel
Upper
outer

Required quantity 2

replacement in pairs recommended

References
Citroén 16 074 983 80
Peugeot 16 07 498 380

Application info

Citroén C4 AIRCROSS (08/10--)
Mitsubishi Lancer VII (03/00-12/13)
Mitsubishi Outlander Il (11/06-12/12)
Peugeot 4008 (05/12--)

316 333 2101 MCAO0512

weree
DRIGINAL
Guaud

BMW 1091 620
BMW 33321091 620
BMW 6 770 749

BMW 5 (E60, E61) (12/01-12/10)
BMW 7 (E38) (03/94-11/01)
BMW X5 (E53) (01/00-12/06)

Mitsubishi

Mitsubishi
Mitsubishi
Mitsubishi

32-16 050 0087 MCA1332

v
DRIGINAL
Guautd

MN184100

ASX1 (11/09--)
Lancer VIII (03/07--)
Outlander Il (11/10--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 32-16 050 0088 MCA1517

Notes

Control Arm o
Lower .
Rear Axle Left
Rear Axle Right ‘
Sheet Steel

Required quantity 2

replacement in pairs recommended

References
Mitsubishi 4113A125 Mitsubishi 4113A135
Mitsubishi 4113A136

Application info

Mitsubishi ASX| (11/09--) Mitsubishi Outlander Il (11/10--)
Control arm 32-16 050 0092/HD MCA1540HD
Notes

Carbon Neutral ®
Control Arm
Front Axle Right
Lower

Sheet Steel

with ball joint

with rubber mount
Paired article number 32-16 050 0093/HD | MCA1541HD
Replace in pairs only
Required quantity 1
reinforced version

References

Citroén 16 124 484 80 Citroén 3521.R1
Citroén 3521.V0 Mitsubishi 4013A010
Mitsubishi 4013A218 Mitsubishi 4013A280
Mitsubishi 4013A282 Mitsubishi 4013A428
Mitsubishi 4013A430 Peugeot 16 124 484 80
Peugeot 3521 R1 Peugeot 3521.V0O

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info

Citroén C-Crosser (02/07--)
Mitsubishi ASX 1 (11/09--)
Mitsubishi Lancer VIII (03/07--)
Mitsubishi Outlander 11l (11/10--)
Peugeot 4008 (05/12--)

Control arm

Citroén C4 AIRCROSS (08/10--)
Mitsubishi Lancer VII (03/00-12/13)
Mitsubishi Outlander Il (11/06-12/12)
Peugeot 4007 (02/07-03/13)

32-16 050 0093/HD MCA1541HD

Notes
Carbon Neutral
Control Arm
Front Axle Left
Lower
Sheet Steel
with ball joint
with rubber mount

Paired article number 32-16 050 0092/HD | MCA1540HD

Replace in pairs only
Required quantity 1
reinforced version

References

Citroén 16 124 483 80
Citroén 3520.X9
Mitsubishi 4013A217
Mitsubishi 4013A281
Mitsubishi 4013A429
Peugeot 3520.V0

Application info

Citroén C-Crosser (02/07--)
Mitsubishi ASX 1 (11/09--)
Mitsubishi Lancer VIII (03/07--)
Mitsubishi Outlander 11l (11/10--)
Peugeot 4008 (05/12--)

Citroén 3520.V0
Mitsubishi 4013A009
Mitsubishi 4013A279
Mitsubishi 4013A427
Peugeot 16 124 483 80
Peugeot 3520.X9

Citroén C4 AIRCROSS (08/10--)
Mitsubishi Lancer VII (03/00-12/13)
Mitsubishi Outlander Il (11/06-12/12)
Peugeot 4007 (02/07-03/13)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 33-16 050 0006 MCAO0546
Notes
Control Arm ».,:
Front Axle Right -
Lower
Sheet Steel

with ball joint

with rubber mount
Paired article number 33-16 050 0007 | MCAOQ547
Required quantity 1

replacement in pairs recommended

References

Fiat 71742731 Fiat 71750149

Fiat 71768163 Suzuki 45201-54L00
Suzuki 45201-54L.20 Suzuki 45201-79J00

Suzuki 45201-79J00-000

Application info

Fiat Sedici (06/06-10/14) Suzuki SX4 (06/06--)
Control arm 33-16 050 0007 MCAO0547
Notes
Control Arm "'i;i"
Front Axle Left -
Lower
Sheet Steel
with ball joint
with rubber mount
Paired article number 33-16 050 0006 | MCA0546
Required quantity 1

replacement in pairs recommended

References

Fiat 71742732 Fiat 71750211

Fiat 71768151 Suzuki 45202-54L00
Suzuki 45202-54L20 Suzuki 45202-79J00

Suzuki 45202-79J00-000

Application info
Fiat Sedici (06/06-10/14) Suzuki SX4 (06/06--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 34-16 050 0026 MCA1518
Notes
Control Arm ,,,:
Front
Lower

Rear Axle Left
Rear Axle Right

" .1

Steel Pipe
Required quantity 2
replacement in pairs recommended
References
Subaru 20250FG020 Subaru 20250FG021
Application info
Subaru BRZ (06/12--) Subaru Forester Ill (SH) (12/07--)
Subaru Forester IV (SJ) (11/12--) Subaru Impreza lll (GR) (01/07--)
Subaru Impreza IV (GP, GJ) (07/11--) Subaru Legacy V (06/08--)
Subaru Legacy VI (BN, BS) (01/15--) Subaru Outback IV (BM, BR) (06/09--)
Subaru XV (09/11--)
Control arm 35-16 050 0060/HD MCAO0578HD
Notes

Carbon Neutral

Control Arm

Front Axle Right

Lower

Sheet Steel

with ball joint

with rubber mount
Paired article number 35-16 050 0061/HD | MCAO579HD
Replace in pairs only

Required quantity 1

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

Mazda B32H-34 300 Mazda B32H-34-300A
Mazda B32H-34-300B Mazda B32H-34-300C
Mazda B32H-34-300D Mazda B32H-34-300E
Mazda B37F-34-300A Mazda B37F-34-300B
Mazda BP4K-34 300A Mazda BP4K-34 300B
Mazda BP4K-34-300D Mazda C513-34-300
Mazda CC30-34 300A Mazda CC30-34 300B
Mazda CC30-34 300C Mazda CC30-34 300D
Mazda CC30-34 300E Mazda CD99-34-300A

Application info
Mazda 3 (BK) (09/99-12/09) Mazda 5 (CR) (02/05-12/10)
Mazda 5 (CW) (06/10--)

Control arm 35-16 050 0061/HD MCAO0579HD

Notes

Carbon Neutral

Control Arm

Front Axle Left

Lower

Sheet Steel

with ball joint

with rubber mount
Paired article number 35-16 050 0060/HD | MCA0578HD
Replace in pairs only

Required quantity 1

References

Mazda B32H-34 350 Mazda B32H-34 350E
Mazda B32H-34-350A Mazda B32H-34-350B
Mazda B32H-34-350C Mazda B32H-34-350D
Mazda B37F-34-350A Mazda B37F-34-350B
Mazda BP4K-34 350A Mazda BP4K-34 350B
Mazda BP4K-34-350C Mazda BP4K-34-350D
Mazda BP4K-34-350E Mazda C513-34-350
Mazda CC30-34 350A Mazda CC30-34 350B
Mazda CC30-34 350C Mazda CC30-34 350D
Mazda CC30-34 350E Mazda CD99-34-350A

Application info
Mazda 3 (BK) (09/99-12/09) Mazda 5 (CR) (02/05-12/10)
Mazda 5 (CW) (06/10--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 35-16 050 0099 MCA1387
Notes
Control Arm W:u
Front Axle Left
Lower
Sheet Steel
Paired article number 35-16 050 0100 | MCA1388
Required quantity 1
replacement in pairs recommended
References
Mazda D10E-34-350 Mazda D10E-34-350A
Mazda D10E-34-350B
Application info
Mazda CX-3 (DK) (01/15--)
Control arm 35-16 050 0100 MCA1388
Notes
Control Arm "i;E"
Front Axle Right
Lower
Sheet Steel
Paired article number 35-16 050 0099 | MCA1387
Required quantity 1
replacement in pairs recommended
References
Mazda D10E-34-300 Mazda D10E-34-300A

Mazda D10E-34-300B

Application info
Mazda CX-3 (DK) (01/15--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Required quantity
replacement in pairs recommended

References
Mazda KD35-28-500

Application info
Mazda CX-51(KE) (11/11-02/17)

Control arm

Notes

Paired article number
Replace in pairs only
Required quantity
reinforced version

References

Nissan 54501-BB00A
Nissan 54501-JD000
Nissan 54501-JGOOA
Renault 54501JY00A

Application info
Nissan Qashgai | (J10_) (12/06-04/14)
Renault Koleos | (09/08--)

Front

Lower

Rear Axle Left
Rear Axle Right
Sheet Steel
Trailing Arm

2

Carbon Neutral
Control Arm
Front Axle Left
Sheet Steel
with ball joint

with rubber mount
36-16 050 0008/HD | MCA0587HD

35-16 050 0101 MCA1409

weree
DRIGINAL
Guaud

M

36-16 050 0007/HD MCAO0586HD

Nissan 54501-BR30A
Nissan 54501-JG000
Nissan 54501-JG00B
Renault 545055212R

Nissan X-Trail (T31) (03/07-12/18)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Paired article number
Replace in pairs only
Required quantity
reinforced version

References

Nissan 54500-BB00A
Nissan 54500-JD000
Nissan 54500-JG0O0OA
Renault 54500JY00A

Application info
Nissan Qashgqai | (J10_) (12/06-04/14)
Renault Koleos | (09/08--)

Control arm

Notes

Paired article number

Required quantity

Thread Size

replacement in pairs recommended

References
Nissan 54501-44B00
Nissan 54501-4F105

Application info
Nissan Micra (K11) (01/92-12/07)

36-16 050 0008/HD MCAO0587HD

Carbon Neutral

Control Arm

Front Axle Right

Sheet Steel

with ball joint

with rubber mount

36-16 050 0007/HD | MCAO586HD

1

Nissan 54500-BR30A

Nissan 54500-JG000

Nissan 54500-JG00OB

Renault 545040445R

Nissan X-Trail (T31) (03/07-12/18)

36-16 050 0045 MCAO0595

Control Arm "'i;i"
Front Axle Left
Lower
Sheet Steel
with ball joint

with rubber mount

36-16 050 0046 | MCA0596
1

M12x1,25

Nissan 54501-4F102
Nissan 54501-4F150

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Paired article number
Required quantity
Thread Size

replacement in pairs recommended

References
Nissan 54500-44B00
Nissan 54500-4F105

Application info

Nissan Micra (K11) (01/92-12/07)

Control arm

Notes

Paired article number
Replace in pairs only
Required quantity
reinforced version

References

Nissan 54501-1KA0A
Nissan 54501-1KA1B
Nissan 54501-5SN1A

Application info

Nissan Juke (F15) (06/10--)

36-16 050 0046 MCAO0596

weree
DRIGINAL
Guaud

Control Arm

Front Axle Right

Lower

Sheet Steel

with ball joint

with rubber mount

36-16 050 0045 | MCAO0595
1

M12x1,25

Nissan 54500-4F102
Nissan 54500-4F150

36-16 050 0059/HD MCAO0806HD

Carbon Neutral

Control Arm

Front Axle Left

Sheet Steel

for left-hand drive vehicles
for right-hand drive vehicles
with ball joint

with rubber mount
36-16 050 0060/HD | MCA0807HD

Nissan 54501-1KA0B
Nissan 54501-1KKO0A
Nissan 54501-BA60A

Nissan Leaf | (ZEO) (11/10--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Carbon Neutral

Control Arm

Front Axle Right

Sheet Steel

for left-hand drive vehicles

for right-hand drive vehicles

with ball joint

with rubber mount
Paired article number
Replace in pairs only
Required quantity 1
reinforced version

References

Nissan 54500-1KA0A
Nissan 54500-1KA1B
Nissan 54500-5SN1A

Nissan
Nissan
Nissan

Application info

Nissan Juke (F15) (06/10--) Nissan

Control arm

Notes
Control Arm
Front Axle Right
Sheet Steel
with ball joint

with rubber mount
36-16 050 0094 | MCA1164
Required quantity 1

Paired article number

replacement in pairs recommended

References

Nissan 54500-1HAOC Nissan

Nissan 54500-1HA5D Nissan
Nissan 54500-1HA7A Nissan
Application info

Nissan Micra (K13) (05/10--) Nissan

36-16 050 0060/HD MCAO0807HD

36-16 050 0059/HD | MCAO806HD

54500-1KA0B
54500-1KK0A
54500-BAG0A

Leaf | (ZEO) (11/10--)

36-16 050 0093 MCA1163

e
DRIGINAL
Cuad

54500-1HA5A
54500-1HAGA
545003VUOA

Note Il (09/12--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 36-16 050 0094 MCA1164
Notes
Control Arm ,,,:
Front Axle Left
Sheet Steel

with ball joint

with rubber mount
Paired article number 36-16 050 0093 | MCA1163
Required quantity 1

replacement in pairs recommended

References

Nissan 54501-1HAOC Nissan 54501-1HA5A
Nissan 54501-1HA5D Nissan 54501-1HAGA
Nissan 54501-1HA7A Nissan 545013VUOA

Application info

Nissan Micra (K13) (05/10--) Nissan Note Il (09/12--)
Control arm 36-16 050 0098 MCA117/8
Notes
Control Arm ni;En
Front Axle Right
Lower
Sheet Steel
outer
Paired article number 36-16 050 0099 | MCA1179
Required quantity 1
replacement in pairs recommended
References
Nissan 54500-4EAOB Renault 545004EA0B
Application info
Nissan Qashqai Il (J11_) (11/13--) Renault Kadjar (06/15--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes

Paired article number
Required quantity
replacement in pairs recommended

References
Nissan 54501-4EAOB

Application info
Nissan Qashqai Il (J11_) (11/13--)

Control arm

Notes

Paired article number
Required quantity
replacement in pairs recommended

References
Hyundai 54500-J9000

Application info
Hyundai Konal (06/17--)

36-16 050 0099 MCA1179

weree
DRIGINAL
Guaud

Control Arm

Front Axle Left

Lower

Sheet Steel

outer

36-16 050 0098 | MCA1178
1

Renault 545014EA0B

Renault Kadjar (06/15--)

37-16 050 0069 MCA1290

e
ORIGINAL
Gttt

Control Arm

Front Axle Left

Lower

Sheet Steel

37-16 050 0070 | MCA1291
1

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 37-16 050 0070 MCA1291
Notes
Control Arm ..,:
Front Axle Right -
Lower
Sheet Steel
Paired article number 37-16 050 0069 | MCA1290
Required quantity 1
replacement in pairs recommended
References
Hyundai 54501-J9000
Application info
Hyundai Konal (06/17--)
Control arm 37-16 050 0083/HD MCA1524HD
Notes
Carbon Neutral
Control Arm
Front Axle Left
Lower
Sheet Steel
for left-hand drive vehicles
for right-hand drive vehicles
Length [mm] 348
Paired article number 37-16 050 0084/HD | MCA1525HD
Replace in pairs only
Required quantity 1
Width [mm] 298.7

reinforced version

References
Kia 54500-H8000

Application info
Kia Rio IV (01/17--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm 37-16 050 0084/HD MCA1525HD
Notes
Carbon Neutral I;IIEI
Control Arm
Front Axle Right
Lower
Sheet Steel
for left-hand drive vehicles
for right-hand drive vehicles
Length [mm] 348
Paired article number 37-16 050 0083
Paired article number 37-16 050 0083/HD | MCA1524HD
Replace in pairs only
Required quantity 1
Width [mm] 298.7
References
Kia 54501 H8000
Application info
Kia Rio IV (01/17--)
Control arm 37-16 050 0087 MCA1311
Notes
Rear Axle Left ni;En
Rear Axle Right -
Sheet Steel
Trailing Arm
Upper
outer
Required quantity 2
replacement in pairs recommended
References
Hyundai 55100-D3050 Kia 55100 D3050
Application info
Hyundai Tucson Il (05/15--) Kia Sportage IV (09/15--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm

Notes
Control Arm
Rear
Rear Axle Left
Rear Axle Right
Sheet Steel
Upper
outer

Required quantity 2

replacement in pairs recommended

References

Hyundai 55100-2S050

Kia 55100 2S050

Application info

Hyundai GrandeurV (01/11--)

Hyundai Sonata VI (06/09-12/15)

Hyundai ix35 (08/09--)

Kia Sorento Il (06/09--)

Control arm set

Notes
Aluminium
Carbon Neutral
Front Axle Left
Front Axle Right
Pre-assembled
with ball joint
with holder

Required quantity 1

reinforced version

References

The references of this product can be found at www.meyle.com

Application info
BMW 3 (E46) (12/97-12/07)
BMW Z4 (E86) (03/06-01/09)

37-16 050 0098 MCA1408

weree
DRIGINAL
Guaud

Hyundai 55100-3R050
Kia 55100 3R050

Hyundai Santa Fé lll (09/12--)
Hyundai Tucson | (06/04--)
Kia Optima (01/10--)

Kia Sportage Il (09/09--)

316 050 0000/HD MCKO0015HD

BMW Z4 (E85) (09/02-12/09)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Control arm set

Notes
Carbon Neutral
Front Axle Left
Front Axle Right
Pre-assembled
Steel
with ball joint
with holder

Required quantity 1

reinforced version

References

BMW 1092 276

BMW 1 136 529

BMW 1 140 399

BMW 1 140 957

BMW 2 339 996

BMW 31121092 276
BMW 31121136529
BMW 31121 140 399
BMW 31 121 140 957
BMW 31 12 2 339 996
BMW 3112 6 758 513
BMW 31 12 6 758 515
BMW 6 758 513

BMW 6 758 515

Application info
BMW 3 (E36) (09/90-08/00)

Control arm set

Notes
Carbon Neutral
Front Axle Left
Front Axle Right
with accessories

Full Set

Required quantity 1

reinforced version

BMW
BMW
BMW
BMW
BMW
BMW
BMW
BMW
BMW
BMW
BMW
BMW
BMW
BMW

BMW

316 050 0023/HD MCKO0016HD

1094 275
1136 530
1140 400
1140 958
2 339 997
31121094 275
31121 136 530
31121 140 400
31121 140958
3112 2 339 997
31126 758 514
31126 758 516
6 758 514
6 758 516

Z3 (E36/7, E36/8) (10/95-06/03)

316 050 0080/HD MCKO0031HD

i
’fé . L\
1 \@ @/"\?
f"‘@__—_:‘. .V-———@M¥

s s

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

BMW 31126 775 967 BMW 31126 775971

BMW 31126 775972 BMW 31126 779 871

BMW 31126 779 908 BMW 31126 794 203

BMW 3112 6 794 204 BMW 3112 6 854 613

BMW 31 12 6 854 614 BMW 3112 6 857 516

BMW 6 775 967 BMW 6 775 971

BMW 6 775 972 BMW 6 779 871

BMW 6 779 908 BMW 6 794 203

BMW 6 794 204 BMW 6 854 613

BMW 6 854 614 BMW 6 857 516

BMW (Brilliance) 3112 6 775 967 BMW (Brilliance) 3112 6 775 971
BMW (Brilliance) 31 126 775 972 BMW (Brilliance) 31 12 6 794 203
BMW (Brilliance) 6 775 967 BMW (Brilliance) 6 775 971

BMW (Brilliance) 6 775 972 BMW (Brilliance) 6 794 203

Application info

BMW 5 (F10, F11) (01/09-02/17) BMW 6 (F12, F13) (12/10-10/18)
Control arm set 316 050 0101/HD MCKO0032HD
Notes

Carbon Neutral -
br—H &—0

Front Axle Left
Front Axle Right 4 -
with accessories % \uj -—@ @v f ?
Full Set
Required quantity 1

x”‘/@/ x"’/\}/
e ¢ e o

reinforced version

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



MEYLE

DRIVER’S BEST FRIEND

References

BMW 31 12 4 036 269 BMW 31 12 4 036 270
BMW 31 12 6 763 699 BMW 31126 763 700
BMW 31126 763 703 BMW 31126 763 704
BMW 31126 763 707 BMW 31126 763 708
BMW 3112 6 769 797 BMW 3112 6 769 798
BMW 31 12 6 769 801 BMW 31 12 6 769 802
BMW 31126 770 849 BMW 31 12 6 770 850

BMW 4 036 269
BMW 6 763 699
BMW 6 763 703
BMW 6 763 707
BMW 6 769 797
BMW 6 769 801
BMW 6 770 849
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)

3112 4 036 269
3112 6 763 699
31126 763 703
31126 763 707
31126769 797
31126 769 801
31126770849

BMW 4 036 270
BMW 6 763 700
BMW 6 763 704
BMW 6 763 708
BMW 6 769 798
BMW 6 769 802
BMW 6 770 850
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)

31124036 270
31126 763 700
31126 763 704
31126763 708
31126769 798
31126 769 802
31126 770850

BMW (Brilliance) 4 036 269 BMW (Brilliance) 4 036 270
BMW (Brilliance) 6 763 699 BMW (Brilliance) 6 763 700
BMW (Brilliance) 6 763 703 BMW (Brilliance) 6 763 704
BMW (Brilliance) 6 763 707 BMW (Brilliance) 6 763 708
BMW (Brilliance) 6 769 797 BMW (Brilliance) 6 769 798
BMW (Brilliance) 6 769 801 BMW (Brilliance) 6 769 802
BMW (Brilliance) 6 770 849 BMW (Brilliance) 6 770 850

Application info

BMW 1 (E81, E82, E87, E88) (02/03-12/13)

BMW X1 (E84) (03/09-06/15)

BMW 3 (E90, E91, E92, E93) (02/04-12/13)
BMW Z4 (E89) (02/09-08/16)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

MEYLE AG - www.meyle.com



DRIVER’S BEST FRIEND

MEYLE

Control arm set

Notes
Carbon Neutral
Front Axle Left
Front Axle Right
with accessories

Full Set

Required quantity 1

reinforced version

References

BMW 1 092 023

BMW 1 093 449

BMW 1094 233

BMW 1 141 717

BMW 2 157 597

BMW 2 341 296

BMW 31121 092 024
BMW 31 12 1 093 450
BMW 3112 1 094 234
BMW 31121141718
BMW 3112 2 341 219
BMW 31 12 9 069 568

Application info
BMW 5 (E39) (09/95-06/04)

Control arm set

Notes
Carbon Neutral
Front Axle Left
Front Axle Right
with accessories

Full Set

Required quantity 1

reinforced version

BMW
BMW
BMW
BMW
BMW
BMW
BMW
BMW
BMW
BMW
BMW
BMW

316 050 0103/HD MCKO033HD

e o9 — ¢ s

1092 024
1 093 450
1094 234
1141718
2341219
31121092 023
31121093 449
31121094 233
31121141717
31122 157 597
31122 341 296
9 069 568

316 050 0104/HD MCKO0034HD

% &= b
Tﬁ*\m‘jﬂ Q\D-LV" QT

& b & — ¢

rd rd
(]

e @ -]

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



MEYLE

DRIVER’S BEST FRIEND

References

BMW 2 348 046 BMW 2 348 047

BMW 31 10 2 348 046 BMW 31 10 2 348 047
BMW 31104 026 719 BMW 31104 026 720
BMW 31 12 4 028 607 BMW 31 12 4 028 608
BMW 31 12 4 046 437 BMW 31 12 4 046 438
BMW 3112 6 760 181 BMW 31 12 6 760 182
BMW 3112 6 760 183 BMW 31 12 6 760 184
BMW 31 12 6 765 995 BMW 31 12 6 765 996
BMW 31 12 6 768 297 BMW 31 12 6 768 298
BMW 3112 6 774 825 BMW 31126 774 826

BMW 4 026 719
BMW 4 028 607
BMW 4 046 437
BMW 6 760 181
BMW 6 760 183
BMW 6 765 995
BMW 6 768 297
BMW 6 774 825
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)

2 348 046

3110 2 348 046
31104026 719
3112 4 046 437
31126760 181
3112 6 760 183
3112 6 765 995
3112 6 768 297
31126774 825

BMW 4 026 720
BMW 4 028 608
BMW 4 046 438
BMW 6 760 182
BMW 6 760 184
BMW 6 765 996
BMW 6 768 298
BMW 6 774 826
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)

2348 047

31102 348 047
31104 026 720
3112 4 046 438
31126 760 182
31126 760 184
3112 6 765 996
3112 6 768 298
31126774 826

BMW (Brilliance) 4 026 719 BMW (Brilliance) 4 026 720
BMW (Brilliance) 4 046 437 BMW (Brilliance) 4 046 438
BMW (Brilliance) 6 760 181 BMW (Brilliance) 6 760 182
BMW (Brilliance) 6 760 183 BMW (Brilliance) 6 760 184
BMW (Brilliance) 6 765 995 BMW (Brilliance) 6 765 996
BMW (Brilliance) 6 768 297 BMW (Brilliance) 6 768 298
BMW (Brilliance) 6 774 825 BMW (Brilliance) 6 774 826

Application info
BMW 5 (E60, E61) (12/01-12/10)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

MEYLE AG - www.meyle.com



DRIVER’S BEST FRIEND MEY/LE

Control arm set 316 050 0105/HD MCKO0035HD
Notes
Carbon Neutral |;||§|
Front Axle Left i —l® P — ;
Front Axle Right i N
with accessories ?/\ ,‘“@ 6\‘/ /N?
Full Set - W $& 3
Required quantity 1

< <l
e e

reinforced version Y

References

BMW 2 347 983 BMW 2 347 984

BMW 2 347 985 BMW 2 347 986

BMW 31 12 2 347 983 BMW 31 12 2 347 984
BMW 31 12 2 347 985 BMW 31 12 2 347 986
BMW 3112 4 026 453 BMW 3112 4 026 454
BMW 31 12 4 046 441 BMW 31 12 4 046 442
BMW 31 12 6 755 835 BMW 31 12 6 755 836
BMW 31126 756 101 BMW 31 12 6 756 102
BMW 3112 6 760 519 BMW 31 12 6 760 520
BMW 31 12 6 765 993 BMW 31 12 6 765 994
BMW 31126 770 121 BMW 31126 770 122
BMW 31126 770771 BMW 31126 770772
BMW 31126 770 837 BMW 31126 770 838
BMW 31126 774 831 BMW 31126 774 832
BMW 31126 777 937 BMW 31126 777 938
BMW 31126 777 939 BMW 31126 777 940
BMW 4 026 453 BMW 4 026 454

BMW 4 046 441 BMW 4 046 442

BMW 6 755 835 BMW 6 755 836

BMW 6 756 101 BMW 6 756 102

BMW 6 760 519 BMW 6 760 520

BMW 6 765 993 BMW 6 765 994

BMW 6 770 121 BMW 6 770 122

BMW 6 770 771 BMW 6 770 772

BMW 6 770 837 BMW 6 770 838

BMW 6 774 831 BMW 6 774 832

BMW 6 777 937 BMW 6 777 938

BMW 6 777 939 BMW 6 777 940

Application info
BMW 7 (E65, E66) (07/01-12/09)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Control arm set 316 050 0106/HD MCKO0036HD

Notes
Carbon Neutral

Front Axle Left

Front Axle Right V@ W
:# 'v;v‘-;

with accessories

Full Set L —® © J
Required quantity 1

reinforced version ‘{‘/ @{‘/
References

BMW 1 096 169 BMW 1096 170

BMW 1 096 315 BMW 1 096 316

BMW 31121 096 169 BMW 31121096 170

BMW 31121 096 315 BMW 31121 096 316

BMW 3112 6 760 275 BMW 31126 760 276

BMW 31126769 717 BMW 31126769 718

BMW 6 760 275 BMW 6 760 276

BMW 6 769 717 BMW 6 769 718

Application info
BMW X5 (E53) (01/00-12/06)

Control arm set 316 050 0107/HD MCKO0037HD
Notes
Carbon Neutral v— 4 & *
Front Axle Left ¢
T 2 d

Front Axle Right m &ﬂ\

with accessories

Full Set L—C H

Required quantity 1
reinforced version o

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

BMW 0 360 275 BMW 0 363 477

BMW 0 363 478 BMW 2 229 521

BMW 2 229 522 BMW 2 229 523

BMW 3412 135 BMW 3412 136

BMW 3412 138 BMW 3415 027

BMW 3415 028 BMW 3418 337

BMW 3418 338 BMW 3426 433

BMW 3426 434 BMW 3443 127

BMW 3443 128 BMW 3451 881

BMW 3451 882 BMW 31 100 363 477
BMW 31 100 363 478 BMW 31 10 2 229 523
BMW 31103412135 BMW 31103412136
BMW 31103412138 BMW 31 10 3415 027
BMW 31 10 3 415 028 BMW 31 10 3418 337
BMW 31 10 3 418 338 BMW 31 10 3 426 433
BMW 31 10 3 426 434 BMW 31 10 3443 127
BMW 31 10 3443 128 BMW 31 10 3 451 881
BMW 31 10 3 451 882 BMW 31 12 0 360 275
BMW 3112 2 229 521 BMW 31 12 2 229 522

Application info
BMW X3 (E83) (01/03-12/11)

Control arm set 316 050 0109/HD MCKO0052HD
Notes
Carbon Neutral mm
Front Axle Left
i _ Ny =
ront Axle Right _8 6=

with attachment material

Full Set %\ L €
Required quantity 1 ‘\\g.,;“l [’ -_@//

reinforced version /s " Y e
///m/w/\ % ///a‘/'\/\ 066

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

BMW 31126 771 893 BMW 31126 771 894
BMW 31126 773 949 BMW 31126 773 950
BMW 31126 776 417 BMW 31126 776 418
BMW 31 12 6 863 333 BMW 31 12 6 863 334
BMW 31 12 6 863 335 BMW 31 12 6 863 336
BMW 31 12 6 863 785 BMW 31 12 6 863 786
BMW 6 771 893 BMW 6 771 894

BMW 6 773 949 BMW 6 773 950

BMW 6 776 417 BMW 6 776 418

BMW 6 863 333 BMW 6 863 334

BMW 6 863 335 BMW 6 863 336

BMW 6 863 785 BMW 6 863 786

Application info

BMW X5 (E70) (02/06-07/13) BMW X6 (E71) (06/07-07/14)
Control arm set 316 050 0110/HD MCKOO059HD
Notes
Carbon Neutral I;ﬂllil
Front Axle Left
Front Axle Right > ., :
ront Axle Ri S e
We Rt d—oe—d
for vehicles with Adaptive Drive &r 7 ﬁ
Full Set =i 6"
V4 V4
Required quantity 1 /<//u /g,//a

reinforced version

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

References

MEYLE

BMW 31 12 6 851 259
BMW 3112 6852 991
BMW 31126855 741
BMW 31306 792 211

BMW 3112 6 851 260
BMW 31 12 6 852 992
BMW 3112 6 855 742
BMW 31306 792 212

BMW 6 792 211
BMW 6 851 259
BMW 6 852 991
BMW 6 855 741
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)

31126851 259
31126852991
31126855741
31306792 211
6792 211

BMW 6 792 212
BMW 6 851 260
BMW 6 852 992
BMW 6 855 742
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)
BMW (Brilliance)

3112 6 851 260
3112 6 852 992
31126855742
31306792 212
6792212

BMW (Brilliance) 6 851 259
BMW (Brilliance) 6 852 991
BMW (Brilliance) 6 855 741

BMW (Brilliance) 6 851 260
BMW (Brilliance) 6 852 992
BMW (Brilliance) 6 855 742

Application info

BMW 1 (F20, F21) (07/11--)
BMW 3 (F30, F31) (11/11-06/19)
BMW 4 (F32, F33, F36) (07/13--)

BMW 2 (F22,F23) (10/12--)
BMW 3 (F34) (07/12--)

316 050 0135/HD MCKO0056HD

Control arm set

Notes
Carbon Neutral
Control Arm
Front Axle Left
Front Axle Right
with ball joint

-

PN

& ‘@ N p SRS
f N xe Q & 1 [
b X\ // b
v Ve
\ &
with rubber mount /s !’I!Ol .0 Iol‘.!; 7o

Required quantity 1
reinforced version

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References

BMW 2 785 113

BMW 31122 785113
BMW 31 12 6 851 203
BMW 3112 6 871 301
BMW 31 12 6 879 843
BMW 6 851 203

BMW 6 871 301

BMW 6 879 843

Mini 2 785 113

Mini 31122 785 113
Mini 31 12 6 851 203
Mini 3112 6 871 301
Mini 31 12 6 879 843
Mini 6 851 203

Mini 6 871 301

Mini 6 879 843

Application info

BMW 1 (F40), 2 Gran Coupe (F44) (07/19--)
BMW X1 (F48) (11/14--)

Mini Countryman Il (10/16--)

Control arm set

Notes
Carbon Neutral
Control Arm
Front Axle Left
Front Axle Right
with ball joint
with rubber mount
Required quantity 1
reinforced version

References

Mini 2 785 111

Mini 31122785 111
Mini 31 12 6 850 397
Mini 3112 6 879 841
Mini 31 12 6 882 843
Mini 6 850 397

Mini 6 879 841

Mini 6 882 843

BMW 2785 114

BMW 31122785114
BMW 3112 6 851 204
BMW 31126 871 302
BMW 31126879 844
BMW 6 851 204

BMW 6 871 302

BMW 6 879 844

Mini 2 785 114

Mini 31122785 114
Mini 3112 6 851 204
Mini 3112 6 871 302
Mini 3112 6 879 844
Mini 6 851 204

Mini 6 871 302

Mini 6 879 844

BMW 2 (F45, F46) (11/13--)
BMW X2 (F39) (11/17--)
Mini Mini Il (09/13--)

316 050 0136/HD MCKO0057HD

N T v ) e \/
N (© @) 7
Q., > \ y </ L 9
Sl b F o
\ Y ooco

Mini 2 785112
Mini 31122785 112
Mini 31 12 6 850 398
Mini 3112 6 879 842
Mini 3112 6 882 844
Mini 6 850 398
Mini 6 879 842
Mini 6 882 844

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info
Mini Mini lll (09/13--)

Mount, axle carrier

Notes
Front
Lower
Rear Axle Left
Rear Axle Right
Rubber-Metal Mount
Height [mm] 48
Inner Diameter [mm] 12
Outer Diameter [mm] 46
Required quantity 2

replacement in pairs recommended

References
BMW 33 326 763 092
BMW (Brilliance) 33 32 6 763 092

Application info

BMW 1 (E81, E82, ES7, E88) (02/03-12/13)
BMW X1 (E84) (03/09-06/15)

Mount, control arm

Notes
Rear Axle Left
Rear Axle Right
without holder
without retaining ring
Height [mm] 60.3
Inner Diameter [mm] 16.1
Outer Diameter [mm] 52
Required quantity 2

replacement in pairs recommended

References
BMW 33 32 6 780 438
BMW (Brilliance) 33 32 6 780 438

Application info
BMW 5 (F07) (01/09-02/17)
BMW 6 (F12, F13) (12/10-10/18)

316 710 0000 MCX0298

e
ORIGINAL
Gttt

BMW 6 763 092
BMW (Brilliance) 6 763 092

BMW 3 (E90, E91, E92, E93) (02/04-12/13)

314 711 0003 MCMO0132

BMW 6 780 438
BMW (Brilliance) 6 780 438

BMW 5 (F10, F11) (01/09-02/17)
BMW 7 (FO1, FO2, FO3, FO4) (02/08-12/15)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Mount, control arm 316 010 4347 MCX0297

Notes

weree
DRIGINAL
Guaud

Rear Axle Left
Rear Axle Right
with accessories
without holder

Height [mm] 68
Inner Diameter [mm] 16
Outer Diameter [mm] 57
Required quantity 2

replacement in pairs recommended

References

BMW 1 090 504 BMW 1 095 631

BMW 2 347 944 BMW 3332 1090504
BMW 33321 095 631 BMW 3332 2 347 944
BMW 33326 750 371 BMW 33326 767 748
BMW 6 750 371 BMW 6 767 748

BMW (Brilliance) 33 32 6 767 748 BMW (Brilliance) 6 767 748

Application info

BMW 5 (E39) (09/95-06/04) BMW 5 (E60, E61) (12/01-12/10)
BMW 6 (E63, E64) (09/03-12/10) BMW 7 (E38) (03/94-11/01)
BMW 7 (E65, E66) (07/01-12/09) BMW X5 (E53) (01/00-12/06)

BMW Z8 (E52) (01/00-12/03)

Mount, control arm 32-14 610 0005 MCB0235

Notes

v
DRIGINAL
Suaud

Front

Front Axle Left
Front Axle Right
Lower

without holder

Height [mm] 59
Inner Diameter [mm] 14
Outer Diameter [mm] 37
Required quantity 2

replacement in pairs recommended

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References

Citroén 16 124 483 80
Citroén 16 127 533 80
Citroén 3520.V0
Citroén 3521.R1
Mitsubishi 4013A009
Mitsubishi 4013A281
Peugeot 16 12 753 380
Peugeot 16 124 484 80
Peugeot 3520.V0
Peugeot 3521.R1

Application info

Citroén C-Crosser (02/07--)
Mitsubishi ASX 1 (11/09--)
Mitsubishi Lancer VIII (03/07--)
Mitsubishi Outlander 11l (11/10--)
Peugeot 4008 (05/12--)

Mount, control arm

Notes
Rear Axle Left
Rear Axle Right
Rubber/Metal
Upper
inner
outer
without holder
Height [mm] 35
Inner Diameter [mm] 36.2
Outer Diameter [mm] 35.7
Required quantity 4

replacement in pairs recommended

References
Citroén 16 074 983 80
Peugeot 16 07 498 380

Application info

Citroén C4 AIRCROSS (08/10--)
Mitsubishi Lancer VII (03/00-12/13)
Mitsubishi Outlander Il (11/06-12/12)
Peugeot 4008 (05/12--)

Citroén 16 124 484 80
Citroén 16 127 535 80
Citroén 3520.X9
Citroén 3521.V0
Mitsubishi 4013A010
Mitsubishi 4013A282
Peugeot 16 124 483 80
Peugeot 16 127 535 80
Peugeot 3520.X9
Peugeot 3521.V0

Citroén C4 AIRCROSS (08/10--)
Mitsubishi Lancer VII (03/00-12/13)
Mitsubishi Outlander Il (11/06-12/12)
Peugeot 4007 (02/07-03/13)

32-14 710 0007 MCBO0523

weree
DRIGINAL
Guaud

Mitsubishi MN184100

Mitsubishi ASX | (11/09--)
Mitsubishi Lancer VIII (03/07--)
Mitsubishi Outlander 11l (11/10--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Mount, control arm

Notes
Carbon Neutral
Front Axle Left
Front Axle Right
Lower
Rear
with holder

Height [mm] 73

Inner Diameter [mm] 22

Replace in pairs only

Required quantity 2

Thread Size M12x1,25

reinforced version

References
Mazda B32H-34 300 Mazda
Mazda B32H-34 350E Mazda

Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda

B32H-34-300B
B32H-34-300D
B32H-34-350A
B32H-34-350C
B37F-34-300A
B37F-34-350A
BP4K-34 300A
BP4K-34 350A
BP4K-34-300D
BP4K-34-350D
C513-34-300

CC30-34 300A
CC30-34 300C
CC30-34 300E
CC30-34 350B
CC30-34 350D
CD99-34-300A

Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda
Mazda

Application info
Mazda 3 (BK) (09/99-12/09)
Mazda 5 (CW) (06/10--)

Mazda

35-14 610 0009/HD MCMO0079HD

B32H-34 350

B32H-34-300A
B32H-34-300C
B32H-34-300E
B32H-34-350B
B32H-34-350D
B37F-34-300B
B37F-34-350B
BP4K-34 300B
BP4K-34 350B
BP4K-34-350C
BP4K-34-350E
C513-34-350

CC30-34 300B
CC30-34 300D
CC30-34 350A
CC30-34 350C
CC30-34 350E
CD99-34-350A

5 (CR) (02/05-12/10)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Mount, control arm 35-14 610 0018 MCBO0461

Notes
y

Front Axle Left
Front Axle Right
Rear

without holder

Height [mm] 78
Inner Diameter [mm] 145
Outer Diameter [mm] 60
Required quantity 2

replacement in pairs recommended

References

Ford 3L84-3A423-AC Ford 3L84-3A424-AC

Ford 4 133 882 Ford 4133883

Ford 4 484 852 Ford 4 484 853

Ford 4631871 Ford 4631878

Ford 4 763 903 Ford 4 763 905

Ford 4L84-3A423-AA Ford 4L84-3A423-AB

Ford 4L84-3A424-AA Ford 4L84-3A424-AB

Ford YL843-A423H-AA Ford YL843-A424H-AA
Mazda ECO01-34-300F Mazda ECO01-34-300G
Mazda EC01-34-300H Mazda EC01-34-300J

Mazda EC01-34-300K Mazda EC01-34-300L
Mazda EC01-34-300M Mazda EC01-34-300N
Mazda ECO01-34-350F Mazda ECO01-34-350G
Mazda EC01-34-350H Mazda ECO01-34-350J

Mazda EC01-34-350K Mazda EC01-34-350L
Mazda ECO01-34-350M Mazda EC01-34-350N

Mazda ECO04-34 300G

Application info
Ford Maverick Il (02/01--) Mazda Tribute | (EP) (03/00-05/08)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



MEYLE

DRIVER’S BEST FRIEND

Mount, control arm 35-14 610 0025 MCBO0541

Notes
Front “u
Front Axle Left -
Front Axle Right
Rubber/Metal
Upper
without holder

Height [mm] 54

Inner Diameter [mm] 14

Outer Diameter [mm] 40

Required quantity 2

replacement in pairs recommended

References
Mazda D10E-34-300 Mazda D10E-34-300A
Mazda D10E-34-300B Mazda D10E-34-350

Mazda D10E-34-350A Mazda D10E-34-350B
Application info
Mazda CX-3 (DK) (01/15--)

Mount, control arm 35-14 610 0026 MCB0542

Notes

WErLe
ORIGINAL
Cuad

Front Axle Left
Front Axle Right

Rear
Rubber/Metal
Upper
without holder
Height [mm] 62
Inner Diameter [mm] 21
Outer Diameter [mm] 80
Required quantity 2
replacement in pairs recommended
References
Mazda D10E-34-300 Mazda D10E-34-300A
Mazda D10E-34-300B Mazda D10E-34-350

Mazda D10E-34-350A Mazda D10E-34-350B

Application info
Mazda CX-3 (DK) (01/15--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Mount, control arm 35-14 710 0004 MCMO0193

Notes
-

Rear Axle Left
Rear Axle Right
without holder

Height [mm)] 55
Inner Diameter [mm] 12
Outer Diameter [mm] 43
Required quantity 2

replacement in pairs recommended

References
Mazda KD35-28-500

Application info
Mazda CX-51(KE) (11/11-02/17)

Mount, control arm 36-14 610 0009 MCBO0248

Notes
Front ,..,:"
Front Axle Left

Front Axle Right

without holder

Length [mm] 115
Outer Diameter [mm] 33
Required quantity 2

replacement in pairs recommended

References

Nissan 54500-BB00A Nissan 54500-BR30A
Nissan 54500-JD000 Nissan 54500-JGOOA
Nissan 54500-JG00B Nissan 545004CAOA
Nissan 54501-BBO0A Nissan 54501-BR30A
Nissan 54501-JD000 Nissan 54501-JDO0A
Nissan 54501-JG000 Nissan 54501-JG00B
Renault 54501JY00A Renault 545040445R

Renault 545055212R

Application info
Nissan Qashqgai | (J10_) (12/06-04/14) Nissan X-Trail (T31) (03/07-12/18)
Nissan X-Trail (T32) (10/13--) Renault Koleos | (09/08--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Mount, control arm

Notes

Height [mm]

Inner Diameter [mm]
Outer Diameter [mm]
Replace in pairs only
Required quantity
reinforced version

References

Nissan 54500-1KA0A
Nissan 54500-BBO0A
Nissan 54500-JD000
Nissan 54501-1KA0A
Nissan 54501-1KA1B
Nissan 54501-BR30A
Nissan 54501-JG000
Renault 54501JY00A
Renault 545055212R

Application info

Nissan Juke (F15) (06/10--)

Nissan Qashqai | (J10_) (12/06-04/14)
Renault Koleos | (09/08--)

Mount, control arm

Notes

Height [mm]

Inner Diameter [mm]

Outer Diameter [mm]

Required quantity

replacement in pairs recommended

Carbon Neutral
Front Axle Left
Front Axle Right
Lower

Rear

without holder
53

12

58

Front

Front Axle Left
Front Axle Right
without holder
45

12

44.5

36-14 610 0010/HD MCBO0249HD

Nissan 54500-1KA0B
Nissan 54500-BR30A
Nissan 54500-JG000
Nissan 54501-1KA0B
Nissan 54501-BBO0A
Nissan 54501-JD000
Nissan 54501-JG00B
Renault 545040445R

Nissan Leaf | (ZEO) (11/10--)
Nissan X-Trail (T31) (03/07-12/18)

36-14 610 0024 MCBO477

were
ORIGINAL
Punet

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References

Nissan 54500-1HAQC
Nissan 54500-1HA5D
Nissan 54501-1HAO0C
Nissan 54501-1HA5D

Application info
Nissan Micra (K13) (05/10--)

Mount, control arm

Notes

Height [mm]

Inner Diameter [mm]
Outer Diameter [mm]
Required quantity

replacement in pairs recommended

References

Nissan 54500-1HAOC
Nissan 54500-1HA5D
Nissan 54501-1HAOC
Nissan 54501-1HA5D

Application info
Nissan Micra (K13) (05/10--)

Mount, control arm

Notes

Height [mm]

Inner Diameter [mm]
Outer Diameter [mm]
Required quantity

replacement in pairs recommended

Front Axle Left
Front Axle Right
Rear

without holder
50

19

53

2

Front

Front Axle Left
Front Axle Right
without holder
49

14

50

2

Nissan
Nissan
Nissan
Nissan

Nissan

Nissan
Nissan
Nissan
Nissan

Nissan

54500-1HAS5A
54500-1HAGA
54501-1HA5A
54501-1HAGA

Note Il (09/12--)

36-14 610 0025 MCBO0478

54500-1HA5A
54500-1HAGA
54501-1HA5A
54501-1HAGA

Note Il (09/12--)

e’
DRIGINAL
Puaid

36-14 610 0026 MCBO0359

e
ORIGINAL
Guautd

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References

Nissan 54500-1KA0A
Nissan 54500-1KA1B
Nissan 54501-1KA0B

Application info
Nissan Juke (F15) (06/10--)

Mount, control arm

Notes

Height [mm]

Inner Diameter [mm]

Outer Diameter [mm]

Required quantity

replacement in pairs recommended

References
Hyundai 54584-1G000

Application info
Hyundai Accent lll (11/05-12/12)

Mount, control arm

Notes

Height [mm]

Inner Diameter [mm]

Outer Diameter [mm]

Required quantity

replacement in pairs recommended

Front Axle Left
Front Axle Right
Lower

Rear

without holder
60

14

66

2

Front

Front Axle Left
Front Axle Right
Lower

without holder
54

12

33

2

Nissan 54500-1KA0B
Nissan 54501-1KA0A
Nissan 54501-1KA1B

Nissan Leaf | (ZEO) (11/10--)

37-14 610 0017 MCBO0259

Kia 54584 1G000

Kia Rio Il (03/05--)

et
ORIGINAL
Puaid

37-14 610 0018 MCBO0260

e

Puaid

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

DRIGINAL



DRIVER’S BEST FRIEND MEY/LE

References

Hyundai 54551-07000 Hyundai 54551-1E000
Hyundai 54551-2K000 Kia 54551 07001

Kia 54551 1E000 Kia 54551 2K000

Kia 54551-07000

Application info

Hyundai Accent lll (11/05-12/12) Hyundai i101 (10/07--)
Hyundai ix20 (11/10--) Kia Picanto | (04/04--)
Kia Rioll (03/05--) Kia Soul |l (01/09--)

Kia Venga (02/10--)

Mount, control arm 37-14 610 0028 MCBO0504

Notes

e
ORIGINAL
Gttt

Front

Front Axle Left
Front Axle Right
without holder

Height [mm] 55
Inner Diameter [mm] 12
Outer Diameter [mm] 38
Required quantity 2

replacement in pairs recommended

References
Hyundai 54551-2S000 Kia 54551-2S000

Application info
Hyundai Tucson | (06/04--) Hyundai ix35 (08/09--)
Kia Sportage Il (09/09--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Mount, control arm

Notes

Height [mm]

Inner Diameter [mm]

Outer Diameter [mm]

Required quantity

replacement in pairs recommended

References
Hyundai 54584-F2000

Application info
Hyundai Elantra VI (09/15--)

Mount, control arm

Notes

Height [mm]

Inner Diameter [mm]

Outer Diameter [mm]

Required quantity

replacement in pairs recommended

References
Hyundai 54500-3Z700
Hyundai 54551-3X000

37-14 610 0034 MCBO0517

WeVLE
ORIGINAL
et

Front Axle Left
Front Axle Right
Lower

Rear

inner

without holder

60
14.1
70.5
2
Hyundai Konal (06/17--)
37-14 610 0035 MCBO0518
Front =3

Gt

Front Axle Left
Front Axle Right
Lower

inner

without holder
54

12

39

2

Hyundai 54501-3Z700
Kia 54551 3X000

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Application info

Hyundai Creta | (01/16--) Hyundai Creta Il (SU2_) (03/20--)
Hyundai ElantraV (09/10--) Hyundai Elantra VI (09/15--)
Hyundai Elantra VII (03/20--) Hyundai loniq (AE) (03/16--)
Hyundai Konal (06/17--) Hyundai Kona Il (04/23--)
Hyundai Veloster | (03/11-12/17) Hyundai i30 1l (06/11--)

Hyundai i30 Il (11/16--) Hyundai 40 (07/11--)

Kia Cee'd Il (05/12--) Kia Cee'd lll (03/12--)

Kia Ceed IV (03/18--) Kia Cerato Ill (YD) (09/12--)

Kia Cerato IV (BD, BDM) (02/18--) Kia Niro | (DE) (09/16--)

Kia Soul Il (SK3) (01/19--)

Mount, control arm 37-14 711 0002 MCMO0143

Notes

were
ORIGINAL
Gttt

Rear Axle Left
Rear Axle Right
without holder

Height [mm] 59
Inner Diameter [mm] 14
Outer Diameter [mm] 44
Required quantity 2

replacement in pairs recommended

References
Hyundai 55130-3U000 Hyundai 55130-4D000
Kia 55130 3U000 Kia 55130 4D000

Application info

Hyundai Elantra IV (09/05--) Hyundai Genesis| (01/08--)
Hyundai GrandeurV (01/11--) Hyundai Santa Fé lll (09/12--)
Hyundai Sonata VII (06/14--) Hyundai Sonata VIII (03/19--)
Hyundai Staria (US4) (01/21--) Hyundai i30 1 (10/07-06/12)
Hyundai i30 Il (11/16--) Hyundai i40 (07/11--)
Hyundai ix55 (09/06--) Kia Carens Il (07/02--)

Kia Carens Ill (05/06--) Kia Carnival Ill (09/05--)

Kia Cee'd| (12/06-02/13) Kia Magentis Il (10/05--)

Kia Optima (01/10--) Kia Optima IV (09/15--)

Kia Sorento Il (06/09--) Kia Sorento Il (01/15--)

Kia Sportage Il (09/09--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Mount, wheel bearing housing

Notes
Rear Axle Left
Rear Axle Right
Height [mm] 57
Inner Diameter [mm] 12
Outer Diameter [mm] 45
Required quantity 2

replacement in pairs recommended

References

BMW 1 138 722

BMW 33 30 6 852 895

BMW 33 321 140 345

BMW 6 775 551

BMW (Brilliance) 33 32 6 775 551

Application info

BMW 3 (E36) (09/90-08/00)
BMW Z4 (E85) (09/02-12/09)
BMW 74 (E89) (02/09-08/16)

Mount, wheel bearing housing

Notes
Lower
Rear Axle Left
Rear Axle Right
Height [mm] 67
Inner Diameter [mm] 16
Outer Diameter [mm] 52
Required quantity 2

replacement in pairs recommended

References
BMW 33 326 770 985

Application info
BMW X5 (E70) (02/06-07/13)
BMW X6 (E71) (06/07-07/14)

316 010 0004 MCX0295

weree
DRIGINAL
Guaud

BMW 1 140 345
BMW 33321138722
BMW 33326 775551
BMW 6 852 895

BMW (Brilliance) 6 775 551

BMW 3 (E46) (12/97-12/07)
BMW Z4 (E86) (03/06-01/09)

316 010 0012 MCX0296

weree
DRIGINAL
Guaud

BMW 6 770 985

BMW X5 (F15) (08/13-07/18)
BMW X6 (F16) (08/14-07/19)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Mount, wheel bearing housing 316 710 0001 MCX0299

Notes
Rear Axle Left ni;:in
Rear Axle Right -
outer

Height [mm)] 55

Inner Diameter [mm] 14

Outer Diameter [mm] 47

Required quantity 2

replacement in pairs recommended

References

BMW 2 406 293 BMW 33 32 2 406 293

BMW 33 32 6 756 249 BMW 33326 775 552

BMW 33326 792 553 BMW 6 756 249

BMW 6 775 552 BMW 6 792 553

BMW (Brilliance) 2 406 293 BMW (Brilliance) 33 32 2 406 293

BMW (Brilliance) 33 32 6 756 249 BMW (Brilliance) 33 32 6 775 552

BMW (Brilliance) 6 756 249 BMW (Brilliance) 6 775 552

Application info

BMW 1 (E81, E82, E87, E88) (02/03-12/13) BMW 1 (F20, F21) (07/11--)

BMW 2 (F22,F23) (10/12--) BMW 3 (E90, E91, E92, E93) (02/04-12/13)

BMW 3 (F30, F31) (11/11-06/19) BMW 3 (F34) (07/12--)

BMW 3 (G20, G21) (11/18--) BMW 4 (F32, F33, F36) (07/13--)

BMW 4 (G22, G23, G26) (07/20--) BMW X1 (E84) (03/09-06/15)

BMW X3 (F25) (09/10-08/17) BMW X4 (F26) (05/13-03/18)

BMW i8 (03/14-06/20)

Repair kit, stub axle 316 754 0001 MCX0653

Notes
Rear Axle Left ‘ ' "'E;E"
Rear Axle Right -
with mounting sleeves ‘ ‘

Required quantity 2

replacement in pairs recommended

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

BMW 1 090 504 BMW 1 095 631

BMW 33321 090 504 BMW 33321095 631
BMW 33326 750 371 BMW 33326 767 748
BMW 6 750 371 BMW 6 767 748

BMW (Brilliance) 33 32 6 767 748 BMW (Brilliance) 6 767 748

Application info

BMW 5 (E39) (09/95-06/04) BMW 5 (E60, E61) (12/01-12/10)
BMW 6 (E63, E64) (09/03-12/10) BMW 7 (E38) (03/94-11/01)
BMW 7 (E65, E66) (07/01-12/09) BMW X5 (E53) (01/00-12/06)

BMW Z8 (E52) (01/00-12/03)

Rod/strut, suspension 316 035 0000 MSRO0081

Notes

Aluminium CRIBINAL

Front p @
Guide Rod /‘J

Rear Axle Left
Rear Axle Right

Upper

with rubber mount
Length [mm] 212
Required quantity 2
Thread Size M10x1,5

replacement in pairs recommended

References

BMW 1095 414 BMW 33321095414
BMW 33 32 6 768 269 BMW 33326 770 742
BMW 33326 774 796 BMW 6 768 269

BMW 6 770 742 BMW 6 774 796

Application info
BMW X5 (E53) (01/00-12/06)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Rod/strut, suspension 316 035 0001 MSRO0082

Notes
Aluminium o
ot
Guide Rod &,

Rear Axle Left

Rear Axle Right @ ‘_____,,..____m__é

Upper -
with rubber mount

Length [mm] 212

Required quantity 2

Thread Size M10x1,5

replacement in pairs recommended

References

BMW 0 300 946 BMW 0 398 361

BMW 0 403 294 BMW 0 414 345

BMW 0421 750 BMW 1 096 797

BMW 2 282 065 BMW 2 348 886

BMW 2 779 820 BMW 33 32 0 300 946
BMW 33 32 0 398 361 BMW 33 32 0403 294
BMW 33 32 0414 345 BMW 33 320421 750
BMW 33 321 096 797 BMW 33 32 2 282 065
BMW 33 32 2 348 886 BMW 33322 779 820
BMW 33 326 763 324 BMW 33 326 768 268
BMW 33326 770 753 BMW 33326 774 795
BMW 33326 777 424 BMW 6 763 324

BMW 6 768 268 BMW 6 770 753

BMW 6 774 795 BMW 6 777 424

Application info
BMW 5 (E39) (09/95-06/04) BMW 5 (E60, E61) (12/01-12/10)
BMW 6 (E63, E64) (09/03-12/10) BMW 7 (E65, E66) (07/01-12/09)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Rod/strut, suspension

Notes

Length [mm]
Paired article number
Required quantity

Aluminium

Guide Rod

Rear Axle Left

Upper

with rubber mount

212

316 035 0011 | MSR0084
1

316 035 0010 MSRO0083

weree
DRIGINAL
Guaud

Thread Size M12x1,5

replacement in pairs recommended

References

BMW 2 348 885 BMW 33 32 2 348 885

BMW 33326 775 083 BMW 6 775 083

Application info

BMW 5 (E60, E61) (12/01-12/10) BMW 6 (E63, E64) (09/03-12/10)

BMW 7 (E65, E66) (07/01-12/09)

Rod/strut, suspension 316 035 0011 MSRO0084

Notes
Aluminium "'i;i"
Guide Rod -
Rear Axle Right
Upper
with rubber mount

Length [mm] 212

Paired article number 316 035 0010 | MSR0083

Required quantity 1

Thread Size M12x1,5

replacement in pairs recommended

References

BMW 2 348 884 BMW 33 32 2 348 884

BMW 33326 775 084 BMW 6 775 084

Application info
BMW 5 (E60, E61) (12/01-12/10)
BMW 7 (E65, E66) (07/01-12/09)

BMW 6 (E63, E64) (09/03-12/10)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Rod/strut, suspension

Notes

Length [mm]

Paired article number

Required quantity

replacement in pairs recommended

References
BMW 33 32 6 792 540
BMW (Brilliance) 33 32 6 792 540

Application info

BMW 1 (F20, F21) (07/11--)
BMW 3 (F30, F31) (11/11-06/19)
BMW 4 (F32, F33, F36) (07/13--)

Rod/strut, suspension

Notes

Length [mm]

Paired article number

Required quantity

replacement in pairs recommended

References
BMW 33 326 792 539
BMW (Brilliance) 33 32 6 792 539

316 035 0013/S MSRO0129

e’

Front o
Guide Rod y
Rear Axle Right
Sheet Steel
Upper

with accessories

with rubber mount

245
316 035 0014/S | MSR0130
1

BMW 6 792 540

BMW (Brilliance) 6 792 540

BMW 2 (F22,F23) (10/12--)

BMW 3 (F34) (07/12--)

316 035 0014/S MSR0130

Front "i;E"
Guide Rod
Rear Axle Left
Sheet Steel
Upper

with accessories

with rubber mount

245

316 035 0013/S | MSR0129
1

BMW 6 792 539
BMW (Brilliance) 6 792 539

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info

BMW 1 (F20, F21) (07/11--)
BMW 3 (F30, F31) (11/11-06/19)
BMW 4 (F32, F33, F36) (07/13--)

Rod/strut, suspension

Notes

Length [mm]

Paired article number

Required quantity

replacement in pairs recommended

References
BMW 33 326 792 544
BMW (Brilliance) 33 32 6 792 544

Application info

BMW 1 (F20, F21) (07/11--)
BMW 3 (F30, F31) (11/11-06/19)
BMW 4 (F32, F33, F36) (07/13--)

Rod/strut, suspension

Notes

Length [mm]

Paired article number

Required quantity

replacement in pairs recommended

BMW 2 (F22,F23) (10/12--)
BMW 3 (F34) (07/12--)

316 035 0015/S MSRO0131

Guide Rod ...i:in
Rear -
Rear Axle Right
Sheet Steel

Upper

with accessories
with rubber mount

290
316 035 0016/S | MSR0132
1

BMW 6 792 544

BMW (Brilliance) 6 792 544

BMW 2 (F22,F23) (10/12--)

BMW 3 (F34) (07/12--)

316 035 0016/S MSRO0132

Guide Rod
Rear
Rear Axle Left
Sheet Steel
Upper
with accessories e & 6
with rubber mount
290
316 035 0015/S | MSR0131
1

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References
BMW 33 326 792 543
BMW (Brilliance) 33 32 6 792 543

Application info

BMW 1 (F20, F21) (07/11--)
BMW 3 (F30, F31) (11/11-06/19)
BMW 4 (F32, F33, F36) (07/13--)

Rod/strut, suspension

Notes

Length [mm]
Required quantity
replacement in pairs recommended

References
BMW 33 326 792 533
BMW (Brilliance) 33 32 6 792 533

Application info

BMW 1 (F20, F21) (07/11--)
BMW 3 (F30, F31) (11/11-06/19)
BMW 4 (F32, F33, F36) (07/13--)

Rod/strut, suspension

Notes

Length [mm]
Required quantity
replacement in pairs recommended

Guide Rod

Lower

Rear

Rear Axle Left
Rear Axle Right
Sheet Steel

with rubber mount
440

2

Front

Guide Rod

Lower

Rear Axle Left
Rear Axle Right
Sheet Steel

with rubber mount
330

2

BMW 6 792 543
BMW (Brilliance) 6 792 543

BMW 2 (F22,F23) (10/12--)
BMW 3 (F34) (07/12--)

316 0350017 MSRO0135

e’
DRIGINAL
Poaured

e

BMW 6 792 533
BMW (Brilliance) 6 792 533

BMW 2 (F22,F23) (10/12--)
BMW 3 (F34) (07/12--)

316 0350018 MSRO0136

wErLe
ORIGINAL
Gttt

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References
BMW 33 326 792 525 BMW 6 792 525
BMW (Brilliance) 33 32 6 792 525 BMW (Brilliance) 6 792 525

Application info

BMW 1 (F20, F21) (07/11--) BMW 2 (F22,F23) (10/12--)
BMW 3 (F30, F31) (11/11-06/19) BMW 3 (F34) (07/12-)
BMW 4 (F32, F33, F36) (07/13--) Opel Mokka A (06/12--)

Vauxhall Mokka A (06/12--)

Rod/strut, suspension 316 035 0019 MSR0144

Notes
Guide Rod
Rear Axle Left -
Upper

Length [mm] 331

Paired article number 316 035 0020 | MSR0145

Required quantity 1

replacement in pairs recommended

References

BMW 33326 861 115 BMW 33 32 6 870 535
BMW 33 32 6 883 339 BMW 6 861 115

BMW 6 870 535 BMW 6 883 339

Application info

BMW 5 (G30, G31) (09/16--) BMW 7 (G11, G12) (07/15--)
BMW 8 (G15) (07/18--) BMW 8 Gran Coupe (G16) (07/19--)
Rod/strut, suspension 316 035 0020 MSR0145
Notes
Guide Rod ..i;:in
Rear Axle Right
Upper = = %
Length [mm] 331 @ /wﬁ&
Paired article number 316 035 0019 | MSR0144 ' —
Required quantity 1

replacement in pairs recommended

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References

BMW 33 326 861 116
BMW 33 32 6 883 340
BMW 6 870 536

Application info
BMW 5 (G30, G31) (09/16--)
BMW 8 (G15) (07/18--)

Rod/strut, suspension

Notes

Length [mm]
Required quantity
Thread Size

replacement in pairs recommended

References

BMW 1 090 745

BMW 33 32 1 090 745
BMW 33326 768 791

Application info
BMW 5 (E39) (09/95-06/04)

Rod/strut, suspension

Notes

Length [mm]
Required quantity

replacement in pairs recommended

Aluminium

Guide Rod

Rear Axle Left
Rear Axle Right
Upper

with rubber mount
211

2

M10x1,5

Front

Guide Rod

Rear Axle Left
Rear Axle Right
Sheet Steel
Upper

with rubber mount
241

2

BMW 33 326 870 536
BMW 6 861 116
BMW 6 883 340

BMW 7 (G11, G12) (07/15--)
BMW 8 Gran Coupe (G16) (07/19--)

316 039 3807 MSRO0086

e’
DRIGINAL
Poaured

BMW 1 097 264
BMW 33321097 264
BMW 6 768 791

BMW 7 (E38) (03/94-11/01)

316 050 0024 MSRO0087

were
DRIGINAL
Suatd

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

BMW 2 406 288 BMW 2 406 289

BMW 2 409 890 BMW 33 32 2 406 288

BMW 33 32 2 406 289 BMW 33 32 2 409 890

BMW 33 32 6 765 425 BMW 33 32 6 765 535

BMW 33 32 6 782 237 BMW 33 326 782 238

BMW 6 765 425 BMW 6 765 535

BMW 6 782 237 BMW 6 782 238

BMW (Brilliance) 33 32 6 782 237 BMW (Brilliance) 33 32 6 782 238
BMW (Brilliance) 6 782 237 BMW (Brilliance) 6 782 238

Application info
BMW 1 (E81, E82, E87, E88) (02/03-12/13) BMW 3 (E90, E91, E92, E93) (02/04-12/13)
BMW X1 (E84) (03/09-06/15)

Rod/strut, suspension 316 050 0025 MSRO0088

Notes
ey
2

Guide Rod
Rear Axle Left
Rear Axle Right

Sheet Steel
Upper
with rubber mount
Length [mm] 274
Required quantity 2

replacement in pairs recommended

References

BMW 2 406 292 BMW 33 32 2 406 292

BMW 33326 763 473 BMW 33326 777 980

BMW 3452 6 778 469 BMW 6 763 473

BMW 6 777 980 BMW 6 778 469

BMW (Brilliance) 33 32 6 763 473 BMW (Brilliance) 33 326 777 980
BMW (Brilliance) 6 763 473 BMW (Brilliance) 6 777 980

Application info
BMW 1 (E81, E82, E87, E88) (02/03-12/13) BMW 3 (E90, E91, E92, E93) (02/04-12/13)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Rod/strut, suspension

Notes
Guide Rod
Rear
Rear Axle Left
Rear Axle Right
Sheet Steel
Upper
with rubber mount

Length [mm] 413

Required quantity 2

replacement in pairs recommended

References

BMW 2 406 290

BMW 33 32 2 406 290

BMW 33326 763471

BMW (Brilliance) 33 32 6 763 471

Application info
BMW 1 (E81, E82, E87, E88) (02/03-12/13)
BMW X1 (E84) (03/09-06/15)

Rod/strut, suspension

Notes
Front
Guide Rod
Lower
Rear Axle Left
Rear Axle Right
Length [mm] 343
Required quantity 2
replacement in pairs recommended

References
BMW 33 30 6 893 528
BMW 6 861 114

Application info

BMW 5 (G30, G31) (09/16--)
BMW 6 (G32) (06/17--)
BMW 8 (G15) (07/18--)

316 050 0026 MSRO0089

weree
DRIGINAL
Guaud

BMW 2 409 892

BMW 33 32 2 409 892
BMW 6 763 471

BMW (Brilliance) 6 763 471

BMW 3 (E90, E91, E92, E93) (02/04-12/13)

316 050 0145 MSRO0151

e
DRIGINAL
Cuad

BMW 33326861 114
BMW 6 893 528

BMW 5 (G60,G61) (07/23--)
BMW 7 (G11, G12) (07/15--)
BMW 8 Gran Coupe (G16) (07/19--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Rod/strut, suspension

Notes

Length [mm]
Paired article number
Required quantity

Front

Guide Rod

Rear Axle Right

Upper

267

316 050 0147 | MSR0147
1

316 050 0146 MSRO0146

weree
DRIGINAL
Guaud

replacement in pairs recommended

References
BMW 33 32 6 867 538 BMW 6 867 538

Application info

BMW 5 (G30, G31) (09/16--)

BMW 7 (G11, G12) (07/15--)

BMW 8 Gran Coupe (G16) (07/19--)

BMW 6 (G32) (06/17--)
BMW 8 (G15) (07/18-)

Rod/strut, suspension 316 050 0147 MSRO0147

Notes
Front ni;En
Guide Rod -
Rear Axle Left
Upper

Length [mm] 267

Paired article number 316 050 0146 | MSR0146

Required quantity 1

replacement in pairs recommended

References

BMW 33 326 867 537 BMW 6 867 537

Application info

BMW 5 (G30, G31) (09/16--)

BMW 7 (G11, G12) (07/15--)

BMW 8 Gran Coupe (G16) (07/19--)

BMW 6 (G32) (06/17--)
BMW 8 (G15) (07/18--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Rod/strut, suspension

Notes
Guide Rod
Lower
Rear Axle Left
Rear Axle Right
Sheet Steel
with rubber mount

Length [mm] 557

Required quantity 2

replacement in pairs recommended

References

BMW 1092 237

BMW 1 136 728

BMW 2 294 284

BMW 33 30 3411 651

BMW 33321 136 136

BMW 33 321 138 380

BMW 33326 760 675

BMW 6 760 675

BMW (Brilliance) 33 326 770 813

Application info

BMW 3 (E36) (09/90-08/00)

BMW X3 (E83) (01/03-12/11)

BMW Z4 (E85) (09/02-12/09)

BMW Z4 (E89) (02/09-08/16)

Rod/strut, suspension

Notes
Guide Rod
Rear Axle Left
Rear Axle Right
Steel
with rubber mount

Length [mm] 50

Required quantity 2

replacement in pairs recommended

316 050 2100 MSRO0090

weree
DRIGINAL
Guaud

BMW 1 136 136

BMW 1 138 380

BMW 3411 651

BMW 33321 092 237
BMW 33321136 728
BMW 33322294 284
BMW 33326 770813
BMW 6 770 813

BMW (Brilliance) 6 770 813

BMW 3 (E46) (12/97-12/07)
BMW Z1 (06/88-06/91)
BMW Z4 (E86) (03/06-01/09)

316 060 4225 MSRO0091

wErLe
ORIGINAL
Gttt

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References

BMW 1 123 463
BMW 1 126 476
BMW 33 321 125 665

Application info

BMW 5 (E28) (05/81-12/87)
BMW 6 (E24) (10/75-04/89)
BMW 7 (E32) (03/85-10/94)

Rod/strut, suspension

Notes
Pull Rod
Rear Axle Left
Rear Axle Right
Sheet Steel
Length [mm] 165.5
Required quantity 2
replacement in pairs recommended
References
Mitsubishi 4117A007
Application info
Mitsubishi Lancer VII (03/00-12/13)
Mitsubishi Outlander Il (11/06-12/12)
Rod/strut, suspension
Notes
Front
Guide Rod
Lower
Rear Axle Left
Rear Axle Right
Length [mm] 235.6
Required quantity 2

replacement in pairs recommended

References
Hyundai 55250-D7000

BMW 1 125 665
BMW 33321123 463
BMW 33321126 476

BMW 5 (E34) (02/87-07/96)
BMW 7 (E23) (05/77-04/88)

32-16 035 0000 MSRO0142

v
DRIGINAL
Suaud

Mitsubishi Lancer VIII (03/07--)

37-16 050 0093 MSRO0148

were
ORIGINAL
Gttt

Kia 55250 D7000

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info
Hyundai Tucson Il (05/15--)
Kia Sportage IV (09/15--)

Stabilizer link

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
BMW 33 506 781 538
BMW 6 757 460

Application info
BMW 7 (E65, E66) (07/01-12/09)

Stabilizer link

Notes

Length [mm]
Required quantity
Thread Size 1
Thread Size 2
reinforced version

replacement in pairs recommended

References
BMW 2 227 203
Land Rover 6H525C486AB

Hyundai ix35 (08/09--)

316 060 0000/HD MSLO0305HD

Carbon Neutral

Coupling Rod
I"E‘“ H

Rear Axle Left

Rear Axle Right

for vehicles without active stabiliser control
with spanner attachment

207

2

M10x1,5

M12x1,5

BMW 3355 6 757 460
BMW 6 781 538

316 060 0001/HD MSLO0306HD

Carbon Neutral HD
Coupling Rod

with spanner attachment

231

2

M10x1,5

M10x1,5

BMW 31352 227 203
Land Rover LR002876

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info
BMW 3 (E36) (09/90-08/00)
Land Rover Freelander Il (10/06-12/15)

Stabilizer link

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
BMW 1 092 304
BMW 31 351 092 304

Application info
BMW 5 (E39) (09/95-06/04)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

BMW 31 30 6 781 545
BMW 31 356 778 069
BMW 6 778 069

BMW Z3 (E36/7, E36/8) (10/95-06/03)
Land Rover Range Rover Evoque | (06/11-12/19)

316 060 0002/HD MSL0307HD

Carbon Neutral
Coupling Rod

Front Axle Left

Front Axle Right

with spanner attachment
285

2

M10x1,5

M10x1,5

BMW 1 095 664
BMW 31 351 095 664

316 060 0003/HD MSLO0308HD

Carbon Neutral

Coupling Rod

Front Axle Left

426

316 060 0004/HD | MSLO309HD
1

M10x1,5

M10x1,5

BMW 31 356 753 767
BMW 6 753 767
BMW 6 781 545

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Application info
BMW 7 (E65, E66) (07/01-12/09)

Stabilizer link 316 060 0004/HD MSLO0309HD

Carbon Neutral

Coupling Rod
Front Axle Right

Length [mm] 426 '\@ ‘

Notes

Paired article number 316 060 0003/HD | MSLO308HD
Required quantity 1

Thread Size 1 M10x1,5

Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References

BMW 31 30 6 781 546 BMW 31 356 753 768
BMW 31356 778 070 BMW 6 753 768

BMW 6 778 070 BMW 6 781 546

Application info
BMW 7 (E65, E66) (07/01-12/09)

Stabilizer link 316 060 0005/HD MSL0310HD
Notes
Carbon Neutral
Coupling Rod
Front Axle Left C
with spanner attachment ‘—s
Length [mm] 358
Paired article number 316 060 0006/HD | MSLO311HD
Required quantity 1
Thread Size 1 M12x1,5
Thread Size 2 M12x1,5

reinforced version
replacement in pairs recommended

References
BMW 31 356 750 703 BMW 6 750 703

Application info
BMW X5 (E53) (01/00-12/06)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 316 060 0006/HD MSLO0311HD
Notes
Carbon Neutral I;IIEI
Coupling Rod
Front Axle Right e
with spanner attachment ‘_&
Length [mm] 358
Paired article number 316 060 0005/HD | MSL0O310HD
Required quantity 1
Thread Size 1 M12x1,5
Thread Size 2 M12x1,5

reinforced version
replacement in pairs recommended

References
BMW 31 356 750 704 BMW 6 750 704

Application info
BMW X5 (E53) (01/00-12/06)

Stabilizer link 316 060 0007/HD MSLO0312HD

Carbon Neutral

Coupling Rod
Front Axle Left

Front Axle Right ‘ ‘
with spanner attachment

Notes

Length [mm] 240
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
BMW 1 701 066 BMW 31 351 701 066

Application info
BMW 3 (E30) (09/82-10/94)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes
Carbon Neutral
Coupling Rod
Rear Axle Left
Rear Axle Right
with spanner attachment

Length [mm] 65

Required quantity 2

Thread Size 1 M12x1,5

Thread Size 2 M12x1,5

reinforced version
replacement in pairs recommended

References
BMW 1 096 735

Application info
BMW X5 (E53) (01/00-12/06)

Stabilizer link
Notes
Carbon Neutral
Coupling Rod
Front Axle Left
with spanner attachment
Length [mm] 308
Paired article number 316 060 0010/HD | MSLO315HD
Required quantity 1
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References

BMW 31356 751 079 BMW 6 751 079

Application info
BMW 3 (E46) (12/97-12/07)

316 060 0009/HD

316 060 0008/HD MSLO0313HD

BMW 33551096 735

MSL0314HD

i

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 316 060 0010/HD MSLO0315HD

Notes
Carbon Neutral HD
Coupling Rod
Front Axle Right

with spanner attachment é ’\

Length [mm] 308

Paired article number 316 060 0009/HD | MSL0314HD
Required quantity 1

Thread Size 1 M10x1,5

Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
BMW 31 356 751 080 BMW 6 751 080

Application info
BMW 3 (E46) (12/97-12/07)

Stabilizer link 316 060 0011/HD MSLO0316HD

Carbon Neutral

Coupling Rod

Rear Axle Left

Rear Axle Right

with spanner attachment

Notes

Length [mm] 95
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References

BMW 3412 794 BMW 3413 197

BMW 3414 297 BMW 3350 3412 794
BMW 3350 3413 197 BMW 33 50 3 414 297

Application info
BMW X3 (E83) (01/03-12/11)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 316 060 0012/HD MSLO0317HD

Notes
Carbon Neutral HD
Coupling Rod
Rear Axle Left
Rear Axle Right

for vehicles without Adaptive Drive llf‘ilﬁfl
with spanner attachment
Length [mm] 158
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M12x1,5
reinforced version
replacement in pairs recommended
References
BMW 3350 6 781 540 BMW 33556 761 000
BMW 6 761 000 BMW 6 781 540
BMW (Brilliance) 33 50 6 781 540 BMW (Brilliance) 6 781 540
Application info
BMW 5 (E60, E61) (12/01-12/10) BMW 6 (E63, E64) (09/03-12/10)
Stabilizer link 316 060 0013/HD MSLO0318HD
Notes
Carbon Neutral
Coupling Rod
Front Axle Left = e
Length [mm] 300 M
Paired article number 316 060 0014/HD | MSLO319HD
Required quantity 1
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References

BMW 2 347 945

BMW 31 35 2 347 945
BMW 31 35 6 760 985
BMW 4 014 531

BMW 6 769 499

BMW 31 30 6 781 547
BMW 31354014 531
BMW 31 356 769 499
BMW 6 760 985
BMW 6 781 547

BMW (Brilliance) 31 30 6 781 547
BMW (Brilliance) 31 35 6 760 985
BMW (Brilliance) 4 014 531
BMW (Brilliance) 6 769 499

BMW (Brilliance) 31 354 014 531
BMW (Brilliance) 31 35 6 769 499
BMW (Brilliance) 6 760 985
BMW (Brilliance) 6 781 547

Application info
BMW 5 (E60, E61) (12/01-12/10)

Stabilizer link 316 060 0014/HD MSLO0319HD
Notes
Carbon Neutral
Coupling Rod
Front Axle Right -
Length [mm] 300 ' .
Paired article number 316 060 0013/HD | MSL0318HD
Required quantity 1
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References

BMW 2 347 945

BMW 31 35 2 347 945

BMW 31 35 6 760 986

BMW 4 014 532

BMW 6 769 500

BMW (Brilliance) 31 30 6 781 548
BMW (Brilliance) 31 35 6 760 986
BMW (Brilliance) 4 014 532

BMW (Brilliance) 6 769 500

Application info
BMW 5 (E60, E61) (12/01-12/10)

BMW 31 306 781 548
BMW 31 354014 532
BMW 31 356 769 500
BMW 6 760 986
BMW 6 781 548

BMW (Brilliance) 31 354 014 532
BMW (Brilliance) 31 356 769 500
BMW (Brilliance) 6 760 986
BMW (Brilliance) 6 781 548

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link 316 060 0016/HD MSL0320HD

Notes
Carbon Neutral I;IIEI
Coupling Rod
Front Axle Left
with spanner attachment

Length [mm] 290 =

Paired article number 316 060 0017/HD | MSL0321HD

Required quantity 1

Thread Size 1 M10x1,5

Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References

BMW 2 405 868

BMW 31 356 765 933

BMW (Brilliance) 31 35 6 765 933

Application info
BMW 1 (E81, E82, E87, E88) (02/03-12/13)
BMW X1 (E84) (03/09-06/15)

BMW 31 35 2 405 868
BMW 6 765 933
BMW (Brilliance) 6 765 933

BMW 3 (E90, E91, E92, E93) (02/04-12/13)
BMW Z4 (E89) (02/09-08/16)

Stabilizer link 316 060 0017/HD MSL0321HD
Notes
Carbon Neutral
Coupling Rod
Front Axle Right
with spanner attachment
Length [mm] 290 =
Paired article number 316 060 0016/HD | MSL0O320HD
Required quantity 1
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References

BMW 2 405 868

BMW 31 356 765 934

BMW (Brilliance) 31 356 765 934

BMW 31 35 2 405 868
BMW 6 765 934
BMW (Brilliance) 6 765 934

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Application info

BMW 1 (E81, E82, E87, E88) (02/03-12/13) BMW 3 (E90, E91, E92, E93) (02/04-12/13)

BMW X1 (E84) (03/09-06/15)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

BMW 0 359 385

BMW 3414 299

BMW 31303413201

Application info
BMW X3 (E83) (01/03-12/11)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

BMW Z4 (E89) (02/09-08/16)

316 060 0018/HD MSL0322HD

Carbon Neutral

Coupling Rod

Front Axle Left
with spanner attachment
300 6

316 060 0019/HD | MSL0O323HD

1
M10x1,5
M10x1,5

BMW 3413 201

BMW 31 30 0 359 385

BMW 31 303414 299

316 060 0019/HD MSL0323HD

Carbon Neutral tllil
Coupling Rod

Front Axle Right

with spanner attachment

300

316 060 0018/HD | MSL0322HD
1

M10x1,5

M10x1,5

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

BMW 0 359 386 BMW 3413 202

BMW 3414 300 BMW 31 30 0 359 386
BMW 31 30 3413 202 BMW 31 30 3 414 300

Application info
BMW X3 (E83) (01/03-12/11)

Stabilizer link 316 060 0020/HD MSL0324HD

Carbon Neutral

Coupling Rod

Rear Axle Left

Rear Axle Right

with spanner attachment

Notes

Inner Diameter 1 [mm] 8
Length [mm] 160
Required quantity 2
Thread Size 1 M10x1,5

reinforced version
replacement in pairs recommended

References

BMW 2 406 281 BMW 3332 2406 281
BMW 3355 6 764 428 BMW 6 764 428

BMW (Brilliance) 33 55 6 764 428 BMW (Brilliance) 6 764 428

Application info

BMW 1 (E81, E82, E87, E88) (02/03-12/13) BMW 3 (E90, E91, E92, E93) (02/04-12/13)
Stabilizer link 316 060 0021/HD MSL0325HD
Notes

Carbon Neutral

Coupling Rod

Front Axle Left ~

Front Axle Right é l

with spanner attachment

Length [mm] 331
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References
Mini 1 507 989 Mini 31 351 507 989

Application info
Mini Mini | (06/01-07/08)

Stabilizer link 316 060 0022/HD MSL0326HD

Carbon Neutral

Coupling Rod
Front Axle Left
Front Axle Right

Notes

Length [mm] 300
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
Mini 31 356 759 537 Mini 31356 778 831
Mini 6 759 537 Mini 6 778 831

Application info

Mini Mini | (06/01-07/08) Mini Mini Il (11/05-12/15)
Stabilizer link 316 060 0024/HD MSL0328HD
Notes

Carbon Neutral

Coupling Rod

Rear Axle Left

Rear Axle Right

for vehicles with dynamic drive
with spanner attachment

Length [mm] 215
Required quantity 2
Thread Size 1 M12x1,5
Thread Size 2 M12x1,5

reinforced version
replacement in pairs recommended

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References
BMW 33 506 781 539
BMW 6 753 770

Application info
BMW 7 (E65, E66) (07/01-12/09)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
BMW 31356 768 771
BMW (Brilliance) 31 356 768 771

Application info

BMW 3 (E90, E91, E92, E93) (02/04-12/13)

Stabilizer link

Notes

Length [mm]

Paired article number

Required guantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

BMW 33556 753 770
BMW 6 781 539

316 060 0025/HD MSL0329HD

Carbon Neutral

Coupling Rod

Front Axle Left -
with spanner attachment . ‘
340 -

316 060 0026/HD | MSLO330HD

1

M10x1,5

M10x1,5

BMW 6768 771
BMW (Brilliance) 6 768 771

BMW X1 (E84) (03/09-06/15)

316 060 0026/HD MSLO0330HD

Carbon Neutral HD
Coupling Rod

Front Axle Right -

with spanner attachment ‘ ‘

340 2

316 060 0025/HD | MSL0329HD

1

M10x1,5

M10x1,5

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References
BMW 31356 768 772
BMW (Brilliance) 31 356 768 772

Application info

BMW 3 (E90, E91, E92, E93) (02/04-12/13)

Stabilizer link

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

BMW 33506 768 493
BMW 33556 771 937
BMW 6 768 493

BMW 6 781 537

Application info

BMW 5 (E60, E61) (12/01-12/10)
BMW X5 (E70) (02/06-07/13)
BMW X6 (E71) (06/07-07/14)

Carbon Neutral
Coupling Rod

Rear Axle Left

Rear Axle Right

with spanner attachment
161

2

M12x1,75

M12x1,5

BMW

6768 772

BMW (Brilliance) 6 768 772

BMW

BMW
BMW
BMW
BMW

BMW
BMW
BMW

X1 (E84) (03/09-06/15)

316 060 0029/HD MSLO0332HD

33506 781 537
33556 857 626
6 771 937
6 857 626

6 (E63, E64) (09/03-12/10)
X5 (F15) (08/13-07/18)
X6 (F16) (08/14-07/19)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

BMW 31356 773 023
BMW 31 35 6 859 651
BMW 6 857 623

Application info
BMW X5 (E70) (02/06-07/13)
BMW X6 (E71) (06/07-07/14)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

BMW 31356 773 024
BMW 31 35 6 859 652
BMW 6 857 624

316 060 0030/HD MSLO0333HD

Carbon Neutral HD
Coupling Rod

Front Axle Left G}
for vehicles without Adaptive Drive
[
=

with spanner attachment

248

316 060 0031/HD | MSL0334HD
1

M12x1,75

M12x1,75

BMW 31 356 857 623
BMW 6 773 023
BMW 6 859 651

BMW X5 (F15) (08/13-07/18)
BMW X6 (F16) (08/14-07/19)

316 060 0031/HD MSLO0334HD

Carbon Neutral

Coupling Rod

Front Axle Right ﬁ
for vehicles without Adaptive Drive

with spanner attachment

248

316 060 0030/HD | MSL0333HD
1

M12x1,75

M12x1,75

BMW 31 356 857 624
BMW 6 773 024
BMW 6 859 652

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Application info

BMW X5 (E70) (02/06-07/13) BMW X5 (F15) (08/13-07/18)
BMW X6 (E71) (06/07-07/14) BMW X6 (F16) (08/14-07/19)
Stabilizer link 316 060 0033/HD MSLO0335HD
Notes
Carbon Neutral
Coupling Rod

Front Axle Left

[ ==
Front Axle Right H
with spanner attachment ' B

Length [mm] 300
Required quantity 2
Thread Size 1 M12x1,5
Thread Size 2 M12x1,5

reinforced version
replacement in pairs recommended

References

BMW 2 450 662 BMW 31 35 2 450 662
BMW 31356 777 319 BMW 6 777 319

BMW (Brilliance) 31 356 777 319 BMW (Brilliance) 6 777 319

Application info

BMW 5 (FO7) (01/09-02/17) BMW 5 (F10, F11) (01/09-02/17)

BMW 6 (F12, F13) (12/10-10/18) BMW 7 (FO1, FO2, FO3, FO4) (02/08-12/15)

Stabilizer link 316 060 0036 MSL0338

Notes
Coupling Rod %:
Front Axle Left 4 -
for vehicles with Adaptive Drive

Length [mm] 248

Paired article number 316 060 0037 | MSL0339

Required quantity 1

Thread Size 1 M12x1,5 '*3

Thread Size 2 M12x1,5

replacement in pairs recommended

References

BMW 37116 771929 BMW 37 11 6 857 627

BMW 37 11 6 859 653 BMW 6 771 929

BMW 6 857 627 BMW 6 859 653

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info
BMW X5 (E70) (02/06-07/13)
BMW X6 (E71) (06/07-07/14)

Stabilizer link

Notes

Length [mm]

Paired article number
Required quantity
Thread Size 1
Thread Size 2

replacement in pairs recommended

References

BMW 37 116 771 930
BMW 37 11 6 859 654
BMW 6 857 628

Application info
BMW X5 (E70) (02/06-07/13)
BMW X6 (E71) (06/07-07/14)

Stabilizer link

Notes

Length [mm]

Paired article number
Required quantity
Thread Size 1
Thread Size 2
reinforced version

replacement in pairs recommended

References
BMW 31306 787 163

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

BMW X5 (F15) (08/13-07/18)
BMW X6 (F16) (08/14-07/19)

316 060 0037 MSL0339

Coupling Rod

Front Axle Right

for vehicles with Adaptive Drive
248

316 060 0036 | MSL0338

1

M12x1,5

M12x1,5

BMW 37 11 6 857 628
BMW 6 771 930
BMW 6 859 654

BMW X5 (F15) (08/13-07/18)
BMW X6 (F16) (08/14-07/19)

WErLe
ORIGINAL
Gttt

316 060 0038/HD MSL0340HD

Carbon Neutral
Coupling Rod
Front Axle Left

&

with spanner attachment g
340 >
316 060 0039/HD | MSL0341HD

1

M12x1,5

M12x1,5

BMW 6 787 163

MEYLE AG - www.meyle.com



DRIVER’S BEST FRIEND MEY/LE

Application info

BMW X3 (F25) (09/10-08/17) BMW X4 (F26) (05/13-03/18)
Stabilizer link 316 060 0039/HD MSL0341HD
Notes
Carbon Neutral
Coupling Rod
Front Axle Right &
with spanner attachment ‘
Length [mm] 340 2
Paired article number 316 060 0038/HD | MSL0340HD
Required quantity 1
Thread Size 1 M12x1,5
Thread Size 2 M12x1,5

reinforced version
replacement in pairs recommended

References
BMW 31 306 787 164 BMW 6 787 164

Application info

BMW X3 (F25) (09/10-08/17) BMW X4 (F26) (05/13-03/18)
Stabilizer link 316 060 0040/HD MSL0342HD
Notes
Carbon Neutral
Coupling Rod
Front Axle =
with spanner attachment , é
Length [mm] 310 N |
Paired article number 316 060 0041/HD | MSL0343HD N
Required quantity 1
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
BMW 31306 792 211 BMW 6 792 211
BMW (Brilliance) 31 30 6 792 211 BMW (Brilliance) 6 792 211

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

Application info

BMW 1 (F20, F21) (07/11--)
BMW 3 (F30, F31) (11/11-06/19)
BMW 4 (F32, F33, F36) (07/13--)

Stabilizer link

Notes

Length [mm]

Paired article number
Required quantity
Thread Size 1
Thread Size 2
reinforced version

replacement in pairs recommended

References
BMW 31306 792 212
BMW (Brilliance) 31 30 6 792 212

Application info

BMW 1 (F20, F21) (07/11--)
BMW 3 (F30, F31) (11/11-06/19)
BMW 4 (F32, F33, F36) (07/13--)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

MEYLE

BMW 2 (F22,F23) (10/12--)
BMW 3 (F34) (07/12--)

Carbon Neutral

Coupling Rod

Front Axle Right

with spanner attachment

310

316 060 0040/HD | MSL0342HD
1

M10x1,5

M10x1,5

BMW 6 792 212

BMW (Brilliance) 6 792 212

BMW 2 (F22,F23) (10/12--)
BMW 3 (F34) (07/12--)

Carbon Neutral

Coupling Rod

Rear Axle Left

with spanner attachment

136

316 060 0043/HD | MSL0345HD
1

M10x1,5

M10x1,5

316 060 0042/HD

316 060 0041/HD MSL0343HD

MSL0344HD

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

BMW 3350 6 785 607

BMW (Brilliance) 33 50 6 785 607
Toyota 48840-WAAO1

Application info

BMW 1 (F20, F21) (07/11--)
BMW 2 (G42) (08/21--)

BMW 3 (F34) (07/12--)

BMW 4 (F32, F33, F36) (07/13--)
BMW X1 (E84) (03/09-06/15)
Toyota SupraV (_A9_) (03/19--)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

BMW 3350 6 785 608

BMW (Brilliance) 33 50 6 785 608
Toyota 48830-WAAO1

Application info

BMW 1 (F20, F21) (07/11--)
BMW 2 (G42) (08/21--)

BMW 3 (F34) (07/12--)

BMW 4 (F32, F33, F36) (07/13--)
BMW X1 (E84) (03/09-06/15)
Toyota SupraV (_A9_) (03/19--)

BMW 6 785 607
BMW (Brilliance) 6 785 607

BMW 2 (F22,F23) (10/12--)

BMW 3 (F30, F31) (11/11-06/19)
BMW 3 (G20, G21) (11/18--)
BMW 4 (G22, G23, G26) (07/20--)
BMW Z4 Roadster (G29) (11/18--)

316 060 0043/HD MSLO0345HD

Carbon Neutral

Coupling Rod

Rear Axle Right

with spanner attachment

136

316 060 0042/HD | MSL0344HD
1

M10x1,5

M10x1,5

BMW 6 785 608
BMW (Brilliance) 6 785 608

BMW 2 (F22,F23) (10/12--)

BMW 3 (F30, F31) (11/11-06/19)
BMW 3 (G20, G21) (11/18--)
BMW 4 (G22, G23, G26) (07/20--)
BMW Z4 Roadster (G29) (11/18--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 316 060 0044/HD MSLO0571HD

Notes

Carbon Neutral HD

Guaucd

Coupling Rod
Front Axle Left

with spanner attachment ?_'4

Length [mm] 292 =
Paired article number 316 060 0045/HD | MSLO572HD

Required quantity 1

Thread Size 1 M10x1,5

Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
Mini 2 444 417 Mini 31 35 2 444 417
Mini 31 359 806 351 Mini 9 806 351

Application info

Mini Countryman | (08/10-10/16) Mini Paceman (03/12-10/16)
Stabilizer link 316 060 0045/HD MSLO0572HD
Notes
Carbon Neutral
Coupling Rod
Front Axle Right e
with spanner attachment H
Length [mm] 292 o
Paired article number 316 060 0044/HD | MSLO571HD
Required quantity 1
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
Mini 2 444 417 Mini 31 35 2 444 417
Mini 31 359 806 352 Mini 9 806 352

Application info
Mini Countryman | (08/10-10/16) Mini Paceman (03/12-10/16)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes
Carbon Neutral
Coupling Rod
Rear Axle Left
Rear Axle Right
with spanner attachment

Length [mm] 110
Required quantity 2
Thread Size 1 M12x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
BMW 33556 777 635
BMW (Brilliance) 33556 777 635

Application info
BMW 5 (F10, F11) (01/09-02/17)
BMW 7 (FO1, FO2, FO3, F04) (02/08-12/15)

Stabilizer link

Notes
Carbon Neutral
Coupling Rod
Rear Axle Left
Rear Axle Right
with spanner attachment

Length [mm] 200
Required quantity 2
Thread Size 1 M12x1,5
Thread Size 2 M12x1,5

reinforced version

replacement in pairs recommended

References
BMW 2 450 704
BMW 33 556 786 429

Application info
BMW 5 (FO7) (01/09-02/17)

316 060 0048/HD MSL0602HD

BMW 6 777 635
BMW (Brilliance) 6 777 635

BMW 6 (F12, F13) (12/10-10/18)

316 060 0049/HD MSL0603HD

U

‘@j

=

e @

BMW 33 32 2 450 704
BMW 6 786 429

BMW 5 (F10, F11) (01/09-02/17)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes
Carbon Neutral
Coupling Rod
Rear Axle Left
Rear Axle Right
with spanner attachment

Length [mm] 110
Required quantity 2
Thread Size 1 M12x1,5
Thread Size 2 M12x1,5

reinforced version
replacement in pairs recommended

References
BMW 37 106 775 189

Application info
BMW 5 (F10, F11) (01/09-02/17)
BMW 7 (FO1, FO2, F03, F04) (02/08-12/15)

Stabilizer link

Notes
Carbon Neutral
Coupling Rod
Front Axle Left
with spanner attachment
Length [mm] 422
Paired article number

Required quantity 1
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References

BMW 2 347 949

BMW 31 35 2 347 949
BMW 6 768 083

Application info
BMW 5 (E60, E61) (12/01-12/10)

316 060 0050/HD MSL0609HD

BMW 6 775 189

BMW 6 (F12, F13) (12/10-10/18)

316 060 0051/HD MSLO0596HD

3

w’

316 060 0052/HD | MSL0O597HD

BMW 31 30 6 781 549
BMW 31 356 768 083
BMW 6 781 549

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 316 060 0052/HD MSLO0597HD
Notes
Carbon Neutral I;IIEI
Coupling Rod
Front Axle Right
with spanner attachment ‘ ‘
Length [mm] 422 “
Paired article number 316 060 0051/HD | MSL0O596HD
Required quantity 1
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References

BMW 2 347 949 BMW 31 30 6 781 550
BMW 31 35 2 347 949 BMW 31 356 768 084
BMW 6 768 084 BMW 6 781 550

Application info
BMW 5 (E60, E61) (12/01-12/10)

Stabilizer link 316 060 0054/HD MSL0981HD

Notes
Carbon Neutral
Coupling Rod
Rear Axle Left
Rear Axle Right

Inner Diameter 2 [mm] 11
Length [mm] 132
Required quantity 2
Thread Size 1 M10x1,5

reinforced version
replacement in pairs recommended

References
BMW 33 556 790 324 BMW 6 790 324

Application info
BMW X3 (F25) (09/10-08/17) BMW X4 (F26) (05/13-03/18)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Inner Diameter 2 [mm]

Length [mm]

Required quantity

Thread Size 1

replacement in pairs recommended

References
BMW 3355 6 790 324

Application info
BMW X3 (F25) (09/10-08/17)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

BMW 31 306 781 542
BMW 31356 762 512
BMW 4 014 576

BMW 6 769 664

Application info
BMW 6 (E63, E64) (09/03-12/10)

316 060 0054 MSL0981

e’

Coupling Rod oma,
Rear Axle Left .
Rear Axle Right

11 @
132

2

M10x1,5

BMW 6 790 324

BMW X4 (F26) (05/13-03/18)

316 060 0056 MSL0681

e

Coupling Rod o
Front Axle Right -
332 <

316 060 0057 | MSL0682
1

M10x1,5

M10x1,5

»]
.

BMW 31354014 576
BMW 31 356 769 664
BMW 6 762 512
BMW 6 781 542

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

BMW 31306 781 541
BMW 31356 762511
BMW 4 014 575

BMW 6 769 663

Application info
BMW 6 (E63, E64) (09/03-12/10)

Stabilizer link

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

Mini 1 507 999

Mini 33 32 2 318 465
Mini 33506 781 133
Mini 6 772 789

Application info
Mini Mini | (06/01-07/08)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

Coupling Rod

Front Axle Left

332

316 060 0056 | MSL0681
1

M10x1,5

M10x1,5

Carbon Neutral
Coupling Rod

Rear Axle Left

Rear Axle Right

with spanner attachment
233

2

M10x1,5

M10x1,5

316 060 0057 MSL0682

BMW 31 354014 575
BMW 31 356 769 663
BMW 6 762 511
BMW 6 781 541

Mini
Mini
Mini
Mini

Mini

weree
DRIGINAL
Guaud

316 060 0060/HD MSLO0706HD

2 318 465
33506 772 789
33551507 999
6781 133

Mini Il (11/05-12/15)

-

MEYLE AG - www.meyle.com



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

BMW 1 095 694

BMW 31 351 095 694

BMW 31 356 780 847

BMW (Brilliance) 1 095 694
BMW (Brilliance) 31 35 6 780 847

Application info
BMW 3 (E46) (12/97-12/07)
BMW Z4 (E86) (03/06-01/09)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

BMW 31 30 6 781 546
BMW 31356 778 070
BMW 6 778 070

Application info
BMW 7 (E65, E66) (07/01-12/09)

Coupling Rod

Front Axle Left

Front Axle Right

with spanner attachment
270

2

M10x1,5

M10x1,5

Coupling Rod

Front Axle Right

426

316 060 0065 | MSL0810
1

M10x1,5

M10x1,5

316 060 0062 MSLO0807
i
BMW 2 241 254
BMW 31 352 241 254
BMW 6 780 847
BMW (Brilliance) 31 351 095 694
BMW (Brilliance) 6 780 847
BMW Z4 (E85) (09/02-12/09)
316 060 0064 MSL0809

e
DRIGINAL
Cuad

P!

‘@

BMW 31356 753 768
BMW 6 753 768
BMW 6 781 546

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

BMW 31 30 6 781 545
BMW 31356 778 069
BMW 6 778 069

Application info
BMW 7 (E65, E66) (07/01-12/09)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 31 356 750 704

Application info
BMW X5 (E53) (01/00-12/06)

316 060 0065 MSL0810

e’

Coupling Rod oma,
Front Axle Left .
426

316 060 0064 | MSL0809 a
1

M10x1,5

M10x1,5

9@

BMW 31 356 753 767
BMW 6 753 767
BMW 6 781 545

316 060 0066 MSLO0811

i

Coupling Rod onn
Front Axle Right
with spanner attachment

@, e
358 3 é
316 060 0067 | MSL0812
1
M12x1,5
M12x1,5

BMW 6 750 704

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 316 060 0067 MSLO0812

Notes
Coupling Rod ».,:
Front Axle Left

with spanner attachment

& @,
Length [mm] 358 é 9

Paired article number 316 060 0066 | MSL0811
Required quantity 1

Thread Size 1 M12x1,5

Thread Size 2 M12x1,5

replacement in pairs recommended

References
BMW 31 356 750 703 BMW 6 750 703

Application info
BMW X5 (E53) (01/00-12/06)

Stabilizer link 316 060 0068 MSL0813

Notes
Coupling Rod ».,:
Rear Axle Left £ .
Rear Axle Right

with spanner attachment

Length [mm] 65
Required quantity 2
Thread Size 1 M12x1,5
Thread Size 2 M12x1,5

replacement in pairs recommended

References
BMW 1 096 735 BMW 33551096 735

Application info
BMW X5 (E53) (01/00-12/06)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

BMW 2 347 945

BMW 31 352 347 945

BMW 31 356 760 986

BMW 4 014 532

BMW 6 769 500

BMW (Brilliance) 31 30 6 781 548
BMW (Brilliance) 31 35 6 760 986
BMW (Brilliance) 4 014 532

BMW (Brilliance) 6 769 500

Application info
BMW 5 (E60, E61) (12/01-12/10)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

Coupling Rod

Front Axle Right

300

316 060 0073 | MSL0818
1

M10x1,5

M10x1,5

Coupling Rod

Front Axle Left

300

316 060 0072 | MSL0817
1

M10x1,5

M10x1,5

316 060 0072 MSLO0817

weree
DRIGINAL
Guaud

BMW 31 30 6 781 548

BMW 31 354 014 532

BMW 31 356 769 500

BMW 6 760 986

BMW 6 781 548

BMW (Brilliance) 31 354 014 532
BMW (Brilliance) 31 35 6 769 500
BMW (Brilliance) 6 760 986

BMW (Brilliance) 6 781 548

316 060 0073 MSL0818

e
ORIGINAL
Gttt

4

&

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References

BMW 2 347 945

BMW 31 35 2 347 945

BMW 31 35 6 760 985

BMW 4 014 531

BMW 6 769 499

BMW (Brilliance) 31 30 6 781 547
BMW (Brilliance) 31 35 6 760 985
BMW (Brilliance) 4 014 531

BMW (Brilliance) 6 769 499

Application info
BMW 5 (E60, E61) (12/01-12/10)

Stabilizer link

Notes

Length [mm]

Paired article number
Required quantity
Thread Size 1
Thread Size 2

replacement in pairs recommended

References
BMW 2 405 868
BMW 31 356 765 934

BMW (Brilliance) 31 356 765 934

Application info

Coupling Rod

Front Axle Right

with spanner attachment
290

316 060 0075 | MSL0820
1

M10x1,5

M10x1,5

BMW 1 (E81, E82, E87, E88) (02/03-12/13)

BMW X1 (E84) (03/09-06/15)

BMW 31 30 6 781 547
BMW 31354014 531
BMW 31 356 769 499
BMW 6 760 985
BMW 6 781 547

BMW (Brilliance) 31 354 014 531
BMW (Brilliance) 31 35 6 769 499
BMW (Brilliance) 6 760 985
BMW (Brilliance) 6 781 547

BMW 31 35 2 405 868
BMW 6 765 934

316 060 0074 MSLO0819

WErLe

ORIGINAL
Cuad

BMW (Brilliance) 6 765 934

BMW 3 (E90, E91, E92, E93) (02/04-12/13)
BMW Z4 (E89) (02/09-08/16)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes
Coupling Rod
Front Axle Left
with spanner attachment

Length [mm] 290

Paired article number 316 060 0074 | MSL0819
Required quantity 1

Thread Size 1 M10x1,5

Thread Size 2 M10x1,5

replacement in pairs recommended

References

BMW 2 405 868

BMW 31 356 765 933

BMW (Brilliance) 31 35 6 765 933

Application info
BMW 1 (E81, E82, E87, E88) (02/03-12/13)
BMW X1 (E84) (03/09-06/15)

Stabilizer link

Notes
Coupling Rod
Front Axle Right
with spanner attachment

Length [mm] 300

Paired article number 316 060 0077 | MSL0822
Required quantity 1

Thread Size 1 M10x1,5

Thread Size 2 M10x1,5

replacement in pairs recommended

References
BMW 3413 202
BMW 31 30 3413 202

Application info
BMW X3 (E83) (01/03-12/11)

316 060 0075 MSL0820

weree
DRIGINAL
Guaud

D

o)

BMW 31 35 2 405 868
BMW 6 765 933
BMW (Brilliance) 6 765 933

BMW 3 (E90, E91, E92, E93) (02/04-12/13)
BMW Z4 (E89) (02/09-08/16)

316 060 0076 MSL0821

were
ORIGINAL
Gttt

BMW 3414 300
BMW 31 30 3 414 300

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 3413 201
BMW 31 30 3413 201

Application info
BMW X3 (E83) (01/03-12/11)

Stabilizer link

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

Mini 2 318 481

Mini 31 35 6 759 537
Mini 6 759 537

Application info
Mini Mini | (06/01-07/08)

316 060 0077 MSL0822

e’

Coupling Rod oma,
Front Axle Left -
with spanner attachment i

300

316 060 0076 | MSL0821
1

M10x1,5

M10x1,5

BMW 3414 299
BMW 31 30 3 414 299

316 060 0078 MSL0823

e

Coupling Rod o
Front Axle Left .
Front Axle Right
300

2

M10x1,5
M10x1,5

Mini 31 352 318 481
Mini 31356 778 831
Mini 6 778 831

Mini Mini Il (11/05-12/15)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



MEYLE

DRIVER’S BEST FRIEND

Stabilizer link 316 060 0079 MSL0824
Notes
Coupling Rod ».,:
Front Axle Left
with spanner attachment )

Length [mm] 340 & 6

316 060 0080 | MSL0825

o)

Paired article number

Required quantity 1
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

replacement in pairs recommended

References

BMW 2 405 869

BMW 31356 768 771

BMW (Brilliance) 31356 768 771

BMW 31 35 2 405 869
BMW 6 768 771
BMW (Brilliance) 6 768 771

Application info

BMW 3 (E90, E91, E92, E93) (02/04-12/13) BMW X1 (E84) (03/09-06/15)

Stabilizer link 316 060 0080 MSL0825
Notes
Coupling Rod ».,:
Front Axle Right
with spanner attachment L

Length [mm]

Paired article number
Required quantity
Thread Size 1

340

316 060 0079 | MSL0824
1

M10x1,5

. 9

Thread Size 2 M10x1,5
replacement in pairs recommended

References

BMW 2 405 869

BMW 31356 768 772

BMW (Brilliance) 31356 768 772

BMW 31 35 2 405 869
BMW 6 768 772
BMW (Brilliance) 6 768 772

Application info

BMW 3 (E90, E91, E92, E93) (02/04-12/13) BMW X1 (E84) (03/09-06/15)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

BMW 2 450 662

BMW 31356 777 319

BMW (Brilliance) 31356 777 319

Application info
BMW 5 (FO7) (01/09-02/17)
BMW 6 (F12, F13) (12/10-10/18)

Stabilizer link

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

BMW 1 124 380

BMW 1 128 050

BMW 1 134 582

BMW 31351127 194
BMW 31351130075

Coupling Rod

Front Axle Left

Front Axle Right

with spanner attachment
300

2

M12x1,5

M12x1,5

Coupling Rod

Front Axle Left

Front Axle Right

with spanner attachment
240

2

M10x1,5

M10x1,5

316 060 0083 MSL0828

weree
DRIGINAL
Guaud

.

BMW 31 35 2 450 662
BMW 6 777 319
BMW (Brilliance) 6 777 319

BMW 5 (F10, F11) (01/09-02/17)
BMW 7 (FO1, FO2, FO3, FO4) (02/08-12/15)

316 060 0084 MSL0829

were
ORIGINAL
Gttt

BMW 1127 194
BMW 1130075
BMW 31351 124 380
BMW 31 351 128 050
BMW 31 351 134 582

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Application info

BMW 3 (E30) (09/82-10/94) BMW 3 (E36) (09/90-08/00)
BMW 5 (E28) (05/81-12/87) BMW 5 (E34) (02/87-07/96)
BMW 6 (E24) (10/75-04/89) BMW 7 (E32) (03/85-10/94)

BMW 8 (E31) (01/90-12/99)

Stabilizer link 316 060 0085 MSL0830

Notes

Coupling Rod onn
Front Axle Left

with spanner attachment < 2
Length [mm] 240 3

Paired article number 316 060 0086 | MSL0831
Required quantity 1

Thread Size 1 M10x1,5

Thread Size 2 M10x1,5

replacement in pairs recommended

References
BMW 1 091 855 BMW 1 095 661
BMW 31 351 091 855 BMW 31351095 661

Application info
BMW 5 (E39) (09/95-06/04)

Stabilizer link 316 060 0086 MSL0831

Notes
Coupling Rod %:
Front Axle Right

with spanner attachment

Length [mm] 240

Paired article number 316 060 0085 | MSL0830
Required quantity 1

Thread Size 1 M10x1,5

Thread Size 2 M10x1,5

replacement in pairs recommended

References
BMW 1 091 856 BMW 1 095 662
BMW 31 351 091 856 BMW 31 351 095 662

Application info
BMW 5 (E39) (09/95-06/04)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 2 457 373
BMW 31 352 457 373

Application info
BMW X3 (F25) (09/10-08/17)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 2 457 373
BMW 31 352 457 373

Application info
BMW X3 (F25) (09/10-08/17)

316 060 0088 MSL0833

e’

Coupling Rod oma,
Front Axle Right
with spanner attachment

340
316 060 0089 | MSL0834 5
1
M12x1,5
M12x1,5

BMW 31 306 787 164

BMW 6 787 164

BMW X4 (F26) (05/13-03/18)

316 060 0089 MSL0834

Coupling Rod ol

Guaucd

Front Axle Left
with spanner attachment

340
316 060 0088 | MSL0833 5

1
M12x1,5
M12x1,5

@:

BMW 31 306 787 163
BMW 6 787 163

BMW X4 (F26) (05/13-03/18)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 316 060 0090 MSL0835
Notes
Coupling Rod ».,:
with spanner attachment -
Length [mm] 310 ¥
Paired article number 316 060 0091 | MSL0836 , ‘
Required quantity 1 o
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

replacement in pairs recommended

References
BMW 31306 792 211 BMW 6 792 211
BMW (Brilliance) 31 30 6 792 211 BMW (Brilliance) 6 792 211

Application info

BMW 1 (F20, F21) (07/11--) BMW 2 (F22,F23) (10/12--)
BMW 3 (F30, F31) (11/11-06/19) BMW 3 (F34) (07/12--)
BMW 4 (F32, F33, F36) (07/13--)

Stabilizer link 316 060 0091 MSL0836
Notes
Coupling Rod .,.:E;E.L
with spanner attachment y
Length [mm] 310 i
Paired article number 316 060 0090 | MSL0835
Required quantity 1 @
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

replacement in pairs recommended

References
BMW 31306 792 212 BMW 6 792 212
BMW (Brilliance) 31 30 6 792 212 BMW (Brilliance) 6 792 212

Application info

BMW 1 (F20, F21) (07/11--) BMW 2 (F22,F23) (10/12--)
BMW 3 (F30, F31) (11/11-06/19) BMW 3 (F34) (07/12--)
BMW 4 (F32, F33, F36) (07/13--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes
Carbon Neutral
Coupling Rod
Front Axle Left
Front Axle Right
with spanner attachment

Length [mm] 320

Required quantity 2

Thread Size 1 M10x1,5

Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References

BMW 31 30 6 862 864

BMW (Brilliance) 31 30 6 862 864
Mini 31 30 6 862 864

Application info

BMW 1 (F40), 2 Gran Coupe (F44) (07/19--)
BMW 2 (F45, F46) (11/13--)

BMW X2 (F39) (11/17--)

Mini Mini Il (09/13--)

Stabilizer link

Notes
Coupling Rod
Rear Axle Left
Rear Axle Right

Length [mm] 104

Required quantity 2

Thread Size 1 M10x1,5

replacement in pairs recommended

References

BMW 3350 6 862 865

BMW (Brilliance) 33 50 6 862 865
Mini 33 50 6 862 865

316 060 0092/HD MSL0909HD

BMW 6 862 864
BMW (Brilliance) 6 862 864
Mini 6 862 864

BMW 1 (F52) (01/17--)
BMW X1 (F48) (11/14--)
Mini Countryman Il (10/16--)

316 060 0093 MSL0945

e
DRIGINAL
uared

&
e~V

\\‘:/

BMW 6 862 865
BMW (Brilliance) 6 862 865
Mini 6 862 865

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info

BMW 1 (F40), 2 Gran Coupe (F44) (07/19--)
BMW X1 (F48) (11/14--)

BMW X2 (F39) (11/17--)

Mini- Mini [l (09/13--)

Stabilizer link

Notes
Carbon Neutral
Coupling Rod
Front Axle Left
Front Axle Right

Length [mm] 242

Required quantity 2

Thread Size 1 M12x1,5

Thread Size 2 M12x1,5

reinforced version
replacement in pairs recommended

References
BMW 31 30 6 861 483
BMW (Brilliance) 31 30 6 866 522

Application info

BMW 5 (G30, G31) (09/16--)

BMW 7 (G11, G12) (07/15--)

BMW 8 Gran Coupe (G16) (07/19--)

Stabilizer link

Notes
Carbon Neutral
Coupling Rod
Front Axle Right

Length [mm] 317

Paired article number

Required quantity 1

Thread Size 1 M10x1,5

Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

BMW 2 (F45, F46) (11/13--)
BMW X1 (U1l) (07/22--)
Mini Countryman Il (10/16--)

316 060 0094/HD MSLO0955HD

BMW 6 861 483
BMW (Brilliance) 6 866 522

BMW 6 (G32) (06/17--)
BMW 8 (G15) (07/18--)

316 060 0096/HD MSL1056HD

316 060 0097/HD | MSL1057HD !@i

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References
BMW 31 30 6 893 360
BMW (Brilliance) 31 30 6 893 360

Application info
BMW 2 (G42) (08/21--)
BMW 4 (G22, G23, G26) (07/20--)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
BMW 31 30 6 893 359
BMW (Brilliance) 31 30 6 893 359

Application info
BMW 2 (G42) (08/21--)
BMW 4 (G22, G23, G26) (07/20--)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

BMW 6 893 360

BMW (Brilliance) 6 893 360

BMW 3 (G20, G21) (11/18--)
BMW 4 (G26) (11/21--)

Carbon Neutral

Coupling Rod

Front Axle Left

317

316 060 0096/HD | MSL1056HD
1

M10x1,5

M10x1,5

BMW 6 893 359

316 060 0097/HD MSL1057HD

BMW (Brilliance) 6 893 359

BMW 3 (G20, G21) (11/18--)
BMW 4 (G26) (11/21--)

Carbon Neutral

Coupling Rod

Front Axle Right

282

316 060 0099/HD | MSL1090HD
1

M12x1,5

M12x1,5

316 060 0098/HD MSL1089HD

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References
BMW 31 35 6 881 808

Application info
BMW X5 (G05) (08/18--)
BMW X7 (GO7) (03/19--)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
BMW 31 356 881 807

Application info
BMW X5 (G05) (08/18--)
BMW X7 (G07) (03/19--)

Stabilizer link

Notes

Length [mm]

Pipe Diameter [mm]

Required quantity

Thread Size 1

reinforced version

replacement in pairs recommended

References
BMW 33 55 6 882 924

Carbon Neutral
Coupling Rod
Front Axle Left
282

316 060 0098/HD | MSL1089HD

1
M12x1,5
M12x1,5

Carbon Neutral
Coupling Rod
Rear Axle Left
Rear Axle Right
Steel

140

10

2

M12x1,5

BMW 6 881 808

BMW X6 (G06) (08/19--)
BMW XM (G09) (12/22--)

316 060 0099/HD MSL1090HD

BMW 6 881 807

BMW X6 (G06) (08/19--)
BMW XM (G09) (12/22--)

316 060 0100/HD MSL1155HD

>
fons

BMW 6 882 924

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Application info
BMW 7 (G11, G12) (07/15--)
BMW X6 (G06) (08/19--)

Stabilizer link

Notes

Length [mm]

Paired article number

Pipe Diameter [mm]

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
BMW 31 306 886 279
Toyota 48820-WAAO1

Application info
BMW Z4 Roadster (G29) (11/18--)

Stabilizer link

Notes

Length [mm]

Paired article number

Pipe Diameter [mm]

Required guantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

BMW X5 (GO5) (08/18--)
BMW X7 (GO7) (03/19--)

316 060 0101/HD MSL1160HD

Carbon Neutral

Coupling Rod

Front Axle Left

Steel ;!ﬂ
391.5

316 060 0102/HD | MSL1161HD

12

1

M10x1,5
M10x1,5

BMW 6 886 279

Toyota SupraV (_A9_) (03/19--)

316 060 0102/HD MSL1161HD

Carbon Neutral HD
Coupling Rod

Front Axle Right

Steel

391.5

316 060 0101/HD | MSL1160HD
12

1

M10x1,5

M10x1,5

|

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References
BMW 31 30 6 886 280 BMW 6 886 280
Toyota 48820-WAAO02

Application info

BMW Z4 Roadster (G29) (11/18--) Toyota SupraV (_A9_) (03/19--)
Stabilizer link 316 060 0103/HD MSL1044HD
Notes

Carbon Neutral

Coupling Rod

Front Axle Left

Length [mm] 317 H
Paired article number 316 060 0104/HD | MSL1045HD S

Required quantity 1
Thread Size 1 M12x1,5
Thread Size 2 M12x1,5

reinforced version
replacement in pairs recommended

References

BMW 31 356 881 091 BMW 31 35 6 886 035
BMW 31 356 887 271 BMW 6 881 091

BMW 6 886 035 BMW 6 887 271

Application info
BMW X3 (GO01) (07/17--) BMW X4 (G02) (04/18--)
BMW iX3 (09/20--)

Stabilizer link 316 060 0104/HD MSL1045HD

Carbon Neutral

Coupling Rod
Front Axle Right

Notes

Length [mm]

Paired article number
Required quantity
Thread Size 1
Thread Size 2
reinforced version

replacement in pairs recommended

&=
317 a g
316 060 0103/HD | MSL1044HD )

1
M12x1,5
M12x1,5

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

References

BMW 31 35 6 881 092
BMW 31 35 6 887 272
BMW 6 886 036

Application info
BMW X3 (G01) (07/17--)
BMW X3 (09/20--)

Stabilizer link

Notes

Length [mm]

Required quantity

Thread Size 1

reinforced version

replacement in pairs recommended

References
BMW 33 556 870 702

Application info
BMW X3 (G01) (07/17--)
BMW X3 (09/20--)

Stabilizer link

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
BMW 31 30 6 861 485

Carbon Neutral
Coupling Rod
Rear Axle Left
Rear Axle Right
136

2

M10x1,5

Carbon Neutral
Coupling Rod
Front Axle Left
Front Axle Right
180

2

M12x1,5
M12x1,5

BMW 31 35 6 886 036
BMW 6 881 092
BMW 6 887 272

BMW X4 (G02) (04/18--)

316 060 0105/HD MSL1114HD

BMW 6 870 702

BMW X4 (G02) (04/18--)

316 060 0106/HD MSL1047HD

BMW 6 861 485

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Application info

BMW 5 (G30, G31) (09/16--) BMW 6 (G32) (06/17--)
BMW 7 (G11, G12) (07/15--) BMW 8 (G15) (07/18--)
BMW 8 Gran Coupe (G16) (07/19--)

Stabilizer link 316 060 0107/HD MSL1025HD
Notes
Carbon Neutral
Coupling Rod
Front Axle Left B T
Front Axle Right F‘
Length [mm] 320
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
Mini 31 30 6 862 863 Mini 6 862 863

Application info
Mini Mini Ill (09/13--)

Stabilizer link 316 060 0108/HD MSL1049HD

Notes

Carbon Neutral

Coupling Rod
Rear Axle Right
Length [mm] 155
Paired article number 316 060 0109/HD | MSL1050HD
Required quantity 1
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5
reinforced version
replacement in pairs recommended
References
Mini 33 50 9 803 516 Mini 9 803 516
Application info
Mini Countryman | (08/10-10/16) Mini Paceman (03/12-10/16)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
Mini 33 50 9 803 515

Application info
Mini Countryman | (08/10-10/16)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 31 30 6 862 858

Application info
BMW i3 (08/13--)

316 060 0109/HD MSL1050HD

Carbon Neutral HD
Coupling Rod

Rear Axle Left

155

316 060 0108/HD | MSL1049HD
1

M10x1,5

M10x1,5

Mini 9 803 515

Mini Paceman (03/12-10/16)

316 060 0110/HD MSL1125HD

Carbon Neutral

Coupling Rod

Front Axle Right

235

316 060 0111/HD | MSL1126HD
1

M10x1,5

M10x1,5

BMW 6 862 858

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 316 060 0111/HD MSL1126HD

Notes
Carbon Neutral I;IIEI
Coupling Rod P
Front Axle Left

Length [mm] 235

Paired article number 316 060 0110/HD | MSL1125HD [

Required quantity 1 ©

Thread Size 1 M10x1,5

Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
BMW 31 30 6 862 857 BMW 6 862 857

Application info
BMW i3 (08/13--)

Stabilizer link 316 060 0114 MSL1196
Notes
Coupling Rod "'i;i“
Rear Axle Right -
Length [mm] 97
Paired article number 316 060 0115 | MSL1197
Required quantity 1
Thread Size 1 M10 x 1,5
Thread Size 2 M10 X 1,5

replacement in pairs recommended

References
BMW 33 50 6 888 790 BMW 6 888 790

Application info
BMW iX (120) (07/21--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 33 50 6 888 789

Application info
BMW iX (120) (07/21--)

Stabilizer link

Notes

Length [mm]

Paired article number

Pipe Diameter [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 3350 6 895 143

Application info
BMW 4 (G26) (11/21--)

316 060 0115 MSL1197

e’

Coupling Rod oma,
Rear Axle Left .
97

316 060 0114 | MSL1196
1

M10 x 1,5

M10 x 1,5

BMW 6 888 789

316 060 0119/HD MSL1198HD

Coupling Rod

Rear Axle Left

94.5

316 060 0120/HD | MSL1199HD
10

1

M10x 1,5

M10 X 1,5

BMW 6 895 143

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article number

Pipe Diameter [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
BMW 33 50 6 895 144

Application info
BMW i4 (G26) (11/21--)

Stabilizer link

Notes

Inner Diameter 1 [mm]

Length [mm]

Required quantity

Thread Size 1

reinforced version

replacement in pairs recommended

References

BMW 1091 764
BMW 1 128 737

BMW 31351 127 689

Application info
BMW 3 (E30) (09/82-10/94)
BMW Z1 (06/88-06/91)

316 060 0120/HD MSL1199HD

Coupling Rod

Rear Axle Right

94.5

316 060 0119/HD | MSL1198HD
10

1

M10 x 1,5

M10 X 1,5

BMW 6 895 144

316 060 4311/HD MSLO0346HD

Carbon Neutral HO
Coupling Rod

Front Axle Left

Front Axle Right

with spanner attachment
8

67

2

M10x1,5

BMW 1 127 689
BMW 31 351091 764
BMW 31351128 737

BMW 3 (E36) (09/90-08/00)
BMW Z3 (E36/7, E36/8) (10/95-06/03)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

BMW 1 124 380

BMW 1 128 050

BMW 1 134 582

BMW 31351127 194
BMW 31351 130075

Application info

BMW 3 (E30) (09/82-10/94)
BMW 5 (E28) (05/81-12/87)
BMW 6 (E24) (10/75-04/89)
BMW 8 (E31) (01/90-12/99)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

Carbon Neutral
Coupling Rod

Front Axle Left

Front Axle Right

with spanner attachment
240

2

M10x1,5

M10x1,5

316 060 4322/HD MSL0347HD

BMW 1127 194
BMW 1130075
BMW 31351 124 380
BMW 31 351 128 050
BMW 31 351 134 582

BMW 3 (E36)
BMW 5 (E34)
BMW 7 (E32)

Carbon Neutral

Coupling Rod

Front Axle Right

with spanner attachment

240

316 060 4359/HD | MSL0349HD
1

M10x1,5

M10x1,5

(09/90-08/00)
(02/87-07/96)
(03/85-10/94)

316 060 4358/HD MSL0348HD

¥

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References
BMW 1 091 856 BMW 1 095 662
BMW 31 351 091 856 BMW 31 351 095 662

Application info
BMW 5 (E39) (09/95-06/04)

Stabilizer link 316 060 4359/HD MSL0349HD
Notes
Carbon Neutral
Coupling Rod
Front Axle Left =
with spanner attachment H
Length [mm] 240
Paired article number 316 060 4358/HD | MSL0348HD
Required quantity 1
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
BMW 1 091 855 BMW 1 095 661
BMW 31 351 091 855 BMW 31 351 095 661

Application info
BMW 5 (E39) (09/95-06/04)

Stabilizer link 316 060 4364/HD MSL0350HD

Notes
Carbon Neutral HD
Coupling Rod
Front Axle Left
Front Axle Right
with spanner attachment

Length [mm] 308
Required guantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References
BMW 1 091 496
BMW 31 351 091 496

Application info
BMW 7 (E38) (03/94-11/01)

Stabilizer link

Notes

Length [mm]
Required quantity
Thread Size 1
Thread Size 2
reinforced version

replacement in pairs recommended

References
BMW 1 091 497
BMW 33 551 091 497

Application info
BMW 7 (E38) (03/94-11/01)

Stabilizer link

Notes

Length [mm]
Required guantity
Thread Size 1
Thread Size 2
reinforced version

replacement in pairs recommended

BMW 1 095 695
BMW 31 351 095 695

BMW Z8 (E52) (01/00-12/03)

316 060 4365/HD MSLO0351HD

Carbon Neutral
Coupling Rod

Rear Axle Left

Rear Axle Right

with spanner attachment

77
2
M10x1,5
M10x1,5

BMW 1 095 696

BMW 3355 1 095 696

BMW Z8 (E52) (01/00-12/03)

316 060 4607/HD MSL0352HD

Carbon Neutral tllil
Coupling Rod

Front Axle Left

Front Axle Right

with spanner attachment
270

2

M10x1,5

M10x1,5

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

BMW 1 095 694 BMW 2 241 254

BMW 31 351 095 694 BMW 31 352 241 254

BMW 31 356 780 847 BMW 6 780 847

BMW (Brilliance) 1 095 694 BMW (Brilliance) 31 35 1 095 694
BMW (Brilliance) 31 356 780 847 BMW (Brilliance) 6 780 847

Application info
BMW 3 (E46) (12/97-12/07) BMW Z4 (E85) (09/02-12/09)
BMW Z4 (E86) (03/06-01/09)

Stabilizer link 32-16 060 0005 MSL0356
Notes

Coupling Rod m:ulim.
Length [mm] 60
Required quantity 2
Thread Size 1 M10x1,25
Thread Size 2 M10x1,25

replacement in pairs recommended

References
Hyundai MB518892 Mitsubishi 4056A014
Mitsubishi MB518892 Mitsubishi MB573043

Mitsubishi MB892982

Application info

Hyundai Pony (X-2) (04/89-01/95) Hyundai S Coupé (02/90-05/96)
Mitsubishi 3000 GT (06/89-08/00) Mitsubishi Eclipse Il (04/94-04/99)
Mitsubishi Galant IV (11/87-03/93) Mitsubishi GalantV (11/92-12/98)
Mitsubishi Lancer IV (04/88-12/97) Mitsubishi Pajero Pinin (H60) (01/99-06/07)

Mitsubishi Sigma (10/90-10/96)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 32-16 060 0024 MSLO0368
Notes
Coupling Rod ».,:
Front Axle Left NE

Front Axle Right i
Length [mm] 93 '_
2

Required quantity

Thread Size 1 M10x1,25 S ) ( \4 . .

Thread Size 2 M10x1,25
replacement in pairs recommended

7
~

References
Mitsubishi 4056A040 Mitsubishi MR319147
Mitsubishi MR476595

Application info
Mitsubishi Outlander | (03/01-07/08)

Stabilizer link 32-16 060 0032/HD MSL0610HD

Carbon Neutral

Coupling Rod
Front Axle Right
with spanner attachment

Notes

Length [mm] 273.5

Paired article number 32-16 060 0033/HD | MSLO611HD
Required quantity 1

Thread Size 1 M12x1,5

Thread Size 2 M12X1,5

reinforced version
replacement in pairs recommended

References
Mitsubishi MR594340

Application info
Mitsubishi Grandis (03/03-12/11)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 32-16 060 0033/HD MSL0611HD

Notes
Carbon Neutral HD
Coupling Rod
Front Axle Left
with spanner attachment

Length [mm] 273.5

Paired article number 32-16 060 0032/HD | MSLO610HD -
Required quantity 1

Thread Size 1 M12X1,5

Thread Size 2 M12X1,5

reinforced version
replacement in pairs recommended

References
Mitsubishi MR594339

Application info
Mitsubishi Grandis (03/03-12/11)

Stabilizer link 32-16 060 0037/HD MSL1145HD

Notes
Carbon Neutral

Coupling Rod
Front Axle Left
Length [mm] 80
Paired article number
Required quantity 1
Thread Size 1 M14x1,5
reinforced version
replacement in pairs recommended
References
Fiat 6000605889 Mitsubishi 4056A198

Application info
Fiat Fullback Pick Up (01/16--) Mitsubishi L200V (11/14--)
Mitsubishi Pajero Sport Ill (KS) (08/15--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 32-16 060 0038/HD MSL1146HD
Notes
Carbon Neutral Iﬁ-ﬂllél
Coupling Rod
Front Axle Right
Length [mm] 80
Paired article number 32-16 060 0037/HD | MSL1145HD
Required quantity 1 )
Thread Size 1 M14x1,5 2 QP
reinforced version
replacement in pairs recommended
References
Fiat 6000605890 Mitsubishi 4056A199
Application info
Fiat Fullback Pick Up (01/16--) Mitsubishi L200V (11/14--)
Mitsubishi Pajero Sport lll (KS) (08/15--)
Stabilizer link 33-16 060 0000 MSL0371
Notes
Coupling Rod ol

Guaucd

Front Axle Left
Front Axle Right

Length [mm] 93
Required quantity 2

Thread Size 1 M10x1,25
Thread Size 2 M10x1,25

replacement in pairs recommended

References
Suzuki 42420-81A10

Application info
Suzuki Jimny | (SN) (01/98--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 33-16 060 0005/HD MSL0374HD

Notes
Carbon Neutral HD
Coupling Rod
Front Axle Left -

Front Axle Right ‘ ‘
with spanner attachment

Length [mm] 300
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
Suzuki 42420-65J00

Application info
Suzuki Grand Vitara Il (JB) (04/05--)

Stabilizer link 33-16 060 0006/HD MSL0375HD

Carbon Neutral

Coupling Rod

Front Axle Left
Front Axle Right H

with spanner attachment

Notes

Length [mm] 300
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
GENERAL MOTORS 93195093 Opel 47 09 702
Suzuki 42420-62J00 Suzuki 42420-63J00

Vauxhall 47 09 702

Application info
Opel Agila B (04/08-10/14) Suzuki Splash (01/08--)
Suzuki Swift lll (02/05--) Vauxhall Agila Mk Il (01/08-11/14)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 33-16 060 0007/HD MSL0376HD

Notes

Carbon Neutral I;IEI
Coupling Rod
Front Axle Left

Front Axle Right

with spanner attachment

Length [mm] 270
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
Suzuki 42420-58M00 Suzuki 42420-59J00
Suzuki 42420-59J00-M

Application info

Suzuki Celerio (02/14--) Suzuki Liana (06/01--)
Stabilizer link 33-16 060 0010 MSLO0838
Notes

Coupling Rod "

Gttt

Front Axle Left
Front Axle Right . _

with spanner attachment ‘ &

Length [mm] 300
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

replacement in pairs recommended

References
Suzuki 42420-65J00

Application info
Suzuki Grand Vitara Il (JB) (04/05--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Coupling Rod

Front Axle Left

Front Axle Right

with spanner attachment
300

Required quantity 2

Thread Size 1 M10x1,5

Thread Size 2 M10x1,5

replacement in pairs recommended

Length [mm]

References

GENERAL MOTORS 93195093
Suzuki 42420-62J00

Vauxhall 47 09 702

Application info
Opel Agila B (04/08-10/14)
Suzuki Swift Il (02/05--)

Stabilizer link

Notes
Coupling Rod
Front Axle Left
Front Axle Right
with spanner attachment

Length [mm] 270
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

replacement in pairs recommended

References
Suzuki 42420-58M00
Suzuki 42420-59J00-M

Application info
Suzuki Celerio (02/14--)

33-16 060 0011 MSLO0839

weree
DRIGINAL
Guaud

&

Opel 47 09 702
Suzuki 42420-63J00

Suzuki Splash (01/08--)
Vauxhall Agila Mk 1l (01/08-11/14)

33-16 060 0012 MSL0840

were
ORIGINAL
Gttt

Suzuki 42420-59J00

Suzuki Liana (06/01--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 33-16 060 0015/HD MSL1074HD

Notes
Carbon Neutral HD
Coupling Rod
Front Axle Left

Front Axle Right H

Length [mm] 350
Required quantity 2

Thread Size 1 M10 X 1,25
Thread Size 2 M10 X 1,25

reinforced version
replacement in pairs recommended

References
Suzuki 42420-53R00 Suzuki 42420-53R01

Application info
Suzuki Swift V (01/17--)

Stabilizer link 33-16 060 0017/HD MSL1135HD

Carbon Neutral

Coupling Rod
Front Axle Left

i
Front Axle Right H
Length [mm] 350 )

Notes

Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
Suzuki 42420M68P00

Application info
Suzuki Baleno Il (02/16--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 34-16 060 0003/HD MSL0380HD

Notes
Carbon Neutral Iﬁ-ﬂllél
Coupling Rod -
Front Axle Left
Front Axle Right

Length [mm] 60

Required quantity 2

Thread Size 1 M10x1,5

Thread Size 2 M10x1,5

reinforced version

replacement in pairs recommended

References

Subaru 20470FE000 Subaru 20470SA000

Subaru 20470SA001

Application info

Subaru Forester Il (SG) (02/02-12/12) Subaru Forester Il (SH) (12/07--)

Subaru Impreza ll (GD, GG) (09/99-06/09) Subaru Impreza lll (GR) (01/07--)

Subaru Impreza IV (GP, GJ) (07/11--) Subaru Legacy IV (09/03-12/15)

Subaru Outback Il (BL, BP) (09/03-06/10) Subaru XV 1 (09/11--)

Stabilizer link 34-16 060 0004/HD MSL0381HD

Notes

Carbon Neutral
Coupling Rod

Rear Axle Left

Rear Axle Right

with spanner attachment

Length [mm] 70
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
Subaru 20470SA010 Subaru 20470SA011

Application info
Subaru Forester Il (SG) (02/02-12/12) Subaru Impreza Il (GD, GG) (09/99-06/09)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 34-16 060 0005 MSL0842

Notes

weree
DRIGINAL
Guaud

—

Coupling Rod
Front Axle Left
Front Axle Right

Length [mm] 60
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

replacement in pairs recommended

References
Subaru 20470FE000 Subaru 20470SA000
Subaru 20470SA001

Application info

Subaru Forester Il (SG) (02/02-12/12) Subaru Forester Il (SH) (12/07--)
Subaru Impreza Il (GD, GG) (09/99-06/09) Subaru Impreza lll (GR) (01/07--)
Subaru Impreza IV (GP, GJ) (07/11--) Subaru Legacy IV (09/03-12/15)
Subaru Outback IIl (BL, BP) (09/03-06/10) Subaru XV (09/11--)
Stabilizer link 34-16 060 0007 MSL0991
Notes
Coupling Rod %:
Front Axle Left -
Length [mm] 315 S
Paired article number 34-16 060 0008 | MSL0992 Q—g
Required quantity 1 =&
Thread Size 1 12x1,25
Thread Size 2 12x1,25

replacement in pairs recommended

References
Subaru 20420FL030

Application info
Subaru XV Il (04/17--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 34-16 060 0008 MSL0992
Notes
Coupling Rod ».,:
Front Axle Right -
Length [mm] 315 &
Paired article number 34-16 060 0007 | MSLO991 &M
Required quantity 1 %;
Thread Size 1 12x1,25
Thread Size 2 12x1,25

replacement in pairs recommended

References
Subaru 20420FL020

Application info
Subaru XV Il (04/17--)

Stabilizer link 34-16 060 0009/HD MSL1170HD

Notes
Carbon Neutral

Coupling Rod
Rear Axle Left
Length [mm] 112.4
Paired article number 34-16 060 0010/HD | MSL1171HD
Required quantity 1
Thread Size 1 M10X1,25
Thread Size 2 M10X1,25

reinforced version
replacement in pairs recommended

References
Subaru 20470FL010

Application info
Subaru Forester V (SK) (04/18--) Subaru Impreza V (GT) (10/16--)
Subaru XV II (04/17--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
Subaru 20470FL0O00

Application info
Subaru Forester V (SK) (04/18--)
Subaru XV Il (04/17--)

Stabilizer link

Notes

Length [mm]

Required quantity

Thread Size 1

reinforced version

replacement in pairs recommended

References
Subaru 20470AJ010

Application info

Subaru Forester Ill (SH) (12/07--)
Subaru Impreza IV (GP, GJ) (07/11--)
Subaru Outback IV (BM, BR) (06/09--)
Subaru XV 1 (09/11--)

34-16 060 0010/HD MSL1171HD

Carbon Neutral HD
Coupling Rod -
Rear Axle Right

112.4

34-16 060 0009/HD | MSL1170HD
1

M10X1,25

M10X1,25

Subaru Impreza V (GT) (10/16--)

34-16 060 0011/HD MSL1189HD

Coupling Rod
Rear Axle Left
Rear Axle Right
107

2

M10x1,5

Subaru 20470SC000

Subaru Forester IV (SJ) (11/12--)
Subaru Legacy V (06/08--)
Subaru Outback V (10/14--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 34-16 060 0012/HD MSL1172HD

Notes
Carbon Neutral I;IIEI
Coupling Rod
Front Axle Left
Front Axle Right

Length [mm] 71

Required quantity 2

Stabiliser Diameter [mm] 10

Thread Size 1 M12X1,5

Thread Size 2 M12X1,5

reinforced version

replacement in pairs recommended

References

Subaru 20420XA000

Application info

Subaru Forester IV (SJ) (11/12--) Subaru Forester V (SK) (04/18--)

Subaru Levorg (03/15--) Subaru Outback IV (BM, BR) (06/09--)

Subaru Tribeca (B9) (01/05--) Subaru WRX (GP,GJ) (07/11-12/12)

Subaru XV 1 (09/11--)

Stabilizer link 34-16 060 0013/HD MSL1184HD

Notes
Carbon Neutral
Coupling Rod
Front Axle Left 5

Length [mm] 341 k—‘

Paired article number 34-16 060 0014/HD | MSL1185HD

Required quantity 1

Thread Size 1 M12X1,5

Thread Size 2 M12X1,5

replacement in pairs recommended

References

Subaru 20420AL010 Subaru 20420AL011

Application info

Subaru Legacy VI (BN, BS) (01/15--) Subaru Outback V (10/14--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 34-16 060 0014/HD MSL1185HD

Notes
Carbon Neutral I;IIEI
Coupling Rod
Front Axle Right T

Length [mm] 341 ‘w‘

Paired article number 34-16 060 0013/HD | MSL1184HD

Required quantity 1

Thread Size 1 M12X1,5

Thread Size 2 M12X1,5

reinforced version
replacement in pairs recommended

References
Subaru 20420AL000 Subaru 20420AL001

Application info

Subaru Legacy VI (BN, BS) (01/15--) Subaru Outback V (10/14--)
Stabilizer link 35-16 060 0000/HD MSL0382HD
Notes

Carbon Neutral

Coupling Rod

Rear Axle Left
Rear Axle Right
with spanner attachment

Length [mm] 190
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
Mazda B26R-28-170

Application info
Mazda 323 (BJ) (05/98-05/04) Mazda Premacy (01/99-06/05)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 35-16 060 0001 MSL0383
Notes
Coupling Rod ».,:
Front Axle Left 5~ -
Length [mm] 105
Paired article number 35-16 060 0002 | MSL0384
Required quantity 1
Thread Size 1 M10x1,25
Thread Size 2 M10x1,25

replacement in pairs recommended

References

Ford 3410592 Ford GA2A-34170-A
Kia KGA2A 34170 Kia KGA2A 34170A
Kia KGA2A 34170B Kia KGA2A 34170BAS
Mazda F151-34-170 Mazda F189-34-170
Mazda GA2A-34-170 Mazda GA2A-34-170A
Mazda L206-34-170A Toyota L2063-4170A

Application info

Kia Clarus (05/96--) Mazda 323 (BA) (09/92-12/03)

Mazda 626 (GE) (08/91-08/98) Mazda 626 (GF, GW) (05/97-12/02)

Mazda 929 (HB, HC, HV) (12/81-08/91) Mazda CX-7 (ER) (06/06-12/14)

Mazda MX-5 (NC) (03/05-12/14) Mazda MX-6 (GE) (07/91-09/97)

Mazda RX-8 (10/03-06/12) Mazda Xedos 6 (01/92-10/99)

Stabilizer link 35-16 060 0002 MSL0384

Notes
Coupling Rod "':E;E"
Front Axle Right @) -

Length [mm] 105 J

Paired article number 35-16 060 0001 | MSL0383

Required quantity 1

Thread Size 1 M10x1,25

Thread Size 2 M10x1,25

replacement in pairs recommended

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

Ford 3410591 Ford 35-16 060 0002
Kia KGA2A 34150 Kia KGA2A 34150A
Kia KGA2A 34150B Kia KGA2A 34150BAS
Mazda F151-34-150 Mazda F189-34-150
Mazda GA2A-34-150 Mazda GA2A-34-150A

Mazda L206-34-150A

Application info

Kia Clarus (05/96--) Mazda 323 (BA) (09/92-12/03)

Mazda 626 (GE) (08/91-08/98) Mazda 626 (GF, GW) (05/97-12/02)

Mazda 929 (HB, HC, HV) (12/81-08/91) Mazda CX-7 (ER) (06/06-12/14)

Mazda MX-5 (NC) (03/05-12/14) Mazda MX-6 (GE) (07/91-09/97)

Mazda RX-8 (10/03-06/12) Mazda Xedos 6 (01/92-10/99)

Stabilizer link 35-16 060 0005/HD MSL0386HD

Notes
Carbon Neutral
Coupling Rod -

Front Axle Left
Front Axle Right
with spanner attachment

4

Length [mm] 190
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
Mazda B26R-34-170

Application info
Mazda 323 (BJ) (05/98-05/04) Mazda Premacy (01/99-06/05)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 35-16 060 0011/HD MSL0389HD

Notes
Carbon Neutral HD
Coupling Rod
Rear Axle Left
Rear Axle Right H

with spanner attachment

Length [mm] 230
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
Mazda GA20-28-170B Mazda GE4T-12-8170
Mazda GE4T-28-170

Application info
Mazda 626 (GF, GW) (05/97-12/02)

Stabilizer link 35-16 060 0012 MSL0390

Notes

Coupling Rod onn
Front Axle Left

Front Axle Right
Length [mm] 300 M

Required quantity 2 »
Thread Size 1 M10x1,25
Thread Size 2 M10x1,25

replacement in pairs recommended

References
Mazda B39D-34-170 Mazda BBM2-34 170
Mazda BBM2-34-170A

Application info
Mazda 3 (BL) (12/08-12/14)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 35-16 060 0014/HD MSL0391HD

Notes
Carbon Neutral HD
Coupling Rod <
Rear Axle Left
Rear Axle Right
with spanner attachment

Length [mm] 80
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References

Fiat 50704671 Fiat 51856959
Mazda EAO01-28 170C Mazda EAO01-28-170
Mazda EA01-28-170A Mazda EAO01-28-170B

Mazda EA01-28-170D

Application info

Fiat Panda Il (09/03--) Mazda MX-3 (EC) (05/91-09/98)
Stabilizer link 35-16 060 0015/HD MSL0392HD
Notes

Carbon Neutral

Coupling Rod

Front Axle Left
Front Axle Right
with spanner attachment

Length [mm] 265
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

References
Chrysler 05174185AA
Chrysler 05174185AC
Chrysler 5174185AB
Daewoo 96300627
Dodge 5174185AB
Fiat K05174185AC
Jeep 5174185AC
Mazda LC62-34-170A

Application info

Chrysler Sebring (JS) (09/06-12/10)
Jeep Compass (MK) (08/06--)
Mazda 323 (BJ) (05/98-05/04)
Mazda MPV Il (LW) (08/99-12/06)

Stabilizer link

Notes
Coupling Rod
Rear Axle Left
Rear Axle Right

Length [mm] 95

Required quantity 2

Thread Size 1 M10x1,25

Thread Size 2 M10x1,25

replacement in pairs recommended

References
Mazda GS1D-28-170

Application info
Mazda 6 (GH) (08/07-12/13)

MEYLE

Chrysler 05174185AB
Chrysler 5174185AA
Chrysler 5174185AC
Dodge 5174185AA
Dodge 5174185AC
Jeep 5174185AB
Mazda LC62-34-170
Mazda LC62-34-170B

Daewoo Nubira (KLAJ) (04/97--)
Jeep Patriot (MK) (02/07-12/17)
Mazda MPV I (LV) (09/88-09/99)
Mazda Premacy (01/99-06/05)

35-16 060 0017 MSLO0393

e
ORIGINAL
uay

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
Mazda GJ6A-34-170A
Mazda GS1D-34-170

Application info
Mazda 6 (GG, GY) (01/02-12/08)

Stabilizer link

Notes

Length [mm]

Required quantity

Thread Size 1

reinforced version

replacement in pairs recommended

References
Mazda GJ6A-28-170
Mazda GJ6A-28-170B

Application info
Mazda 6 (GG, GY) (01/02-12/08)

35-16 060 0018/HD MSL0394HD

Carbon Neutral HD
Coupling Rod -

Front Axle Left ‘
with spanner attachment

155 :
35-16 060 0020/HD | MSL0396HD .
1

M10x1,5

M10x1,5

Mazda GK2A-34 170

Mazda 6 (GH) (08/07-12/13)

35-16 060 0019/HD MSL0395HD

Carbon Neutral
C
Ky ; f

Coupling Rod

Rear Axle Left

Rear Axle Right

with spanner attachment
77

2

M10x1,5

Mazda GJ6A-28-170A
Mazda GJ6A-30-170B

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 35-16 060 0020/HD MSL0396HD

Notes
Carbon Neutral HD
Coupling Rod &
Front Axle Right
with spanner attachment

Length [mm] 155

Paired article number 35-16 060 0018/HD | MSL0394HD ®
Required quantity 1

Thread Size 1 M10x1,5

Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
Mazda GJ6A-34-150A Mazda GK2A-34 150A
Mazda GS1D-34-150

Application info

Mazda 6 (GG, GY) (01/02-12/08) Mazda 6 (GH) (08/07-12/13)
Stabilizer link 35-16 060 0021/HD MSL0397HD
Notes
Carbon Neutral
Coupling Rod
Front Axle
Rear Axle

with spanner attachment

Length [mm] 250 .
Required quantity 2

Thread Size 1 M10x1,5

Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

Ford 1513343 Ford 1 745924

Ford 1790 310 Ford 1905 043

Ford 2 033 497 Ford 2 069 658

Ford 2513 086 Ford 3L84-3052-AA
Ford 4 049 981 Ford 4 133 885

Ford 4 462 153 Ford 4487 771

Ford 4562 792 Ford 4 779 527

Ford 5 096 832 Ford 5L84-5K483-AB
Ford 5L84-5K483-AC Ford 7L84-5K483-AA
Ford 7L84-5K483-AB Ford 8V51-3B438-AB
Ford 8Vv51-3B438-BA Ford 8V51-3B438-BB
Ford 8V51-3B438-BC Ford 8V51-3B438-BD
Ford ME8V5J-3B438-BD Ford YL84-3052-AA
Mazda BC1D-28-170 Mazda BC1D-28-170A
Mazda D651-34-170 Mazda D651-34-170A
Mazda EF91-34-150 Mazda EF91-34-150A
Mazda EF91-34-150B Mazda EF91-34-150C
Mazda EF91-34-150D Mazda ZZCO0-34-150
Mazda ZZCO0-34-150A Nissan 54618-9UO0A
Nissan 54618-AX600 Nissan 54618-BC40A
Renault 551100748R Renault 551107041R
Renault 551107916R Renault 551108147R
Renault 8200127308 Renault 8200605381

Renault 8201079463

Application info

Ford B-MAX (08/12--) Ford Ecosport (09/11--)

Ford Fiesta VI (06/08--) Ford Fiesta VIl (05/17--)

Ford KAIIl (08/14--) Ford Puma (09/19--)

Ford Tourneo '14 (02/14--) Ford Transit Courier '14 (02/14--)
Mazda 2 (DE) (07/07-06/15) Mazda 323 (BA) (09/92-12/03)
Nissan Micra (K12) (03/02--) Nissan Note | (01/05-08/13)
Renault Captur | (06/13--) Renault Clio Ill / Modus (09/04--)
Renault Clio IV (11/12--) Renault Zoe (06/12--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 35-16 060 0022/HD MSL0398HD

Notes
Carbon Neutral HD
Coupling Rod
Front Axle Left
Front Axle Right
with spanner attachment

Length [mm] 325
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
Mazda LC70-34-170

Application info
Mazda MPV Il (LW) (08/99-12/06)

Stabilizer link 35-16 060 0025/HD MSL0399HD

Carbon Neutral

Coupling Rod

Rear Axle Left

Rear Axle Right

with spanner attachment

Notes

Length [mm] 160
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
Mazda B30H-28-170B

Application info
Mazda 323 (BJ) (05/98-05/04) Mazda Premacy (01/99-06/05)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Mazda NC10-34-150

Application info
Mazda MX-5 (NB) (01/98-10/05)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Mazda NC10-34-170

Application info
Mazda MX-5 (NB) (01/98-10/05)

Coupling Rod

Front Axle Right

105

35-16 060 0027 | MSL0401
1

M10x1,25

M10x1,25

Coupling Rod

Front Axle Left

105

35-16 060 0026 | MSL0400
1

M10x1,25

M10x1,25

35-16 060 0026 MSL0400

weree
DRIGINAL
Guaud

35-16 060 0027 MSL0401

e
ORIGINAL
Gttt

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link
Notes
Coupling Rod
Front Axle Left
Front Axle Right
with spanner attachment
Length [mm] 265
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

replacement in pairs recommended

References
Chrysler 05174185AA
Chrysler 05174185AC
Chrysler 5174185AB
Daewoo 96300627
Dodge 5174185AB
Fiat K05174185AC
Jeep 5174185AC
Mazda LC62-34-170A

Application info

Chrysler Sebring (JS) (09/06-12/10)
Jeep Compass (MK) (08/06--)
Mazda 323 (BJ) (05/98-05/04)
Mazda MPV Il (LW) (08/99-12/06)

Stabilizer link
Notes
Coupling Rod
Front Axle Left
with spanner attachment
Length [mm] 155
Paired article number 35-16 060 0038 | MSL0850
Required quantity 1
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

replacement in pairs recommended

References
Mazda GJ6A-34-170A
Mazda GS1D-34-170

35-16 060 0035 MSL0847

weree
DRIGINAL
Guaud

Chrysler 05174185AB
Chrysler 5174185AA
Chrysler 5174185AC
Dodge 5174185AA
Dodge 5174185AC
Jeep 5174185AB
Mazda LC62-34-170
Mazda LC62-34-170B

Daewoo Nubira (KLAJ) (04/97--)
Jeep Patriot (MK) (02/07-12/17)
Mazda MPV I (LV) (09/88-09/99)
Mazda Premacy (01/99-06/05)

35-16 060 0037 MSL0849

were
DRIGINAL
Suatd

Mazda GK2A-34 170

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info
Mazda 6 (GG, GY) (01/02-12/08)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Mazda GJ6A-34-150A
Mazda GS1D-34-150

Application info
Mazda 6 (GG, GY) (01/02-12/08)

Stabilizer link

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
Mazda B37F-28-170
Mazda B37F-28-170B

Application info
Mazda 3 (BL) (12/08-12/14)

Mazda 6 (GH) (08/07-12/13)

35-16 060 0038 MSL0850

e

Coupling Rod o
Front Axle Right ) -
with spanner attachment S
155

35-16 060 0037 | MSL0849
1

M10x1,5

M10x1,5

Mazda GK2A-34 150A

Mazda 6 (GH) (08/07-12/13)

35-16 060 0044/HD MSL0911HD

Carbon Neutral g ~!

Coupling Rod

Rear Axle Left

Rear Axle Right

with spanner attachment
75

2

M12x1,25

M10x1,25

Mazda B37F-28-170A

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 35-16 060 0045/HD MSL1053HD

Notes
Carbon Neutral I;IIEI
Coupling Rod
Rear Axle Left

Length [mm] 150

Paired article number 35-16 060 0046/HD | MSL1054HD

Required quantity 1

Thread Size 1 M10 X 1,5

Thread Size 2 M10 X 1,5

reinforced version

replacement in pairs recommended

References

Mazda KD31-28-190

Application info

Mazda 3 (BM) (07/13--) Mazda 6 (GJ) (08/12--)

Mazda CX-51(KE) (11/11-02/17) Mazda CX-5 Il (KF) (11/16--)

Stabilizer link 35-16 060 0046/HD MSL1054HD

Notes
Carbon Neutral
Coupling Rod
Rear Axle Right

Length [mm] 150

Paired article number 35-16 060 0045/HD | MSL1053HD

Required quantity 1

Thread Size 1 M10 X 1,5

Thread Size 2 M10 X 1,5

replacement in pairs recommended

References

Mazda KD31-28-170

Application info

Mazda 3 (BM) (07/13--) Mazda 6 (GJ) (08/12--)

Mazda CX-51(KE) (11/11-02/17) Mazda CX-5 Il (KF) (11/16--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 35-16 060 0047/HD MSL1067HD

Notes
Carbon Neutral I;IIEI
Coupling Rod
Front Axle Left

Length [mm] 284 H

Paired article number 35-16 060 0048/HD | MSL1068HD L3

Required quantity 1

Thread Size 1 M10 X 1,25

Thread Size 2 M10 X 1,25

reinforced version
replacement in pairs recommended

References
Mazda B45A-34-170

Application info
Mazda 3 (BM) (07/13--)

Stabilizer link 35-16 060 0048/HD MSL1068HD
Notes
Carbon Neutral
Coupling Rod
Front Axle Right
Length [mm] 284 H
Paired article number 35-16 060 0047/HD | MSL1067HD -
Required quantity 1
Thread Size 1 M10 X 1,25
Thread Size 2 M10 X 1,25

reinforced version
replacement in pairs recommended

References
Mazda B45A-34-150

Application info
Mazda 3 (BM) (07/13--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes
Carbon Neutral
Coupling Rod
Front Axle Left
Front Axle Right

Length [mm] 288

Required quantity 2

Thread Size 1 M10 X 1,25

Thread Size 2 M10 X 1,25

reinforced version
replacement in pairs recommended

References
Mazda KD35-34-170

Application info
Mazda 6 (GJ) (08/12--)
Mazda CX-5 Il (KF) (11/16--)

Stabilizer link

Notes
Carbon Neutral
Coupling Rod
Front Axle Left
Front Axle Right

Length [mm] 250

Required quantity 2

Thread Size 1 M10 X 1,5

Thread Size 2 M10 X 1,5

replacement in pairs recommended

References
Mazda DA6A-34-170

Application info
Mazda 2 (DJ) (08/14--)

35-16 060 0049/HD MSL1062HD

Mazda CX-5 1 (KE) (11/11-02/17)
Mazda CX-9 (TB) (09/06--)

35-16 060 0050/HD MSL1059HD

—e

Mazda DA7V-34-170

Mazda CX-3 (DK) (01/15--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Mazda BCKE-34-170

Application info
Mazda 3 (BP) (11/18--)
Mazda MX-30 (DR) (05/20--)

Stabilizer link

Notes

Length [mm]

Pipe Diameter [mm]

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
Nissan 56261-47B01
Nissan 56261-4F725

Application info
Nissan Micra (K11) (01/92-12/07)

35-16 060 0051/HD MSL1060HD

Carbon Neutral HD
Coupling Rod
Front Axle Left
Front Axle Right
270

2

M10 X 1,5

M10 X 1,5

Mazda CX-30 (DM) (04/19--)

36-16 060 0001/HD MSL0402HD

Carbon Neutral
Coupling Rod

Rear Axle Left

Rear Axle Right

with spanner attachment
90

10

2

M10x1,5

M10x1,5

Nissan 56261-4F702
Nissan 56261-6F600

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Nissan 56261-EA500

Application info
Nissan Pathfinder (R51) (01/05--)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Nissan 56261-EA510

Application info
Nissan Pathfinder (R51) (01/05--)

Coupling Rod

Rear Axle Right

65

36-16 060 0003 | MSL0404
1

M12x1,25

M12x1,25

Coupling Rod

Rear Axle Left

65

36-16 060 0002 | MSL0403
1

M12x1,25

M12x1,25

36-16 060 0002 MSLO0403

weree
DRIGINAL
Guaud

36-16 060 0003 MSL0404

e
ORIGINAL
Gttt

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Length [mm]
Paired article number
Required quantity

Coupling Rod

Front Axle Left

65

36-16 060 0008 | MSL0409
1

36-16 060 0007 MSLO0407

weree
DRIGINAL
Guaud

Thread Size 1 M12x1,25

Thread Size 2 M12x1,25

replacement in pairs recommended

References

Nissan 54668-EA010 Nissan 54668-EB30A

Application info

Nissan Navara (D40) (10/04--) Nissan Pathfinder (R51) (01/05--)

Stabilizer link 36-16 060 0008 MSL0409

Notes
Coupling Rod ».,:
Front Axle Right K

Length [mm] 65 —

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References

36-16 060 0007 | MSL0407
1

M12x1,25

M12x1,25

v J

Nissan 54618-EA010 Nissan 54618-EB30A

Application info

Nissan Navara (D40) (10/04--) Nissan Pathfinder (R51) (01/05--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Nissan 54668-AU000

Application info
Nissan Primera (P12, WP12) (01/02--)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

References
Nissan 54618-AU000

Application info
Nissan Primera (P12, WP12) (01/02--)

36-16 060 0023 MSLO0415

weree
DRIGINAL
Guaud

Coupling Rod

Front Axle Left

65

36-16 060 0025 | MSL0416
1

M10x1,25

M10x1,25

Nissan 54668-BA30A

36-16 060 0025 MSL0416

e
ORIGINAL

Coupling Rod

Front Axle Right

65

36-16 060 0023 | MSL0415
1

M10x1,25

M10x1,25

E"l——-ﬁ St

Nissan 54618-BA30A

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 36-16 060 0026/HD MSL0417HD

Notes
Carbon Neutral HD
Coupling Rod
Rear Axle Left
Rear Axle Right
with spanner attachment

Length [mm] 90

Pipe Diameter [mm] 10
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M12X1,5

reinforced version
replacement in pairs recommended

References
Nissan 56261-AV610 Nissan 56261-AV611

Application info
Nissan Primera (P12, WP12) (01/02--)

Stabilizer link 36-16 060 0030/HD MSL0421HD
Notes
Carbo.n Neutral /@ >
Coupling Rod : Qe

Front Axle Right
with spanner attachment

Length [mm] 65

Paired article number 36-16 060 0031/HD | MSL0422HD
Required quantity 1

Thread Size 1 M12X1,5

Thread Size 2 M12X1,5

reinforced version
replacement in pairs recommended

References
Nissan 54618-8H300

Application info
Nissan X-Trail (T30) (01/01-12/13)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 36-16 060 0031/HD MSL0422HD

Notes
Carbon Neutral } HD
Coupling Rod
Front Axle Left
with spanner attachment

Length [mm] 65

Paired article number 36-16 060 0030/HD | MSL0421HD
Required quantity 1

Thread Size 1 M12X1,5

Thread Size 2 M12X1,5

reinforced version
replacement in pairs recommended

References
Nissan 54668-8H300

Application info
Nissan X-Trail (T30) (01/01-12/13)

Stabilizer link 36-16 060 0032/HD MSL0423HD

Notes
Carbon Neutral
Coupling Rod
Rear Axle Left
Rear Axle Right
with spanner attachment

Length [mm] 115
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References
Nissan 56261-50J00 Nissan 56261-EQ000

Application info
Nissan Primera (P10, W10) (06/90-03/98) Nissan X-Trail (T30) (01/01-12/13)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 36-16 060 0037/HD MSL0426HD
Notes
Carbon Neutral Iﬁ-ﬂllél
Coupling Rod -
Front Axle Right
with spanner attachment
Length [mm] 65
Paired article number 36-16 060 0040/HD | MSL0427HD
Required quantity 1
Thread Size 1 M10X1,50
Thread Size 2 M10X1,50
reinforced version
replacement in pairs recommended
References
Nissan 54618-4U000 Nissan 54618-BU70A
Application info
Nissan Almera Tino (12/98-02/06)
Stabilizer link 36-16 060 0040/HD MSL0427HD
Notes
Carbon Neutral
Coupling Rod
Front Axle Left
with spanner attachment
Length [mm] 65
Paired article number 36-16 060 0037/HD | MSL0426HD
Required quantity 1
Thread Size 1 M10x1,50
Thread Size 2 M10X1,50

reinforced version
replacement in pairs recommended

References
Nissan 54668-4U000 Nissan 54668-BU70A

Application info
Nissan Almera Tino (12/98-02/06)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

Nissan 54668-1AA0A
Nissan 54668-4CBOA
Renault 546681AA0E
Renault 54668JD0O0A

Application info

Nissan Murano (Z51) (10/07-09/14)
Nissan Qashgqai Il (J11_) (11/13--)
Nissan X-Trail (T32) (10/13--)
Renault Koleos Il (08/16--)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

36-16 060 0046/HD MSL0428HD

Carbon Neutral HD
Coupling Rod
Front Axle Left

299 = |

with spanner attachment

36-16 060 0047/HD | MSL0429HD

1
M12X1,5
M12X1,5

Nissan 54668-1AA0E

Nissan 54668-JD00A

Renault 546684CB0OA

Nissan Qashqai | (J10_) (12/06-04/14)

Nissan X-Trail (T31) (03/07-12/18)

Renault Koleos | (09/08--)

36-16 060 0047/HD MSL0429HD

Carbon Neutral I;IIEI
Coupling Rod -
Front Axle Right )
with spanner attachment %
299 >
36-16 060 0046/HD | MSL0428HD
1
M12X1,5
M12X1,5

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

Nissan 54618-1AA0A Nissan 54618-1AA0E
Nissan 54618-4CBOA Nissan 54618-JD00A
Renault 546181AA0E Renault 546184CBO0A

Renault 54618JD00A

Application info

Nissan Murano (Z51) (10/07-09/14) Nissan Qashqgai | (J10_) (12/06-04/14)
Nissan Qashqai Il (J11_) (11/13--) Nissan X-Trail (T31) (03/07-12/18)
Nissan X-Trail (T32) (10/13--) Renault Koleos | (09/08--)

Renault Koleos Il (08/16--)

Stabilizer link 36-16 060 0052/HD MSL0573HD

Carbon Neutral

Coupling Rod
Front Axle Left
Front Axle Right
with spanner attachment N
Length [mm] 255
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10X1,5
reinforced version

Notes

replacement in pairs recommended

References

Nissan 54618-1FEOA Nissan 54618-3LHOA
Nissan 54618-EDOOA Nissan 54618-JX00A
Nissan 54618-JX30A

Application info

Nissan Almera Il (N17) (09/11--) Nissan Cube (Z12) (09/07--)
Nissan Micra (K13) (05/10--) Nissan Micra (K14) (12/16--)
Nissan NV200 (02/10--) Nissan Note | (01/05-08/13)
Nissan Note Il (09/12--) Nissan Tiida (05/04-12/13)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 36-16 060 0060 MSL0859

Notes
Coupling Rod ».,:
Front Axle Left .
Front Axle Right

with spanner attachment

Length [mm] 250
Required quantity 2
Thread Size 1 M10x1,5
Thread Size 2 M10x1,5

replacement in pairs recommended

References

Nissan 54618-9U00A Nissan 54618-AX600
Nissan 54618-BC40A Renault 55 11 079 16R
Renault 551100748R Renault 551107041R
Renault 551108147R Renault 8200127308
Renault 8200605381 Renault 8201079463

Application info

Nissan Micra (K12) (03/02--) Nissan Note | (01/05-08/13)

Renault Captur| (06/13--) Renault Clio 11l / Modus (09/04--)

Renault Clio IV (11/12--) Renault Zoe (06/12--)

Stabilizer link 36-16 060 0061/HD MSL1018HD
Notes

Carbon Neutral

Coupling Rod
Front Axle Left
Length [mm] 70
Paired article number 36-16 060 0062/HD | MSL1019HD
Required quantity 1
Thread Size 1 M12X1,5
Thread Size 2 M12X1,5
reinforced version
replacement in pairs recommended
References
Nissan 54668-4KHOA Nissan 54668-5XA0A
Renault 54668-5XA0A
Application info
Nissan Navara (D40) (10/04--) Renault Alaskan (10/16--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 36-16 060 0062/HD MSL1019HD
Notes
Carbon Neutral Iﬁ-ﬂllél
Coupling Rod -
Front Axle Right
Length [mm] 70
Paired article number 36-16 060 0061/HD | MSL1018HD
Required quantity 1
Thread Size 1 M12X1,5
Thread Size 2 M12X1,5
reinforced version
replacement in pairs recommended
References
Nissan 54618-4KHOA Nissan 54618-5XA0A
Renault 54618-5XA0A
Application info
Nissan Navara (D40) (10/04--) Renault Alaskan (10/16--)
Stabilizer link 36-16 060 0064/HD MSL1154HD
Notes
Carbon Neutral
Coupling Rod
Rear Axle Left
Rear Axle Right
Length [mm] 113
Required quantity 2
Thread Size 1 M12X1,5

replacement in pairs recommended

References
Nissan 54618-4FAOA Nissan 54618-JX05B

Application info
Nissan NV200 (02/10--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
Nissan 56261-6RR0B

Application info
Nissan Ariya (07/20--)

Stabilizer link

Notes

Length [mm]

Paired article number

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
Nissan 56261-6RRO0OA

Application info
Nissan Ariya (07/20--)

36-16 060 0066/HD MSL1203HD

Coupling Rod

Rear Axle Left

113

36-16 060 0067/HD | MSL1204HD
1

M14x1,5

M14x1,5

Nissan X-Trail (T33) (09/22--)

36-16 060 0067/HD MSL1204HD

Coupling Rod

Rear Axle Right

113

36-16 060 0066

36-16 060 0066/HD | MSL1203HD
1

M14x1,5

M14x1,5

Nissan X-Trail (T33) (09/22--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
Hyundai 54830-17020
Mitsubishi 4056A015

Application info

Hyundai Accent Il (09/99-11/17)
Mitsubishi Lancer VI (09/95-12/03)
Mitsubishi Lancer VIII (03/07--)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
Hyundai 54830-17010

Application info
Hyundai Accent Il (09/99-11/17)

37-16 060 0000/HD MSL0432HD

Carbon Neutral HD
Coupling Rod

with spanner attachment

60

37-16 060 0009/HD | MSL0435HD
1

M10x1,5

M10x1,5

Hyundai 54830-25020
Mitsubishi MR316368

Hyundai Matrix (06/01-08/10)
Mitsubishi Lancer VII (03/00-12/13)
Mitsubishi Outlander | (03/01-07/08)

37-16 060 0009/HD MSL0435HD

Carbon Neutral

Coupling Rod

with spanner attachment

60

37-16 060 0000/HD | MSL0432HD
1

M10x1,5

M10x1,5

Hyundai 54830-25010

Hyundai Matrix (06/01-08/10)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 37-16 060 0010/HD MSL0436HD
Notes
Carbon Neutral I;IIEI
Coupling Rod
Rear Axle Left =
Rear Axle Right ‘ ‘
with spanner attachment
Length [mm] 220
Required quantity 2
Thread Size 1 M12X1,5
Thread Size 2 M12X1,5

reinforced version
replacement in pairs recommended

References
Hyundai 55530-2E000 Hyundai 55530-2E100
Hyundai 55530-2E200 Kia 55530-1F000

Application info

Hyundai Tucson | (06/04--) Kia Sportage Il (09/04--)
Stabilizer link 37-16 060 0013/HD MSL0438HD
Notes
Carbon Neutral
Coupling Rod
Front Axle Left "
with spanner attachment
Length [mm] 264
Paired article number 37-16 060 0014/HD | MSL0439HD -
Required quantity 1
Thread Size 1 M12X1,5
Thread Size 2 M12X1,5

reinforced version
replacement in pairs recommended

References
Hyundai 54830-26000 Hyundai 54830-26100

Application info
Hyundai Santa Fé | (11/00-03/06)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 37-16 060 0014/HD MSLO0439HD
Notes
Carbon Neutral I;IIEI
Coupling Rod
Front Axle Right B
with spanner attachment
Length [mm] 264
Paired article number 37-16 060 0013/HD | MSL0438HD -
Required quantity 1
Thread Size 1 M12X1,5
Thread Size 2 M12X1,5
reinforced version
replacement in pairs recommended
References
Hyundai 54840-26000 Hyundai 54840-26100
Application info
Hyundai Santa Fé | (11/00-03/06)
Stabilizer link 37-16 060 0018/HD MSL0443HD
Notes
Carbon Neutral
Coupling Rod
Front Axle Left
Front Axle Right
Length [mm] 54
Required quantity 2
Thread Size 1 M12X1,5
Thread Size 2 M12X1,5

reinforced version
replacement in pairs recommended

References
Hyundai 54830-4A000 Hyundai 54830-4A002
Hyundai 54830-4A003 Hyundai 54830-4A850

Application info
Hyundai H-11 (10/97-04/08) Hyundai Starex (06/97--)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

MEYLE AG - www.meyle.com



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link 37-16 060 0021/HD MSL0446HD

Notes
Carbon Neutral I;IIEI
Coupling Rod 2
Front Axle Right
with spanner attachment

Length [mm] 198

Paired article number 37-16 060 0023/HD | MSL0448HD s

Required quantity 1

Thread Size 1 M10x1,5

Thread Size 2 M10x1,5

reinforced version

replacement in pairs recommended

References

Hyundai 54840-1C000 Hyundai 54840-1C100

Application info
Hyundai Getz (06/01-01/11)

Stabilizer link 37-16 060 0022/HD MSL0447HD
Notes
Carbon Neutral
Coupling Rod
Rear Axle Left
Rear Axle Right
Length [mm] 130 =
Required quantity 2
Thread Size 1 M10x1,5 -
Thread Size 2 M10x1,5

reinforced version
replacement in pairs recommended

References

Citroén 5170.F5
Hyundai 55530-29000
Hyundai 55530-29500
Peugeot 16 08 078 280
Peugeot 5170.F6

Citroén 5170.F6
Hyundai 55530-29300
Hyundai 56530-29000
Peugeot 5170.F5

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info

Citroén Jumper IlIl (04/06--)
Hyundai Coupé Il (05/96-04/02)
Hyundai Lantra Il (06/95-12/00)

Stabilizer link

Notes

Length [mm]

Paired article number
Required quantity
Thread Size 1
Thread Size 2
reinforced version

replacement in pairs recommended

References
Hyundai 54830-1C000

Application info
Hyundai Getz (06/01-01/11)

Stabilizer link

Notes

Length [mm]
Required quantity
Thread Size 1
Thread Size 2
reinforced version

replacement in pairs recommended

References
Hyundai 54830-2E000
Kia 54830 1F000

Fiat Ducato (250) (07/06--)
Hyundai Coupé Il (01/01-12/12)
Peugeot Boxer Il (09/05--)

Carbon Neutral

Coupling Rod

Front Axle Left

with spanner attachment

198

37-16 060 0021/HD | MSL0446HD
1

M10x1,5

M10x1,5

37-16 060 0023/HD MSL0448HD

& 0

Hyundai 54830-1C100

Carbon Neutral
Coupling Rod

Front Axle Left

Front Axle Right

with spanner attachment
237

2

M12X1,5

M12X1,5

37-16 060 0028/HD MSL0453HD

Hyundai 54830-2E100

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info
Hyundai Tucson | (06/04--)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
Hyundai 54840-2B000
Kia 54840 2B000

Application info
Hyundai Santa Fé Il (10/05-03/15)
Kia Sorento Il (06/09--)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
Hyundai 54830-2B000
Kia 54830 2B000

Kia Sportage Il (09/04--)

37-16 060 0031/HD MSL0456HD

Carbon Neutral

Coupling Rod

Front Axle Right a
with spanner attachment .——‘
341 i

37-16 060 0032/HD | MSL0457HD

1

M12X1,5

M12X1,5
Hyundai 54840-2B200
Kia 54840 2B200

Hyundai ix55 (09/06--)

37-16 060 0032/HD MSL0457HD

Carbon Neutral

Coupling Rod

Front Axle Left e

with spanner attachment ‘ ‘
341 t
37-16 060 0031/HD | MSL0456HD

1

M12X1,5

M12X1,5

Hyundai 54830-2B200
Kia 54830 2B200

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Application info
Hyundai Santa Fé Il (10/05-03/15)
Kia Sorento Il (06/09--)

Stabilizer link

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References
Hyundai 55530-2B000
Kia 55530 2B000

Application info
Hyundai Santa Fé Il (10/05-03/15)
Kia Sorento Il (06/09--)

Stabilizer link

Notes

Length [mm]

Paired article number

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

Hyundai ix55 (09/06--)

37-16 060 0033/HD MSL0458HD

Carbon Neutral
Coupling Rod
Rear Axle Left
Rear Axle Right
99

2 ~
M12X1,5 -
M12X1,5

Hyundai 55530-2B200
Kia 55530 2B200

Hyundai ix55 (09/06--)

37-16 060 0034/HD

Carbon Neutral
Coupling Rod
i &

MSLO0459HD

Front Axle Right

with spanner attachment

286

37-16 060 0036/HD | MSL0461HD
1

10x1,5

10x1,5

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



MEYLE

DRIVER’S BEST FRIEND

References

Hyundai 54840-1E000
Hyundai 54840-1G000
Kia 54840 1E000

Kia 54840 1G000

Hyundai 54840-1E100
Hyundai 54840-1G500
Kia 54840 1E100
Kia 54840 1G500

Application info
Hyundai Accent lll (11/05-12/12) Kia Rio Il (03/05--)

Stabilizer link 37-16 060 0036/HD MSL0461HD

Notes
Carbon Neutral HD
Coupling Rod
Front Axle Left
with spanner attachment

Length [mm]
Paired article number
Required quantity

286
37-16 060 0034/HD | MSL0459HD
1

Thread Size 1 10x1,5
Thread Size 2 10x1,5
reinforced version

replacement in pairs recommended

References

Hyundai 54830-1E000
Hyundai 54830-1G000
Kia 54830 1E000

Kia 54830 1G000

Hyundai 54830-1E100
Hyundai 54830-1G500
Kia 54830 1E100
Kia 54830 1G500

Application info

Hyundai Accent Il (11/05-12/12) Kia Rio Il (03/05--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 37-16 060 0039/HD MSL0462HD

Notes
Carbon Neutral I;IIEI
Coupling Rod
Front Axle Left

Length [mm] 216

Paired article number 37-16 060 0040/HD | MSL0463HD

Required quantity 1

Thread Size 1 M10x1,25

Thread Size 2 M10x1,25

reinforced version

replacement in pairs recommended

References

Hyundai 54830-1J000 Hyundai 54830-1P000

Kia 54830 1J000 Kia 54830 1P000

Application info

Hyundai 201 (08/08--) Hyundai ix20 (11/10--)

Kia Picanto Il (05/11--) Kia Venga (02/10--)

Stabilizer link 37-16 060 0039 MSL0462

Notes
Coupling Rod "'i;i"
Front Axle Left -

Length [mm] 216

Paired article number 37-16 060 0040 | MSL0463

Required quantity 1

Thread Size 1 M10x1,25 -

Thread Size 2 M10x1,25

replacement in pairs recommended

References

Hyundai 54830-1J000 Kia 54830 1J000

Application info

Hyundai 201 (08/08--) Hyundai ix20 (11/10--)

Kia Picanto Il (05/11--) Kia Venga (02/10--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

Stabilizer link 37-16 060 0040/HD MSL0463HD

Notes
Carbon Neutral I;IIEI
Coupling Rod .
Front Axle Right :

Length [mm] 216

Paired article number 37-16 060 0039/HD | MSL0462HD h |

Required quantity 1 -

Thread Size 1 M10x1,25

Thread Size 2 M10x1,25

reinforced version
replacement in pairs recommended

References
Hyundai 54840-1J000 Hyundai 54840-1P000
Kia 54840 1J000 Kia 54840 1P000

Application info

Hyundai 201 (08/08--) Hyundai ix20 (11/10--)
Kia Picanto Il (05/11--) Kia Venga (02/10--)
Stabilizer link 37-16 060 0040 MSLO0463
Notes
Coupling Rod "'i;i"
Front Axle Right -
Length [mm] 216
Paired article number 37-16 060 0039 | MSL0462
Required quantity 1
Thread Size 1 M10x1,25 -
Thread Size 2 M10x1,25

replacement in pairs recommended

References
Hyundai 54840-1J000 Kia 54840 1J000

Application info
Hyundai 201 (08/08--) Hyundai ix20 (11/10--)
Kia Picanto Il (05/11--) Kia Venga (02/10--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

reinforced version

replacement in pairs recommended

References

Dodge 4766962AA
Hyundai 54830-1S000
Hyundai 54830-2S200
Hyundai 54830-3U000
Kia 54830 2S000

Kia 54830 3U000
Lancia K04766962AA

Application info

Dodge Journey (06/08--)
Hyundai Tucson | (06/04--)
Kia Sportage Il (09/09--)

Stabilizer link

Notes

Length [mm]

Required quantity

Thread Size 1

Thread Size 2

replacement in pairs recommended

Carbon Neutral
Coupling Rod
Front Axle Left
Front Axle Right

with spanner attachment

267

2
M12x1,5
M12X1,5

Coupling Rod
Rear Axle Left
Rear Axle Right
140

2

M12x1,25
M12x1,25

37-16 060 0041/HD MSL0464HD

Fiat KO4766962AA
Hyundai 54830-2S000
Hyundai 54830-25200QQK
Hyundai 54830-3W300
Kia 54830 25200

Kia 54830 3W300

Fiat Freemont (JC) (08/11--)
Hyundai ix35 (08/09--)

37-16 060 0042 MSLO0465

were
DRIGINAL
Suatd

& =
=% =

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

Hyundai 55530-2S100 Hyundai 55530-2S200
Hyundai 55530-2Z100 Hyundai 55530-3U900
Kia 55530 2S100 Kia 55530 25200

Kia 55530 3U900

Application info

Hyundai Cretal (01/16--) Hyundai Tucson| (06/04--)
Hyundai ix35 (08/09--) Kia Sportage Ill (09/09--)
Stabilizer link 37-16 060 0043 MSL0466
Notes
Coupling Rod 7 )

Guaucd

Rear Axle Left
Rear Axle Right

Length [mm] 88
Required quantity 2

Thread Size M12x1,25
Thread Size 1 M12x1,25

replacement in pairs recommended

References

Hyundai 55530-3R000 Hyundai 55530-3U800
Hyundai 55540-3R000 Hyundai 55540-3U800
Kia 55530 3R000 Kia 55530 3U800

Kia 55540 3R000 Kia 55540 3U800

Application info

Hyundai GrandeurV (01/11--) Hyundai Sonata VI (06/09-12/15)
Hyundai Tucson | (06/04--) Hyundai i30 1l (06/11--)

Hyundai ix35 (08/09--) Kia Cee'd Il (05/12--)

Kia Cee'd Ill (03/12--) Kia Optima (01/10--)

Kia Sportage Il (09/09--)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Stabilizer link

Notes

Length [mm]
Required quantity
Thread Size 1
Thread Size 2

replacement in pairs recommended

References
Hyundai 55530-2E000
Hyundai 55530-2E200

Application info

Hyundai Tucson| (06/04--)

Suspension Kit

Notes

Replace in pairs only
Required quantity
reinforced version

References

Nissan 54500-BB00A
Nissan 54500-JD000
Nissan 54501-BR30A
Nissan 54501-JG000
Renault 54501JY00A
Renault 545055212R

Application info

Coupling Rod

Rear Axle Left

Rear Axle Right

with spanner attachment
220

2

M12X1,5

M12X1,5

Carbon Neutral
Front Axle Left
Front Axle Right

37-16 060 0053 MSL0862

weree
DRIGINAL
Guaud

;

Hyundai 55530-2E100
Kia 55530-1F000

Kia Sportage Il (09/04--)

36-14 653 0000/HD MCRO0025HD

Nissan 54500-BR30A
Nissan 54501-BBO0A
Nissan 54501-JD000
Nissan 54501-JG00B
Renault 545040445R

Nissan Qashgai | (J10_) (12/06-04/14)
Renault Koleos | (09/08--)

Nissan X-Trail (T31) (03/07-12/18)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND

MEYLE

Suspension Kit

Notes

Required quantity
replacement in pairs recommended

References

Nissan 40160-9W200
Nissan 54500-BB00A
Nissan 54500-JD000
Nissan 54500-JGO0A
Nissan 54501-1KA0B
Nissan 54501-BB00A
Nissan 54501-JD000
Nissan 54501-JG000
Nissan 54501-JG00B
Renault 54501JY00A
Renault 545055212R

Application info

Nissan Qashqgai | (J10_) (12/06-04/14)
Renault Koleos | (09/08--)
Suspension Kit

Notes

Required quantity
replacement in pairs recommended

36-16 610 0001 MCRO0116

weree
DRIGINAL
Guaud

Front Axle Left
Front Axle Right
for control arm
with ball joint

with rubber mount
2

Nissan 54500-1KA0B
Nissan 54500-BR30A
Nissan 54500-JG000
Nissan 54500-JG00B
Nissan 54501-1KA1B
Nissan 54501-BR30A
Nissan 54501-JD0O0A
Nissan 54501-JGO0OA
Renault 54500JY00A
Renault 545040445R

Nissan X-Trail (T31) (03/07-12/18)

36-16 610 0005 MCRO0075

e
DRIGINAL
Cuad

Front Axle Left
Front Axle Right
for control arm
with ball joint

with rubber mount
2

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



DRIVER’S BEST FRIEND MEY/LE

References

Nissan 54500-AX600 Nissan 54500-AX60B
Nissan 54500-BC41A Nissan 54500-BC42A
Nissan 54501-AX600 Nissan 54501-AX60B
Nissan 54501-BC41A Nissan 54501-BC42A
Nissan 54560-AX600 Nissan 54570-AX600

Application info
Nissan Micra (K12) (03/02--) Nissan Note | (01/05-08/13)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.



